



Rates Paid by LME/MCOs for State/Block Grant Funded Services

In State Fiscal Year 2024 (July 1, 2023 - December 31, 2023)

Prepared by NC DHHS DMH/DD/SAS Quality Management Section 05/31/2024.

Rates Paid by LME/MCOs for State/Block Grant Funded Services

Source: Claims processed in NCTracks; excludes denied claims.

NCDMHDDSAS Summary of Rates Paid by LME-MCOs shows the rates LME-MCOs reimburse providers for services covered by NCDMHDDSAS. Rates shown reflect the amount paid per unit of service. Units of service are prescribed in the service definition, and the unit may be 15 minutes, an hour, an event, or per diem (day). Effective July 1, 2017, LME-MCOs are allowed to set rates for services reimbursed with DMHDDSAS state and federal dollars. LME-MCOs are to establish rates that are necessary and appropriate; these may be specific to the provider or consumer.

The service definitions can be found at:

https://www.ncdhhs.gov/divisions/mhddsas/servicedefinitions

Table of Contents

Rate most often Reimbursed (Mode) by LME for each Service........... Pages 3-5 Service, Maximum and Mode Rates by Provider, LME Pages 6-end

NOTES:

Services with less than 10 paid events are excluded.

Assertive Community Treatment (ACT) may be billed at a case rate and additional events are billed at .01.

State funded inpatient care is not included in this report.

Occasionally, the provider name found in NCTracks is in error.

When reviewing the data, please note that the highlighted outliers may be considered as a positive or negative indicator.

The highlighted outlier indicates a value that is numerically distant from the other data points in the set of data.

This report represents data for the time period July 1, 2023 through December 31, 2023. This change in data timeframes better represents current rates.

Rate most often Reimbursed (Mode) by LME for each Service

Date of Service Year-Month: 2023-12

Services with less than 10 paid events are excluded. High outliers are highlighted. Due to the disolution of Cardinal, it has no data beyond December 2021.

	Due to the disol	ution of Card	inal, it has no d	lata beyond D	ecember 20	21.				
Rate Mode (occurs most often)		LME_MCO								
Svc_Name	PROC_ADJDC_CD	ALLIANCE	EASTPOINTE	PARTNERS	SANDHILLS	TRILLIUM	VAYA	Avg	St. Dev.	2 St Dev
ADVP	YP620	\$1.57	\$2.25	\$1.57	\$1.57		\$1.57	Mode \$1.71	\$ 0.27	> Avg \$ 2.25
Afterschool Summer enrichment Pgm	YA392	71.57	72.23	\$58.00	71.57		71.57	\$58.00		\$ 58.00
Alcohol and/or Drug Assessment - non-licensed provider	YP830			\$13.78				\$13.78	•	\$ 13.78
Alcohol and/or Drug Group Counseling - non-licensed provider	YP835			\$5.08	\$5.12			\$5.10		\$ 5.14
Assertive Community Treatment Program	H0040	\$340.20	\$375.00		\$339.62	\$0.01	\$304.18	\$284.63	•	
Assertive Engagement - AP & Paraprofessional	YA353	\$15.00	\$373.00	\$100.00	\$6.00	70.01	7304.10	\$40.33		,
Assertive Engagement - QP (Licensed & Unlicensed)	YA352	\$15.00		\$100.00	\$15.00		\$150.00		•	\$ 199.79
Behavioral Health Counseling - non-licensed provider	YP831			Ş100.00	\$19.81		\$22.00		-	\$ 23.10
					715.61		·			
CAET Group	YA394						\$3.75			\$ 3.75
Clinical Evaluation/Intake - Telemedicine	90791	\$103.44		\$155.00	\$114.00			\$128.35		,
Clinical Evaluation/Intake	90791	\$175.00	\$125.39	\$155.00	\$114.00	\$243.40			\$ 83.66	+ '
Community Living and Support – Individ	YM851	\$6.33	\$8.23	\$24.69	\$8.23	\$8.23	\$8.00		\$ 6.33	-
Community Support Team	H2015	\$25.91	\$31.09	\$25.91		\$44.00	\$38.00			\$ 47.13
Community Support Team – Para	H2015		\$31.09					\$31.09		\$ 31.09
Community Support Team – Peer	H2015	\$25.91	\$31.09				\$25.91		•	\$ 32.52
COVID-19 -Psychosocial Rehabilitation Services	YA401	\$11.78						\$11.78		\$ 11.78
Day Activity	YP660		\$3.75		\$3.75		\$3.75		\$ -	\$ 3.75
Day Supports	YM580					\$128.00		\$128.00	\$ -	\$ 128.00
Day Supports - Group	YM590	\$15.28		\$2.74	\$2.74	\$5.35	\$4.14	\$6.05	\$ 4.72	\$ 15.48
Detox - Soc Set	YP790	\$118.42		\$118.42				\$118.42	\$ -	\$ 118.42
Developmental Day	YP610				\$4.74			\$4.74	\$ -	\$ 4.74
Developmental Therapy Service Paraprofessional	H2014				\$6.01	\$7.19		\$6.60	\$ 0.59	\$ 7.78
Developmental Therapy Service Professional	H2014				\$8.34			\$8.34	\$ -	\$ 8.34
Diagnostic Assessment	T1023					\$231.30		\$231.30	\$ -	\$ 231.30
E&M-Detailed-Established Patient	99213	\$75.00	\$57.62	\$155.00	\$69.67	\$197.20	\$197.20	\$125.28	\$ 59.76	\$ 244.80
E&M-Detailed-Established Patient - Telemedicine	99213	\$47.55		\$155.00	\$59.21	\$179.28	\$74.43	\$103.09	\$ 53.54	\$ 210.17
E&M-Expanded-Established Patient	99212		\$32.83	\$28.48	\$41.72			\$34.34	\$ 5.51	\$ 45.36
E&M-High-Established Patient	99215					\$125.40		\$125.40	\$ -	\$ 125.40
E&M-Moderate-Established Patient	99214	\$150.00	\$86.82	\$155.00	\$104.98	\$289.00	\$289.00	\$179.13	\$ 81.23	\$ 341.60
E&M-Moderate-Established Patient - Telemedicine	99214	\$105.00	\$82.60	\$155.00	\$89.23	\$262.72	\$105.00	\$133.26	\$ 62.36	\$ 257.98
E&M-Moderate-New Patient	99204					\$166.00		\$166.00	\$ -	\$ 166.00
E&M-Moderate-New Patient - Telemedicine	99204	\$120.87		\$143.47				\$132.17	\$ 11.30	\$ 154.77
E&M-Problem Focused-Established Patient	99211	\$16.82						\$16.82	\$ -	\$ 16.82
Facility Based Crisis Program-Non-Medicaid	YP485				\$13.06			\$13.06	\$ -	\$ 13.06
Facility Based Crisis Service	S9484	\$30.00	\$30.00	\$32.31	\$30.00	\$39.49	\$50.00	\$35.30	\$ 7.38	\$ 50.06
Familiy Living - Mod	YP750			\$352.71			\$100.00		\$ 126.36	\$ 479.07
Family Therapy with patient	90847			\$67.28				\$67.28		\$ 67.28
Group Living - Hi	YP780	\$188.00	\$282.74	\$162.74	\$141.51		\$528.00	\$260.60	\$ 142.14	\$ 544.88
Group Living - Low	YP760	\$193.75	\$173.74	\$63.58	\$135.16			\$127.30		\$ 232.93
Group Living - Mod			· · · · · · · · · · · · · · · · · · ·							
	YP770	\$175.13		\$173.50	\$110.00	\$219.54	\$75.48	\$150.73	\$ 51.32	\$ 253.38

Rate most often Reimbursed (Mode) by LME for each Service

Date of Service Year-Month: 2023-12

Services with less than 10 paid events are excluded. High outliers are highlighted.

Due to the displution of Cardinal, it has no data beyond December 2021.

				ution of Card	inal, it has no d	lata beyond D	ecember 20	21.		
Rate Mode (occurs most often)	<u> </u>	LME_MCO								
Svc_Name	PROC_ADJDC_CD	ALLIANCE	EASTPOINTE	PARTNERS	SANDHILLS	TRILLIUM	VAYA	Avg Mode	St. Dev.	2 St Dev > Avg
Group Therapy (non-multiple family group) - Telemedicine	90853	\$36.00		\$36.00	\$23.26	\$40.10	\$48.66	\$36.80	\$ 8.20	\$ 53.20
Home Supports L5	T2016	\$525.00			\$432.38			\$478.69	\$ 46.31	\$ 571.31
Hospital Discharge Transition Service	YA346	\$18.25		\$18.25				\$18.25	\$ -	\$ 18.25
Independent Living-MR/MI	YM700		\$78.37					\$78.37	\$ -	\$ 78.37
Individual Therapy (20-30 min.)	90832	\$75.00	\$39.18	\$155.00	\$47.50	\$39.18	\$93.60	\$74.91	\$ 40.96	\$ 156.84
Individual Therapy (20-30 min.) - Telemedicine	90832	\$43.10		\$155.00	\$47.50	\$39.18	\$52.24	\$67.40	\$ 44.01	\$ 155.43
Individual Therapy (45-50 min.)	90834	\$80.00	\$67.85		\$61.70	\$50.89	\$143.00	\$93.07	\$ 40.62	\$ 174.31
Individual Therapy (45-50 min.) - Telemedicine	90834	\$55.98		\$143.47	\$61.70	\$50.89	\$77.41	\$77.89	\$ 33.98	\$ 145.84
Individual Therapy (60 min.)	90837	\$145.00	\$99.42	\$155.00	\$90.40	\$74.57	\$150.00		\$ 31.91	\$ 182.88
Individual Therapy (60 min.) - Telemedicine	90837	\$82.03	\$99.42	\$155.00	\$90.40	\$149.14		\$115.20	\$ 30.66	\$ 176.52
Intensive In-Home Services	H2022	\$258.20			\$258.20	\$239.66		\$252.02	\$ 8.74	\$ 269.50
Interactive Evaluation	90792	\$97.78		\$155.00				\$126.39	\$ 28.61	\$ 183.61
Jail Support	YA349	·					\$22.04	\$22.04	\$ -	\$ 22.04
Long Term Voc Sup Ind	H2023	\$24.63				\$500.00			\$ 237.69	\$ 737.69
Long Term Vocation Support Indiv IDD	YA389	\$11.21			\$11.21		\$11.21		\$ -	\$ 11.21
Mental Health - Day Treatment - Child	H2012		\$31.41		•	\$31.41	· ·	\$31.41	\$ -	\$ 31.41
Mental Health - Partial Hospitalization	H0035			\$192.00				\$192.00	\$ -	\$ 192.00
Mobile Crisis Management	H2011	\$90.00		\$56.00		\$94.50	\$94.50	\$83.75	\$ 16.13	\$ 116.00
Multi-Systemic Therapy	H2033	\$36.57		,		,	,	\$36.57		\$ 36.57
Non-Hospital Medical Detox	H0010	, , , ,	\$480.00			\$325.58		\$402.79		\$ 557.21
Office Based Opioid Treatment	YA396		,	\$500.00		,		\$500.00	\$ -	\$ 500.00
Opioid Treatment	H0020	\$116.20	\$254.93	\$254.93	\$254.93	\$254.93	\$137.48		\$ 60.69	\$ 333.62
Peer Support (B3) Group	H0038					· ·	\$2.88	\$2.88	\$ -	\$ 2.88
Peer Support (B3) Individual	H0038	\$12.00	\$16.80	\$16.50	\$12.00	\$16.50	\$150.00	\$37.30	\$ 50.44	\$ 138.19
Personal Asst - Indiv	YP020	·	\$4.46	\$4.46	\$4.46	\$6.61	\$4.46	\$4.89	\$ 0.86	\$ 6.61
Psychosocial Rehab Services	H2017	\$3.34	\$3.23		\$2.91	,	\$2.69			\$ 3.91
Public Psychiatry - Administrative Functions	YP851	, , ,	,	\$25.00	, -	\$25.00	,	\$25.00		\$ 25.00
Public Psychiatry - Consultation and Service Functions	YP852			\$35.00		\$35.00		\$35.00	\$ -	\$ 35.00
Respite Hourly - Group	YP011			,		\$75.00		\$75.00	\$ -	\$ 75.00
Respite Hourly - Indiv	YP010				\$5.00	\$100.00	\$5.00		\$ 44.78	\$ 126.23
SA Comprehensive Outpatient Treatment Program	H2035	\$46.28	\$56.05	\$45.35	,	,	\$46.28			\$ 57.25
SA Halfway House	H2034	\$89.62	\$74.90				\$86.80		\$ 6.38	\$ 96.53
SA Intensive Outpatient Program	H0015	\$131.56	\$162.61	\$131.56	\$131.56	\$250.00	\$246.00		-	\$ 280.36
Subsequent Hospital Care per Day	99232	, , ,	\$54.12	,	,	,	,	\$54.12	\$ -	\$ 54.12
Supervised Living - Low	YP710	\$28.92	\$33.26	\$28.92	\$28.92	\$130.00	\$28.92			\$ 121.25
Supervised Living - Mod.	YP720	\$180.23	,	\$55.11	,	\$140.00	\$55.11		\$ 54.40	\$ 216.40
Supported Emp - Group	YP640	,		,		\$2.53	,	\$2.53	\$ -	\$ 2.53
Supported Employment – Individual MH/SUD	YP630				\$26.40	, , , , , ,		\$26.40	\$ -	\$ 26.40
Supported Employment Indiv IDD	YA390			\$11.21	\$11.21	\$11.21		\$11.21	т	\$ 11.21
Telehealth originating site facility fee	Q3014			\$22.31	\$23.42	\$23.38	\$21.25			\$ 24.38
Telephone evaluation and management service, 21-30 minutes	99443			,	\$71.24	,	,	\$71.24		\$ 71.24
1	1 33	I .			7					1,

Rate most often Reimbursed (Mode) by LME for each Service

Due to the disolution of Cardinal, it has no data beyond December 2021.											
Rate Mode (occurs most often)		LME_MCO									
Svc_Name	PROC_ADJDC_CD	ALLIANCE	EASTPOINTE	PARTNERS	SANDHILLS	TRILLIUM	VAYA	Avg	St. Dev.	2 St Dev	
								Mode		> Avg	
Therapeutic, prophylactic, or diagnostic injection	96372	\$143.47		\$16.53	\$21.23			\$60.41	\$ 58.76	\$ 177.94	
Transition Management Services	YM120	\$20.00	\$13.92	\$17.26	\$18.55	\$26.00	\$21.45	\$19.53	\$ 3.73	\$ 26.98	

Services with less than 10 paid events are excluded.

High outliers are highlighted.

2023-12

Date of Service Year-Month:

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
ADVP	YP620	AVERY COUNTY GROUP HOME	VAYA	\$1.57	\$1.57	217	\$320
		CALDWELL OPPORTUNITIES INC	VAYA	\$1.57	\$1.57	154	\$242
		CHATHAM TRADES INC	SANDHILLS	\$1.57	\$1.57	215	\$338
			VAYA	\$1.57	\$1.57	950	\$1,49
		COUNTY OF PERSON OFFICE OF COUNTY F	ALLIANCE	\$1.57	\$1.57	117	\$184
			VAYA	\$1.57	\$1.57	1881	\$2,952
		DIVERSIFIED OPPORTUNITIESINC	EASTPOINTE	\$2.25	\$2.25	2350	\$5,288
		DURHAM EXCHANGE CLUB INDUSTRIES INC	ALLIANCE	\$1.57	\$1.57	2615	\$4,106
		EMPLOYMENT SOURCE INC	ALLIANCE	\$1.57	\$1.57	974	\$1,529
		GASTON SKILLS INC	PARTNERS	\$1.57	\$1.57	803	\$1,26
		GOODWILL INDUSTRIES OF NWNC	VAYA	\$1.57	\$1.57	65	\$10
		HAYWOOD VOCATIONAL OPPORTUNITIES IN	VAYA	\$1.57	\$1.57	136	\$21
		JOHNSTON COUNTY INDUSTRIES INC	ALLIANCE	\$1.57	\$1.57	2219	\$3,484
			EASTPOINTE	\$1.80	\$1.80	187	\$33!
			SANDHILLS	\$1.57	\$1.57	1480	\$2,32
		MONARCH	EASTPOINTE	\$1.80	\$1.80	480	\$864
			PARTNERS	\$1.57	\$1.57	21	\$33
			SANDHILLS	\$1.57	\$1.57		\$3,882
			VAYA	\$1.57	\$1.57	795	\$1,246
		NEUSE ENTERPRISES INC	EASTPOINTE	\$1.80	\$1.80	4413	\$7,943
		OE ENTERPRISES INC	ALLIANCE	\$1.57	\$1.57	894	\$1,404
		OF ENTERN RISES INC	SANDHILLS	\$1.57	\$1.57	1082	\$1,699
			VAYA	\$1.57	\$1.57	2602	\$4,084
		POLK VOCATIONAL SERVICES	VAYA	\$1.57	\$1.57	192	\$4,084
		RALPH SCOTT LIFESERVICES INC	VAYA	\$1.57	\$1.57	492	\$772
		RHA HEALTH SERVICES NC LLC	ALLIANCE	\$1.57	\$1.57	693	\$1,088
		KNA NEALTH SERVICES NO LLC	EASTPOINTE	\$1.80	\$1.80	62	\$1,088
		RUTHERFORD LIFE SERVICES INC	PARTNERS	\$1.57	\$1.50	277	\$435
			PARTNERS	\$1.57	\$1.57	13	
		THE WORKSHOP OF DAVIDSON INC					
		TRANSVINANIA VOCATIONAL SERVICES IN	SANDHILLS	\$1.57	\$1.57	1154	\$1,811
		TRANSYLVANIA VOCATIONAL SERVICES IN	VAYA	\$1.57	\$1.57	206	\$323
		UNION DIVERSIFIED INDUSTRIES INC	ALLIANCE	\$1.57	\$1.57	100	\$157
			PARTNERS	\$1.57	\$1.57	2494	\$3,916
		WAKE ENTERPRISES INC	ALLIANCE	\$1.57	\$1.57	3844	\$6,035
		WAYNE OPPORTUNITY CENTER INC	EASTPOINTE	\$1.80	\$1.80		\$9,167
		WILKES VOCATIONAL SERVICES INC	VAYA	\$1.57	\$1.57	45	
		VICTOR & ASSOCIATES INC	SANDHILLS	\$1.57	\$1.57	343	\$539
		ROWAN VOCATIONAL OPPORTINITIES INC	PARTNERS	\$1.57	\$1.57	1065	\$1,672
			VAYA	\$1.57	\$1.57	891	\$1,399
		Community Workforce Solutions Inc	ALLIANCE	\$1.57	\$1.57	1275	\$2,002
		LEE COUNTY INDUSTRIES INC	SANDHILLS	\$40.82	\$1.57	2419	\$4,263
		DILIGENT CARE INC	SANDHILLS	\$1.57	\$1.57	534	\$838
		CUMBERLAND RESIDENTIAL AND EMPLOYME	ALLIANCE	\$1.57	\$1.57	1279	\$2,008
Afterschool Summer enrichment Pgm	YA392	LINDLEY HABILITATION SERVICES INC	PARTNERS	\$58.00	\$58.00	113	
Alcohol and/or Drug Assessment - non-licensed provider	YP830	OCTOBER ROAD INC	VAYA	\$22.00	\$22.00	10	
		PHOENIX COUNSELING CENTER	PARTNERS	\$13.78	\$13.78		
		HAZELWOOD HEALTHCARE PLLC	VAYA	\$22.00	\$22.00	183	\$4,026
		ALCOHOL AND DRUG SERVICES OF GUILFO	SANDHILLS	\$13.87	\$13.87	12	\$166
Alcohol and/or Drug Group Counseling - non-licensed provider	YP835	FAMILY PRESERVATION SERVICES OF NC	PARTNERS	\$5.08	\$5.08	89	\$452
		PHOENIX COUNSELING CENTER	PARTNERS	\$5.08	\$5.08	138	\$701
		TRIAD THERAPY LLC	SANDHILLS	\$5.12	\$5.12	242	

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Alcohol and/or Drug Group Counseling - non-licensed provider	YP835	ALCOHOL AND DRUG SERVICES OF GUILFO	SANDHILLS	\$5.12	\$5.12	48	\$246
Assertive Community Treatment Program	H0040	CAROLINA OUTREACH LLC	ALLIANCE	\$340.21	\$340.20	2467	\$609,305
		CAROLINAS MEDICAL CENTER	ALLIANCE	\$324.00	\$324.00	21	\$6,804
		COASTAL SOUTHEASTERN UNITED CARE	PARTNERS	\$348.75	\$348.75	176	\$37,317
			TRILLIUM	\$1,720.00	\$0.01	1067	\$364,195
		DAYMARK RECOVERY SERVICES INC	PARTNERS	\$348.75	\$348.75	54	\$10,463
			SANDHILLS	\$339.62	\$339.62	213	\$61,811
			VAYA	\$304.18	\$304.18	290	\$55,058
		ENVISIONS OF LIFE LLC	SANDHILLS	\$339.62	\$339.62	359	\$77,774
		FAMILY PRESERVATION SERVICES OF NC	VAYA	\$304.18	\$304.18	360	\$71,484
		FELLOWSHIP HEALTH RESOURCES INC	ALLIANCE	\$324.00	\$324.00	702	\$196,021
		LUTHERAN FAMILY SERVICES IN THE CAR	ALLIANCE	\$324.00	\$324.00	179	\$48,600
		MERIDIAN BEHAVIORAL HEALTH SERVICES	VAYA	\$304.18	\$0.01	468	\$55,668
		MONARCH	ALLIANCE	\$324.00	\$324.00	1128	\$272,163
			PARTNERS	\$348.75	\$348.75	925	\$261,216
			SANDHILLS	\$339.62	\$339.62	210	\$71,320
			VAYA	\$304.18	\$304.18	373	\$63,575
		NEW DIMENSION GROUP LLC	EASTPOINTE	\$375.00	\$375.00	106	\$39,750
		OCTOBER ROAD INC	VAYA	\$304.18	\$304.18	733	\$155,742
		PHYSICIAN ALLIANCE FOR MENTAL HEALT	TRILLIUM	\$1,720.00	\$0.01	437	\$141,272
		RHA HEALTH SERVICES INC	PARTNERS	\$348.75	\$348.75	14	\$4,185
			VAYA	\$304.18	\$304.18	86	\$17,034
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$324.00	\$324.00	191	\$47,628
		THE MENTAL HEALTH FUND INC	PARTNERS	\$348.75	\$348.75	162	\$56,498
		UNIVERSITY OF NORTH CAROLINA AT CHA	ALLIANCE	\$340.20	\$340.20	828	\$185,072
		RHA BEHAVIORAL HEALTH NC LLC	PARTNERS	\$348.75	\$348.75	128	\$36,968
			VAYA	\$430.19	\$304.18	489	\$114,616
		WAYNESBORO FAMILY CLINIC PA	EASTPOINTE	\$375.00	\$375.00	496	\$91,128
		A CARING ALTERNATIVE LLC	PARTNERS	\$348.75	\$348.75	810	\$193,210
		PQA HEALTHCARE INC	PARTNERS	\$348.75	\$348.75	101	\$20,925
		PSYCHOTHERAPEUTIC SERVICES INC	SANDHILLS	\$339.62	\$339.62	901	\$164,041
		SOUTHEASTERN INTEGRATED CARE	TRILLIUM	\$1,595.70	\$0.01	79	\$9,575
		LEGACY HUMAN SERVICES INC	VAYA	\$304.18	\$304.18	150	\$33,764
		STRATEGIC INTERVENTIONS LLC	ALLIANCE	\$324.00	\$324.00	231	\$69,968
			VAYA	\$304.18	\$304.18	255	\$68,745
		EASTER SEALS UCP NORTH CAROLINA & V	ALLIANCE	\$324.00	\$324.00	1446	\$325,624
			PARTNERS	\$348.75	\$348.75	903	\$202,976
			VAYA	\$304.18	\$304.18	880	\$169,127
		TENDER LOVING CARE HOMES INC	VAYA	\$304.18	\$304.18	145	\$34,373
Assertive engagement	YA323	CAROLINA OUTREACH LLC	ALLIANCE	\$15.00	\$15.00	15	\$225
		THERAPEUTIC ALTERNATIVES INC	ALLIANCE	\$12.00	\$12.00	65	\$780
	YA341	SOUTHLIGHT HEALTHCARE	ALLIANCE	\$0.01	\$0.01	14	\$0
Behavioral Health Counseling - non-licensed provider	YP831	CARING SERVICES INC	SANDHILLS	\$19.56	\$19.56	10	\$196
		OCTOBER ROAD INC	VAYA	\$22.00	\$22.00	336	\$7,392
		CROSSROADS TREATMENT CENTERS	VAYA	\$19.81	\$19.81	340	\$6,723
		PORT HEALTH SERVICES	TRILLIUM	\$19.67	\$19.67	11	\$216
		ADDICTION RECOVERY MEDICAL SERVICE	VAYA	\$22.00	\$22.00	647	\$14,234
		CROSSROADS TREATMENT CENTER OF WEAV	VAYA	\$19.81	\$19.81	427	\$8,454
		HAZELWOOD HEALTHCARE PLLC	VAYA	\$22.00	\$22.00	406	\$8,932
		ALCOHOL AND DRUG SERVICES OF GUILFO	SANDHILLS	\$19.81	\$19.81	339	\$6,716
CAET Group	YA394	WATAUGA OPPORTUNITIES INC	VAYA	\$3.75	\$3.75	223	\$835

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Clinical Evaluation/Intake - Telemedicine	90791	ANUVIA PREVENTION AND RECOVERY CENT	ALLIANCE	\$103.44	\$103.44	13	\$1,345
omnour Evaluation, make Telemeatione	30732	CAROLINA OUTREACH LLC	ALLIANCE	\$103.44	\$103.44		\$11,689
		DAYMARK RECOVERY SERVICES INC	PARTNERS	\$155.00	\$155.00	159	\$24,645
			SANDHILLS	\$114.00	\$114.00	340	\$38,299
			VAYA	\$140.94	\$140.94	159	\$19,575
		EL FUTURO	ALLIANCE	\$137.93	\$103.44		\$5,620
		FAMILY PRESERVATION SERVICES OF NC	PARTNERS	\$140.94	\$140.94	43	\$5,169
			VAYA	\$140.94	\$140.94	46	\$6,231
		FERNANDEZ COMMUNITY CENTER LLC	ALLIANCE	\$103.44	\$103.44	40	\$4,138
		MERIDIAN BEHAVIORAL HEALTH SERVICES	VAYA	\$357.00	\$357.00	91	\$16,091
		MONARCH	ALLIANCE	\$143.47	\$143.47	645	\$78,706
			EASTPOINTE	\$125.39	\$125.39		\$4,389
			PARTNERS	\$143.47	\$143.47	10	\$1,435
			TRILLIUM	\$243.40	\$243.40	52	\$12,657
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$155.00		\$74,228
		RHA HEALTH SERVICES INC	VAYA	\$140.94	\$140.94	50	\$6,946
		RHA BEHAVIORAL HEALTH NC LLC	SANDHILLS	\$114.00	\$114.00	37	\$4,218
			TRILLIUM	\$243.40	\$243.40	25	\$6,085
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$243.40	\$243.40	42	\$10,066
		NCG ACQUISITION LLC	VAYA	\$140.94	\$140.94	103	\$14,497
Clinical Evaluation/Intake	90791	A HELPING HAND OF WILMINGTON LLC	TRILLIUM	\$243.40	\$243.40	120	\$25,553
		ANUVIA PREVENTION AND RECOVERY CENT	ALLIANCE	\$103.44	\$103.44	227	\$23,481
		CAROLINA OUTREACH LLC	ALLIANCE	\$103.44	\$103.44	258	\$26,688
		DAYMARK RECOVERY SERVICES INC	ALLIANCE	\$103.44	\$103.44		\$1,345
			PARTNERS	\$155.00	\$155.00		\$22,320
			SANDHILLS	\$114.00	\$114.00	369	\$40,675
			VAYA	\$357.00	\$357.00	239	\$74,044
		DREAM PROVIDER CARE SERVICES	TRILLIUM	\$104.04	\$104.04	82	\$8,501
		EL FUTURO	ALLIANCE	\$175.00	\$175.00	180	\$31,500
		FAMILY PRESERVATION SERVICES OF NC	VAYA	\$140.94	\$140.94	12	\$1,591
		INSIGHT HUMAN SERVICES INC	PARTNERS	\$98.49	\$98.49	100	\$9,849
		INTEGRATED BEHAVIORAL HEALTHCARE SE	ALLIANCE	\$137.93	\$103.44	34	\$3,655
		MERIDIAN BEHAVIORAL HEALTH SERVICES	VAYA	\$357.00	\$357.00		\$14,080
		NORTH CAROLINA RECOVERY SUPPORT SER	ALLIANCE	\$103.44	\$103.44	14	\$1,448
		OCTOBER ROAD INC	VAYA	\$90.58	\$90.58	110	\$9,964
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$155.00	336	\$50,933
		PHOENIX COUNSELING CENTER	PARTNERS	\$98.49	\$98.49	97	\$9,554
		RHA HEALTH SERVICES INC	VAYA	\$357.00	\$357.00	377	\$80,992
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$103.44	\$103.44	223	\$22,967
		THE MENTAL HEALTH FUND INC	PARTNERS	\$98.49	\$98.49	23	\$2,265
		UNIVERSITY OF NORTH CAROLINA AT CHA	ALLIANCE	\$137.93	\$94.04	73	\$8,062
		VISION BEHAVIORAL HEALTH SERVICES L	VAYA	\$357.00	\$357.00	51	\$17,775
		RHA BEHAVIORAL HEALTH NC LLC	SANDHILLS	\$114.00	\$114.00	26	\$2,964
			VAYA	\$140.94	\$140.94	156	\$21,987
			TRILLIUM	\$243.40	\$243.40	10	\$2,434
		MORSE CLINIC OF NORTH RALEIGH	ALLIANCE	\$103.44	\$103.44	10	\$1,034
		FREEDOM HOUSE RECOVERY CENTER INC	ALLIANCE	\$103.44	\$103.44	95	\$9,827
			VAYA	\$200.00	\$200.00	13	\$2,215
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$243.40	\$243.40	569	\$137,632
		WAYNESBORO FAMILY CLINIC PA	EASTPOINTE	\$129.15	\$125.39	122	\$15,309
		FAMILY SERVICE OF THE PIEDMONT INC	SANDHILLS	\$114.00	\$114.00	118	\$13,452

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Clinical Evaluation/Intake	90791	NCG ACQUISITION LLC	VAYA	\$357.00	\$357.00	23	\$8,211
		THE HOPE CENTRE FOR ADVANCEMENT LLC	ALLIANCE	\$103.44	\$103.44	55	\$5,689
		LUMBERTON TREATMENT CENTER LLC	EASTPOINTE	\$96.86	\$96.86	10	\$969
		Greater Image Healthcare Corp	ALLIANCE	\$103.44	\$103.44	11	\$1,138
		PORT HEALTH SERVICES	TRILLIUM	\$243.40	\$243.40	172	\$26,010
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$152.02	\$114.00	28	\$3,230
		JACKSONVILLE TREATMENT CENTER	TRILLIUM	\$243.40	\$243.40	74	\$17,862
		MOREHEAD CITY TREATMENT CENTER	TRILLIUM	\$243.40	\$243.40	25	\$5,786
		CLAY WILSON & ASSOCIATES	PARTNERS	\$98.49	\$98.49	157	\$15,463
		REFLECTIONS OF HOPE LLP	TRILLIUM	\$357.00	\$243.40	20	\$4,982
		RESTORATION FAMILY SERVICES INC	ALLIANCE	\$103.44	\$103.44	12	\$1,241
		AMARA WELLNESS SERVICES INC	ALLIANCE	\$132.00	\$132.00	130	\$16,944
		METRO TREATMENT OF NORTH CAROLINA L	ALLIANCE	\$124.13	\$124.13	32	\$3,910
		PRIDE IN NORTH CAROLINA LLC	ALLIANCE	\$103.44	\$103.44	27	\$2,793
			TRILLIUM	\$243.40	\$243.40	63	
		HEALING PLACE OF NEW HANOVER COUNTY	TRILLIUM	\$130.00	\$125.00	52	\$6,520
Community Support Team	H2015	CAROLINA OUTREACH LLC	ALLIANCE	\$25.91	\$25.91	3818	\$98,823
7 - 7 - 7			EASTPOINTE	\$31.09	\$31.09	86	
		CENTRAL COMMUNITY SERVICES LLC	VAYA	\$25.91	\$25.91	68	
		COASTAL SOUTHEASTERN UNITED CARE	EASTPOINTE	\$31.09	\$31.09	37	
			TRILLIUM	\$25.91	\$25.91	358	\$9,276
		DREAM PROVIDER CARE SERVICES	TRILLIUM	\$26.45	\$26.45	31	\$815
		MONARCH	ALLIANCE	\$25.91	\$25.91	99	
		Month Men	EASTPOINTE	\$31.09	\$31.09	26	
			PARTNERS	\$25.91	\$25.91	190	\$4,866
		NORTH CAROLINA RECOVERY SUPPORT SER	ALLIANCE	\$25.91	\$25.91	396	\$10,260
		PHYSICIAN ALLIANCE FOR MENTAL HEALT	TRILLIUM	\$44.00	\$44.00	221	\$9,724
		RHA HEALTH SERVICES INC	PARTNERS	\$23.31	\$23.31	81	\$1,888
		MIA TEAETT SERVICES INC	VAYA	\$25.91	\$25.91	205	\$5,312
			TRILLIUM	\$44.00	\$44.00	154	\$6,776
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$25.91	\$25.91	763	\$19,769
		STEPHENS OUTREACH CENTER INC	EASTPOINTE	\$31.09	\$31.09	318	\$19,709
		RHA BEHAVIORAL HEALTH NC LLC	EASTPOINTE	\$31.09	\$31.09	191	\$5,938
		KHA BEHAVIORAL HEALTH NC LLC	SANDHILLS	\$50.00	\$25.91	74	\$2,110
			VAYA	\$38.00	\$38.00	182	\$6,916
		PATHWAYS TO LIFE INC	TRILLIUM	\$27.08	\$26.45	113	\$2,990
		WAYNESBORO FAMILY CLINIC PA	EASTPOINTE	\$31.09	\$31.09	1116	
		A CARING ALTERNATIVE LLC	PARTNERS	\$25.91	\$25.91	267	
		A CARING ALTERNATIVE LLC	VAYA				\$6,273
		NICC ACQUISITION I I C		\$25.91	\$25.91	14	\$363
		NCG ACQUISITION LLC	VAYA	\$25.91	\$25.91	93	
		PQA HEALTHCARE INC	PARTNERS	\$23.31	\$23.31	22	
		COMMUNITY SUPPORT AGENCY LLC	TRILLIUM	\$25.91	\$25.91	88	
		THE SPARC NETWORK LLC	PARTNERS	\$23.31	\$23.31	93	\$2,139
		ONE TO ONE WITH YOUTH INC	EASTPOINTE	\$25.91	\$25.91	174	\$4,489
		SOUTHEASTERN INTEGRATED CARE	EASTPOINTE	\$31.09	\$31.09	1005	\$31,225
		EASTER SEALS UCP NORTH CAROLINA & V	ALLIANCE	\$25.91	\$25.91	137	\$3,550
			PARTNERS	\$23.31	\$23.31	68	
		PRIDE IN NORTH CAROLINA LLC	ALLIANCE	\$25.91	\$25.91	125	\$3,239
			EASTPOINTE	\$31.09	\$31.09	711	\$22,089
			TRILLIUM	\$44.00	\$44.00	138	\$5,455
		CAROLINA SOLUTION INC	EASTPOINTE	\$31.09	\$31.09	88	\$2,736

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Community Support Team	H2015	SOUTHEASTERN BEHAVIORAL HEALTHCARE	EASTPOINTE	\$31.09	\$31.09	352	\$10,933
		THE ALAMANCE ACADEMY	VAYA	\$25.91	\$25.91	26	\$674
Comprehensive Screening and Community Connection	YA377	COMMUNITY PARTNERSHIPS INC	ALLIANCE	\$19.45	\$19.45	40	\$778
Day Activity	YP660	ADULT LIFE PROGRAMS INC	PARTNERS	\$3.75	\$3.75	47	\$176
		AUTISM SOCIETY OF NORTH CAROLINA	SANDHILLS	\$3.75	\$3.75	235	\$881
		MENTAL HEALTH ASSOCIATES OF THE TRI	SANDHILLS	\$3.75	\$3.75	299	\$1,121
		MONARCH	PARTNERS	\$3.75	\$3.75	33	\$124
		NEW HORIZONS ADULT DAY SERVICES INC	PARTNERS	\$3.75	\$3.75	12	\$45
		RAINBOW 66 STOREHOUSE INC	EASTPOINTE	\$3.75	\$3.75	60	\$225
		RENU LIFE EXTENDED INC	SANDHILLS	\$3.75	\$3.75	124	\$465
		SANCTUARY HOUSE INC	SANDHILLS	\$3.75	\$3.75	1294	\$4,853
		THE ENRICHMENT CTR AN AFFL CHPT	PARTNERS	\$3.75	\$3.75	104	\$390
			SANDHILLS	\$3.75	\$3.75	79	\$296
		THE MENTAL HEALTH FUND INC	PARTNERS	\$3.75	\$3.75	84	\$315
		UMAR SERVICES INC	SANDHILLS	\$3.75	\$3.75	154	\$578
		THERAPEUTIC ALTERNATIVES INC	SANDHILLS	\$3.75	\$3.75	1116	\$4,185
		LIFESPAN INC	PARTNERS	\$5.51	\$3.75	419	\$1,738
			SANDHILLS	\$3.75	\$3.75	1454	\$5,453
		SKILL CREATIONS INC	EASTPOINTE	\$3.75	\$3.75	1757	\$6,589
		WESCARE PROFESSIONAL SERVICES LLC	SANDHILLS	\$3.75	\$3.75	44	\$165
		HINDS FEET FARM INC	SANDHILLS	\$3.75	\$3.75	150	\$563
		PARADIGM INC	EASTPOINTE	\$3.75	\$3.75	109	\$409
		BEYOND CHALLENGES COMMUNITY SERVICE	EASTPOINTE	\$3.75	\$3.75	277	\$1,035
		GUARDIAN ANGEL HEALTHCARE LLC	EASTPOINTE	\$3.75	\$3.75	10	\$38
			VAYA	\$3.75	\$3.75	248	\$930
		ABOUND HEALTH LLC	PARTNERS	\$3.75	\$3.75	122	\$458
		MORGAN SUPPORT SERVICES	SANDHILLS	\$3.75	\$3.75	87	\$326
		ADVANTAGE CARE IN HOME SERVICES	EASTPOINTE	\$3.75	\$3.75	15	\$52
Day Supports	YM580	ROANOKE DEVELOPMENTAL CENTER INC	TRILLIUM	\$128.00	\$128.00	119	\$15,232
Developmental Day	YP610	RHA HEALTH SERVICES NC LLC	SANDHILLS	\$4.74	\$4.74	18	\$85
		SANDHILLS CHILDRENS CENTER	SANDHILLS	\$4.74	\$4.74	1734	\$8,219
Developmental Therapy Service Paraprofessional	H2014	ADVANTAGE BEHAVIORAL HEALTHCARE INC	TRILLIUM	\$5.75	\$5.75	306	\$1,555
		AUTISM SOCIETY OF NORTH CAROLINA	TRILLIUM	\$7.75	\$5.75	714	\$4,154
		BENJAMIN HOUSE CASE MANAGEMENT	TRILLIUM	\$5.75	\$5.75	14	\$81
		HOMECARE MANAGEMENT CORPORATION	TRILLIUM	\$5.00	\$5.00	810	\$4,050
		LECHRIS HEALTH SYSTEMS OF GREENVILL	TRILLIUM	\$7.19	\$7.19	284	\$2,042
		LECHRIS HEALTH SYSTEMS OF NEW BERN	TRILLIUM	\$7.19	\$7.19	451	\$3,243
		MAXIM HEALTHCARE SERVICES	TRILLIUM	\$5.75	\$5.75	785	\$4,514
		RHA HEALTH SERVICES NC LLC	SANDHILLS	\$6.01	\$6.01	284	\$1,707
		RIVERBEND SERVICES INC	EASTPOINTE	\$6.01	\$6.01	70	\$421
		SANDHILLS CHILDRENS CENTER	SANDHILLS	\$6.01	\$6.01	1077	\$6,473
							\$361
		SPECIALIZED SERVICES AND PERSONNEL	SANDHILLS	\$6.01	\$6.01	60	
				\$6.01 \$5.00	\$6.01 \$5.00	60 2073	
		SPECIALIZED SERVICES AND PERSONNEL	SANDHILLS				\$10,365
		SPECIALIZED SERVICES AND PERSONNEL PINNACLE HOME CARE INC	SANDHILLS TRILLIUM	\$5.00	\$5.00	2073	\$10,365 \$3,416
		SPECIALIZED SERVICES AND PERSONNEL PINNACLE HOME CARE INC CNC-ACCESS INC	SANDHILLS TRILLIUM TRILLIUM	\$5.00 \$5.75	\$5.00 \$5.75	2073 594	\$10,365 \$3,416 \$8,592
		SPECIALIZED SERVICES AND PERSONNEL PINNACLE HOME CARE INC CNC-ACCESS INC HUMAN RESOURCES UNLIMITED INC INDEPENDENT HUMAN SERVICES LLC	SANDHILLS TRILLIUM TRILLIUM TRILLIUM TRILLIUM TRILLIUM	\$5.00 \$5.75 \$7.19 \$4.60	\$5.00 \$5.75 \$7.19 \$4.60	2073 594 1195 174	\$10,365 \$3,416 \$8,592 \$800
		SPECIALIZED SERVICES AND PERSONNEL PINNACLE HOME CARE INC CNC-ACCESS INC HUMAN RESOURCES UNLIMITED INC INDEPENDENT HUMAN SERVICES LLC A CARING HEART CASE MANAGEMENT INC	SANDHILLS TRILLIUM TRILLIUM TRILLIUM TRILLIUM TRILLIUM TRILLIUM	\$5.00 \$5.75 \$7.19 \$4.60 \$5.75	\$5.00 \$5.75 \$7.19 \$4.60 \$5.75	2073 594 1195 174 122	\$10,365 \$3,416 \$8,592 \$800 \$702
		SPECIALIZED SERVICES AND PERSONNEL PINNACLE HOME CARE INC CNC-ACCESS INC HUMAN RESOURCES UNLIMITED INC INDEPENDENT HUMAN SERVICES LLC	SANDHILLS TRILLIUM TRILLIUM TRILLIUM TRILLIUM TRILLIUM TRILLIUM EASTPOINTE	\$5.00 \$5.75 \$7.19 \$4.60 \$5.75 \$6.01	\$5.00 \$5.75 \$7.19 \$4.60 \$5.75 \$6.01	2073 594 1195 174 122 14	\$10,365 \$3,416 \$8,592 \$800 \$702 \$84
		SPECIALIZED SERVICES AND PERSONNEL PINNACLE HOME CARE INC CNC-ACCESS INC HUMAN RESOURCES UNLIMITED INC INDEPENDENT HUMAN SERVICES LLC A CARING HEART CASE MANAGEMENT INC	SANDHILLS TRILLIUM TRILLIUM TRILLIUM TRILLIUM TRILLIUM TRILLIUM	\$5.00 \$5.75 \$7.19 \$4.60 \$5.75	\$5.00 \$5.75 \$7.19 \$4.60 \$5.75	2073 594 1195 174 122	\$10,365 \$3,416 \$8,592 \$800 \$702

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Developmental Therapy Service Professional	H2014	SANDHILLS CHILDRENS CENTER	SANDHILLS	\$8.23	\$8.23	322	\$2,638
Diagnostic Assessment	T1023	OUTREACH MANAGEMENT SERVICES	PARTNERS	\$231.30	\$231.30	10	\$2,313
		SUNPATH LLC	PARTNERS	\$231.30	\$231.30	61	\$13,880
		PORT HEALTH SERVICES	EASTPOINTE	\$238.24	\$238.24	66	\$15,412
			TRILLIUM	\$231.30	\$231.30	972	\$224,824
		ATS OF NORTH CAROLINA LLC	VAYA	\$231.30	\$231.30	25	\$5,783
E&M-Detailed-Established Patient	99213	ANUVIA PREVENTION AND RECOVERY CENT	ALLIANCE	\$75.00	\$75.00	179	\$10,680
		CLIENTFIRST OF NC LLC	EASTPOINTE	\$57.62	\$57.62	59	\$3,335
		CUMBERLAND COUNTY HOSPITAL SYSTEM I	ALLIANCE	\$75.00	\$47.55	385	\$20,251
		DAYMARK RECOVERY SERVICES INC	ALLIANCE	\$75.00	\$47.55	293	\$14,371
			PARTNERS	\$155.00	\$155.00	1568	\$241,735
			SANDHILLS	\$69.67	\$59.21	765	\$44,643
			VAYA	\$232.00	\$49.26	306	\$22,543
		DREAM PROVIDER CARE SERVICES	TRILLIUM	\$64.61	\$64.61	47	\$2,954
		INSIGHT HUMAN SERVICES INC	PARTNERS	\$69.86	\$69.86	123	\$8,593
		OCTOBER ROAD INC	VAYA	\$184.00	\$184.00	1359	
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$155.00		\$33,195
		PHOENIX COUNSELING CENTER	PARTNERS	\$69.86	\$59.38	102	\$6,183
		RHA HEALTH SERVICES INC	VAYA	\$197.20	\$197.20	147	\$26,072
		THE MENTAL HEALTH FUND INC	PARTNERS	\$69.86	\$59.38	239	\$14,601
		VISION BEHAVIORAL HEALTH SERVICES L	VAYA	\$232.00	\$197.20	138	
		RHA BEHAVIORAL HEALTH NC LLC	SANDHILLS	\$69.67	\$69.67	71	
			VAYA	\$74.43	\$74.43	56	\$4,126
			TRILLIUM	\$197.20	\$197.20	51	
		CROSSROADS TREATMENT CENTERS	VAYA	\$49.26	\$49.26	114	
		FREEDOM HOUSE RECOVERY CENTER INC	ALLIANCE	\$143.47	\$47.55	209	
			VAYA	\$49.26	\$49.26	32	
		RECOVERY INNOVATIONS INC	ALLIANCE	\$47.55	\$47.55		
		WAYNESBORO FAMILY CLINIC PA	EASTPOINTE	\$57.62	\$57.62	589	
		VIDANT MEDICAL GROUP LLC	TRILLIUM	\$185.00	\$185.00		
		FAMILY SERVICE OF THE PIEDMONT INC	SANDHILLS	\$59.21	\$59.21	14	
		PORT HEALTH SERVICES	EASTPOINTE	\$54.82	\$54.82	70	
			TRILLIUM	\$197.20	\$152.39	1809	
		CROSSROADS TREATMENT CENTER OF WEAV	VAYA	\$49.26	\$49.26	161	\$7,931
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$69.67	\$69.67	31	. ,
		SOUTHEASTERN INTEGRATED CARE	EASTPOINTE	\$54.82	\$54.82	26	
		JACKSONVILLE TREATMENT CENTER	TRILLIUM	\$197.20	\$197.20	90	
		MOREHEAD CITY TREATMENT CENTER	TRILLIUM	\$197.20	\$197.20	15	
		BLUE RIDGE COMMUNITY HEALTH SERVICE	VAYA	\$74.43	\$74.43		
		REFLECTIONS OF HOPE LLP	TRILLIUM	\$91.70	\$61.53	22	
		NAGS HEAD TREATMENT CENTER LLC	TRILLIUM	\$197.20	\$152.39		
		HAZELWOOD HEALTHCARE PLLC	VAYA	\$51.97	\$49.26		
		ATS OF NORTH CAROLINA LLC	ALLIANCE	\$57.54	\$57.54	30	
		ALCOHOL AND DRUG SERVICES OF GUILFO	SANDHILLS	\$59.21	\$59.21	137	
		METRO TREATMENT OF NORTH CAROLINA L	ALLIANCE	\$75.00	\$75.00	33	
		MCLEOD CENTERS FOR WELLBEING	ALLIANCE	\$75.00	\$63.75		
		HOPE HEALTH FAMILY PRACTICE	EASTPOINTE	\$54.82	\$48.98	10	
		COUNTY OF JOHNSTON NORTH CAROLINA	ALLIANCE	\$75.00	\$75.00		
		GREENVILLE TREATMENT CENTER LLC	TRILLIUM	\$61.53	\$61.53	26	
E&M-Detailed-Established Patient - Telemedicine	99213	DAYMARK RECOVERY SERVICES INC	ALLIANCE	\$75.00	\$75.00	495	\$29,247
Earn Detailed Established Fatient Telefficultiff	33213	S MICHES PER SERVICES INC	PARTNERS	\$155.00	\$155.00		
	I	I	FAULINERS	J133.00	00.00ء	1140	71/0,032

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LIST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
E&M-Detailed-Established Patient - Telemedicine	99213	DAYMARK RECOVERY SERVICES INC	SANDHILLS	\$69.67	\$59.21	828	\$49,537
			VAYA	\$74.43	\$74.43	216	\$12,178
		DREAM PROVIDER CARE SERVICES	TRILLIUM	\$64.61	\$64.61	138	\$8,873
		MONARCH	ALLIANCE	\$143.47	\$143.47	218	\$17,385
		OCTOBER ROAD INC	VAYA	\$49.26	\$49.26	87	\$4,286
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$155.00	681	\$104,840
		PHOENIX COUNSELING CENTER	PARTNERS	\$69.86	\$69.86	21	\$1,352
		RHA BEHAVIORAL HEALTH NC LLC	SANDHILLS	\$69.67	\$69.67	79	\$5,483
			VAYA	\$74.43	\$74.43	102	\$6,525
		FREEDOM HOUSE RECOVERY CENTER INC	ALLIANCE	\$47.55	\$47.55	43	\$2,045
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$197.20	\$179.28	191	\$34,359
		RECOVERY INNOVATIONS INC	ALLIANCE	\$47.55	\$47.55	127	\$6,039
			TRILLIUM	\$120.00	\$120.00	49	\$5,880
		NCG ACQUISITION LLC	VAYA	\$74.43	\$74.43	25	\$1,861
		PORT HEALTH SERVICES	EASTPOINTE	\$54.82	\$54.82	13	\$713
			TRILLIUM	\$197.20	\$152.39	589	\$81,673
		BLUE RIDGE COMMUNITY HEALTH SERVICE	VAYA	\$74.43	\$74.43	40	\$2,596
		COUNTY OF JOHNSTON NORTH CAROLINA	ALLIANCE	\$75.00	\$75.00	24	\$1,800
E&M-Detailed-New Patient	99203	PORT HEALTH SERVICES	TRILLIUM	\$160.48	\$83.36	32	\$3,019
E&M-Expanded-Established Patient	99212	DAYMARK RECOVERY SERVICES INC	PARTNERS	\$32.50	\$28.48	14	\$407
			SANDHILLS	\$41.72	\$41.72	163	\$6,476
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$28.48	\$28.48	12	\$342
		FREEDOM HOUSE RECOVERY CENTER INC	ALLIANCE	\$28.48	\$28.48	81	\$2,307
			VAYA	\$70.00	\$70.00	24	\$1,000
		LUMBERTON TREATMENT CENTER LLC	EASTPOINTE	\$34.51	\$34.51	12	\$414
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$41.72	\$41.72	10	\$417
		ATS OF NORTH CAROLINA LLC	EASTPOINTE	\$34.51	\$34.51	89	\$2,992
			VAYA	\$29.13	\$28.50	69	\$1,980
		ALCOHOL AND DRUG SERVICES OF GUILFO	SANDHILLS	\$41.72	\$41.72	109	\$4,498
E&M-Expanded-Established Patient - Telemedicine	99212	DAYMARK RECOVERY SERVICES INC	PARTNERS	\$32.50	\$28.48	21	\$614
			SANDHILLS	\$41.72	\$35.47	26	\$915
E&M-Expanded-New Patient	99202	JACKSONVILLE TREATMENT CENTER	TRILLIUM	\$63.29	\$63.29	11	\$696
E&M-High-Established Patient	99215	DAYMARK RECOVERY SERVICES INC	SANDHILLS	\$141.98	\$141.98	23	\$3,023
		RHA HEALTH SERVICES INC	TRILLIUM	\$114.00	\$114.00	29	\$3,289
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$125.39	\$114.00	158	\$18,092
		NCG ACQUISITION LLC	VAYA	\$111.11	\$111.11	30	\$3,250
		PORT HEALTH SERVICES	TRILLIUM	\$219.45	\$219.45	136	\$21,043
		ADDICTION RECOVERY MEDICAL SERVICE	VAYA	\$105.58	\$105.58	94	\$9,925
		REFLECTIONS OF HOPE LLP	TRILLIUM	\$125.40	\$96.90	50	\$5,045
E&M-High-Established Patient - Telemedicine	99215	DAYMARK RECOVERY SERVICES INC	PARTNERS	\$155.00	\$155.00	21	\$3,255
			SANDHILLS	\$141.98	\$141.98	26	\$3,329
		PHOENIX COUNSELING CENTER	PARTNERS	\$138.57	\$117.78	23	\$2,917
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$125.39	\$114.00	54	\$6,133
E&M-High-New Patient	99205	DAYMARK RECOVERY SERVICES INC	SANDHILLS	\$203.51	\$172.98	21	\$3,295
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$179.75	\$163.40	79	\$12,958
		NCG ACQUISITION LLC	VAYA	\$153.51	\$153.51	23	\$3,531
		PORT HEALTH SERVICES	TRILLIUM	\$314.56	\$179.75	41	\$8,557
	0005-	COUNTY OF JOHNSTON NORTH CAROLINA	ALLIANCE	\$163.41	\$163.41	12	\$1,887
E&M-High-New Patient - Telemedicine	99205	DAYMARK RECOVERY SERVICES INC	SANDHILLS	\$203.51	\$203.51	70	\$12,620
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$163.41	\$163.40	53	\$8,562
		NCG ACQUISITION LLC	VAYA	\$153.51	\$153.51	12	\$1,842

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
E&M-Moderate-Established Patient	99214	ANUVIA PREVENTION AND RECOVERY CENT	ALLIANCE	\$105.00	\$78.82	119	\$9,66
		CAROLINA OUTREACH LLC	ALLIANCE	\$105.00	\$105.00	59	\$5,79
		CLIENTFIRST OF NC LLC	EASTPOINTE	\$86.82	\$86.82	72	
		CUMBERLAND COUNTY HOSPITAL SYSTEM I	ALLIANCE	\$105.00	\$105.00	257	\$23,55
		DAYMARK RECOVERY SERVICES INC	PARTNERS	\$155.00	\$155.00	177	
			SANDHILLS	\$104.98	\$104.98	179	. ,
			VAYA	\$289.00	\$76.76	208	
		EAST CAROLINA UNIVERSITY	TRILLIUM	\$215.00	\$215.00	216	
		EL FUTURO	ALLIANCE	\$150.00	\$150.00	182	\$26,73
		FAMILY PRESERVATION SERVICES OF NC	VAYA	\$105.00	\$105.00	10	
		FERNANDEZ COMMUNITY CENTER LLC	ALLIANCE	\$105.00	\$105.00		
		MONARCH	ALLIANCE	\$143.47	\$143.47	62	
		ment and	EASTPOINTE	\$86.82	\$82.60		
		NEW DIMENSION GROUP LLC	EASTPOINTE	\$86.82	\$82.60	136	. ,
		NORTH CAROLINA RECOVERY SUPPORT SER	ALLIANCE	\$105.00	\$105.00	196	
		OUTREACH MANAGEMENT SERVICES	PARTNERS	\$103.00	\$103.00		
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$155.00	353	\$52,72
		PHOENIX COUNSELING CENTER	PARTNERS	\$103.28	\$155.00		
		PHYSICIAN ALLIANCE FOR MENTAL HEALT	TRILLIUM	\$289.00	\$262.72	239	
		RHA HEALTH SERVICES INC	VAYA	\$289.00	\$289.00	446	
		KHA HEALTH SERVICES INC	TRILLIUM			132	
		COLITILICATE	ALLIANCE	\$289.00	\$262.72 \$92.72	288	\$32,605 \$24,379
		SOUTHLIGHT HEALTHCARE		\$105.00	•		
		STEPHENS OUTREACH CENTER INC	EASTPOINTE PARTNERS	\$86.82	\$82.60	14	. ,
		THE MENTAL HEALTH FUND INC		\$103.28	\$87.79		
		TRIAD THERAPY MENTAL HEALTH CENTER	PARTNERS	\$87.79	\$87.79		
		RHA BEHAVIORAL HEALTH NC LLC	EASTPOINTE	\$86.82	\$86.82	86	
			SANDHILLS	\$104.98	\$104.98	98	
			TRILLIUM	\$289.00	\$289.00	315	
		MORSE CLINIC OF ZEBULON	ALLIANCE	\$101.99	\$101.99	193	\$19,14
		MORSE CLINIC OF NORTH RALEIGH	ALLIANCE	\$105.00	\$105.00	245	\$23,884
		FREEDOM HOUSE RECOVERY CENTER INC	VAYA	\$222.00	\$222.00	90	
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$289.00	\$262.72	559	
		WAYNESBORO FAMILY CLINIC PA	EASTPOINTE	\$86.82	\$86.82	91	
		VIDANT MEDICAL GROUP LLC	TRILLIUM	\$232.00	\$232.00	88	
		NCG ACQUISITION LLC	VAYA	\$340.00	\$289.00	321	\$93,044
		THE HOPE CENTRE FOR ADVANCEMENT LLC	ALLIANCE	\$78.82	\$78.82	725	
		LUMBERTON TREATMENT CENTER LLC	EASTPOINTE	\$86.82	\$86.82	26	
		Greater Image Healthcare Corp	ALLIANCE	\$78.82	\$78.82	150	
		PORT HEALTH SERVICES	EASTPOINTE	\$82.60	\$82.60	40	
			TRILLIUM	\$289.00	\$223.33	1287	\$228,383
		ADDICTION RECOVERY MEDICAL SERVICE	VAYA	\$76.76	\$76.76	199	\$15,27
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$104.98	\$104.98	94	
		SOUTHERN FAMILY MEDICINE INC	PARTNERS	\$87.79	\$87.79	11	\$960
		CLAY WILSON & ASSOCIATES	PARTNERS	\$103.28	\$103.28	11	\$1,05
		BLUE RIDGE COMMUNITY HEALTH SERVICE	VAYA	\$216.67	\$105.00	46	\$4,17
		REFLECTIONS OF HOPE LLP	TRILLIUM	\$233.33	\$223.33	53	\$5,57
		AMARA WELLNESS SERVICES INC	ALLIANCE	\$105.00	\$105.00	111	\$11,00
		RENEW COUNSELING CENTER OF NC LLC	ALLIANCE	\$92.72	\$78.82	77	\$6,34
		HAZELWOOD HEALTHCARE PLLC	VAYA	\$80.85	\$76.76	109	
		HHDM INC	ALLIANCE	\$105.00	\$78.82	142	
		MCLEOD CENTERS FOR WELLBEING	ALLIANCE	\$105.00		34	

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
E&M-Moderate-Established Patient	99214	PRIDE IN NORTH CAROLINA LLC	ALLIANCE	\$78.82	\$78.82	44	\$3,468
		LIFE NET SERVICES LLC	ALLIANCE	\$92.72	\$92.72	156	\$12,810
		COUNTY OF JOHNSTON NORTH CAROLINA	ALLIANCE	\$105.00	\$105.00	230	\$22,605
E&M-Moderate-Established Patient - Telemedicine	99214	CAROLINA OUTREACH LLC	ALLIANCE	\$105.00	\$78.82	803	\$68,504
		DAYMARK RECOVERY SERVICES INC	PARTNERS	\$155.00	\$155.00	266	\$41,125
			SANDHILLS	\$104.98	\$101.83	506	\$46,071
			VAYA	\$105.00	\$105.00	294	\$26,230
		EL FUTURO	ALLIANCE	\$105.00	\$105.00	118	\$12,364
		FAMILY PRESERVATION SERVICES OF NC	PARTNERS	\$105.00	\$105.00	62	\$6,131
		MONARCH	ALLIANCE	\$143.47	\$78.82	1993	\$211,256
			EASTPOINTE	\$86.82	\$82.60	327	\$26,962
			PARTNERS	\$143.47	\$143.47	546	
			SANDHILLS	\$104.98	\$89.23	23	
			VAYA	\$80.85	\$76.76	10	
			TRILLIUM	\$289.00	\$223.33	176	
		OUTREACH MANAGEMENT SERVICES	PARTNERS	\$87.79	\$87.79	10	
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$143.47	850	\$123,648
		PHOENIX COUNSELING CENTER	PARTNERS	\$103.28	\$103.28	59	
		RHA HEALTH SERVICES INC	VAYA	\$105.00	\$105.00	46	\$4,802
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$105.00	\$78.82	905	\$73,140
		TRIAD THERAPY LLC	SANDHILLS	\$89.23	\$89.23	112	\$9,994
		TRIAD THERAPY MENTAL HEALTH CENTER	PARTNERS	\$87.79	\$87.79	160	\$14,046
		RHA BEHAVIORAL HEALTH NC LLC	SANDHILLS	\$101.83	\$101.83	47	\$4,610
			VAYA	\$105.00	\$105.00	69	
			TRILLIUM	\$223.33	\$223.33	44	
		FREEDOM HOUSE RECOVERY CENTER INC	VAYA	\$105.00	\$105.00	93	\$8,664
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$289.00	\$262.72	1153	\$299,772
		RECOVERY INNOVATIONS INC	ALLIANCE	\$78.82	\$78.82	185	\$14,582
		NCG ACQUISITION LLC	VAYA	\$105.00	\$105.00	209	\$21,935
		PORT HEALTH SERVICES	EASTPOINTE	\$82.60	\$82.60	10	\$826
			TRILLIUM	\$289.00	\$262.72	365	\$71,500
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$104.98	\$89.23	99	\$9,354
		BLUE RIDGE COMMUNITY HEALTH SERVICE	VAYA	\$105.00	\$76.76	11	\$873
		AMARA WELLNESS SERVICES INC	ALLIANCE	\$105.00	\$78.82	448	\$38,012
		EASTER SEALS UCP NORTH CAROLINA & V	ALLIANCE	\$78.82	\$78.82	29	
		PRIDE IN NORTH CAROLINA LLC	ALLIANCE	\$92.72	\$78.82	43	, - ,
			TRILLIUM	\$262.72	\$223.33	185	\$42,876
E&M-Moderate-New Patient	99204	ANUVIA PREVENTION AND RECOVERY CENT	ALLIANCE	\$142.20	\$142.20	36	
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$159.04	\$155.00	24	
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$142.20	\$142.20	77	
		THE MENTAL HEALTH FUND INC	PARTNERS	\$159.04	\$135.18	58	
		RHA BEHAVIORAL HEALTH NC LLC	VAYA	\$126.66	\$126.66	12	
		WAYNESBORO FAMILY CLINIC PA	EASTPOINTE	\$133.15	\$133.15	27	
		PORT HEALTH SERVICES	TRILLIUM	\$248.85	\$176.49	245	
		AMARA WELLNESS SERVICES INC	ALLIANCE	\$142.20	\$120.87	53	
E&M-Moderate-New Patient - Telemedicine	99204	CAROLINA OUTREACH LLC	ALLIANCE	\$142.20	\$120.87	85	
		DAYMARK RECOVERY SERVICES INC	SANDHILLS	\$156.16	\$136.85	10	' '
		MONARCH	ALLIANCE	\$143.47	\$143.47	381	\$51,073
			PARTNERS	\$143.47	\$143.47	99	
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$143.47	100	
	I	SOUTHLIGHT HEALTHCARE	ALLIANCE	\$120.87	\$120.87	46	\$5,560

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

E&M-Problem Focused-Established Patient 99211	Paid 50 64 57 129 111 1247 4073 2472 674 482 2682 216 2253 1158 514 691 465 1135	\$724 \$674
ADDICTION RECOVERY MEDICAL SERVICE VAYA \$11.32 \$11.32 \$11.32 \$15.	64 57 129 111 1247 4073 2472 674 482 2682 216 2253 1158 514 691	\$724 \$674 \$2,170 \$31,490 \$37,410 \$131,599 \$81,567 \$21,468 \$14,460 \$71,983 \$5,427 \$111,961 \$57,481
ATS OF NORTH CARQLINA LLC	57 129 111 1247 4073 2472 674 482 2682 216 2253 1158 514 691	\$674 \$2,170 \$31,490 \$37,410 \$131,599 \$81,567 \$21,468 \$14,460 \$71,983 \$5,427 \$111,961 \$57,481
COUNTY OF JOHNSTON NORTH CAROLINA ALLIANCE \$16.82	129 111 1247 4073 2472 674 482 2682 216 2253 1158 514 691	\$2,170 \$31,490 \$37,410 \$131,599 \$81,567 \$21,468 \$14,460 \$71,983 \$5,427 \$111,961 \$57,481 \$15,413
Facility Based Crisis Program-Non-Medicaid YP485 FREEDOM HOUSE RECOVERY CENTER INC SANDHILLS \$313.32 \$31	111 1247 4073 2472 674 482 2682 216 2253 1158 514 691	\$31,490 \$37,410 \$131,599 \$81,567 \$21,468 \$14,460 \$71,983 \$5,427 \$111,961 \$57,481 \$15,413
S9484 DAYMARK RECOVERY SERVICES INC ALLIANCE \$30.00 \$30.00 PARTNERS \$32.31 \$3	1247 4073 2472 674 482 2682 216 2253 1158 514 691	\$37,410 \$131,599 \$81,567 \$21,468 \$14,460 \$71,983 \$5,427 \$111,961 \$57,481 \$15,413
PARTNERS \$32.31	4073 2472 674 482 2682 216 2253 1158 514 691	\$131,599 \$81,567 \$21,468 \$14,460 \$71,983 \$5,427 \$111,961 \$57,481 \$15,413
MONARCH	2472 674 482 2682 216 2253 1158 514 691 465	\$81,567 \$21,468 \$14,460 \$71,983 \$5,427 \$111,961 \$57,481 \$15,413
MONARCH EASTPOINTE \$30.00 \$30.00 PHOENIX COUNSELING CENTER PARTNERS \$32.13 \$32.10 \$3	674 482 2682 216 2253 1158 514 691 465	\$21,468 \$14,460 \$71,983 \$5,427 \$111,961 \$57,481 \$15,413
MONARCH	482 2682 216 2253 1158 514 691 465	\$14,460 \$71,983 \$5,427 \$111,961 \$57,481 \$15,413
PHOENIX COUNSELING CENTER	2682 216 2253 1158 514 691 465	\$71,983 \$5,427 \$111,961 \$57,481 \$15,413
RESIDENTIAL TREATMENT SERVICES VAYA \$30.00 \$30.00 RHA HEALTH SERVICES INC VAYA \$50.00 \$50.00 SYNERGY RECOVERY INC VAYA \$50.00 \$50.00 UNIVERSITY OF NC HOSPITALS AT CHAPE ALLIANCE \$30.00 \$30.00 FREEDOM HOUSE RECOVERY CENTER INC ALLIANCE \$30.00 \$30.00 VAYA \$30.00 \$30.00 VAYA \$30.00 \$30.00 RECOVERY INNOVATIONS INC ALLIANCE \$30.00 \$30.00 RECOVERY INNOVATIONS INC ALLIANCE \$30.00 \$30.00 NCG ACQUISITION LLC VAYA \$46.95 \$46.95 TRILLIUM \$33.49 \$39.49 NCG ACQUISITION LLC VAYA \$50.00 \$50.00 PORT HEALTH SERVICES TRILLIUM \$34.97 \$30.00 THE MOSES H CONE MEMORIAL HOSPITAL SANDHILLS \$30.00 \$30.00 Familiy Living - Mod YP750 DAVIDSON HOMES INC VAYA \$77.50 \$77.50 STORE THE STOR	216 2253 1158 514 691 465	\$5,427 \$111,961 \$57,481 \$15,413
RHA HEALTH SERVICES INC	2253 1158 514 691 465	\$111,961 \$57,481 \$15,413
SYNERGY RECOVERY INC	1158 514 691 465	\$57,481 \$15,413
UNIVERSITY OF NC HOSPITALS AT CHAPE	514 691 465	\$15,413
FREEDOM HOUSE RECOVERY CENTER INC	691 465	
RECOVERY INNOVATIONS INC	465	
RECOVERY INNOVATIONS INC		\$13,872
VAYA \$46.95 \$46		\$34,050
TRILLIUM \$39.49	10	\$470
NCG ACQUISITION LLC	1487	\$58,722
PORT HEALTH SERVICES TRILLIUM \$34.97 \$30.00	471	\$23,550
Familiy Living - Mod THE MOSES H CONE MEMORIAL HOSPITAL SANDHILLS \$30.00 \$30.00 Pamiliy Living - Mod YP750 DAVIDSON HOMES INC VAYA \$77.50 \$77.50	2340	\$70,980
Familiy Living - Mod YP750 DAVIDSON HOMES INC VAYA \$77.50 \$77.50	347	\$10,410
	28	
	61	\$4,299
VAYA \$100.00 \$100.00	15	
RAES PLAYZE ADULT DAY CENTER PARTNERS \$70.47 \$70.47	91	\$6,413
ARRAY OF BRIGHTER BEGINNINGS INC PARTNERS \$610.00 \$610.00	368	\$160,156
Family Living - High YM755 KD SUPPORT SERVICES PARTNERS \$100.00 \$100.00	82	\$8,200
VOCA CORPORATION OF NORTH CAROLINA PARTNERS \$240.00 \$146.31	299	\$44,512
ARRAY OF BRIGHTER BEGINNINGS INC PARTNERS \$352.71 \$352.71	123	\$43,383
Family Therapy with patient 90847 SUNPATH LLC PARTNERS \$67.28 \$67.28	662	\$44,499
Group Living - Hi YP780 ANUVIA PREVENTION AND RECOVERY CENT ALLIANCE \$141.51 \$141.51	831	\$117,595
PARTNERS \$141.51 \$141.51	68	
VAYA \$141.15 \$141.15	15	
APOGEE HOME TWO ALLIANCE \$165.10 \$141.51	148	
DAVIDSON HOMES INC PARTNERS \$141.51 \$141.51	300	\$42,453
DAYMARK RECOVERY SERVICES INC SANDHILLS \$141.51 \$141.51	3872	\$547,927
EDWARDS COMMUNITY SUPPORT SVCS EASTPOINTE \$162.74 \$162.74	67	\$10,564
SANDHILLS \$141.51 \$141.51	614	\$86,882
First Step Farm of WNC VAYA \$141.15 \$141.15	132	\$18,632
GENESIS RESISDENTIAL CARE PARTNERS \$141.51 \$141.51	92	\$13,019
GREEN VALLEY HAVEN LLC PARTNERS \$162.74 \$162.74	184	\$29,944
KD SUPPORT SERVICES VAYA \$141.15 \$141.15	106	\$14,921
LUTHERAN FAMILY SERVICES IN THE CAR SANDHILLS \$141.51 \$141.51	80	
MONARCH ALLIANCE \$188.00 \$188.00	797	\$144,350
PARTNERS \$188.00 \$188.00	527	\$78,899
SANDHILLS \$188.00 \$141.51	797	\$120,268
VAYA \$141.15 \$141.15	531	\$74,951
PARTNERS BEHAVIORAL HEALTH MANAG PARTNERS \$141.51 \$141.51	23	
RENU LIFE EXTENDED INC SANDHILLS \$141.51 \$141.51	184	

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Group Living - Hi	YP780	SAMARITAN COLONY	SANDHILLS	\$141.51	\$141.51	1678	\$237,454
		EASON COURT GROUP HOME	ALLIANCE	\$141.51	\$141.51	184	\$26,038
			PARTNERS	\$141.51	\$141.51	184	\$26,038
		AMAT GROUP HOMES LLC	ALLIANCE	\$141.51	\$141.51	317	\$44,086
			PARTNERS	\$160.00	\$141.51	507	\$72,337
			SANDHILLS	\$187.00	\$141.51	500	\$72,802
		CRANDELLS ENTERPRISES INC	ALLIANCE	\$141.51	\$141.51	52	\$7,359
		PATH OF HOPE INC	ALLIANCE	\$141.51	\$141.51	151	\$21,368
			PARTNERS	\$141.51	\$141.51	775	\$109,670
			SANDHILLS	\$141.51	\$141.51	1200	\$169,812
		MULTICULTURAL RESOURCES CENTER INC	ALLIANCE	\$141.51	\$141.51	1081	\$152,972
			PARTNERS	\$141.51	\$141.51	184	\$26,038
			SANDHILLS	\$141.51	\$141.51	183	\$25,896
			VAYA	\$141.15	\$141.15	99	\$13,974
		HOPE VALLEY INC	PARTNERS	\$141.51	\$141.51	1313	\$185,798
		AGAPE HOME LIVING CARE LLC	EASTPOINTE	\$162.74	\$162.74	349	\$56,796
		ETTAS RESIDENTIAL SERVICES	ALLIANCE	\$141.51	\$141.51	17	\$2,406
		LAVERNES HAVEN RESIDENTIAL HOME SER	EASTPOINTE	\$162.74	\$162.74	335	\$54,518
		CREATIVE DIRECTIONS INC	VAYA	\$528.00	\$528.00	118	\$46,830
		KOODY HEALTHCARE SERVICES	ALLIANCE	\$141.51	\$141.51	121	\$17,123
		CAROLINA PRIME RESIDENTIAL LLC	EASTPOINTE	\$282.74	\$282.74	159	\$41,596
Group Living - Low	YP760	ALTERNATIVE COMMUNITY PENALTIES PRG	PARTNERS	\$55.29	\$55.29	497	\$27,479
		BETHANY HOUSE	SANDHILLS	\$55.29	\$55.29	215	\$11,887
		COMMUNITY ALTERNATIVES INCORPORATED	ALLIANCE	\$193.75	\$193.75	718	\$139,113
		COMMUNITY INNOVATIONS INC	TRILLIUM	\$55.29	\$55.29	85	\$4,700
		DUPLIN SAMPSON GROUP HOMES INC	EASTPOINTE	\$55.30	\$55.29	366	\$20,186
		FLYNN FELLOWSHIP HOME	PARTNERS	\$55.29	\$55.29	887	\$49,039
		LEE COUNTY GROUP HOME INC	SANDHILLS	\$55.29	\$55.29	96	\$5,308
		MONARCH	SANDHILLS	\$55.29	\$55.29	511	\$28,253
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$55.29	\$55.29	182	\$10,063
		RHA HEALTH SERVICES NC LLC	EASTPOINTE	\$85.84	\$63.58	270	\$19,125
			SANDHILLS	\$55.29	\$55.29	92	\$5,087
		ROBESON HEALTH CARE CORPORATION	EASTPOINTE	\$173.74	\$173.74	1039	\$180,516
			SANDHILLS	\$135.16	\$135.16	669	\$90,422
		THE MENTAL HEALTH FUND INC	PARTNERS	\$55.29	\$55.29	1282	\$70,882
		THE WORKSHOP OF DAVIDSON INC	SANDHILLS	\$63.58	\$63.58	174	\$11,063
		REMMSCO INC	PARTNERS	\$63.58	\$63.58	393	\$23,947
			SANDHILLS	\$55.29	\$55.29	695	\$38,427
		SKILL CREATIONS INC	EASTPOINTE	\$63.58	\$63.58	354	\$22,507
		BURKE COUNCIL ON ALCOHOLISM CHEMI	PARTNERS	\$55.29	\$55.29	712	\$39,366
		PATH OF HOPE INC	ALLIANCE	\$55.29	\$55.29	101	\$5,584
			PARTNERS	\$55.29	\$55.29	1525	\$84,317
			SANDHILLS	\$55.29	\$55.29	1955	\$108,092
		HOPE HAVEN INC	ALLIANCE	\$63.58	\$63.58	10002	\$635,862
			PARTNERS	\$61.10	\$61.10	1755	\$107,230
			VAYA	\$70.27	\$70.27	45	\$3,117
		BETHESDA INC	SANDHILLS	\$55.29	\$55.29	1567	\$86,634
		EASTER SEALS UCP NORTH CAROLINA & V	SANDHILLS	\$55.29	\$55.29	1509	\$83,433
			VAYA	\$55.29	\$55.29	184	\$10,173
Group Living - Mod	YP770	ANUVIA PREVENTION AND RECOVERY CENT	ALLIANCE	\$75.48	\$75.48	2951	\$222,741
			PARTNERS	\$75.48	\$75.48	718	\$54,195

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Group Living - Mod	YP770	ANUVIA PREVENTION AND RECOVERY CENT	SANDHILLS	\$75.48	\$75.48	337	\$25,363
			VAYA	\$75.48	\$75.48	60	\$4,529
		BURKEMONT MOUNTAIN MEN GROUP HOME	PARTNERS	\$75.48	\$75.48	548	\$41,363
		COMMUNITY ALTERNATIVES INCORPORATED	ALLIANCE	\$309.34	\$309.34	2077	\$524,797
		DREAM CONNECTIONS INC	ALLIANCE	\$75.48	\$75.48	122	\$9,209
		INREACH	PARTNERS	\$75.48	\$75.48	524	\$39,552
		MONARCH	ALLIANCE	\$75.48	\$75.48	2334	\$176,170
			EASTPOINTE	\$86.80	\$86.80	184	\$15,971
			PARTNERS	\$75.48	\$75.48	41	\$3,095
			SANDHILLS	\$75.48	\$75.48	4381	\$329,697
			VAYA	\$75.48	\$75.48	184	\$13,888
			TRILLIUM	\$75.48	\$75.48	2077	\$155,425
		MYROVER REESE QUALITY ROAD	ALLIANCE	\$99.00	\$75.48	438	\$35,130
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$141.51	\$141.51	11	\$1,557
		PHOENIX COUNSELING CENTER	PARTNERS	\$173.50	\$173.50	1303	\$226,071
		RECOVERY CONNECTIONS OF DURHAM	ALLIANCE	\$115.10	\$90.63	1255	\$113,638
		RESIDENTIAL TREATMENT SERVICES	ALLIANCE	\$84.92	\$75.48	253	\$19,172
			SANDHILLS	\$75.48	\$75.48	62	\$4,680
			VAYA	\$75.48	\$75.48	31	\$2,340
		ROBESON HEALTH CARE CORPORATION	TRILLIUM	\$144.56	\$144.56	728	\$105,240
		SANCTUARY HOUSE INC	SANDHILLS	\$110.00	\$110.00	184	\$20,240
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$75.48	\$75.48	1573	\$118,730
		THE WORKSHOP OF DAVIDSON INC	SANDHILLS	\$86.80	\$86.80	17	\$1,476
		UMAR SERVICES INC	PARTNERS	\$75.48	\$75.48	332	\$25,059
		THERAPEUTIC ALTERNATIVES INC	SANDHILLS	\$75.48	\$75.48	2080	\$156,998
		CHATHAM COUNTY GROUP HOMES INC	SANDHILLS	\$75.48	\$75.48	98	\$7,397
		PQA HEALTHCARE INC	PARTNERS	\$75.48	\$75.48	736	\$55,553
		LIBERTY CORNER ENTERPRISES INC	VAYA	\$75.48	\$75.48	167	\$12,605
		THE ASBURY HOMES INC	EASTPOINTE	\$86.80	\$86.80	276	\$23,957
		WITH A PURPOSE FAMILY CARE2 WOODY	EASTPOINTE	\$75.48	\$75.48	95	\$7,171
		PORT HEALTH SERVICES	TRILLIUM	\$234.00	\$234.00	1233	\$279,307
		EASTER SEALS UCP NORTH CAROLINA & V	ALLIANCE	\$75.48	\$75.48	536	\$40,457
			PARTNERS	\$86.80	\$86.80	2781	\$241,391
			SANDHILLS	\$75.48	\$75.48	178	\$13,435
			VAYA	\$75.48	\$75.48	702	\$52,987
		MCLEOD CENTERS FOR WELLBEING	ALLIANCE	\$141.51	\$141.51	1586	\$224,372
			PARTNERS	\$141.51	\$141.51	1175	\$166,274
		THE ARC DAVIDSON COUNTY INC	PARTNERS	\$75.48	\$75.48	41	\$3,095
			SANDHILLS	\$75.48	\$75.48	51	\$3,849
Group Therapy (non-multiple family group)	90853	ANUVIA PREVENTION AND RECOVERY CENT	ALLIANCE	\$36.00	\$36.00	49	\$1,764
		CAROLINA OUTREACH LLC	ALLIANCE	\$36.00	\$36.00	50	\$1,665
		DAYMARK RECOVERY SERVICES INC	SANDHILLS	\$23.26	\$23.26	471	\$10,681
			VAYA	\$60.00	\$60.00	120	\$5,298
		DREAM PROVIDER CARE SERVICES	TRILLIUM	\$19.18	\$19.18	16	\$307
		FAMILY PRESERVATION SERVICES OF NC	PARTNERS	\$36.00	\$36.00	37	\$1,332
			VAYA	\$48.66	\$36.00	11	\$459
		INSIGHT HUMAN SERVICES INC	PARTNERS	\$36.00	\$36.00	208	\$7,488
			VAYA	\$36.00	\$36.00	57	\$2,052
		INTEGRATED BEHAVIORAL HEALTHCARE SE	ALLIANCE	\$36.00	\$36.00	399	\$14,364
			EASTPOINTE	\$19.76	\$19.76	156	\$3,083
		MERIDIAN BEHAVIORAL HEALTH SERVICES	VAYA	\$60.00	\$60.00	124	\$7,143

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Group Therapy (non-multiple family group)	90853	OCTOBER ROAD INC	VAYA	\$36.00	\$36.00	249	\$8,784
, d		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$76.20	\$36.00	530	\$19,199
		PHOENIX COUNSELING CENTER	PARTNERS	\$36.00	\$36.00	262	\$9,432
		REPAY INC	PARTNERS	\$36.00	\$36.00	33	\$1,188
		RHA HEALTH SERVICES INC	VAYA	\$60.00	\$60.00	1247	\$63,962
			TRILLIUM	\$40.10	\$40.10	69	
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$36.00	\$36.00	23	\$828
		SUNPATH LLC	PARTNERS	\$36.00	\$36.00	1221	\$43,956
		TRIAD THERAPY LLC	SANDHILLS	\$23.26	\$23.26	14	\$326
		RHA BEHAVIORAL HEALTH NC LLC	EASTPOINTE	\$19.76	\$19.76	24	\$474
			PARTNERS	\$76.20	\$76.20	48	
			SANDHILLS	\$23.26	\$23.26	33	\$768
			TRILLIUM	\$40.10	\$40.10	175	\$7,018
		FREEDOM HOUSE RECOVERY CENTER INC	ALLIANCE	\$36.00	\$36.00	89	
			VAYA	\$143.47	\$143.47	56	
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$40.10	\$40.10	14	\$561
		FAMILY SERVICE OF THE PIEDMONT INC	SANDHILLS	\$23.26	\$23.26	503	\$11,700
		BURKE COUNCIL ON ALCOHOLISM CHEMI	PARTNERS	\$36.00	\$36.00	296	\$10,656
		WPS TREATMENT CENTER	EASTPOINTE	\$19.76	\$19.76	41	\$810
		PORT HEALTH SERVICES	EASTPOINTE	\$19.76	\$19.76	269	\$5,315
			TRILLIUM	\$40.10	\$40.10	1281	\$48,255
		CLAY WILSON & ASSOCIATES	PARTNERS	\$36.00	\$36.00	552	\$19,872
		WALTER B JONES WOODSIDE TREATMENT	TRILLIUM	\$40.10	\$40.10	17	
		RESTORATION FAMILY SERVICES INC	ALLIANCE	\$36.00	\$36.00	26	
		HHDM INC	ALLIANCE	\$36.00	\$36.00	21	\$756
		ALCOHOL AND DRUG SERVICES OF GUILFO	SANDHILLS	\$23.26	\$23.26	259	\$5,974
		METRO TREATMENT OF NORTH CAROLINA L	ALLIANCE	\$36.00	\$36.00	12	
Hospital Discharge Transition Service	YA346	MONARCH	PARTNERS	\$18.25	\$18.25	40	
		THE MENTAL HEALTH FUND INC	PARTNERS	\$18.25	\$18.25	23	
		THERAPEUTIC ALTERNATIVES INC	ALLIANCE	\$18.25	\$18.25	1456	\$26,572
		CLAY WILSON & ASSOCIATES	PARTNERS	\$18.25	\$18.25	586	\$10,695
Independent Living-MR/MI	YM700	RHA HEALTH SERVICES NC LLC	EASTPOINTE	\$78.37	\$78.37	264	\$20,690
,		COMMUNITY ALTERNATIVE HOUSING INC	SANDHILLS	\$114.00	\$114.00	118	
Individual Therapy (20-30 min.)	90832	DAYMARK RECOVERY SERVICES INC	ALLIANCE	\$43.10	\$43.10	429	\$18,490
			PARTNERS	\$155.00	\$155.00	844	\$130,820
			SANDHILLS	\$47.50	\$47.50	916	\$42,875
			VAYA	\$93.60	\$93.60	164	\$9,719
		DREAM PROVIDER CARE SERVICES	TRILLIUM	\$39.18	\$39.18	281	\$11,010
		EL FUTURO	ALLIANCE	\$75.00	\$75.00	42	\$3,150
		FAMILY PRESERVATION SERVICES OF NC	PARTNERS	\$47.72	\$47.72	11	\$525
		INSIGHT HUMAN SERVICES INC	PARTNERS	\$47.72	\$47.72	205	
		INTEGRATED FAMILY SERVICES PLLC	TRILLIUM	\$39.18	\$39.18	10	
		OCTOBER ROAD INC	VAYA	\$35.15	\$35.15	23	
		OUTREACH MANAGEMENT SERVICES	PARTNERS	\$47.72	\$47.72	36	
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$155.00	424	\$65,193
		RHA HEALTH SERVICES INC	VAYA	\$93.60	\$93.60	100	\$5,868
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$43.10	\$43.10	797	\$34,351
		THE MENTAL HEALTH FUND INC	PARTNERS	\$47.72	\$47.72	33	\$1,575
		RHA BEHAVIORAL HEALTH NC LLC	EASTPOINTE	\$52.24	\$52.24	23	
		SELVIVIOUSE HEALTH INC LEG	TRILLIUM	\$39.18	\$39.18	13	. ,
		CROSSROADS TREATMENT CENTERS	VAYA	\$34.18	\$34.18	51	
	I	CHOSSHORDS THEATIVILIAL CENTERS	IAVIV	754.10	754.10	31	71,143

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

		ACT is billed at a case rate and additional events are billed at .01.					
Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Individual Therapy (20-30 min.)	90832	MORSE CLINIC OF ZEBULON	ALLIANCE	\$43.10	\$43.10	259	\$11,163
			VAYA	\$35.15	\$35.15	34	\$1,195
		MORSE CLINIC OF NORTH RALEIGH	ALLIANCE	\$43.10	\$43.10	424	\$18,274
		VANCE RECOVERY PC	VAYA	\$35.15	\$35.15	323	\$11,353
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$39.18	\$39.18	663	\$25,976
		RECOVERY INNOVATIONS INC	ALLIANCE	\$43.10	\$43.10	53	\$2,284
		WAYNESBORO FAMILY CLINIC PA	EASTPOINTE	\$52.24	\$52.24	13	\$679
		WPS TREATMENT CENTER	EASTPOINTE	\$39.18	\$39.18	166	\$6,504
		PORT HEALTH SERVICES	EASTPOINTE	\$52.24	\$52.24	50	\$2,612
			TRILLIUM	\$39.18	\$39.18	979	\$38,357
		CROSSROADS TREATMENT CENTER OF WEAV	VAYA	\$35.15	\$34.18	47	\$1,607
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$47.50	\$47.50	35	\$1,663
		JACKSONVILLE TREATMENT CENTER	TRILLIUM	\$39.18	\$39.18	23	\$901
		MOREHEAD CITY TREATMENT CENTER	TRILLIUM	\$39.18	\$39.18	21	\$823
		HILLSBOROUGH RECOVERY SOLUTIONS PC	ALLIANCE	\$43.10	\$43.10	67	\$2,888
		MORSE CLINIC OF ROANOKE RAPIDS PC	TRILLIUM	\$39.18	\$39.18	12	\$470
		WALTER B JONES WOODSIDE TREATMENT	TRILLIUM	\$39.18	\$39.18	46	\$1,802
		NAGS HEAD TREATMENT CENTER LLC	TRILLIUM	\$39.18	\$39.18	10	\$392
		HAZELWOOD HEALTHCARE PLLC	VAYA	\$34.18	\$34.18	36	\$1,230
		ATS OF NORTH CAROLINA LLC	EASTPOINTE	\$52.24	\$52.24	38	\$1,855
			VAYA	\$35.15	\$34.18	21	\$727
		HHDM INC	ALLIANCE	\$57.46	\$43.10	252	\$10,876
		ALCOHOL AND DRUG SERVICES OF GUILFO	SANDHILLS	\$47.50	\$47.50	132	\$5,976
		METRO TREATMENT OF NORTH CAROLINA L	ALLIANCE	\$43.10	\$43.10	204	\$8,792
		PRIDE IN NORTH CAROLINA LLC	TRILLIUM	\$39.18	\$39.18	63	\$2,468
		MORSE CLINIC OF DURHAM PC	ALLIANCE	\$43.10	\$43.10	40	\$1,724
Individual Therapy (20-30 min.) - Telemedicine	90832	CAROLINA OUTREACH LLC	ALLIANCE	\$43.10	\$43.10	27	\$1,164
, , , , , , , , , , , , , , , , , , , ,		CLIENTFIRST OF NC LLC	EASTPOINTE	\$52.24	\$52.24	35	\$1,828
		DAYMARK RECOVERY SERVICES INC	ALLIANCE	\$43.10	\$43.10	135	\$5,819
			PARTNERS	\$155.00	\$155.00	437	\$67,735
			SANDHILLS	\$47.50	\$47.50	238	\$11,238
			VAYA	\$93.60	\$52.24	78	\$3,571
		EL FUTURO	ALLIANCE	\$43.10	\$43.10	91	\$3,922
		FAMILY PRESERVATION SERVICES OF NC	PARTNERS	\$52.24	\$52.24	81	\$4,118
		MONARCH	ALLIANCE	\$143.47	\$143.47	213	\$17,947
			EASTPOINTE	\$52.24	\$52.24	10	\$522
			PARTNERS	\$143.47	\$143.47	22	\$3,156
			TRILLIUM	\$78.36	\$78.36	10	\$784
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$155.00	515	\$77,548
		RHA HEALTH SERVICES INC	VAYA	\$52.24	\$52.24	53	\$2,324
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$39.18	\$39.18	570	\$22,333
		NCG ACQUISITION LLC	VAYA	\$52.24	\$52.24	71	\$3,624
		PORT HEALTH SERVICES	EASTPOINTE	\$52.24	\$52.24	11	\$5,624
		I ON HEALTH SERVICES	TRILLIUM	\$39.18	\$39.18	173	\$6,778
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$47.50	\$47.50	78	\$3,705
		MCLEOD CENTERS FOR WELLBEING	ALLIANCE	\$43.10	\$43.10	49	\$2,110
Individual Therapy (20-30 min.)MD	90833	HENDERSON COUNTY HOSPITAL CORPORATI	VAYA	\$30.55	\$43.10	11	\$2,110
.,,,	90834	CAROLINA OUTREACH LLC	ALLIANCE	\$55.98	\$55.98	139	\$324 \$7,781
Individual Therapy (45-50 min.)	90834		ALLIANCE	 			. ,
		CUMBERLAND COUNTY HOSPITAL SYSTEM I		\$74.64	\$55.98	112	\$6,363
		DAYMARK RECOVERY SERVICES INC	PARTNERS	\$155.00	\$155.00	16	\$2,480
			SANDHILLS	\$61.70	\$61.70	86	\$5,131

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Individual Therapy (45-50 min.)	90834	DAYMARK RECOVERY SERVICES INC	VAYA	\$143.00	\$143.00	117	\$13,583
		DREAM PROVIDER CARE SERVICES	TRILLIUM	\$50.89	\$50.89	23	\$1,170
		EL FUTURO	ALLIANCE	\$80.00	\$80.00	115	\$9,200
		MERIDIAN BEHAVIORAL HEALTH SERVICES	VAYA	\$143.00	\$143.00	50	\$5,506
		NORTH CAROLINA RECOVERY SUPPORT SER	ALLIANCE	\$55.98	\$55.98	153	\$8,565
		OCTOBER ROAD INC	VAYA	\$55.29	\$55.29	23	\$1,272
		OUTREACH MANAGEMENT SERVICES	PARTNERS	\$63.29	\$63.29	27	\$1,709
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$155.00	240	\$34,523
		RHA HEALTH SERVICES INC	VAYA	\$143.00	\$143.00	527	\$56,399
			TRILLIUM	\$50.89	\$50.89	60	\$3,053
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$55.98	\$55.98	74	\$4,143
		SUNPATH LLC	PARTNERS	\$63.29	\$63.29	675	\$42,721
		THE MENTAL HEALTH FUND INC	PARTNERS	\$63.29	\$63.29	229	\$14,493
		RHA BEHAVIORAL HEALTH NC LLC	TRILLIUM	\$50.89	\$50.89	75	\$3,817
		VANCE RECOVERY PC	VAYA	\$50.89	\$50.89	22	\$1,120
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$50.89	\$50.89	502	\$25,547
		RECOVERY INNOVATIONS INC	ALLIANCE	\$55.98	\$55.98	47	\$2,631
			TRILLIUM	\$50.89	\$50.89	30	\$1,527
		WAYNESBORO FAMILY CLINIC PA	EASTPOINTE	\$67.85	\$67.85	92	\$6,242
		FAMILY SERVICE OF THE PIEDMONT INC	SANDHILLS	\$61.70	\$61.70	93	\$5,738
		A CARING ALTERNATIVE LLC	PARTNERS	\$63.29	\$63.29	74	\$4,683
		NCG ACQUISITION LLC	VAYA	\$143.00	\$143.00	135	\$19,103
		BURKE COUNCIL ON ALCOHOLISM CHEMI	PARTNERS	\$63.29	\$63.29	57	\$3,608
		WPS TREATMENT CENTER	EASTPOINTE	\$50.89	\$50.89	11	\$560
		TAR HEEL HUMAN SERVICES MENTAL HEAL	EASTPOINTE	\$67.85	\$67.85	11	\$746
		PORT HEALTH SERVICES	EASTPOINTE	\$67.85	\$67.85	26	\$1,764
			TRILLIUM	\$50.89	\$50.89	529	\$26,921
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$82.26	\$61.70	109	\$6,746
		CLAY WILSON & ASSOCIATES	PARTNERS	\$63.29	\$63.29	22	\$1,392
		BLUE RIDGE COMMUNITY HEALTH SERVICE	VAYA	\$143.00	\$77.41	134	\$9,733
		NAGS HEAD TREATMENT CENTER LLC	TRILLIUM	\$50.89	\$50.89	41	\$2,086
		ATS OF NORTH CAROLINA LLC	VAYA	\$55.28	\$55.28	159	\$8,790
		HHDM INC	ALLIANCE	\$55.98	\$55.98	31	\$1,735
		METRO TREATMENT OF NORTH CAROLINA L	ALLIANCE	\$43.10	\$43.10	10	\$431
		PRIDE IN NORTH CAROLINA LLC	TRILLIUM	\$50.89	\$50.89	35	\$1,781
		COUNTY OF JOHNSTON NORTH CAROLINA	ALLIANCE	\$74.64	\$55.98	92	\$5,169
Individual Therapy (45-50 min.) - Telemedicine	90834	CAROLINA OUTREACH LLC	ALLIANCE	\$55.98	\$55.98	102	\$5,710
		DAYMARK RECOVERY SERVICES INC	PARTNERS	\$155.00	\$155.00	31	\$4,805
			SANDHILLS	\$61.70	\$61.70	95	\$5,806
			VAYA	\$77.41	\$77.41	83	\$5,813
		EL FUTURO	ALLIANCE	\$55.98	\$55.98	53	\$2,967
		MONARCH	ALLIANCE	\$143.47	\$143.47	304	\$29,642
			EASTPOINTE	\$67.85	\$67.85	48	\$3,257
			PARTNERS	\$143.47	\$143.47	209	\$29,985
			TRILLIUM	\$101.78	\$101.78	28	\$2,799
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$143.47	1177	\$170,865
		RHA HEALTH SERVICES INC	VAYA	\$77.41	\$77.41	228	\$16,212
		THE MENTAL HEALTH FUND INC	PARTNERS	\$63.29	\$63.29	11	\$696
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$50.89	\$50.89	302	\$15,369
		A CARING ALTERNATIVE LLC	PARTNERS	\$63.29	\$63.29	129	\$8,164
		NCG ACQUISITION LLC	VAYA	\$77.41	\$77.41	272	\$19,795

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

		ACT is billed at a case rate and additional events are b		[
	ocedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Individual Therapy (45-50 min.) - Telemedicine 90	834	PORT HEALTH SERVICES	TRILLIUM	\$50.89	\$50.89	73	\$3,715
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$61.70	\$61.70	110	\$6,787
		BLUE RIDGE COMMUNITY HEALTH SERVICE	VAYA	\$77.41	\$77.41	57	\$3,679
Individual Therapy (60 min.)	90837	A HELPING HAND OF WILMINGTON LLC	TRILLIUM	\$74.57	\$74.57	806	\$60,103
		BRADFORD ASSOCIATES NC LLC	SANDHILLS	\$90.40	\$90.40	141	\$12,746
		CAROLINA OUTREACH LLC	ALLIANCE	\$82.03	\$82.03	506	\$41,502
		CLIENTFIRST OF NC LLC	EASTPOINTE	\$102.40	\$99.42	93	\$9,249
		CUMBERLAND COUNTY HOSPITAL SYSTEM I	ALLIANCE	\$109.36	\$82.03	83	\$7,164
		DAYMARK RECOVERY SERVICES INC	PARTNERS	\$155.00	\$155.00	10	\$1,550
			SANDHILLS	\$90.40	\$90.40	414	\$33,728
			VAYA	\$150.00	\$150.00	72	\$8,634
		DREAM PROVIDER CARE SERVICES	TRILLIUM	\$74.57	\$74.57	181	\$13,497
		EAST CAROLINA UNIVERSITY	TRILLIUM	\$109.36	\$74.57	169	\$12,935
		EL FUTURO	ALLIANCE	\$145.00	\$145.00	712	\$103,240
		LETOTORO	SANDHILLS	\$90.40	\$90.40	83	\$7,503
			VAYA	\$85.91	\$85.91	21	\$1,804
	_	FAMILY PRESERVATION SERVICES OF NC	PARTNERS			109	. ,
		FAIVILLY PRESERVATION SERVICES OF INC		\$94.75	\$94.75		\$9,962
		FEDNIANDEZ COMMANIAUTO CENTED I I C	VAYA	\$132.48	\$85.91	106	\$9,246
		FERNANDEZ COMMUNITY CENTER LLC	ALLIANCE	\$82.03	\$82.03	37	\$3,035
		INTEGRATED BEHAVIORAL HEALTHCARE SE	ALLIANCE	\$109.36	\$109.36	193	\$17,882
			EASTPOINTE	\$99.42	\$99.42	41	\$4,076
		INTEGRATED FAMILY SERVICES PLLC	TRILLIUM	\$92.90	\$74.57	35	\$2,683
		LE CHRIS COUNSELING SERVICES INC	TRILLIUM	\$74.57	\$74.57	143	\$10,664
	-	MENTAL HEALTH ASSOCIATES OF THE TRI	SANDHILLS	\$90.40	\$90.40	47	\$4,249
		MERIDIAN BEHAVIORAL HEALTH SERVICES	VAYA	\$150.00	\$150.00	170	\$20,419
		MONARCH	ALLIANCE	\$143.47	\$82.03	26	\$2,747
		OCTOBER ROAD INC	VAYA	\$85.91	\$85.91	389	\$33,419
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$155.00	114	\$17,489
		PHYSICIAN ALLIANCE FOR MENTAL HEALT	TRILLIUM	\$74.57	\$74.57	32	\$2,386
		PREMIER BEHAVIORAL SERVICES INC	EASTPOINTE	\$76.81	\$76.81	81	\$6,222
		RHA HEALTH SERVICES INC	VAYA	\$150.00	\$150.00	258	\$28,958
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$82.03	\$82.03	85	\$6,973
		STEPHENS OUTREACH CENTER INC	EASTPOINTE	\$76.81	\$76.81	387	\$29,725
		VISION BEHAVIORAL HEALTH SERVICES L	VAYA	\$150.00	\$150.00	86	\$12,900
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$74.57	\$74.56	1126	\$83,955
		RECOVERY INNOVATIONS INC	ALLIANCE	\$82.03	\$82.03	68	\$5,578
			TRILLIUM	\$74.57	\$74.57	11	\$820
		WAYNESBORO FAMILY CLINIC PA	EASTPOINTE	\$102.40	\$99.42	570	\$56,729
		FAMILY SERVICE OF THE PIEDMONT INC	SANDHILLS	\$90.40	\$90.40	961	\$86,874
		TT&T SERVICES INC	EASTPOINTE	\$99.42	\$99.42	252	\$22,613
		NCG ACQUISITION LLC	VAYA	\$150.00	\$150.00	11	\$1,650
		ALBEMARLE REGIONAL HEALTH SERVICES			-	91	
			TRILLIUM	\$74.57	\$74.57	549	\$6,786
		THE HOPE CENTRE FOR ADVANCEMENT LLC	ALLIANCE	\$82.03	\$82.03		\$45,034
		WPS TREATMENT CENTER	EASTPOINTE	\$74.57	\$74.57	174	\$12,975
		Greater Image Healthcare Corp	ALLIANCE	\$82.03	\$82.03	293	\$23,954
		PORT HEALTH SERVICES	TRILLIUM	\$74.57	\$74.57	1032	\$76,956
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$90.40	\$90.40	10	\$904
		SOUTHEASTERN INTEGRATED CARE	EASTPOINTE	\$99.42	\$99.42	97	\$9,644
		BLUE RIDGE COMMUNITY HEALTH SERVICE	VAYA	\$150.00	\$85.91	37	\$3,243
		RESTORATION FAMILY SERVICES INC	ALLIANCE	\$82.03	\$82.03	39	\$3,199
		RENEW COUNSELING CENTER OF NC LLC	ALLIANCE	\$82.03	\$82.03	11	\$902

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Individual Therapy (60 min.)	90837	ATS OF NORTH CAROLINA LLC	VAYA	\$81.01	\$69.57	35	\$2,446
		ALCOHOL AND DRUG SERVICES OF GUILFO	SANDHILLS	\$90.40	\$90.40	39	\$3,526
		ASSURANCE LIFE LEARNING CENTER LLC	PARTNERS	\$94.75	\$94.75	15	\$1,421
		EASTER SEALS UCP NORTH CAROLINA & V	ALLIANCE	\$82.03	\$82.03	121	\$9,926
			EASTPOINTE	\$99.42	\$99.42	103	\$9,291
		PRIDE IN NORTH CAROLINA LLC	ALLIANCE	\$82.03	\$82.03	251	\$20,403
			TRILLIUM	\$74.57	\$74.57	397	\$29,604
		HOPE HEALTH FAMILY PRACTICE	EASTPOINTE	\$99.42	\$99.42	62	\$5,079
		LIFE NET SERVICES LLC	ALLIANCE	\$82.03	\$82.03	37	
Individual Therapy (60 min.) - Telemedicine	90837	ANUVIA PREVENTION AND RECOVERY CENT	ALLIANCE	\$82.03	\$82.03	10	
,,,		CAROLINA OUTREACH LLC	ALLIANCE	\$82.03	\$82.03	1090	\$89,400
		CLIENTFIRST OF NC LLC	EASTPOINTE	\$99.42	\$99.42	114	\$11,305
		DAYMARK RECOVERY SERVICES INC	PARTNERS	\$155.00	\$155.00	36	\$5,580
			SANDHILLS	\$90.40	\$90.40	286	
			VAYA	\$85.91	\$85.91	46	
		EL FUTURO	ALLIANCE	\$109.36	\$82.03	373	\$31,526
		ELIGIONO	SANDHILLS	\$90.40	\$90.40	38	
		FERNANDEZ COMMUNITY CENTER LLC	ALLIANCE	\$82.03	\$82.03	353	\$28,957
		HOPE SERVICES LLC	ALLIANCE	\$82.03	\$82.03	20	
		INTEGRATED BEHAVIORAL HEALTHCARE SE	ALLIANCE	\$109.36	\$109.36	154	\$1,041
		MERIDIAN BEHAVIORAL HEALTH SERVICES	VAYA	\$85.91	\$85.91	62	\$13,760
			ALLIANCE		\$82.03	1213	
		MONARCH		\$143.47			\$130,202
			EASTPOINTE	\$99.42	\$99.42	142	\$14,118
			SANDHILLS	\$120.53	\$90.40	108	\$9,823
		DADTNEDS DELIANIODAL LIFALTILAMANAS	TRILLIUM	\$149.14	\$149.14	154	\$22,744
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$155.00	110	
		RHA HEALTH SERVICES INC	VAYA	\$85.91	\$85.91	39	
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$82.03	\$82.03	77	
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$74.57	\$74.57	540	
		FAMILY SERVICE OF THE PIEDMONT INC	SANDHILLS	\$90.40	\$90.40	115	\$10,396
		PORT HEALTH SERVICES	TRILLIUM	\$74.57	\$74.57	93	
		ALCOHOL AND DRUG SERVICES OF GUILFO	SANDHILLS	\$90.40	\$90.40	31	\$2,802
		PRIDE IN NORTH CAROLINA LLC	ALLIANCE	\$82.03	\$82.03	126	
			EASTPOINTE	\$99.42	\$99.42	48	
			TRILLIUM	\$74.57	\$74.57	226	
Initial Hospital Care Mod Severity	99222	BREECHES BUOY ADDICTION MEDICINE	EASTPOINTE	\$111.07	\$111.07	68	
Intensive In-Home Services	H2022	ALEXANDER YOUTH NETWORK	ALLIANCE	\$258.20	\$258.20	63	\$16,267
			SANDHILLS	\$258.20	\$258.20	85	\$21,947
		CAROLINA OUTREACH LLC	ALLIANCE	\$258.20	\$258.20	122	\$31,500
		DREAM PROVIDER CARE SERVICES	TRILLIUM	\$239.66	\$239.66	85	\$20,371
		INTEGRATED FAMILY SERVICES PLLC	TRILLIUM	\$239.66	\$239.66	35	\$8,388
		TRIAD THERAPY MENTAL HEALTH CENTER	SANDHILLS	\$258.20	\$258.20	22	\$5,680
		PATHWAYS TO LIFE INC	TRILLIUM	\$239.66	\$239.66	43	\$10,305
		GETTING READY INC	EASTPOINTE	\$287.59	\$287.59	134	\$36,093
		PRIDE IN NORTH CAROLINA LLC	ALLIANCE	\$258.20	\$258.20	208	\$53,706
			EASTPOINTE	\$287.59	\$287.59	93	\$26,746
Interactive Evaluation	90792	DAYMARK RECOVERY SERVICES INC	PARTNERS	\$155.00	\$155.00	32	
			VAYA	\$158.30	\$93.81	10	
		OCTOBER ROAD INC	VAYA	\$101.51	\$93.81	110	
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$155.00	\$155.00	79	
		RHA HEALTH SERVICES INC	VAYA	\$158.30		144	
	l l	MINTERETTI SERVICES IIVC	IVAIA	7±JU.JU	J130.30	144	744, 4 01

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure	FACILITY_LST_NM	LME_MCO	Max Paid	Rate		Total Paid*
Interestina Funkation	Code	EDEED ON HOUSE DECOVEDY CENTED INC	ALLIANCE	Rate	Mode	Paid	ć2.240
Interactive Evaluation	90792	FREEDOM HOUSE RECOVERY CENTER INC RECOVERY INNOVATIONS INC	ALLIANCE ALLIANCE	\$97.78 \$115.04	\$97.78 \$97.78	23 488	\$2,249 \$47,513
		ALCOHOL AND DRUG SERVICES OF GUILFO	SANDHILLS	\$115.04	\$123.09	488	\$47,513
Interactive Evaluation- Telemedicine	90792	DAYMARK RECOVERY SERVICES INC	SANDHILLS	\$123.09	\$123.09	72	\$1,354
Interactive Evaluation- Telemedicine	90792	RECOVERY INNOVATIONS INC	ALLIANCE			56	
Lana Tarre Vanation Course at India IDD	V4200		VAYA	\$97.78 \$11.21	\$97.78 \$11.21	89	\$5,476 \$996
Long Term Vocation Support Indiv IDD	YA389	COUNTY OF PERSON OFFICE OF COUNTY F DURHAM EXCHANGE CLUB INDUSTRIES INC	ALLIANCE	\$11.21	\$11.21	279	\$3,128
		JOHNSTON COUNTY INDUSTRIES INC	ALLIANCE	\$11.21	\$11.21	83	\$3,128
		JOHNSTON COUNTY INDUSTRIES INC	SANDHILLS	\$11.21	\$11.21	22	\$930
		NEUSE ENTERPRISES INC	EASTPOINTE	\$11.21	\$11.21	12	\$135
		UNIVERSITY OF NORTH CAROLINA AT CHA	ALLIANCE	\$11.21	\$11.21	534	\$5,986
		ONIVERSITY OF NORTH CAROLINA AT CHA	PARTNERS	\$11.21	\$11.21	34	\$3,380
			SANDHILLS	\$11.21	\$11.21	299	\$3,352
		WAKE ENTERPRISES INC	ALLIANCE	\$11.21	\$11.21	10	\$112
		WATAUGA OPPORTUNITIES INC	VAYA	\$11.21	\$11.21	13	\$146
		LIFESPAN INC	SANDHILLS	\$11.21	\$11.21	453	\$5,078
		COMMUNITY PARTNERSHIPS INC	ALLIANCE	\$11.21	\$11.21	420	\$4,708
		Community Workforce Solutions Inc	ALLIANCE	\$11.21	\$11.21	164	\$1,838
		THE ARC OF GREENSBORO INC	SANDHILLS	\$44.84	\$11.21	314	\$3,688
		EASTER SEALS UCP NORTH CAROLINA & V	TRILLIUM	\$11.21	\$11.21	10	\$112
Mental Health - Day Treatment - Child	H2012	PORT HEALTH SERVICES	TRILLIUM	\$31.41	\$31.41	103	\$3,235
Wichtarried Buy freutment Cinia	112012	ONE TO ONE WITH YOUTH INC	EASTPOINTE	\$37.69	\$31.41	185	\$5,880
		PRIDE IN NORTH CAROLINA LLC	EASTPOINTE	\$37.69	\$37.69	38	\$1,432
Mental Health - Partial Hospitalization	H0035	OUTREACH MANAGEMENT SERVICES	PARTNERS	\$192.00	\$192.00	270	\$51,840
Mobile Crisis Management	H2011	CRISYS LLC	ALLIANCE	\$90.00	\$90.00	533	\$47,970
mount chisis management		DAYMARK RECOVERY SERVICES INC	PARTNERS	\$56.00	\$56.00	617	\$33,179
			SANDHILLS	\$90.00	\$90.00	21	\$1,890
			VAYA	\$90.00	\$90.00	331	\$29,790
		INTEGRATED FAMILY SERVICES PLLC	EASTPOINTE	\$90.00	\$90.00	35	\$3,150
			TRILLIUM	\$94.50	\$94.50	2110	\$198,985
		PHOENIX COUNSELING CENTER	PARTNERS	\$56.00	\$56.00	645	\$36,120
		RHA HEALTH SERVICES INC	PARTNERS	\$56.00	\$56.00	37	\$2,072
			VAYA	\$94.50	\$94.50	1114	\$101,713
			TRILLIUM	\$94.50	\$94.50	1067	\$100,832
		THE MENTAL HEALTH FUND INC	PARTNERS	\$56.00	\$56.00	113	\$5,792
		RHA BEHAVIORAL HEALTH NC LLC	VAYA	\$94.50	\$94.50	11	\$1,040
		FREEDOM HOUSE RECOVERY CENTER INC	ALLIANCE	\$90.00	\$90.00	41	\$3,690
			VAYA	\$90.00	\$90.00	37	\$3,330
		THERAPEUTIC ALTERNATIVES INC	ALLIANCE	\$90.00	\$90.00	107	\$9,540
			SANDHILLS	\$90.00	\$90.00	27	\$2,430
		NCG ACQUISITION LLC	VAYA	\$90.00	\$90.00	661	\$59,451
		EASTER SEALS UCP NORTH CAROLINA & V	EASTPOINTE	\$90.00	\$90.00	12	\$1,080
Multi-Systemic Therapy	H2033	ALEXANDER YOUTH NETWORK	ALLIANCE	\$36.57	\$36.57	10	\$366
		HAIRE ENTERPRISES LLC	ALLIANCE	\$36.57	\$36.57	231	\$8,448
		EASTER SEALS UCP NORTH CAROLINA & V	ALLIANCE	\$36.57	\$36.57	14	\$512
			EASTPOINTE	\$57.97	\$57.97	58	\$3,362
Non-Hospital Medical Detox	H0010	MONARCH	EASTPOINTE	\$480.00	\$480.00	262	\$125,760
		UNIVERSITY OF NC HOSPITALS AT CHAPE	ALLIANCE	\$325.58	\$325.58	27	\$8,791
		HEALING PLACE OF NEW HANOVER COUNTY	TRILLIUM	\$325.58	\$325.58	470	\$153,023
Opioid Treatment	H0020	BAART COMMUNITY HEALTHCARE	ALLIANCE	\$116.20	\$116.20	12775	\$363,955
			VAYA	\$116.20	\$16.60	990	\$16,993

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure	FACILITY_LST_NM	LME_MCO	Max Paid	Rate	# Units	Total Paid*
	Code			Rate	Mode	Paid	
Opioid Treatment	H0020	INSIGHT HUMAN SERVICES INC	PARTNERS	\$254.93	\$254.93	14264	\$452,428
			VAYA	\$116.20	\$116.20	1374	\$36,354
		OCTOBER ROAD INC	VAYA	\$116.20	\$116.20		\$337,544
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$254.93	\$254.93	142	\$31,340
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$116.20	\$116.20		\$911,172
		STEPHENS OUTREACH CENTER INC	EASTPOINTE	\$41.04	\$20.52	105	\$2,160
		CROSSROADS TREATMENT CENTERS	VAYA	\$116.20	\$31.70		\$241,047
		MORSE CLINIC OF ZEBULON	ALLIANCE	\$116.20	\$116.20	13468	\$351,854
			VAYA	\$156.87	\$116.20	1246	\$37,460
		MORSE CLINIC OF NORTH RALEIGH	ALLIANCE	\$116.20	\$116.20		\$359,390
			VAYA	\$116.20	\$116.20	510	\$13,645
		VANCE RECOVERY PC	EASTPOINTE	\$254.93	\$254.93	364	\$16,846
			VAYA	\$116.20	\$116.20		\$304,104
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$254.93	\$254.93		\$1,473,947
		BHG XXXVI LLC	VAYA	\$116.60	\$116.20	2227	\$222,749
		PREMIER TREATMENT SPECIALISTS LLC	VAYA	\$122.01	\$122.01	7357	\$241,305
		BHG XXXVII LLC	VAYA	\$116.60	\$116.20	1872	\$189,585
		ROCKY MOUNT TREATMENT CENTER LLC	EASTPOINTE	\$254.93	\$254.93	5888	\$257,248
			TRILLIUM	\$254.93	\$254.93	1780	\$57,671
		LUMBERTON TREATMENT CENTER LLC	EASTPOINTE	\$254.93	\$254.93	18432	\$729,840
			TRILLIUM	\$254.93	\$254.93	1619	\$53,092
		WPS TREATMENT CENTER	EASTPOINTE	\$20.52	\$20.52	18691	\$383,539
		CHATHAM RECOVERY LLC	SANDHILLS	\$18.76	\$18.76	1487	\$27,896
			VAYA	\$116.20	\$116.20	3370	\$101,351
		JK2C LLC	TRILLIUM	\$254.93	\$16.60	19416	\$412,633
		PORT HEALTH SERVICES	EASTPOINTE	\$23.60	\$20.52	11	\$217
			TRILLIUM	\$254.93	\$254.93	9311	\$309,477
		ADDICTION RECOVERY MEDICAL SERVICE	PARTNERS	\$254.93	\$254.93	4940	\$909,907
			VAYA	\$137.50	\$137.50	2275	\$218,477
		STEPPING STONE OF NORTH CAROLINA	VAYA	\$116.20	\$116.20	7759	\$261,865
		CROSSROADS TREATMENT CENTER OF WEAV	VAYA	\$116.20	\$116.20	6265	\$127,885
		CROSSROADS TREATMENT CENTER OF GREE	SANDHILLS	\$18.76	\$18.76	583	\$10,937
			VAYA	\$31.70	\$31.70	1069	\$18,193
		JACKSONVILLE TREATMENT CENTER	TRILLIUM	\$254.93	\$254.93	13326	\$420,217
		MOREHEAD CITY TREATMENT CENTER	TRILLIUM	\$254.93	\$254.93	12271	\$360,281
		HILLSBOROUGH RECOVERY SOLUTIONS PC	ALLIANCE	\$116.20	\$116.20	1885	\$53,917
			VAYA	\$116.20	\$16.60	365	\$6,159
		MORSE CLINIC OF ROANOKE RAPIDS PC	TRILLIUM	\$116.20	\$116.20	6111	\$136,601
		MORSE CLINIC OF DUNN PC	SANDHILLS	\$18.76	\$18.76	513	\$9,624
		WALTER B JONES WOODSIDE TREATMENT	TRILLIUM	\$254.93	\$254.93	1950	\$63,844
		REFLECTIONS OF HOPE LLP	TRILLIUM	\$254.93	\$254.93	27417	\$750,174
		ZENITH HOPE CENTER LLC	ALLIANCE	\$116.20	\$116.20	627	\$16,929
		NAGS HEAD TREATMENT CENTER LLC	TRILLIUM	\$254.93	\$254.93	2360	\$75,879
		SANFORD TREATMENT CENTER LLC	SANDHILLS	\$18.76	\$18.76	486	\$9,117
		HAZELWOOD HEALTHCARE PLLC	VAYA	\$116.20	\$116.20	6488	\$187,656
		TREATMENT CENTERS LLC	TRILLIUM	\$254.93	\$254.93	5138	\$176,095
		ATS OF NORTH CAROLINA LLC	ALLIANCE	\$116.20	\$116.20	14139	\$530,519
			EASTPOINTE	\$254.93	\$254.93	34099	\$1,437,869
			PARTNERS	\$254.93	\$254.93	615	\$103,569
			SANDHILLS	\$18.76	\$18.76		\$96,646
			VAYA	\$116.20	\$116.20		\$867,582
	1	I .	1		,		, . , . , . , ,

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Opioid Treatment	H0020	HHDM INC	ALLIANCE	\$116.20	\$116.20	8415	\$251,639
			EASTPOINTE	\$254.93	\$20.52	112	\$2,635
		ALCOHOL AND DRUG SERVICES OF GUILFO	SANDHILLS	\$254.93	\$254.93	7723	\$321,775
		WESTERN WAKE TREATMENT CENTER LLC	ALLIANCE	\$116.20	\$116.20	1147	\$38,661
		METRO TREATMENT OF NORTH CAROLINA L	ALLIANCE	\$116.20	\$116.20	8011	\$252,647
		MCLEOD CENTERS FOR WELLBEING	ALLIANCE	\$116.20	\$116.20	7931	\$226,773
			PARTNERS	\$254.93	\$254.93	8074	\$1,467,889
			VAYA	\$116.20	\$116.20	13150	\$398,507
		MORSE CLINIC OF DURHAM PC	ALLIANCE	\$116.20	\$116.20	2444	\$76,426
		GREENVILLE TREATMENT CENTER LLC	TRILLIUM	\$254.93	\$254.93	2634	\$104,499
Personal Asst - Indiv	YP020	AUTISM SOCIETY OF NORTH CAROLINA	SANDHILLS	\$4.46	\$4.46	280	\$1,249
			VAYA	\$4.46	\$4.46	22	\$98
		BENJAMIN HOUSE CASE MANAGEMENT	TRILLIUM	\$5.13	\$5.13	151	\$775
		COMMUNITY SUPPORT SERVICE LLC	SANDHILLS	\$4.46	\$4.46	37	\$165
		GROUP HOMES OF FORSYTH	PARTNERS	\$4.46	\$4.46	16	\$71
		HOMECARE MANAGEMENT CORPORATION	TRILLIUM	\$4.46	\$4.46	421	\$1,878
		IQUOLIOC INC	TRILLIUM	\$4.46	\$4.46	23	\$103
		MAXIM HEALTHCARE SERVICES	VAYA	\$4.46	\$4.46	96	\$428
		MONARCH	SANDHILLS	\$4.46	\$4.46	89	\$397
		MULTI THERAPEUTIC SERVICES INC	SANDHILLS	\$4.46	\$4.46	10	\$45
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$4.46	\$4.46	48	\$214
		RALPH SCOTT LIFESERVICES INC	VAYA	\$4.46	\$4.46	319	\$1,421
		RHA HEALTH SERVICES NC LLC	SANDHILLS	\$4.46	\$4.46	116	\$517
		SUMMIT SUPPORT SERVICES OF ASHE INC	VAYA	\$4.46	\$4.46	23	\$103
		VIRPARK INC RESIDENTIAL FACILITY	SANDHILLS	\$4.46	\$4.46	84	\$375
		QUALITY CARE III LLC	SANDHILLS	\$4.46	\$4.46	103	\$459
		VICTOR & ASSOCIATES INC	SANDHILLS	\$4.46	\$4.46	106	\$453
		PINNACLE HOME CARE INC	TRILLIUM	\$4.46	\$4.46	219	\$977
		SHFP INC	SANDHILLS	\$4.46	\$4.46	20	\$89
		WESCARE PROFESSIONAL SERVICES LLC	SANDHILLS	\$4.46	\$4.46	10	\$45
		HUMAN RESOURCES UNLIMITED INC	TRILLIUM	\$6.61	\$6.61	50	\$331
		ONE ON ONE CARE INC	PARTNERS	\$4.46	\$4.46	133	\$593
		PAMCO CARENC	SANDHILLS	\$4.46	\$4.46	130	\$580
		ABOUND HEALTH LLC	EASTPOINTE	\$4.46	\$4.46	51	\$227
			VAYA	\$4.46	\$4.46	165	\$736
		MORGAN SUPPORT SERVICES	SANDHILLS	\$4.46	\$4.46	10	\$45
		EASTER SEALS UCP NORTH CAROLINA & V	PARTNERS	\$4.46	\$4.46	674	\$3,006
			SANDHILLS	\$53.52	\$4.46	409	\$1,971
			TRILLIUM	\$6.61	\$6.61	585	\$3,867
Psychosocial Rehab Services	H2017	ADULT LIFE PROGRAMS INC	PARTNERS	\$3.75	\$3.75	123	\$461
		ADVANTAGE BEHAVIORAL HEALTHCARE INC	EASTPOINTE	\$3.23	\$3.23	118	\$381
		CAROLINA CENTER FOR COUNSELING AND	PARTNERS	\$3.75	\$3.75	139	\$521
		CLEVELAND PSYCHOSOCIAL SERVICES INC	PARTNERS	\$3.75	\$3.75	416	\$1,560
		CLUB NOVA COMMUNITY INC	ALLIANCE	\$3.34	\$3.34	201	\$671
		DAYMARK RECOVERY SERVICES INC	VAYA	\$2.69	\$2.69	148	\$398
		FAMILY PRESERVATION SERVICES OF NC	PARTNERS	\$3.75	\$3.75	191	\$716
		FELLOWSHIP HEALTH RESOURCES INC	ALLIANCE	\$2.69	\$2.69	145	\$390
		INNERVISION INC	ALLIANCE	\$2.69	\$2.69	386	\$1,038
		JOHNSTON COUNTY INDUSTRIES INC	ALLIANCE	\$2.69	\$2.69	88	\$237
		LE CHRIS COUNSELING SERVICES INC	TRILLIUM	\$3.48	\$2.89	86	\$251
		LECHRIS ADULT DAY CARE OF ROCKY MOU	EASTPOINTE	\$3.23	\$3.23	109	\$352

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Psychosocial Rehab Services	H2017	MERIDIAN BEHAVIORAL HEALTH SERVICES	VAYA	\$2.69	\$2.69	48	\$129
		MONARCH	ALLIANCE	\$2.69	\$2.69	206	\$554
			PARTNERS	\$3.75	\$3.75	15	\$56
			SANDHILLS	\$2.91	\$2.91	158	\$460
			TRILLIUM	\$3.87	\$3.87	31	\$120
		SANCTUARY HOUSE INC	SANDHILLS	\$2.91	\$2.91	477	\$1,388
		SIXTH AVENUE PSYCHIATRIC REHABILITA	VAYA	\$2.69	\$2.69	335	\$890
		SOUTHEASTERN HEALTHCARE OF NC INC	ALLIANCE	\$2.69	\$2.69	12	\$32
		THE MENTAL HEALTH FUND INC	PARTNERS	\$3.75	\$3.75	522	\$1,958
		THRESHOLD INC	ALLIANCE	\$2.69	\$2.69	484	\$1,302
		RHA BEHAVIORAL HEALTH NC LLC	EASTPOINTE	\$3.23	\$3.23	208	\$672
			PARTNERS	\$3.75	\$3.75	428	\$1,605
			SANDHILLS	\$2.91	\$2.91	240	\$698
			VAYA	\$2.69	\$2.69	68	\$182
			TRILLIUM	\$3.87	\$3.87	135	\$522
		CAROLINA RESIDENTIAL SERVICES INC	PARTNERS	\$3.75	\$3.75	126	\$473
			VAYA	\$2.69	\$2.69	240	\$645
		PQA HEALTHCARE INC	PARTNERS	\$3.75	\$3.75	268	\$1,005
		PSYCHOTHERAPEUTIC SERVICES INC	VAYA	\$2.69	\$2.69	138	\$371
		THE ENHANCEMENT CENTER INC	ALLIANCE	\$2.69	\$2.69	107	\$288
		AMARA WELLNESS SERVICES INC	ALLIANCE	\$2.69	\$2.69	246	\$662
		LEGACY HUMAN SERVICES INC	VAYA	\$2.90	\$2.90	30	\$87
		INFINITE BEGINNINGS LLC	PARTNERS	\$3.75	\$3.75	104	\$390
Public Psychiatry - Administrative Functions	YP851	EAST CAROLINA UNIVERSITY	TRILLIUM	\$25.00	\$25.00	11	\$275
		INTEGRATED FAMILY SERVICES PLLC	TRILLIUM	\$25.00	\$25.00	90	\$2,250
		THE MENTAL HEALTH FUND INC	PARTNERS	\$25.00	\$25.00	118	\$2,950
		PORT HEALTH SERVICES	TRILLIUM	\$25.00	\$25.00	24	\$600
Public Psychiatry - Consultation and Service Functions	YP852	EAST CAROLINA UNIVERSITY	TRILLIUM	\$35.00	\$35.00	119	\$4,165
rable rayonati, consultation and service randions		THE MENTAL HEALTH FUND INC	PARTNERS	\$35.00	\$35.00	118	\$4,130
		PORT HEALTH SERVICES	TRILLIUM	\$35.00	\$35.00	21	\$735
SA Comprehensive Outpatient Treatment Program	H2035	ANUVIA PREVENTION AND RECOVERY CENT	ALLIANCE	\$45.35	\$45.35	735	\$33,332
3A comprehensive outpatient reatment rogium	112033	ANOVIATREVENTION AND RECOVERT CENT	PARTNERS	\$45.35	\$45.35	61	\$2,766
			VAYA	\$45.35	\$45.35	44	\$1,995
		COMMUNITY ALTERNATIVES INCORPORATED	ALLIANCE	\$45.35	\$45.35	58	\$2,630
		INSIGHT HUMAN SERVICES INC	VAYA	\$45.35	\$45.35	22	\$998
		OCTOBER ROAD INC	VAYA	\$45.35	\$45.35	1621	\$45,946
		PHOENIX COUNSELING CENTER	PARTNERS	\$45.35	\$45.35	1144	\$51,880
		STEPHENS OUTREACH CENTER INC	EASTPOINTE	\$56.00	\$56.00	54	\$2,984
		SUNPATH LLC	PARTNERS	\$45.35	\$45.35	218	\$9,886
		WB HEALTH CARE	EASTPOINTE	\$56.05	\$56.05	254	\$14,187
		FREEDOM HOUSE RECOVERY CENTER INC	ALLIANCE	\$46.28	\$46.28	216	\$9,996
		FREEDOWI HOUSE RECOVERY CENTER INC	VAYA				
		COASTAL HORIZONS CENTED INC		\$46.28 \$46.00	\$46.28 \$46.00	229 87	\$10,598
		COASTAL HORIZONS CENTER INC	TRILLIUM			331	\$4,002
		PORT HEALTH SERVICES	TRILLIUM	\$46.00	\$46.00		\$15,019
		SOUTHEASTERN INTEGRATED CARE	EASTPOINTE	\$46.71	\$46.71	207	\$9,669
		CLAY WILSON & ASSOCIATES	PARTNERS	\$45.35	\$45.35	351	\$15,918
		S & H YOUTH AND ADULT SERVICES IN	ALLIANCE	\$45.35	\$45.35	205	\$9,297
			PARTNERS	\$45.35	\$45.35	267	\$12,084
		USE TOUGHUE	VAYA	\$45.35	\$45.35	880	\$39,908
		LIFE TOUCH LLC	EASTPOINTE	\$56.05	\$56.05	186	\$10,425
		ASSURANCE LIFE LEARNING CENTER LLC	PARTNERS	\$45.35	\$45.35	591	\$26,802

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
SA Comprehensive Outpatient Treatment Program	H2035	SPRING LIFE BEHAVIORAL CARE LLC	TRILLIUM	\$46.00	\$46.00	471	\$21,666
	H2034	RECOVERY CONNECTIONS OF DURHAM	ALLIANCE	\$61.20	\$61.20	731	\$44,728
		RESIDENTIAL TREATMENT SERVICES	VAYA	\$86.14	\$86.14	91	\$6,604
SA Comprehensive Outpatient Treatment Program SA Halfway House		FREEDOM HOUSE RECOVERY CENTER INC	ALLIANCE	\$89.62	\$89.62	2572	\$214,222
			EASTPOINTE	\$74.90	\$74.90	713	\$53,404
			VAYA	\$86.80	\$86.80	2562	\$222,382
		LEGACY HUMAN SERVICES INC	EASTPOINTE	\$74.90	\$74.90	43	\$3,103
			VAYA	\$86.14	\$86.14	79	\$6,805
SA Intensive Outpatient Program	H0015	A HELPING HAND OF WILMINGTON LLC	TRILLIUM	\$250.00	\$250.00	473	\$118,250
		ANUVIA PREVENTION AND RECOVERY CENT	ALLIANCE	\$131.56	\$131.56	893	\$117,483
			PARTNERS	\$131.56	\$131.56	103	\$13,551
		CARING SERVICES INC	SANDHILLS	\$131.56	\$131.56	997	\$130,491
		CAROLINA OUTREACH LLC	ALLIANCE	\$131.56	\$131.56	801	\$105,380
			EASTPOINTE	\$162.61	\$162.61	195	\$31,221
		DAYMARK RECOVERY SERVICES INC	PARTNERS	\$131.56	\$131.56	615	\$80,909
			SANDHILLS	\$131.56	\$131.56	333	\$43,809
			VAYA	\$246.00	\$246.00	314	\$58,819
		DREAM PROVIDER CARE SERVICES	TRILLIUM	\$157.87	\$157.87	217	\$34,258
		EDWARDS ASSESSMENTS AND COUNSELING	TRILLIUM	\$138.56	\$138.56	20	\$2,771
		FAMILY PRESERVATION SERVICES OF NC	PARTNERS	\$148.52	\$148.52	228	\$31,997
			VAYA	\$148.52	\$148.52	221	\$29,550
		INSIGHT HUMAN SERVICES INC	PARTNERS	\$131.56	\$131.56	1119	\$147,216
			SANDHILLS	\$131.56	\$131.56	100	\$13,156
			VAYA	\$131.56	\$131.56	28	\$3,684
		MECKLENBURG COUNTY	ALLIANCE	\$131.56	\$131.56	244	\$32,101
		MERIDIAN BEHAVIORAL HEALTH SERVICES	VAYA	\$246.00	\$246.00	450	\$110,700
		NEW DIMENSION GROUP LLC	EASTPOINTE	\$162.61	\$162.61	15	\$2,439
		NORTH CAROLINA RECOVERY SUPPORT SER	ALLIANCE	\$131.56	\$131.56	533	\$70,120
		OCTOBER ROAD INC	VAYA	\$131.56	\$131.56	805	\$105,906
		PHOENIX COUNSELING CENTER	PARTNERS	\$131.56	\$131.56	800	\$105,248
		RHA HEALTH SERVICES INC	VAYA	\$246.00	\$246.00	2084	\$414,960
		SELF CONCEPTS CLINICAL COUNSELING S	PARTNERS	\$131.56	\$131.56	188	\$24,733
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$131.56	\$131.56	1601	\$210,628
		SUNPATH LLC	PARTNERS	\$131.56	\$131.56	522	\$68,674
		VISION BEHAVIORAL HEALTH SERVICES L	VAYA	\$246.00	\$246.00	371	\$91,266
		RHA BEHAVIORAL HEALTH NC LLC	EASTPOINTE	\$162.61	\$162.61	71	\$11,545
			PARTNERS	\$148.52	\$148.52	75	\$11,139
			SANDHILLS	\$131.56	\$131.56	112	\$14,735
			VAYA	\$140.30	\$140.30	413	\$57,944
			TRILLIUM	\$250.00	\$250.00	923	\$230,750
		FREEDOM HOUSE RECOVERY CENTER INC	ALLIANCE	\$131.56	\$131.56	230	\$30,259
			VAYA	\$148.52	\$148.52	114	\$15,608
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$250.00	\$250.00	2871	\$717,750
		WAYNESBORO FAMILY CLINIC PA	EASTPOINTE	\$162.61	\$162.61	325	\$52,848
		BHG XXXVII LLC	VAYA	\$131.56	\$131.56	15	\$1,973
		NCG ACQUISITION LLC	VAYA	\$246.00	\$246.00	58	\$14,268
		PORT HEALTH SERVICES	EASTPOINTE	\$162.61	\$162.61	53	\$8,618
			TRILLIUM	\$250.00	\$250.00	3989	\$988,250
		FORSYTH MEMORIAL HOSPITAL INC	PARTNERS	\$131.56	\$131.56	23	\$3,026
		SOUTHEASTERN INTEGRATED CARE	EASTPOINTE	\$135.51	\$135.51	19	\$2,575
		CLAY WILSON & ASSOCIATES	PARTNERS	\$131.56	\$131.56	1061	\$139,504

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure	ACT is billed at a case rate and additional events are FACILITY_LST_NM	LME_MCO	Max Paid	Rate	# Unite	Total Paid*
service name	Code	FACILITY_LST_INIVI	LIVIE_IVICO	Rate	Mode	# Onits	TOLAI PAIU
SA Intensive Outpatient Program	H0015	RESTORATION FAMILY SERVICES INC	ALLIANCE	\$131.56	\$131.56	438	\$57,623
		AMARA WELLNESS SERVICES INC	ALLIANCE	\$131.56	\$131.56	141	\$18,550
		LEGACY HUMAN SERVICES INC	EASTPOINTE	\$162.61	\$162.61	11	\$1,789
			VAYA	\$131.56	\$131.56	127	\$16,708
		SIGMA HEALTH SERVICES LLC	ALLIANCE	\$131.56	\$131.56	120	\$15,787
		S & H YOUTH AND ADULT SERVICES IN	VAYA	\$131.56	\$131.56	12	
		ALCOHOL AND DRUG SERVICES OF GUILFO	SANDHILLS	\$131.56	\$131.56	564	\$74,095
		ASSURANCE LIFE LEARNING CENTER LLC	PARTNERS	\$131.56	\$131.56	276	\$36,311
		MCLEOD CENTERS FOR WELLBEING	ALLIANCE	\$131.56	\$131.56	362	\$47,625
		SPRING LIFE BEHAVIORAL CARE LLC	TRILLIUM	\$131.72	\$131.72	10	
		LIFEBRIDGE DRUG AND SUBSTANCE ABUSE	EASTPOINTE	\$162.61	\$162.61	26	
Subsequent Hospital Care per Day	99232	SOUTHEASTERN REGIONAL MEDICAL CENTE	EASTPOINTE	\$60.57	\$54.12	19	
	99233	BREECHES BUOY ADDICTION MEDICINE	EASTPOINTE	\$86.76	\$86.76	144	\$12,493
Supervised Living - 1 Resident	YM811	WESCARE PROFESSIONAL SERVICES LLC	SANDHILLS	\$314.93	\$314.93	92	
Supervised Living - 2 Resident	YM812	COMMUNITY SUPPORT SERVICE LLC	SANDHILLS	\$161.99	\$161.99	92	\$14,903
		L&J HOMES INC	PARTNERS	\$350.12	\$350.12	184	\$64,422
		OMNI VISIONS INC	SANDHILLS	\$161.99	\$161.99	31	\$5,022
		RHA HEALTH SERVICES NC LLC	SANDHILLS	\$161.99	\$161.99	92	
		SPECIALIZED SERVICES AND PERSONNEL	SANDHILLS	\$161.99	\$161.99	16	\$2,592
		QUALITY CARE III LLC	SANDHILLS	\$161.00	\$161.00	92	\$14,812
		VICTOR & ASSOCIATES INC	SANDHILLS	\$161.99	\$161.99	92	\$14,903
		WESCARE PROFESSIONAL SERVICES LLC	SANDHILLS	\$161.99	\$161.99	184	\$29,806
		HINDS FEET FARM INC	SANDHILLS	\$161.99	\$161.99	172	\$27,862
		PAMCO CARENC	SANDHILLS	\$161.99	\$161.99	184	\$29,806
		MORGAN SUPPORT SERVICES	SANDHILLS	\$161.99	\$161.99	90	
		ABLECARE CORPORATION	SANDHILLS	\$161.99	\$161.99	85	\$13,651
Supervised Living - 3 Resident	YM813	MULTI THERAPEUTIC SERVICES INC	SANDHILLS	\$116.15	\$116.15	90	
,		PROFESSIONAL FAMILY CARE SERVICES I	SANDHILLS	\$116.15	\$116.15	242	\$28,108
		SYLVANGLADE SERVICES INC	SANDHILLS	\$116.15	\$116.15	74	
Supervised Living - 4 Resident	YM814	HIGHER HORIZONSINC	SANDHILLS	\$93.17	\$93.17	92	\$8,572
		CHANGING LIVES GROUP HOME IV	PARTNERS	\$93.17	\$93.17	43	
Supervised Living - Low	YP710	CARING SERVICES INC	SANDHILLS	\$28.92	\$28.92	2641	\$75,086
6		CLEVELAND PSYCHOSOCIAL SERVICES INC	PARTNERS	\$28.92	\$28.92	1186	\$34,299
		INTEGRATED BEHAVIORAL HEALTHCARE SE	ALLIANCE	\$36.15	\$28.92	1336	\$38,850
		MONARCH	ALLIANCE	\$21.22	\$21.22	1288	\$27,331
			EASTPOINTE	\$33.26	\$33.26	552	\$18,360
			PARTNERS	\$28.92	\$28.92	530	\$15,328
			SANDHILLS	\$28.92	\$28.92	3557	\$102,522
			TRILLIUM	\$28.92	\$28.92	2898	\$83,810
		RHA HEALTH SERVICES INC	TRILLIUM	\$130.00	\$130.00	720	\$85,900
		THE MENTAL HEALTH FUND INC	PARTNERS	\$28.92	\$28.92	3683	\$106,512
		REMMSCO INC	PARTNERS	\$28.92	\$28.92	154	\$4,454
			SANDHILLS	\$28.92	\$28.92	677	\$19,579
		THERAPEUTIC ALTERNATIVES INC	SANDHILLS	\$28.92	\$28.92	1145	\$33,113
		ASHEVILLE BUNCOMBE COMMUNITY CHRIST	VAYA	\$65.00	\$65.00	41	\$2,665
		EASTER SEALS UCP NORTH CAROLINA & V	EASTPOINTE	\$33.26	\$33.26	1078	\$35,854
		Z.S. ZA SEALO GOL HORITI CARGERIA & V	PARTNERS	\$28.92	\$28.92	1398	\$40,430
			SANDHILLS	\$28.92	\$28.92	3108	\$89,883
			VAYA			1879	
			TRILLIUM	\$28.92	\$28.92		\$54,341
		CADAMORE COMMUNITY INC		\$28.92	\$28.92	1266	\$36,613
		CARAMORE COMMUNITY INC	ALLIANCE	\$28.92	\$28.92	2259	\$65,330

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Supervised Living - Mod.	YP720	HOMECARE MANAGEMENT CORPORATION	PARTNERS	\$55.11	\$55.11	65	\$3,58
		KD SUPPORT SERVICES	VAYA	\$55.11	\$55.11	38	\$2,09
		MONARCH	PARTNERS	\$55.11	\$55.11	913	\$50,31
			VAYA	\$55.11	\$55.11	92	\$5,07
		RESOURCES FOR HUMAN DEVELOPMENT INC	ALLIANCE	\$180.23	\$180.23	1268	\$228,53
		PORT HEALTH SERVICES	TRILLIUM	\$140.00	\$140.00	2328	\$325,92
		THE ARC OF HAYWOOD COUNTY INC	VAYA	\$55.11	\$55.11	75	\$4,13
Supported Emp - Group	YP640	AUTISM SOCIETY OF NORTH CAROLINA	TRILLIUM	\$2.53	\$2.53	104	\$26
		EASTER SEALS UCP NORTH CAROLINA & V	TRILLIUM	\$2.53	\$2.53	483	\$1,22
Supported Employment Indiv IDD	YA390	JOHNSTON COUNTY INDUSTRIES INC	SANDHILLS	\$11.21	\$11.21	85	\$95
		MONARCH	SANDHILLS	\$11.21	\$11.21	91	\$1,02
		UNIVERSAL MENTAL HEALTH SERVICES I	PARTNERS	\$11.21	\$11.21	170	\$1,90
		ABOUND HEALTH LLC	PARTNERS	\$11.21	\$11.21	247	\$2,76
		EASTER SEALS UCP NORTH CAROLINA & V	TRILLIUM	\$11.21	\$11.21	221	\$2,47
Telehealth originating site facility fee	Q3014	DAYMARK RECOVERY SERVICES INC	ALLIANCE	\$21.25	\$21.25	16	\$34
- · ·			PARTNERS	\$21.25	\$21.25	969	\$20,59
			SANDHILLS	\$23.42	\$23.42	1128	\$26,41
			VAYA	\$21.25	\$21.25	452	\$9,60
		MONARCH	EASTPOINTE	\$21.25	\$21.25	97	\$2,06
			PARTNERS	\$22.31	\$22.31	189	\$4,21
			TRILLIUM	\$23.38	\$23.38	88	\$2,05
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$22.31	\$21.25		\$23,66
Therapoutic prophylactic or diagnostic injection		COASTAL HORIZONS CENTER INC	TRILLIUM	\$23.38	\$23.38	25	\$58
		NCG ACQUISITION LLC	VAYA	\$23.36	\$23.36	453	\$9,62
	96372	CUMBERLAND COUNTY HOSPITAL SYSTEM I	ALLIANCE	\$17.04	\$17.04		
Therapeutic, prophylactic, or diagnostic injection	90372		PARTNERS	\$17.04	\$17.04	213	\$77 \$3,52
		DAYMARK RECOVERY SERVICES INC			•		
			SANDHILLS	\$21.23	\$21.23	172	\$3,65
		1101110011	VAYA	\$17.36	\$17.36	10	\$17
		MONARCH	ALLIANCE	\$143.47	\$143.47	167	\$18,63
			EASTPOINTE	\$17.55	\$16.70		\$70
		24271526 25111116211 11511711 115117	PARTNERS	\$49.77	\$49.77	60	\$2,98
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$49.77	\$49.77	74	\$3,65
		THE MENTAL HEALTH FUND INC	PARTNERS	\$16.53	\$16.53	145	\$2,23
		PORT HEALTH SERVICES	TRILLIUM	\$18.74	\$14.19		\$61
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$21.23	\$21.23		\$92
		COUNTY OF JOHNSTON NORTH CAROLINA	ALLIANCE	\$17.04	\$17.04	46	\$78
Transition Management Services	YM120	B & D INTEGRATED HEALTH SERVICES	VAYA	\$17.00	\$17.00		\$20,06
		MONARCH	ALLIANCE	\$20.00	\$20.00	1061	\$21,22
			PARTNERS	\$17.26	\$17.26		\$23,34
			VAYA	\$17.00	\$17.00	528	\$8,97
		OUTREACH MANAGEMENT SERVICES	PARTNERS	\$13.92	\$13.92	1089	\$15,15
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$13.92	\$13.92	11	\$15
		RHA HEALTH SERVICES INC	VAYA	\$21.45	\$21.45	265	\$5,68
			TRILLIUM	\$26.00	\$26.00	3206	\$83,35
		SOUTHLIGHT HEALTHCARE	ALLIANCE	\$20.00	\$20.00	524	\$10,48
		STEPHENS OUTREACH CENTER INC	EASTPOINTE	\$13.92	\$13.92	667	\$9,15
			TRILLIUM	\$26.00	\$13.92	2315	\$32,23
		RHA BEHAVIORAL HEALTH NC LLC	ALLIANCE	\$20.00	\$20.00	157	\$3,14
			EASTPOINTE	\$13.92	\$13.92	1453	\$20,22
			SANDHILLS	\$18.55	\$18.55	1353	\$25,08
			VAYA	\$21.45	\$21.45		\$6,77

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Transition Management Services	YM120	RHA BEHAVIORAL HEALTH NC LLC	TRILLIUM	\$26.00	\$26.00	855	\$22,23
		A CARING ALTERNATIVE LLC	PARTNERS	\$16.27	\$13.40	1209	\$16,25
		PQA HEALTHCARE INC	PARTNERS	\$13.92	\$13.92	232	\$3,22
		THE SPARC NETWORK LLC	ALLIANCE	\$20.00	\$20.00	949	\$18,93
			PARTNERS	\$13.92	\$13.92	278	\$3,87
		EASTER SEALS UCP NORTH CAROLINA & V	ALLIANCE	\$25.00	\$20.00	727	\$14,55
		THE ALAMANCE ACADEMY	VAYA	\$17.00	\$17.00	119	
Assertive Engagement - AP & Paraprofessional	YA353	CAROLINA OUTREACH LLC	ALLIANCE	\$15.00	\$15.00	75	
		DAYMARK RECOVERY SERVICES INC	PARTNERS	\$100.00	\$100.00	575	\$57,41
		FAMILY PRESERVATION SERVICES OF NC	PARTNERS	\$100.00	\$100.00	37	
		OCTOBER ROAD INC	VAYA	\$0.01	\$0.01	11	
		PHOENIX COUNSELING CENTER	PARTNERS	\$100.00	\$100.00	393	\$39,30
		RHA HEALTH SERVICES INC	VAYA	\$100.00	\$100.00	51	\$5,10
		FREEDOM HOUSE RECOVERY CENTER INC	ALLIANCE	\$100.00	\$100.00	93	
		THERAPEUTIC ALTERNATIVES INC	ALLIANCE	\$15.00	\$15.00	351	\$5,26
		DOA HEALTHCARE INC	SANDHILLS	\$6.00	\$6.00	1174	\$7,04
		PQA HEALTHCARE INC	PARTNERS	\$100.00	\$100.00	125	\$12,50
		CLAY WILSON & ASSOCIATES	PARTNERS	\$100.00	\$100.00	10	
Assertive Engagement - QP (Licensed & Unlicensed)	YA352	MERIDIAN BEHAVIORAL HEALTH SERVICES	VAYA	\$150.00	\$150.00	128	
		THERAPEUTIC ALTERNATIVES INC	SANDHILLS	\$15.00	\$15.00	2211	\$33,16
		A CARING ALTERNATIVE LLC	PARTNERS	\$100.00	\$100.00	25	
		CLAY WILSON & ASSOCIATES	PARTNERS	\$100.00	\$100.00	145	\$14,50
Residential Supports	YM850	MONARCH	PARTNERS	\$96.25	\$96.25	147	\$14,14
		RALPH SCOTT LIFESERVICES INC	VAYA	\$96.25	\$96.25	111	\$10,68
Safety Supervisor - Hourly	YA385	AMAT GROUP HOMES LLC	VAYA	\$15.00	\$15.00	11	\$16
Detox - Soc Set	YP790	ANUVIA PREVENTION AND RECOVERY CENT	ALLIANCE	\$118.42	\$118.42	1589	\$188,16
			PARTNERS	\$118.42	\$118.42	194	\$22,97
			SANDHILLS	\$118.42	\$118.42	12	\$1,42
Respite Hourly - Indiv	YP010	AUTISM SOCIETY OF NORTH CAROLINA	VAYA	\$5.00	\$5.00	13	\$6
			TRILLIUM	\$188.00	\$188.00	996	\$116,92
		THE ARC OF MOORE COUNTY INC	SANDHILLS	\$5.00	\$5.00	179	\$89
		PINNACLE HOME CARE INC	TRILLIUM	\$5.00	\$5.00	124	
		SKILL CREATIONS INC	VAYA	\$5.00	\$5.00	24	
		NCG ACQUISITION LLC	VAYA	\$5.00	\$5.00	124	\$62
		CNC-ACCESS INC	TRILLIUM	\$5.50	\$5.50	85	\$46
		HUMAN RESOURCES UNLIMITED INC	TRILLIUM	\$6.33	\$6.33	157	\$99
		INDEPENDENT HUMAN SERVICES LLC	TRILLIUM	\$5.50	\$5.50	22	
		EASTER SEALS UCP NORTH CAROLINA & V	TRILLIUM	\$140.00	\$6.33	1084	\$29,79
Respite Hourly - Group	YP011	AUTISM SOCIETY OF NORTH CAROLINA	TRILLIUM	\$125.00	\$125.00	2987	\$273,17
respite Hourly - Group	17011	EASTER SEALS UCP NORTH CAROLINA & V	TRILLIUM	\$130.00	\$130.00	3404	\$321,95
Home Supports L5	T2016	CAROLINA OUTREACH LLC	ALLIANCE	\$432.38	\$432.38	222	\$95,98
nome supports to	12016		ALLIANCE				
		DAYMARK RECOVERY SERVICES INC		\$413.00	\$413.00	200	\$82,60
		MONARCH	SANDHILLS	\$432.38	\$432.38	625	\$270,23
		MONARCH	ALLIANCE	\$432.38	\$432.38	482	\$207,54
		RECOVERY INNOVATIONS INC	ALLIANCE	\$525.00	\$525.00	967	\$488,85
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$432.38	\$432.38	106	\$45,83
Jail Support	YA349	DAYMARK RECOVERY SERVICES INC	VAYA	\$22.04	\$22.04	108	\$2,38
Peer Support (B3) Group	H0038	DAYMARK RECOVERY SERVICES INC	VAYA	\$2.88	\$2.88	11	\$3
		FAMILY PRESERVATION SERVICES OF NC	PARTNERS	\$3.38	\$3.38	188	\$63
			VAYA	\$2.88	\$2.88	120	\$34
		MERIDIAN BEHAVIORAL HEALTH SERVICES	VAYA	\$2.88	\$2.88	534	\$1,53

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure	FACILITY_LST_NM	LME_MCO	Max Paid	Rate		Total Paid*
	Code			Rate	Mode	Paid	4444
Peer Support (B3) Group	H0038	RHA HEALTH SERVICES INC	VAYA	\$2.88	\$2.88	80	\$230
P C (P2) .	110020	RHA BEHAVIORAL HEALTH NC LLC	VAYA	\$2.88	\$2.88	83	\$239
Peer Support (B3) Individual	H0038	CENTRAL COMMUNITY SERVICES LLC	VAYA	\$13.26	\$13.26	64	\$849
		CLIENTFIRST OF NC LLC	EASTPOINTE	\$16.80	\$16.80	270	\$4,521
		COASTAL SOUTHEASTERN UNITED CARE	EASTPOINTE	\$16.80	\$16.80	177	\$2,566
		DAVAAADK BECOVERY CERVICES INC	TRILLIUM	\$12.15	\$12.15	277	\$3,366
		DAYMARK RECOVERY SERVICES INC	VAYA	\$150.00	\$13.26	184	\$3,534
		FAMILY FIRST SUPPORT CENTER INC	EASTPOINTE	\$16.80	\$16.80	133	\$2,228
		FAMILY PRESERVATION SERVICES OF NC	PARTNERS	\$16.50	\$16.50	202	\$3,333
		MEDIDIAN DELIANGODAL HEALTH CEDVICES	VAYA	\$13.26	\$13.26	82	\$1,087
		MERIDIAN BEHAVIORAL HEALTH SERVICES	VAYA	\$150.00	-		\$8,770
		MONARCH	ALLIANCE	\$13.26	-		\$769
			EASTPOINTE	\$16.80			\$4,385
		NEW BU AFRICAN CROWN IS	PARTNERS	\$16.86			\$7,541
		NEW DIMENSION GROUP LLC	EASTPOINTE	\$16.80	-		\$5,345
		OCTOBER ROAD INC	VAYA	\$13.26	-		\$146
		PHOENIX COUNSELING CENTER	PARTNERS	\$16.50	-	\$13.26 591 \$13.26 58 \$16.80 261 \$16.50 456 \$16.80 319 \$0.01 69 \$16.50 732 \$13.26 869 \$16.50 72 \$13.26 559 \$16.80 112 \$16.80 407 \$16.50 26 \$12.00 873 \$16.50 381 \$16.50 381	\$12,078
		RHA HEALTH SERVICES INC	VAYA	\$150.00			\$27,932
		CTEDUENIC OUTDEACH CENTED INC	TRILLIUM	\$16.50	-		\$5,907
		STEPHENS OUTREACH CENTER INC	EASTPOINTE	\$16.80	-		\$23,911
		THE MENTAL HEALTH FUND INC	PARTNERS	\$16.50			\$1,188
		VISION BEHAVIORAL HEALTH SERVICES L	VAYA	\$13.26			\$7,412
		PRIMARY HEALTH CHOICE INC	EASTPOINTE	\$16.80			\$1,876
		RHA BEHAVIORAL HEALTH NC LLC	EASTPOINTE	\$16.80			\$6,838
			PARTNERS	\$16.50 \$12.00			\$429 \$10,476
			SANDHILLS VAYA		-		
			TRILLIUM	\$150.00 \$16.50			\$13,237 \$2,459
		EDEEDOW HOUSE DECOVEDY CENTED INC		\$18.50			\$2,459
		FREEDOM HOUSE RECOVERY CENTER INC	ALLIANCE EASTPOINTE		-		
			VAYA	\$15.50 \$150.00	\$15.00		\$1,296 \$1,805
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$150.00	\$150.00	33 194	\$1,805
		WAYNESBORO FAMILY CLINIC PA	EASTPOINTE	\$16.80	\$16.80	1029	\$3,198
		A CARING ALTERNATIVE LLC	PARTNERS	\$16.50	\$16.50	717	\$11,808
		PORT HEALTH SERVICES	TRILLIUM	\$16.50	\$16.50	46	\$753
		ONE TO ONE WITH YOUTH INC	EASTPOINTE	\$16.80	\$14.00	800	\$11,174
		LITTLE GERALD SERVICES	ALLIANCE	\$12.00	\$12.00	116	\$1,385
		CLAY WILSON & ASSOCIATES	VAYA	\$13.26	\$13.26	109	\$1,445
		COMMUNITY CARE SERVICE LLC	ALLIANCE	\$12.00	\$12.00	193	\$2,316
		COMMONITY CAME SERVICE LEC	EASTPOINTE	\$16.80	\$16.80	97	\$1,630
			VAYA	\$13.26	\$13.26	261	\$3,461
		AMARA WELLNESS SERVICES INC	ALLIANCE	\$12.00	\$12.00	908	\$10,896
		S & H YOUTH AND ADULT SERVICES IN	PARTNERS	\$16.50	\$16.50	79	\$1,300
		3 & 11 TOO 111 AND ADOLT SERVICES IN	VAYA	\$13.26	\$13.26	166	\$2,191
		ASSURANCE LIFE LEARNING CENTER LLC	PARTNERS	\$16.50	\$16.50	102	\$1,680
		EASTER SEALS UCP NORTH CAROLINA & V	PARTNERS	\$16.50	\$16.50	95	\$1,568
		HOPE HEALTH FAMILY PRACTICE	EASTPOINTE	\$16.80	\$16.80	375	\$5,704
		INFINITE BEGINNINGS LLC	VAYA	\$150.00	\$150.00	12	\$1,800
		SPRING LIFE BEHAVIORAL CARE LLC	TRILLIUM	\$16.50	\$16.50	69	\$1,800
		CARAMORE COMMUNITY INC	ALLIANCE	\$12.00	\$10.30	525	\$6,300
		CHARLONE COMMONTH INC	VAYA	\$13.26	\$13.26	330	\$4,376
I	I	I and the second	INVIV	13.20پ	13.20ب	330	4,570

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
COVID-19 -Psychosocial Rehabilitation Services	YA401	MONARCH	ALLIANCE	\$11.78	\$11.78	165	\$1,944
Telephone evaluation and management service, 11-20 minutes	99442	FAMILY PRESERVATION SERVICES OF NC	PARTNERS	\$43.41	\$43.41	26	\$1,129
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$48.18	\$48.18	10	\$482
SA Intensive Outpatient Program - Telemedicine	H0015	DAYMARK RECOVERY SERVICES INC	VAYA	\$246.00	\$246.00	37	\$7,614
Group Therapy (non-multiple family group) - Telemedicine	90853	ANUVIA PREVENTION AND RECOVERY CENT	ALLIANCE	\$19.18	\$19.18	29	\$556
		CAROLINA OUTREACH LLC	ALLIANCE	\$19.01	\$19.01	54	\$1,027
		DAYMARK RECOVERY SERVICES INC	ALLIANCE	\$36.00	\$36.00	179	\$6,444
			PARTNERS	\$36.00	\$36.00	894	\$32,184
			SANDHILLS	\$23.26	\$23.26	3265	\$75,333
			VAYA	\$48.66	\$48.66	2090	\$93,147
		DREAM PROVIDER CARE SERVICES	TRILLIUM	\$19.18	\$19.18	46	\$882
		FAMILY PRESERVATION SERVICES OF NC	VAYA	\$48.66	\$48.66	125	\$6,083
		MONARCH	ALLIANCE	\$143.47	\$143.47	131	\$10,842
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$76.20	\$36.00	4008	\$148,624
		RHA HEALTH SERVICES INC	VAYA	\$48.66	\$48.66	1239	\$55,416
		RHA BEHAVIORAL HEALTH NC LLC	SANDHILLS	\$23.26	\$23.26	119	\$2,768
			VAYA	\$48.66	\$48.66	420	\$19,133
			TRILLIUM	\$40.10	\$40.10	88	\$3,529
		FREEDOM HOUSE RECOVERY CENTER INC	ALLIANCE	\$36.00	\$36.00	12	\$432
		COASTAL HORIZONS CENTER INC	TRILLIUM	\$40.10	\$40.10	26	\$1,043
		PORT HEALTH SERVICES	TRILLIUM	\$40.10	\$40.10	805	\$29,645
Telephone evaluation and management service, 21-30 minutes	99443	FAMILY PRESERVATION SERVICES OF NC	VAYA	\$65.41	\$65.41	10	\$654
		THE MOSES H CONE MEMORIAL HOSPITAL	SANDHILLS	\$83.81	\$71.24	149	\$10,703
COVID-19 Case Support	YA402	LEGACY HUMAN SERVICES INC	VAYA	\$15.00	\$15.00	22	\$330
Community Support Team – Peer	H2015	CAROLINA OUTREACH LLC	ALLIANCE	\$25.91	\$25.91	210	\$5,441
		CENTRAL COMMUNITY SERVICES LLC	VAYA	\$25.91	\$25.91	50	\$1,296
		RHA HEALTH SERVICES INC	TRILLIUM	\$44.00	\$44.00	38	\$1,672
		RHA BEHAVIORAL HEALTH NC LLC	SANDHILLS	\$25.91	\$25.91	49	\$1,270
		A CARING ALTERNATIVE LLC	PARTNERS	\$25.91	\$23.31	161	\$3,756
		THE SPARC NETWORK LLC	PARTNERS	\$23.31	\$23.31	11	\$256
		ONE TO ONE WITH YOUTH INC	EASTPOINTE	\$25.91	\$25.91	49	\$1,270
		SOUTHEASTERN INTEGRATED CARE	EASTPOINTE	\$31.09	\$31.09	426	\$13,244
		EASTER SEALS UCP NORTH CAROLINA & V	PARTNERS	\$23.31	\$23.31	34	\$793
		PRIDE IN NORTH CAROLINA LLC	EASTPOINTE	\$31.09	\$31.09	27	\$839
		CAROLINA SOLUTION INC	EASTPOINTE	\$31.09	\$31.09	30	\$930
Community Support Team – Para	H2015	STEPHENS OUTREACH CENTER INC	EASTPOINTE	\$31.09	\$31.09	60	\$1,865
		RHA BEHAVIORAL HEALTH NC LLC	EASTPOINTE	\$31.09	\$31.09	10	\$311
		NCG ACQUISITION LLC	VAYA	\$25.91	\$25.91	24	\$622
		SOUTHEASTERN INTEGRATED CARE	EASTPOINTE	\$31.09	\$31.09	549	\$17,068
		SOUTHEASTERN BEHAVIORAL HEALTHCARE	EASTPOINTE	\$31.09	\$31.09	359	\$11,161
		THE ALAMANCE ACADEMY	VAYA	\$25.91	\$25.91	10	\$259
Office Contult 60-Telemedicine	99244	Halifax Regional Medical Center Inc	TRILLIUM	\$168.29	\$168.29	19	\$3,198
Office Based Opioid Treatment	YA396	INTEGRATED CARE OF GREATER HICKORY	PARTNERS	\$500.00	\$500.00	328	\$164,000
		SOUTHERN FAMILY MEDICINE INC	PARTNERS	\$500.00	\$500.00	418	\$209,000
		CLAY WILSON & ASSOCIATES	PARTNERS	\$500.00	\$500.00	181	\$90,200
		BLUE RIDGE COMMUNITY HEALTH SERVICE	PARTNERS	\$500.00	\$500.00	140	\$70,000
Long Term Voc Sup Ind	H2023	JOHNSTON COUNTY INDUSTRIES INC	ALLIANCE	\$3,200.00	\$24.63	58	\$16,356
		MONARCH	ALLIANCE	\$2,000.00	\$26.40	73	\$9,837
			PARTNERS	\$985.00	\$740.00	12	\$8,895
		RHA BEHAVIORAL HEALTH NC LLC	VAYA	\$3,200.00	\$493.00	30	\$34,473
		COMMUNITY PARTNERSHIPS INC	ALLIANCE	\$2,000.00	\$24.63	10	\$2,922

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Long Term Voc Sup Ind	H2023	EASTER SEALS UCP NORTH CAROLINA & V	ALLIANCE	\$3,200.00	\$24.63	519	\$90,951
			TRILLIUM	\$3,791.00	\$2,000.00	132	\$127,878
Supported Employment – Individual MH/SUD	YP630	JOHNSTON COUNTY INDUSTRIES INC	EASTPOINTE	\$20.91	\$20.91	20	
		MONARCH	EASTPOINTE	\$24.66	\$24.66	173	\$3,98
			PARTNERS	\$24.66	\$24.66	122	\$3,009
			SANDHILLS	\$26.00	\$26.00	222	\$4,902
			TRILLIUM	\$14.22	\$14.22	34	\$483
		PHYSICIAN ALLIANCE FOR MENTAL HEALT	TRILLIUM	\$19.02	\$19.02	31	\$522
		SANCTUARY HOUSE INC	SANDHILLS	\$26.40	\$26.40	420	\$9,732
		RHA BEHAVIORAL HEALTH NC LLC	SANDHILLS	\$26.40	\$26.40	323	\$7,467
			TRILLIUM	\$26.40	\$26.40	73	\$1,257
		PQA HEALTHCARE INC	PARTNERS	\$24.66	\$24.66	140	\$3,452
		EASTER SEALS UCP NORTH CAROLINA & V	SANDHILLS	\$26.40	\$20.88	85	\$1,780
			TRILLIUM	\$26.40	\$26.40	454	\$8,740
Day Supports - Group	YM590	ADULT LIFE PROGRAMS INC	PARTNERS	\$2.74	\$2.74	347	\$951
		AFTER GATEWAY INC	SANDHILLS	\$2.74	\$2.74	254	\$696
		AUTISM SOCIETY OF NORTH CAROLINA	ALLIANCE	\$15.28	\$15.28	97	\$1,482
		CAROBELL INC	TRILLIUM	\$5.35	\$5.35	234	\$1,252
		COASTAL ENTERPRISES OF WILMINGTON	TRILLIUM	\$5.35	\$5.35	372	\$1,990
		COMSERV INC	PARTNERS	\$2.74	\$2.74	215	\$589
		DIVERSIFIED OPPORTUNITIESINC	TRILLIUM	\$2.74	\$2.74	74	\$203
		DREAM CONNECTIONS INC	PARTNERS	\$2.74	\$2.74	137	\$375
		FOOTHILLS INDUSTRIES OF MCDOWELL CO	PARTNERS	\$2.74	\$2.74	110	\$301
		GASTON SKILLS INC	PARTNERS	\$2.74	\$2.74	183	\$501
		HOMECARE MANAGEMENT CORPORATION	TRILLIUM	\$2.74	\$2.74	201	\$551
		IQUOLIOC INC	TRILLIUM	\$2.74	\$2.74	135	\$370
		MARTIN COUNTY RESIDENTIAL SERVICES	TRILLIUM	\$2.74	\$2.74	199	\$545
		MONARCH	PARTNERS	\$2.74	\$2.74	310	
			TRILLIUM	\$5.35	\$2.74	1063	\$3,059
		NEW HORIZONS ADULT DAY SERVICES INC	PARTNERS	\$2.74	\$2.74	20	\$55
		RAINBOW 66 STOREHOUSE INC	ALLIANCE	\$5.96	\$5.96	38	\$226
		RHA HEALTH SERVICES NC LLC	PARTNERS	\$2.74	\$2.74	124	
			TRILLIUM	\$2.74	\$2.74	86	
		THE ENOLA GROUP INC	PARTNERS	\$2.74	\$2.74	81	\$222
		THE ENRICHMENT CTR AN AFFL CHPT	PARTNERS	\$2.74	\$2.74	80	
		RAES PLAYZE ADULT DAY CENTER	PARTNERS	\$2.74	\$2.74	30	
		THERAPEUTIC ALTERNATIVES INC	SANDHILLS	\$2.74	\$2.74	119	
		LIFESPAN INC	PARTNERS	\$2.74	\$2.74	352	\$964
		CLEVELAND VOCATIONAL INDUSTRIES IN	PARTNERS	\$2.74	\$2.74	651	\$1,784
		A CARING HEART CASE MANAGEMENT INC	TRILLIUM	\$2.74	\$2.74	173	\$474
		BEYOND CHALLENGES COMMUNITY SERVICE	VAYA	\$4.14	\$4.14	979	, ,
			TRILLIUM	\$5.35	\$5.35	95	\$508
		GUARDIAN ANGEL HEALTHCARE LLC	VAYA	\$4.14	\$4.14	120	
		ABOUND HEALTH LLC	PARTNERS	\$2.74	\$2.74	70	
			TRILLIUM	\$5.35	\$5.35	32	
		THE KIDS WORKSHOP	PARTNERS	\$2.74	\$2.74	126	\$34!
		ADVANTAGE CARE IN HOME SERVICES	EASTPOINTE	\$2.74	\$2.74	30	\$82
		EASTEAST CAROLINA VOCATIONAL CENTER	TRILLIUM	\$5.35	\$5.35	361	\$1,92
		THE ARC DAVIDSON COUNTY INC	SANDHILLS	\$2.74	\$2.74	894	\$2,447
Community Living and Support – Individ	YM851	ACI SUPPORT SPECIALISTS INC	ALLIANCE	\$6.33	\$6.33	262	\$1,658
			TRILLIUM	\$8.23	\$8.23	606	\$4,987

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Community Living and Support – Individ	YM851	ADVANTAGE BEHAVIORAL HEALTHCARE INC	TRILLIUM	\$8.23	\$8.23	120	\$988
		AFTER GATEWAY INC	SANDHILLS	\$8.23	\$8.23	223	\$1,835
		ALBERTA PROFESSIONAL SERVICES INC	VAYA	\$6.46	\$6.46	50	\$323
		ARC OF THE TRIANGLE INC	ALLIANCE	\$6.33	\$6.33	51	\$323
		AUTISM SOCIETY OF NORTH CAROLINA	ALLIANCE	\$6.33	\$6.33	366	\$2,317
			SANDHILLS	\$8.23	\$8.23	34	\$280
			VAYA	\$8.00	\$8.00	32	\$241
			TRILLIUM	\$8.23	\$8.23	615	\$5,061
		BENJAMIN HOUSE CASE MANAGEMENT	TRILLIUM	\$8.23	\$8.23	292	\$2,394
		CARING HANDS AND SUPPLEMENTARY ENRI	ALLIANCE	\$6.33	\$6.33	813	\$5,146
		DAVIDSON HOMES INC	VAYA	\$6.46	\$6.46	88	\$568
		DURHAM COUNTY COMMUNITY LIVING PROG	ALLIANCE	\$6.33	\$6.33	440	\$2,785
		GASTON RESIDENTIAL SERVICESINC	PARTNERS	\$24.69	\$24.69	168	\$4,141
		HOMECARE MANAGEMENT CORPORATION	TRILLIUM	\$8.23	\$8.23	1014	\$8,345
		IQUOLIOC INC	TRILLIUM	\$8.23	\$8.23	76	\$625
		JOHNSTON COUNTY INDUSTRIES INC	SANDHILLS	\$8.23	\$8.23	24	\$198
		LECHRIS ADULT DAY CARE OF ROCKY MOU	EASTPOINTE	\$8.23	\$8.23	313	\$2,500
		LECHRIS HEALTH SYSTEMS OF GREENVILL	TRILLIUM	\$8.23	\$8.23	143	\$1,177
		LECHRIS HEALTH SYSTEMS OF NEW BERN	TRILLIUM	\$8.23	\$8.23	323	\$2,658
		MATCHBOX HEALTH SERVICES CORPORATIO	ALLIANCE	\$6.33	\$6.33	114	\$722
		MAXIM HEALTHCARE SERVICES	ALLIANCE	\$6.33	\$6.33	92	\$582
			VAYA	\$6.46	\$6.46	195	\$1,259
			TRILLIUM	\$8.23	\$8.23	272	\$2,239
		MOUNTAIN AREA COMMUNITY SERVICES IN	VAYA	\$6.46	\$6.46	26	\$168
		PARTNERS BEHAVIORAL HEALTH MANAG	PARTNERS	\$6.17	\$6.17	10	\$62
		PERSON COUNTY GROUP HOMES INC	VAYA	\$6.46	\$6.46	273	\$1,764
		RAINBOW 66 STOREHOUSE INC	EASTPOINTE	\$8.23	\$8.23	222	\$1,708
		RESIDENTIAL SUPPORT SERVICES OF WAK	ALLIANCE	\$6.33	\$6.33	10	\$63
		RIVERBEND SERVICES INC	EASTPOINTE	\$8.23	\$8.23	440	\$3,585
		SECURING RESOURCES FOR CONSUMERS IN	ALLIANCE	\$6.33	\$6.33	1202	\$7,609
		SPECIALIZED SERVICES AND PERSONNEL	ALLIANCE	\$6.33	\$6.33	281	\$1,779
		THE ARC OF NORTH CAROLINA INC	TRILLIUM	\$8.23	\$8.23	478	\$3,934
		VOCA CORPORATION OF NORTH CAROLINA	PARTNERS	\$24.69	\$24.69	90	\$2,217
		AUTISM SERVICES INCORPORATED	ALLIANCE	\$6.49	\$6.38	97	\$620
		UNIVERSAL MENTAL HEALTH SERVICES I	ALLIANCE	\$6.33	\$6.33	1081	\$6,843
			PARTNERS	\$24.69	\$24.69	103	\$2,543
			VAYA	\$6.46	\$6.46	118	\$762
		PINNACLE HOME CARE INC	TRILLIUM	\$8.23	\$8.23	1109	\$9,127
		CNC-ACCESS INC	ALLIANCE	\$6.33	\$5.00	532	\$2,677
			EASTPOINTE	\$8.23	\$8.23	974	\$7,754
			VAYA	\$6.46	\$6.46	327	\$2,012
			TRILLIUM	\$8.23	\$8.23	810	\$6,666
		Comprehensive Community Care Inc	ALLIANCE	\$6.33	\$6.33	100	\$633
		ALPHA MANAGEMENT SERVICES INC	ALLIANCE	\$5.00	\$5.00	1163	\$5,815
		HUMAN RESOURCES UNLIMITED INC	TRILLIUM	\$8.23	\$8.23	275	\$2,263
		HOPE OF SAMPSON COUNTY LLC	EASTPOINTE	\$6.40	\$6.40	11	\$68
		A CARING HEART CASE MANAGEMENT INC	EASTPOINTE	\$8.23	\$8.23	85	\$700
			TRILLIUM	\$8.23	\$8.23	176	\$1,448
		ABILITIES INC	EASTPOINTE	\$8.23	\$8.23	402	\$3,288
		ONE ON ONE CARE INC	PARTNERS	\$24.69	\$6.17	522	\$3,311
		COMMUNITY CARE SERVICE LLC	EASTPOINTE	\$8.23	\$8.23	36	\$296

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Community Living and Support – Individ	YM851	ABOUND HEALTH LLC	ALLIANCE	\$6.33	\$6.33	343	\$2,171
			EASTPOINTE	\$8.23	\$8.23	144	\$1,149
			PARTNERS	\$24.69	\$24.69	127	\$3,136
			VAYA	\$6.46	\$6.46	43	\$278
			TRILLIUM	\$8.23	\$8.23	253	\$2,082
		CHARLES LEA CENTER	TRILLIUM	\$8.23	\$8.23	35	\$288
		EASTER SEALS UCP NORTH CAROLINA & V	ALLIANCE	\$6.33	\$6.33	541	\$3,425
			PARTNERS	\$24.69	\$24.69	19	\$469
			TRILLIUM	\$8.23	\$8.23	3701	\$30,459
		THE ARC DAVIDSON COUNTY INC	SANDHILLS	\$8.23	\$8.23	10	\$82
		IMPACT HEALTH SOLUTIONS	ALLIANCE	\$5.96	\$5.96	26	\$155
Residential Supports - Level 1	YM846	COMMUNITY INNOVATIONS INC	TRILLIUM	\$193.54	\$193.54	43	\$8,322
		DAVIDSON HOMES INC	PARTNERS	\$193.54	\$193.54	181	\$35,031
		DUPLIN SAMPSON GROUP HOMES INC	EASTPOINTE	\$193.54	\$193.54	152	\$29,280
		GENESIS RESISDENTIAL CARE	PARTNERS	\$193.54	\$193.54	113	\$21,870
		GROUP HOMES OF FORSYTH	PARTNERS	\$193.54	\$193.54	483	\$93,480
		HIGHER HORIZONSINC	SANDHILLS	\$193.54	\$193.54	31	\$6,000
		INREACH	ALLIANCE	\$96.74	\$96.74	403	\$38,618
		MONARCH	EASTPOINTE	\$193.54	\$193.54	540	\$104,512
			SANDHILLS	\$193.54	\$193.54	87	\$16,838
			TRILLIUM	\$193.54	\$193.54	92	\$17,806
		RENU LIFE EXTENDED INC	TRILLIUM	\$313.00	\$193.54	1364	\$285,252
		RESIDENTIAL SUPPORT SERVICES OF WAK	ALLIANCE	\$94.74	\$94.74	3132	\$296,726
		RHA HEALTH SERVICES NC LLC	VAYA	\$151.77	\$151.77	368	\$55,851
			TRILLIUM	\$193.54	\$193.54	171	\$33,095
		THE ENOLA GROUP INC	PARTNERS	\$193.54	\$193.54	116	\$22,451
		AUTISM SERVICES INCORPORATED	ALLIANCE	\$94.74	\$94.74	126	\$11,937
		SKILL CREATIONS INC	EASTPOINTE	\$193.54	\$193.54	90	\$17,419
		RENU LIFE LLC	TRILLIUM	\$193.54	\$193.54	584	\$113,027
		CAROLINA RESIDENTIAL SERVICES INC	PARTNERS	\$193.54	\$193.54	184	\$35,611
		PARADIGM INC	TRILLIUM	\$193.54	\$193.54	182	\$35,224
		THE ASBURY HOMES INC	EASTPOINTE	\$193.54	\$193.54	264	\$51,095
		ABOUND HEALTH LLC	ALLIANCE	\$193.54	\$193.54	183	\$34,627
		LEGACY HUMAN SERVICES INC	TRILLIUM	\$193.54	\$193.54	360	\$69,674
		EASTER SEALS UCP NORTH CAROLINA & V	EASTPOINTE	\$193.54	\$193.54	337	\$65,223
			PARTNERS	\$193.54	\$193.54	143	\$27,676
			SANDHILLS	\$193.54	\$193.54	206	\$39,869
			TRILLIUM	\$193.54	\$193.54	515	\$99,673
Residential Supports - Level 2	YM847	APOGEE HOME TWO	PARTNERS	\$220.08	\$220.08	153	\$29,621
		CABARRUS COUNTY GROUP HOMES INC	PARTNERS	\$220.08	\$220.08	74	\$16,286
		DREAM CONNECTIONS INC	PARTNERS	\$220.08	\$220.08	176	\$37,414
		GASTON RESIDENTIAL SERVICESINC	PARTNERS	\$220.08	\$220.08	668	\$147,013
		HIGHER HORIZONSINC	SANDHILLS	\$220.08	\$220.08	31	\$6,822
		INREACH	ALLIANCE	\$135.86	\$135.86	173	\$23,504
		KD SUPPORT SERVICES	PARTNERS	\$220.08	\$220.08	10	\$2,201
		MISS DAISYS AND ASSOCIATES INC	EASTPOINTE	\$220.08	\$220.08	810	\$178,265
		MONARCH	SANDHILLS	\$220.08	\$220.08	1674	\$326,769
		OMNI VISIONS INC	SANDHILLS	\$220.08	\$220.08	89	\$19,587
		PROFESSIONAL FAMILY CARE SERVICES I	SANDHILLS	\$161.99	\$161.99	242	\$19,587
		RALPH SCOTT LIFESERVICES INC	VAYA	\$161.99	\$176.04	446	
		RENU LIFE EXTENDED INC		\$176.04	\$176.04	184	\$78,514
	I	VENO FILE EVIENDED INC	ALLIANCE	\$135.86	3135.86	184	\$24,998

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023)

Multiple Items

Services with less than 10 paid events are excluded.

ACT is billed at a case rate and additional events are billed at .01.

Service Name	Procedure Code	FACILITY_LST_NM	LME_MCO	Max Paid Rate	Rate Mode	# Units Paid	Total Paid*
Residential Supports - Level 2	YM847	RESIDENTIAL SERVICES INC	ALLIANCE	\$135.86	\$135.86	464	\$63,039
		RESIDENTIAL SUPPORT SERVICES OF WAK	ALLIANCE	\$135.86	\$135.86	347	\$47,143
		RHA HEALTH SERVICES NC LLC	PARTNERS	\$220.08	\$220.08	184	\$40,495
			SANDHILLS	\$220.08	\$220.08	86	\$18,927
			VAYA	\$176.04	\$176.04	552	\$97,174
		THE WORKSHOP OF DAVIDSON INC	SANDHILLS	\$220.08	\$220.08	181	\$39,834
		VOCA CORPORATION OF NORTH CAROLINA	PARTNERS	\$220.08	\$220.08	101	\$22,228
		WATAUGA OPPORTUNITIES INC	VAYA	\$176.04	\$176.04	174	\$30,631
		CHATHAM COUNTY GROUP HOMES INC	SANDHILLS	\$75.48	\$75.48	183	\$13,813
			VAYA	\$176.04	\$176.04	95	\$16,723
		AGAPE HOME LIVING CARE LLC	EASTPOINTE	\$220.08	\$220.08	81	\$17,826
		LAVERNES HAVEN RESIDENTIAL HOME SER	EASTPOINTE	\$220.08	\$220.08	152	\$33,452
		PAMCO CARENC	SANDHILLS	\$220.08	\$220.08	87	\$19,147
		United Support Services Inc	VAYA	\$176.04	\$176.04	184	\$32,391
		ABOUND HEALTH LLC	PARTNERS	\$220.08	\$220.08	180	\$39,614
		LEGACY HUMAN SERVICES INC	EASTPOINTE	\$220.08	\$220.08	896	\$197,192
			VAYA	\$176.04	\$176.04	2642	\$465,098
		EASTER SEALS UCP NORTH CAROLINA & V	EASTPOINTE	\$220.08	\$220.08	1546	\$340,244
			PARTNERS	\$220.08	\$220.08	143	\$31,471
		THE ARC DAVIDSON COUNTY INC	SANDHILLS	\$220.08	\$220.08	145	\$31,912
Residential Supports - Level 3	YM848	CABARRUS COUNTY GROUP HOMES INC	PARTNERS	\$246.16	\$246.16	50	\$12,308
		COMMUNITY INNOVATIONS INC	ALLIANCE	\$246.16	\$246.16	79	\$19,447
		GASTON RESIDENTIAL SERVICESINC	PARTNERS	\$246.16	\$246.16	551	\$135,634
		HOLY ANGELS INC	PARTNERS	\$663.74	\$663.74	3366	\$2,234,149
		KYSEEMS UNITY GROUP HOME LLC	EASTPOINTE	\$246.16	\$246.16	20	\$4,923
		LUTHERAN FAMILY SERVICES IN THE CAR	PARTNERS	\$246.16	\$246.16	689	\$169,604
			SANDHILLS	\$246.16	\$246.16	69	\$15,101
		MISS DAISYS AND ASSOCIATES INC	EASTPOINTE	\$246.16	\$246.16	184	\$45,293
		MONARCH	SANDHILLS	\$246.16	\$246.16	91	\$22,401
		RALPH SCOTT LIFESERVICES INC	VAYA	\$200.58	\$200.58	99	\$19,800
		RENU LIFE EXTENDED INC	ALLIANCE	\$246.16	\$246.16	184	\$45,293
			PARTNERS	\$246.16	\$246.16	274	\$67,448
			SANDHILLS	\$141.51	\$141.51	184	\$26,038
			VAYA	\$200.58	\$200.58	368	\$73,813
		VOCA CORPORATION OF NORTH CAROLINA	PARTNERS	\$246.16	\$246.16	92	
		QUALITY CARE III LLC	SANDHILLS	\$161.99	\$161.99	92	
		VICTOR & ASSOCIATES INC	SANDHILLS	\$161.99	\$161.99	92	
		SKILL CREATIONS INC	EASTPOINTE	\$246.16	\$246.16	263	\$64,740
		RENU LIFE LLC	EASTPOINTE	\$246.16	\$246.16	183	\$45,047
			PARTNERS	\$246.16	\$246.16	349	\$85,910
		HINDS FEET FARM INC	SANDHILLS	\$246.16	\$246.16	161	\$39,632
		AGAPE HOME LIVING CARE LLC	PARTNERS	\$146.43	\$146.43	61	\$8,932
		ABOUND HEALTH LLC	PARTNERS	\$246.16	\$246.16	154	\$37,909
		CREATIVE DIRECTIONS INC	PARTNERS	\$503.27	\$503.27	135	\$67,941
		THE KIDS WORKSHOP	PARTNERS	\$246.16	\$246.16	182	\$44,801
		EDUCARE COMMUNITY LIVING CORP NORTH	SANDHILLS	\$246.16	\$246.16	122	\$30,032
		EASTER SEALS UCP NORTH CAROLINA & V	ALLIANCE	\$246.16	\$246.16	177	\$43,570
		CAROLINA PRIME RESIDENTIAL LLC	PARTNERS	\$246.16	\$246.16	184	\$45,293
			SANDHILLS	\$282.73	\$282.73	149	\$33,847
Supported Living Periodic Indiv. (IDD & TBI)	YM854	GASTON RESIDENTIAL SERVICESINC	PARTNERS	\$8.01	\$8.01	550	\$4,405
		INREACH	ALLIANCE	\$8.01	\$8.01	369	\$2,956

Service, Maximum and Mode Rates by Provider, LME

Date of Service Year-Month (Jul. 1, 2023 - Dec. 31, 2023) Multiple Items	Services with less than 10 paid events are excluded.
--	--

* Paid amount, as of report date.

ACT is billed at a case rate and additional events are billed at .01.										
Service Name	Procedure	FACILITY_LST_NM	LME_MCO	Max Paid	Rate	# Units	Total Paid*			
	Code			Rate	Mode	Paid				
Supported Living Periodic Indiv. (IDD & TBI)	YM854	MONARCH	PARTNERS	\$8.01	\$8.01	10	\$80			
Community Living and Support – Group	YM852	PATHWAYS FOR THE FUTURE	VAYA	\$4.25	\$4.25	167	\$710			
		PERSON COUNTY GROUP HOMES INC	VAYA	\$4.25	\$4.25	89	\$378			
		RAINBOW 66 STOREHOUSE INC	EASTPOINTE	\$2.74	\$2.74	24	\$66			
TBI Long term Residential Recovery (Level 2)	YM853	RENU LIFE EXTENDED INC	VAYA	\$313.85	\$313.85	145	\$45,508			

Rate most often Reimbursed (Mode) by LME for each Service

Date of Service Year-Month 2023-12 Services with less than 10 paid events are excluded.

Rate Mode (occurs most often)		LME_MCO_A	ASBILLED				
Svc_Name	PROC_ADJDC_CD	ALLIANCE	EASTPOINTE	PARTNERS	SANDHILLS	TRILLIUM	VAYA
ADVP	YP620	\$1.57	\$2.25	\$1.57	\$1.57		\$1.57
Afterschool Summer enrichment Pgm	YA392			\$58.00			
Alcohol and/or Drug Assessment - non-licensed	YP830			\$13.78			
provider							
Alcohol and/or Drug Group Counseling - non-	YP835			\$5.08	\$5.12		
licensed provider							
Assertive Community Treatment Program	H0040	\$340.20	\$375.00	\$348.75	\$339.62	\$0.01	\$304.18
Assertive Engagement - AP & Paraprofessional	YA353	\$15.00		\$100.00	\$6.00		
Assertive Engagement - QP (Licensed & Unlicensed	YA352			\$100.00	\$15.00		\$150.00
Behavioral Health Counseling - non-licensed	YP831				\$19.81		\$22.00
provider							
CAET Group	YA394						\$3.75
Clinical Evaluation/Intake - Telemedicine	90791	\$103.44		\$155.00	\$114.00		\$140.94
Clinical Evaluation/Intake	90791	\$175.00	\$125.39	\$155.00	\$114.00	\$243.40	\$357.00
Community Living and Support – Individ	YM851	\$6.33	\$8.23	\$24.69	\$8.23	\$8.23	\$8.00
Community Support Team	H2015	\$25.91	\$31.09	\$25.91		\$44.00	\$38.00
Community Support Team – Para	H2015		\$31.09				
Community Support Team – Peer	H2015	\$25.91	\$31.09				\$25.91
COVID-19 -Psychosocial Rehabilitation Services	YA401	\$11.78					
Day Activity	YP660		\$3.75		\$3.75		\$3.75
Day Supports	YM580					\$128.00	
Day Supports - Group	YM590	\$15.28		\$2.74	\$2.74	\$5.35	\$4.14
Detox - Soc Set	YP790	\$118.42		\$118.42			
Developmental Day	YP610				\$4.74		
Developmental Therapy Service Paraprofessional	H2014				\$6.01	\$7.19	
Developmental Therapy Service Professional	H2014				\$8.34		
Diagnostic Assessment	T1023					\$231.30	
E&M-Detailed-Established Patient	99213	\$75.00	\$57.62	\$155.00	\$69.67	\$197.20	\$197.20

Svc_Name	PROC_ADJDC_CD	ALLIANCE	EASTPOINTE	PARTNERS	SANDHILLS	TRILLIUM	VAYA
E&M-Detailed-Established Patient - Telemedicine		\$47.55		\$155.00	\$59.21	\$179.28	\$74.43
	99213						
E&M-Expanded-Established Patient	99212		\$32.83	\$28.48	\$41.72		
E&M-High-Established Patient	99215					\$125.40	
E&M-Moderate-Established Patient	99214	\$150.00	\$86.82	\$155.00	\$104.98	\$289.00	\$289.00
E&M-Moderate-Established Patient -		\$105.00	\$82.60	\$155.00	\$89.23	\$262.72	\$105.00
Telemedicine	99214						
E&M-Moderate-New Patient	99204					\$166.00	
E&M-Moderate-New Patient - Telemedicine	99204	\$120.87		\$143.47			
E&M-Problem Focused-Established Patient	99211	\$16.82					
Facility Based Crisis Program-Non-Medicaid	YP485				\$13.06		
Facility Based Crisis Service	S9484	\$30.00	\$30.00	\$32.31	\$30.00	\$39.49	\$50.00
Familiy Living - Mod	YP750			\$352.71			\$100.00
Family Therapy with patient	90847			\$67.28			
Group Living - Hi	YP780	\$188.00	\$282.74	\$162.74	\$141.51		\$528.00
Group Living - Low	YP760	\$193.75	\$173.74	\$63.58	\$135.16		\$70.27
Group Living - Mod	YP770	\$175.13		\$173.50	\$110.00	\$219.54	\$75.48
Group Therapy (non-multiple family group)	90853	\$36.00	\$19.76	\$36.00	\$23.26	\$40.10	\$60.00
Group Therapy (non-multiple family group) - Telen	90853	\$36.00		\$36.00	\$23.26	\$40.10	\$48.66
Home Supports L5	T2016	\$525.00			\$432.38		
Hospital Discharge Transition Service	YA346	\$18.25		\$18.25			
Independent Living-MR/MI	YM700		\$78.37				
Individual Therapy (20-30 min.)	90832	\$75.00	\$39.18	\$155.00	\$47.50	\$39.18	\$93.60
Individual Therapy (20-30 min.) - Telemedicine	90832	\$43.10		\$155.00	\$47.50	\$39.18	\$52.24
Individual Therapy (45-50 min.)	90834	\$80.00	\$67.85	\$155.00	\$61.70	\$50.89	\$143.00
Individual Therapy (45-50 min.) - Telemedicine	90834	\$55.98		\$143.47	\$61.70	\$50.89	\$77.41
Individual Therapy (60 min.)	90837	\$145.00	\$99.42	\$155.00	\$90.40	\$74.57	\$150.00
Individual Therapy (60 min.) - Telemedicine	90837	\$82.03	\$99.42	\$155.00	\$90.40	\$149.14	
Intensive In-Home Services	H2022	\$258.20			\$258.20	\$239.66	
Interactive Evaluation	90792	\$97.78		\$155.00			
Jail Support	YA349						\$22.04
Long Term Voc Sup Ind	H2023	\$24.63				\$500.00	
Long Term Vocation Support Indiv IDD	YA389	\$11.21			\$11.21		\$11.21

Svc_Name	PROC_ADJDC_CD	ALLIANCE	EASTPOINTE	PARTNERS	SANDHILLS	TRILLIUM	VAYA
Mental Health - Day Treatment - Child	H2012		\$31.41			\$31.41	
Mental Health - Partial Hospitalization	H0035			\$192.00			
Mobile Crisis Management	H2011	\$90.00		\$56.00		\$94.50	\$94.50
Multi-Systemic Therapy	H2033	\$36.57					
Non-Hospital Medical Detox	H0010		\$480.00			\$325.58	
Office Based Opioid Treatment	YA396			\$500.00			
Opioid Treatment	H0020	\$116.20	\$254.93	\$254.93	\$254.93	\$254.93	\$137.48
Peer Support (B3) Group	H0038						\$2.88
Peer Support (B3) Individual	H0038	\$12.00	\$16.80	\$16.50	\$12.00	\$16.50	\$150.00
Personal Asst - Indiv	YP020		\$4.46	\$4.46	\$4.46	\$6.61	\$4.46
Psychosocial Rehab Services	H2017	\$3.34	\$3.23	\$3.75	\$2.91		\$2.69
Public Psychiatry - Administrative Functions	YP851			\$25.00		\$25.00	
Public Psychiatry - Consultation and Service	YP852			\$35.00		\$35.00	
Functions							
Respite Hourly - Group	YP011					\$75.00	
Respite Hourly - Indiv	YP010				\$5.00	\$100.00	\$5.00
SA Comprehensive Outpatient Treatment	H2035	\$46.28	\$56.05	\$45.35			\$46.28
Program							
SA Halfway House	H2034	\$89.62	\$74.90				\$86.80
SA Intensive Outpatient Program	H0015	\$131.56	\$162.61	\$131.56	\$131.56	\$250.00	\$246.00
Subsequent Hospital Care per Day	99232		\$54.12				
Supervised Living - Low	YP710	\$28.92	\$33.26	\$28.92	\$28.92	\$130.00	\$28.92
Supervised Living - Mod.	YP720	\$180.23		\$55.11		\$140.00	\$55.11
Supported Emp - Group	YP640					\$2.53	
Supported Employment – Individual MH/SUD	YP630				\$26.40		
Supported Employment Indiv IDD	YA390			\$11.21	\$11.21	\$11.21	
Telehealth originating site facility fee	Q3014			\$22.31	\$23.42	\$23.38	\$21.25
Telephone evaluation and management service, 2	1 99443				\$71.24		
Therapeutic, prophylactic, or diagnostic injection		\$143.47		\$16.53	\$21.23		
	96372						
Transition Management Services	YM120	\$20.00	\$13.92	\$17.26	\$18.55	\$26.00	\$21.45

Select Service, Min, Max, and Mode Rates by LME

From Jan. 2017 Dates of Service

DOS_YYYYMM	(Multiple Items)
PROC_ADJDC_CD	(AII)

Services with less than 10 paid events are excluded.

vc_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
	D		Rate	Mode	
ADVP	ALLIANCE	\$2.96	\$1.25	\$2.96	\$381,22
	CARDINAL	\$3.75	\$1.13	\$1.94	\$464,90
	EASTPOINTE	\$2.25	\$1.25	\$2.25	\$470,95
	PARTNERS	\$2.40	\$1.57	\$1.57	\$127,53
	SANDHILLS	\$40.82	\$1.56	\$1.57	\$255,85
	VAYA	\$43.96	\$1.57	\$4.71	\$202,40
	TRILLIUM	\$14.00	\$1.80	\$4.80	\$83,65
Afterschool Summer enrichment Pgm	CARDINAL	\$58.00	\$58.00	\$58.00	\$129,74
	PARTNERS	\$58.00	\$58.00	\$58.00	\$40,83
lcohol and/or Drug Assessment - non-lice	PARTNERS	\$13.78	\$13.78	\$13.78	\$3,01
	SANDHILLS	\$13.87	\$13.87	\$13.87	\$23,24
	VAYA	\$22.00	\$13.87	\$22.00	\$5,23
Alcohol and/or Drug Group Counseling - nor	CARDINAL	\$9.80	\$8.11	\$8.52	\$9,63
	EASTPOINTE	\$5.08	\$5.08	\$5.08	\$11
	PARTNERS	\$10.16	\$5.08	\$5.08	\$20,48
	SANDHILLS	\$20.48	\$4.87	\$5.12	\$12,65
	VAYA	\$5.12	\$5.08	\$5.12	\$2,41
	TRILLIUM	\$7.45	\$5.08	\$7.45	\$5,85
Assertive Community Treatment Program	ALLIANCE	\$391.23	\$0.01	\$391.23	\$17,478,49
,	CARDINAL	\$543.20	\$323.98	\$543.20	\$10,804,22
	EASTPOINTE	\$375.00	\$0.01	\$375.00	\$2,602,93
	PARTNERS	\$460.00	\$0.01	\$456.27	\$7,633,25
	SANDHILLS	\$390.56	\$0.01	\$339.62	\$4,986,27
	VAYA	\$430.19	\$0.01	\$304.18	\$15,520,75
	TRILLIUM	\$1,720.00	\$0.01	\$1,300.00	\$3,272,44
Assertive engagement	ALLIANCE	\$15.00	\$0.01	\$15.00	\$78,27
0 0	CARDINAL	\$18.12	\$15.00	\$18.12	\$12,70
	EASTPOINTE	\$18.00	\$15.00	\$18.00	. , \$77
	PARTNERS	\$15.00	\$0.01	\$15.00	\$28,11
	VAYA	\$15.00	\$15.00	\$15.00	\$32,22
	TRILLIUM	\$15.00	\$15.00	\$15.00	\$122,02
Behavioral Health Counseling - Group Thera		\$8.11	\$8.11	\$8.11	\$3,17
	TRILLIUM	\$7.25	\$7.25	\$7.25	\$8
Behavioral Health Counseling - non-licensed		\$22.00	\$22.00	\$22.00	\$22
	EASTPOINTE	\$19.67	\$19.67	\$19.67	\$21
	PARTNERS	\$19.67	\$19.67	\$19.67	\$31,90
	SANDHILLS	\$19.81	\$19.56	\$19.81	\$98,28
	VAYA	\$22.00	\$19.67	\$22.00	\$469,28
	TRILLIUM	\$23.60	\$19.67	\$23.60	\$27,29
CAET Group	VAYA	\$3.75	\$3.75	\$3.75	\$23,78
CAET school to work transition (group)	SANDHILLS	\$2.27	\$3.73	\$2.27	\$1,48

vc_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
	D		Rate	Mode	
Clinical Evaluation/Intake - Telemedicine	ALLIANCE	\$143.47	\$67.80	\$143.47	\$1,005,65
	CARDINAL	\$182.16	\$94.04	\$160.00	\$1,190,44
	EASTPOINTE	\$142.07	\$94.04	\$129.15	\$143,26
	PARTNERS	\$155.00	\$98.49	\$155.00	\$814,88
	SANDHILLS	\$129.21	\$114.00	\$114.00	\$365,32
	VAYA	\$357.00	\$89.04	\$357.00	\$1,036,44
	TRILLIUM	\$243.40	\$90.39	\$243.40	\$613,97
	ALLIANCE	\$413.00	\$94.04	\$413.00	\$3,327,65
	CARDINAL	\$182.16	\$85.04	\$160.00	\$4,768,91
	EASTPOINTE	\$129.15	\$94.04	\$129.15	\$1,096,23
	PARTNERS	\$155.00	\$98.49	\$155.00	\$1,801,33
	SANDHILLS	\$152.02	\$110.68	\$114.00	\$1,751,47
	VAYA	\$357.00	\$89.04	\$357.00	\$3,620,58
	TRILLIUM	\$357.00	\$90.46	\$243.40	\$2,536,95
Community Rehabilitation Program (Shelter	PARTNERS	\$3.71	\$3.71	\$3.71	\$6,10
Community Support Team	ALLIANCE	\$29.80	\$14.50	\$29.80	\$1,038,47
	CARDINAL	\$34.98	\$16.52	\$25.91	\$159,93
	EASTPOINTE	\$31.09	\$14.50	\$31.09	\$1,174,04
	PARTNERS	\$25.91	\$16.52	\$25.91	\$231,43
	SANDHILLS	\$50.00	\$14.50	\$25.91	\$44,38
	VAYA	\$38.00	\$14.50	\$38.00	\$356,12
	TRILLIUM	\$44.00	\$14.50	\$44.00	\$290,57
Comprehensive Screening and Community O	ALLIANCE	\$19.45	\$19.45	\$19.45	\$88,24
Crisis Evaluation & Observation	ALLIANCE	\$13.06	\$13.06	\$13.06	\$137,92
	PARTNERS	\$11.31	\$11.31	\$11.31	\$11,45
Critical Time Intervention	PARTNERS	\$61.92	\$20.64	\$20.64	\$54,60
Day Activity	ALLIANCE	\$3.75	\$1.46	\$3.75	\$60,14
	CARDINAL	\$6.13	\$3.75	\$3.75	\$258,65
	EASTPOINTE	\$120.00	\$1.71	\$3.75	\$155,16
	PARTNERS	\$6.11	\$3.75	\$3.75	\$508,33
	SANDHILLS	\$68.25	\$3.75	\$68.25	\$875,66
	VAYA	\$3.75	\$3.75	\$3.75	\$12,17
	TRILLIUM	\$6.13	\$2.50	\$6.13	\$35,39
Day Supports	CARDINAL	\$112.23	\$96.32	\$112.23	\$424,27
	PARTNERS	\$144.24	\$3.84	\$6.01	\$317,36
	SANDHILLS	\$112.23	\$60.05	\$112.23	\$1,193,90
	TRILLIUM	\$128.00	\$65.76	\$128.00	\$388,70
Developmental Day	ALLIANCE	\$2.50	\$2.50	\$2.50	\$6,57
·	CARDINAL	\$4.74	\$4.74	\$4.74	\$9,50
	PARTNERS	\$4.74	\$4.74	\$4.74	\$1,28
	SANDHILLS	\$94.80	\$4.74	\$4.74	\$189,50
	JANDIIILLJ	, ,			, ,,,,,,
		\$18.98	\$4.74	\$4.74	\$80.86
Developmental Therapy Service Paraprofess	TRILLIUM	\$18.98 \$13.00	\$4.74 \$6.01	\$4.74 \$13.00	\$80,869
Developmental Therapy Service Paraprofess	TRILLIUM	\$18.98 \$13.00 \$6.01	\$4.74 \$6.01 \$6.01	\$4.74 \$13.00 \$6.01	\$80,869 \$328,31 \$37,08

vc_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
D 1 17 0 1 5	D	40.00	Rate	Mode	A.c
Developmental Therapy Service Paraprofes		\$24.04	\$6.01	\$6.01	\$116,47
	TRILLIUM	\$12.50	\$4.60	\$7.19	\$898,61
Developmental Therapy Service Paraprofes		\$2.01	\$2.01	\$2.01	\$9,80
Developmental Therapy Service Professiona		\$13.00	\$13.00	\$13.00	\$33,93
	SANDHILLS	\$8.34	\$8.23	\$8.34	\$48,69
Diagnostic Assessment	CARDINAL	\$261.13	\$261.13	\$261.13	\$73,98
	EASTPOINTE	\$238.24	\$231.30	\$238.24	\$197,20
	PARTNERS	\$231.30	\$231.30	\$231.30	\$408,77
	SANDHILLS	\$231.30	\$231.30	\$231.30	\$10,54
	VAYA	\$231.30	\$231.30	\$231.30	\$120,04
	TRILLIUM	\$254.43	\$231.30	\$254.43	\$2,802,49
E&M-Detailed-Established Patient	ALLIANCE	\$143.47	\$47.55	\$93.75	\$1,476,42
	CARDINAL	\$178.25	\$63.75	\$155.00	\$3,641,41
	EASTPOINTE	\$75.00	\$47.55	\$75.00	\$948,67
	PARTNERS	\$155.00	\$50.94	\$155.00	\$1,796,26
	SANDHILLS	\$69.67	\$57.49	\$69.67	\$740,86
	VAYA	\$232.00	\$47.55	\$197.20	\$3,188,94
	TRILLIUM	\$220.00	\$47.55	\$197.20	\$2,655,72
E&M-Detailed-Established Patient - Teleme	ALLIANCE	\$143.47	\$47.55	\$143.47	\$484,94
	CARDINAL	\$178.25	\$55.75	\$155.00	\$1,339,57
	EASTPOINTE	\$57.62	\$47.55	\$57.62	\$115,39
	PARTNERS	\$155.00	\$59.38	\$155.00	\$1,147,65
	SANDHILLS	\$69.67	\$55.94	\$69.67	\$611,95
	VAYA	\$232.00	\$49.26	\$232.00	\$489,24
	TRILLIUM	\$197.20	\$47.55	\$179.28	\$754,0
E&M-Detailed-New Patient	ALLIANCE	\$89.36	\$70.86	\$83.36	\$17,30
	CARDINAL	\$178.25	\$89.36	\$155.00	\$77,10
	PARTNERS	\$103.20	\$87.72	\$103.20	\$7,88
	SANDHILLS	\$103.81	\$88.25	\$103.81	\$34,97
	VAYA	\$75.86	\$75.86	\$75.86	\$1,59
	TRILLIUM	\$183.40	\$70.86	\$183.40	\$93,25
E&M-Detailed-New Patient - Telemedicine	ALLIANCE	\$83.36	\$70.86	\$83.36	\$21,72
Edivided New Facility Telemedicine	CARDINAL	\$155.00	\$155.00	\$155.00	\$17,69
E&M-Expanded-Established Patient	ALLIANCE	\$33.50	\$28.48	\$33.50	\$17,03
Law-Expanded-Established Fatient	CARDINAL	\$178.25	\$28. 4 8 \$17.97	\$155.00	\$753,71
	EASTPOINTE	\$34.51	\$32.83	\$133.00	\$10,72
	PARTNERS	\$32.50	\$28.48	\$34.51	\$36,46
	SANDHILLS				
		\$41.72	\$35.47	\$41.72	\$76,84
	VAYA	\$155.00	\$27.50	\$70.00	\$21,33
FOR4 Everyaged of Establish at Day 1 To 1	TRILLIUM	\$59.81	\$28.48	\$44.22	\$181,89
E&M-Expanded-Established Patient - Telem		\$178.25	\$21.14	\$155.00	\$671,43
	PARTNERS	\$32.50	\$28.48	\$32.50	\$33,52
	SANDHILLS	\$41.72	\$35.47	\$41.72	\$9,07
	VAYA	\$155.00	\$27.50	\$155.00	\$3,82
	TRILLIUM	\$44.22	\$28.48	\$44.22	\$4,43

vc_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
	D		Rate	Mode	
E&M-Expanded-New Patient	EASTPOINTE	\$59.27	\$59.27	\$59.27	\$13,33
	TRILLIUM	\$66.45	\$48.91	\$66.45	\$7,98
E&M-High-Established Patient	ALLIANCE	\$114.00	\$96.90	\$114.00	\$90,09
	CARDINAL	\$150.00	\$96.90	\$150.00	\$11,81
	EASTPOINTE	\$117.42	\$117.42	\$117.42	\$9,62
	PARTNERS	\$138.57	\$110.58	\$138.57	\$132,70
	SANDHILLS	\$141.98	\$120.67	\$141.98	\$39,02
	VAYA	\$114.00	\$105.58	\$114.00	\$357,55
	TRILLIUM	\$263.34	\$96.90	\$219.45	\$901,45
E&M-High-Established Patient - Telemedicin	ALLIANCE	\$114.00	\$96.90	\$114.00	\$27,24
	CARDINAL	\$155.00	\$150.00	\$155.00	\$26,57
	PARTNERS	\$155.00	\$114.00	\$155.00	\$87,53
	SANDHILLS	\$141.98	\$141.98	\$141.98	\$36,12
	VAYA	\$114.00	\$105.58	\$114.00	\$38,66
	TRILLIUM	\$263.34	\$96.90	\$263.34	\$402,26
E&M-High-New Patient	ALLIANCE	\$163.41	\$138.90	\$163.41	\$167,66
	CARDINAL	\$187.92	\$116.00	\$179.82	\$139,92
	PARTNERS	\$198.58	\$166.89	\$198.58	\$209,32
	SANDHILLS	\$203.51	\$167.94	\$203.51	\$96,13
	VAYA	\$158.41	\$153.51	\$153.51	\$206,18
	TRILLIUM	\$314.56	\$138.90	\$226.49	\$563,33
E&M-High-New Patient - Telemedicine	ALLIANCE	\$163.41	\$138.90	\$163.41	\$34,26
	CARDINAL	\$211.55	\$138.90	\$211.55	\$13,51
	PARTNERS	\$198.58	\$168.79	\$198.58	\$19,42
	SANDHILLS	\$203.51	\$172.98	\$203.51	\$43,29
	VAYA	\$158.41	\$153.51	\$158.41	\$15,94
	TRILLIUM	\$377.47	\$138.89	\$314.56	\$287,09
E&M-Moderate-Established Patient	ALLIANCE	\$150.00	\$71.65	\$150.00	\$4,375,38
	CARDINAL	\$178.25	\$89.25	\$155.00	\$2,458,69
	EASTPOINTE	\$105.00	\$71.65	\$105.00	\$1,010,60
	PARTNERS	\$155.00	\$87.79	\$155.00	\$2,220,61
	SANDHILLS	\$104.98	\$86.63	\$104.98	\$1,051,97
	VAYA	\$340.00	\$71.65	\$289.00	\$2,697,42
	TRILLIUM	\$289.00	\$68.07	\$289.00	\$5,453,06
E&M-Moderate-Established Patient - Telem	ALLIANCE	\$143.47	\$71.65	\$143.47	\$3,731,69
	CARDINAL	\$178.25	\$81.25	\$155.00	\$2,031,78
	EASTPOINTE	\$105.00	\$71.65	\$86.82	\$366,50
	PARTNERS	\$155.00	\$87.79	\$155.00	\$1,561,94
	SANDHILLS	\$110.23	\$86.63	\$110.23	\$945,66
	VAYA	\$289.00	\$76.76	\$289.00	\$1,545,11
	TRILLIUM	\$289.00	\$71.65	\$289.00	\$2,658,81
E&M-Moderate-New Patient	ALLIANCE	\$142.20	\$109.88	\$142.20	\$681,71
	CARDINAL	\$216.00	\$109.88	\$216.00	\$354,33
	···- ·· ·· ·-	γ_10.00	Ψ±03.00	Ψ=±0.00	7551,55
	EASTPOINTE	\$133.15	\$109.88	\$133.15	\$278,44

vc_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
	D		Rate	Mode	
E&M-Moderate-New Patient	SANDHILLS	\$160.99	\$132.86	\$160.99	\$98,35
	VAYA	\$465.80	\$124.27	\$465.80	\$21,23
	TRILLIUM	\$298.62	\$109.88	\$176.49	\$681,25
E&M-Moderate-New Patient - Telemedicin	ALLIANCE	\$143.47	\$63.75	\$143.47	\$473,98
	CARDINAL	\$216.00	\$109.88	\$216.00	\$252,02
	EASTPOINTE	\$133.15	\$109.88	\$133.15	\$38,42
	PARTNERS	\$159.04	\$135.18	\$159.04	\$265,38
	SANDHILLS	\$160.99	\$129.27	\$160.99	\$87,44
	VAYA	\$143.47	\$124.27	\$143.47	\$15,71
	TRILLIUM	\$298.62	\$109.88	\$226.22	\$182,62
E&M-Problem Focused-Established Patient	ALLIANCE	\$16.82	\$16.82	\$16.82	\$16,43
administration of the second s	CARDINAL	\$25.00	\$14.30	\$25.00	\$13,33
	EASTPOINTE	\$15.00	\$15.00	\$15.00	\$1,32
	PARTNERS	\$16.32	\$16.32	\$16.32	\$51,09
	SANDHILLS	\$20.95	\$20.34	\$20.95	\$3,91
OM Doubless Factored Fatablished Dations	VAYA	\$11.82	\$11.32	\$11.82	\$38,75
	TRILLIUM	\$30.04	\$14.30	\$20.18	\$35,66
E&M-Problem Focused-Established Patient	CARDINAL	\$16.82	\$16.82	\$16.82	\$47
Facility Based Crisis Program-Non-Medicaio	SANDHILLS	\$313.32	\$13.06	\$313.32	\$2,699,92
Facility Based Crisis Service	ALLIANCE	\$412.80	\$15.93	\$30.00	\$1,124,31
	CARDINAL	\$58.69	\$18.78	\$58.69	\$1,897,83
	EASTPOINTE	\$31.50	\$15.93	\$31.50	\$187,44
	PARTNERS	\$50.00	\$18.44	\$38.56	\$1,963,65
	SANDHILLS	\$35.14	\$15.93	\$35.14	\$409,15
	VAYA	\$800.00	\$5.11	\$55.00	\$2,928,77
	TRILLIUM	\$51.34	\$24.30	\$51.34	\$2,349,61
Familiy Living - Mod	CARDINAL	\$60.00	\$30.76	\$60.00	\$26,89
, ,	EASTPOINTE	\$117.42	\$52.03	\$117.42	\$161,90
	PARTNERS	\$610.00	\$70.47	\$610.00	\$1,433,87
	VAYA	\$250.00	\$77.50	\$250.00	\$784,90
	TRILLIUM	\$193.54	\$46.83	\$193.54	\$139,60
Family Living - High	PARTNERS	\$715.00	\$100.00	\$715.00	\$2,292,95
,	VAYA	\$187.50	\$100.00	\$187.50	\$961,17
Family Living - Low	ALLIANCE	\$57.50	\$50.00	\$57.50	\$87,88
, ,	CARDINAL	\$82.65	\$21.73	\$50.00	\$90,65
	EASTPOINTE	\$346.00	\$50.00	\$116.00	\$2,141,20
	PARTNERS	\$70.47	\$52.03	\$70.47	\$240,98
	VAYA	\$90.00	\$55.00	\$90.00	\$151,75
	TRILLIUM	\$193.54	\$56.50	\$193.54	\$178,61
Family Therapy with patient	ALLIANCE	\$67.28	\$67.28	\$67.28	\$12,24
,	EASTPOINTE	\$69.30	\$69.30	\$69.30	\$1,04
	PARTNERS	\$67.28	\$67.28	\$67.28	\$50,48
	SANDHILLS	\$81.57	\$81.57	\$81.57	\$30,48 \$1,63
	VAYA	\$107.88	\$107.88	\$107.88	\$1,03 \$63,91
	TRILLIUM	\$67.28	\$67.28	\$67.28	\$3,76

vc_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
	D		Rate	Mode	
Family Therapy without patient	VAYA	\$88.34	\$88.34	\$88.34	\$88
Group Living - Hi	ALLIANCE	\$250.00	\$75.47 ·	\$250.00	\$9,283,06
	CARDINAL	\$322.21	\$66.00	\$262.20	\$10,132,06
	EASTPOINTE	\$450.00	\$70.76	\$373.75	\$1,797,31
	PARTNERS	\$663.74	\$141.00	\$663.74	\$24,572,77
	SANDHILLS	\$188.00	\$135.85	\$141.51	\$19,564,44
	VAYA	\$668.03	\$141.14	\$668.03	\$12,288,19
	TRILLIUM	\$141.51	\$136.95	\$141.51	\$124,93
Group Living - Low	ALLIANCE	\$193.75	\$32.61	\$193.75	\$6,321,55
Croup Living Low	CARDINAL	\$193.75	\$28.92	\$193.75	\$10,508,27
	EASTPOINTE	\$173.74	\$34.61	\$173.74	\$7,173,98
	PARTNERS	\$80.29	\$25.00	\$63.58	\$8,032,08
	SANDHILLS	\$135.16	\$55.29	\$135.16	\$10,413,29
	VAYA	\$95.32	\$30.00	\$95.32	\$3,045,83
	TRILLIUM	\$231.09	\$55.29	\$231.09	\$318,37
Group Living - Mod	ALLIANCE	\$309.34	\$36.29	\$309.34	\$24,227,77
	CARDINAL	\$7,548.00	\$41.05	\$315.00	\$24,833,35
	EASTPOINTE	\$190.12	\$58.21	\$190.12	\$8,402,96
	PARTNERS	\$258.00	\$45.00	\$235.61	\$13,475,30
	SANDHILLS	\$157.00	\$70.95	\$157.00	\$16,986,61
	VAYA	\$141.15	\$39.00	\$132.25	\$5,686,67
	TRILLIUM	\$234.00	\$58.21	\$234.00	\$11,124,37
Group Therapy (non-multiple family group)	ALLIANCE	\$36.00	\$19.18	\$36.00	\$583,35
	CARDINAL	\$178.25	\$36.00	\$155.00	\$4,723,16
	EASTPOINTE	\$36.00	\$19.18	\$36.00	\$219,24
	PARTNERS	\$76.20	\$36.00	\$76.20	\$1,799,82
	SANDHILLS	\$31.63	\$22.26	\$23.26	\$955,45
	VAYA	\$155.00	\$24.43	\$155.00	\$3,638,23
	TRILLIUM	\$51.70	\$19.18	\$40.10	\$1,209,20
Hospital Discharge Day 30 min or less	ALLIANCE	\$61.11	\$59.28	\$59.28	\$9,26
	VAYA	\$61.11	\$54.28	\$54.28	\$6,95
Hospital Discharge Transition Service	ALLIANCE	\$18.25	\$1.00	\$18.25	\$540,68
	PARTNERS	\$18.25	\$0.01	\$18.25	\$195,83
Independent Living-MR/MI	ALLIANCE	\$25.20	\$21.91	\$25.20	\$42,58
,	EASTPOINTE	\$78.37	\$68.15	\$78.37	\$530,84
	PARTNERS	\$38.80	\$38.80	\$38.80	\$90,59
	SANDHILLS	\$114.00	\$16.68	\$114.00	\$296,61
Individual Therapy (20-30 min.)	ALLIANCE	\$75.00	\$39.18	\$75.00	\$1,562,55
,	CARDINAL	\$178.25	\$30.00	\$155.00	\$2,646,87
	EASTPOINTE	\$52.24	\$28.21	\$52.24	\$308,69
	PARTNERS	\$155.00	\$34.18	\$155.00	\$1,703,52
	SANDHILLS	\$53.83	\$39.18	\$47.50	\$536,85
	VAYA	\$155.00	\$0.01	\$155.00	\$1,193,75
	TRILLIUM	\$78.36	\$39.18	\$78.36	\$1,379,56
	ITALELOW	الا.ن / ب	7JJ.10	0.30 ر	71,3/3,30

LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
D		Rate	Mode	
CARDINAL	\$178.25	\$39.18	\$155.00	\$685,10
EASTPOINTE	\$52.24	\$39.18	\$52.24	\$53,76
PARTNERS	\$155.00	\$47.72	\$155.00	\$605,05
SANDHILLS	\$63.32	\$47.50	\$47.50	\$70,84
VAYA	\$155.00	\$34.18	\$155.00	\$227,63
TRILLIUM	\$78.36	\$39.18	\$78.36	\$482,29
ALLIANCE	\$29.67	\$29.67	\$29.67	\$1,36
CARDINAL	\$34.91	\$29.67	\$29.67	\$1,16
EASTPOINTE	\$30.56	\$30.56	\$30.56	\$57
PARTNERS	\$33.86	\$29.67	\$33.86	\$3,30
VAYA	\$30.55	\$28.60	\$28.60	\$32
ALLIANCE	\$80.00	\$43.10	\$80.00	\$630,52
CARDINAL	\$178.25	\$45.89	\$155.00	\$749,36
EASTPOINTE	\$69.89	\$50.89	\$67.85	\$342,25
PARTNERS	\$155.00	\$63.29	\$155.00	\$1,914,60
SANDHILLS	\$82.26	\$59.90	\$61.70	\$1,383,39
VAYA	\$155.00	\$45.89	\$155.00	\$2,502,54
TRILLIUM	\$125.00	\$50.89	\$125.00	\$1,200,43
ALLIANCE	\$143.47	\$55.98	\$143.47	\$297,30
CARDINAL	\$178.25	\$32.89	\$155.00	\$436,80
EASTPOINTE	\$69.89	\$50.89	\$67.85	\$85,72
PARTNERS	\$155.00	\$63.29	\$155.00	\$1,307,57
SANDHILLS	\$82.26	\$61.70	\$61.70	\$301,70
VAYA		\$45.89	\$155.00	\$803,28
TRILLIUM				\$573,47
ALLIANCE	\$145.00	\$43.10	\$145.00	\$6,559,74
CARDINAL	\$178.25	\$67.57	\$155.00	\$2,843,28
EASTPOINTE	\$102.40	\$71.29	\$102.40	\$3,539,67
PARTNERS	\$155.00	\$84.00	\$155.00	\$94,65
SANDHILLS	\$94.92	\$87.77	\$90.40	\$2,079,77
VAYA	\$155.00	\$69.57	\$155.00	\$1,721,66
TRILLIUM	\$240.00	\$70.99	\$149.14	\$5,932,67
	\$143.47			\$3,311,25
CARDINAL	\$178.25		\$155.00	\$1,110,83
				\$482,04
				\$69,15
				\$443,72
			•	\$300,02
		•		\$1,836,25
				\$11,28
IVAIA		,	, =	Ŧ ==, = 0
		\$113.34	\$113.34	\$17.68
ALLIANCE	\$113.34	\$113.34 \$99.23	\$113.34 \$116.74	
ALLIANCE EASTPOINTE	\$113.34 \$116.74	\$99.23	\$116.74	\$17,68 \$56,51 \$19.25
ALLIANCE	\$113.34			
	CARDINAL EASTPOINTE PARTNERS SANDHILLS VAYA TRILLIUM ALLIANCE CARDINAL EASTPOINTE PARTNERS VAYA ALLIANCE CARDINAL EASTPOINTE PARTNERS SANDHILLS VAYA TRILLIUM ALLIANCE	D CARDINAL \$178.25 EASTPOINTE \$52.24 PARTNERS \$155.00 SANDHILLS \$63.32 VAYA \$155.00 TRILLIUM \$78.36 ALLIANCE \$29.67 CARDINAL \$34.91 EASTPOINTE \$30.56 PARTNERS \$33.86 VAYA \$30.55 ALLIANCE \$80.00 CARDINAL \$178.25 EASTPOINTE \$69.89 PARTNERS \$155.00 SANDHILLS \$82.26 VAYA \$155.00 TRILLIUM \$125.00 ALLIANCE \$143.47 CARDINAL \$178.25 EASTPOINTE \$69.89 PARTNERS \$155.00 SANDHILLS \$82.26 VAYA \$155.00 TRILLIUM \$101.78 ALLIANCE \$145.00 CARDINAL \$178.25 EASTPOINTE \$102.40 PARTNERS \$155.00	D Rate CARDINAL \$178.25 \$39.18 EASTPOINTE \$52.24 \$39.18 PARTNERS \$155.00 \$47.72 SANDHILLS \$63.32 \$47.50 VAYA \$155.00 \$34.18 TRILLIUM \$78.36 \$39.18 ALLIANCE \$29.67 \$29.67 CARDINAL \$34.91 \$29.67 EASTPOINTE \$30.56 \$30.56 PARTNERS \$33.86 \$29.67 VAYA \$30.55 \$28.60 ALLIANCE \$80.00 \$43.10 CARDINAL \$178.25 \$45.89 EASTPOINTE \$69.89 \$50.89 PARTNERS \$155.00 \$63.29 SANDHILLS \$82.26 \$59.90 VAYA \$155.00 \$45.89 TRILLIUM \$125.00 \$50.89 ALLIANCE \$143.47 \$55.98 CARDINAL \$178.25 \$32.89 EASTPOINTE \$69.89 \$50.89 PAR	D Rate Mode CARDINAL \$178.25 \$39.18 \$155.00 EASTPOINTE \$52.24 \$39.18 \$52.24 PARTNERS \$155.00 \$47.72 \$155.00 SANDHILLS \$63.32 \$47.50 \$47.50 VAYA \$155.00 \$34.18 \$155.00 VAYA \$155.00 \$34.18 \$155.00 VAYA \$155.00 \$34.18 \$155.00 VAYA \$155.00 \$39.18 \$78.36 ALLIANCE \$29.67 \$29.67 \$29.67 CARDINAL \$34.91 \$29.67 \$29.67 EASTPOINTE \$30.56 \$30.56 \$30.56 PARTNERS \$33.86 \$29.67 \$33.86 VAYA \$30.55 \$28.60 \$28.60 ALLIANCE \$80.00 \$43.10 \$80.00 CARDINAL \$178.25 \$45.89 \$155.00 EASTPOINTE \$69.89 \$50.89 \$67.85 PARTNERS \$155.00 \$45.89

vc_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
	D		Rate	Mode	
Intensive In-Home Services	CARDINAL	\$258.20	\$239.66	\$258.20	\$146,321
	EASTPOINTE	\$287.59	\$239.66	\$287.59	\$953,320
	SANDHILLS	\$258.20	\$258.20	\$258.20	\$332,013
	VAYA	\$239.66	\$239.66	\$239.66	\$5,273
	TRILLIUM	\$311.56	\$239.66	\$311.56	\$1,889,427
Interactive Evaluation	ALLIANCE	\$143.47	\$82.50	\$115.04	\$508,092
	CARDINAL	\$191.15	\$134.56	\$166.22	\$633,271
	EASTPOINTE	\$107.72	\$91.56	\$104.58	\$2,08!
	PARTNERS	\$155.00	\$120.37	\$155.00	\$111,482
	SANDHILLS	\$126.78	\$104.62	\$126.78	\$109,70
	VAYA	\$158.30	\$75.00	\$158.30	\$639,18
	TRILLIUM	\$115.04	\$75.00	\$115.04	\$20,70
Interactive Evaluation- Telemedicine	ALLIANCE	\$143.47	\$82.50	\$143.47	\$71,284
	CARDINAL	\$178.25	\$120.56	\$166.22	\$225,77
	PARTNERS	\$155.00	\$120.37	\$143.47	\$27,08
	SANDHILLS	\$126.78	\$107.76	\$126.78	\$135,75
	VAYA	\$158.30	\$70.00	\$158.30	\$298,20
Interactive Evaluation with Complexity	ALLIANCE	\$2.97	\$2.97	\$2.97	\$113
	TRILLIUM	\$2.97	\$2.97	\$2.97	\$3
Long Term Vocation Support Indiv IDD	ALLIANCE	\$67.26	\$11.21	\$11.21	\$246,47
	CARDINAL	\$15.00	\$11.21	\$15.00	\$67,54
	EASTPOINTE	\$11.21	\$11.21	\$11.21	\$14,89
	PARTNERS	\$11.21	\$11.21	\$11.21	\$6,71
	SANDHILLS	\$44.84	\$11.21	\$11.21	\$194,71
	VAYA	\$11.21	\$11.21	\$11.21	\$9,99
	TRILLIUM	\$11.21	\$11.21	\$11.21	\$24,74
Long Term Vocational Support Group	VAYA	\$3.00	\$3.00	\$3.00	\$66
Mental Health - Day Treatment - Child	ALLIANCE	\$31.41	\$31.41	\$31.41	\$4,27
	CARDINAL	\$50.26	\$50.26	\$50.26	\$3,11
	EASTPOINTE	\$37.69	\$31.41	\$37.69	\$98,67
	PARTNERS	\$188.46	\$188.46	\$188.46	\$17,53
	SANDHILLS	\$31.41	\$31.41	\$31.41	\$4,30
	VAYA	\$31.41	\$18.20	\$28.00	\$29,57
	TRILLIUM	\$62.82	\$31.41	\$31.41	\$107,10
Mental Health - Partial Hospitalization			6200.00	\$300.00	\$389,10
	ALLIANCE	\$300.00	\$300.00	\$300.00	7505,10
	ALLIANCE CARDINAL	\$300.00 \$600.00	\$300.00 \$132.32	\$600.00	
Mobile Crisis Management					\$255,60
Mobile Crisis Management	CARDINAL	\$600.00	\$132.32	\$600.00	\$255,60° \$1,405,45
Mobile Crisis Management	CARDINAL PARTNERS	\$600.00 \$192.00	\$132.32 \$192.00	\$600.00 \$192.00	\$255,607 \$1,405,458 \$293,414
Mobile Crisis Management	CARDINAL PARTNERS ALLIANCE	\$600.00 \$192.00 \$90.00	\$132.32 \$192.00 \$33.68	\$600.00 \$192.00 \$90.00	\$255,60 \$1,405,456 \$293,414 \$879,986
Mobile Crisis Management	CARDINAL PARTNERS ALLIANCE CARDINAL	\$600.00 \$192.00 \$90.00 \$80.00	\$132.32 \$192.00 \$33.68 \$34.37	\$600.00 \$192.00 \$90.00 \$80.00	\$255,60 \$1,405,45 \$293,41 \$879,980 \$173,213
Mobile Crisis Management	CARDINAL PARTNERS ALLIANCE CARDINAL EASTPOINTE	\$600.00 \$192.00 \$90.00 \$80.00 \$90.00	\$132.32 \$192.00 \$33.68 \$34.37 \$33.68	\$600.00 \$192.00 \$90.00 \$80.00 \$90.00	\$255,607 \$1,405,458 \$293,414 \$879,980 \$173,213 \$1,061,659
Mobile Crisis Management	CARDINAL PARTNERS ALLIANCE CARDINAL EASTPOINTE PARTNERS	\$600.00 \$192.00 \$90.00 \$80.00 \$90.00 \$58.80	\$132.32 \$192.00 \$33.68 \$34.37 \$33.68 \$33.68	\$600.00 \$192.00 \$90.00 \$80.00 \$90.00 \$58.80	\$255,607 \$1,405,458 \$293,414 \$879,980 \$173,213 \$1,061,659 \$72,147
Mobile Crisis Management	CARDINAL PARTNERS ALLIANCE CARDINAL EASTPOINTE PARTNERS SANDHILLS	\$600.00 \$192.00 \$90.00 \$80.00 \$90.00 \$58.80 \$90.00	\$132.32 \$192.00 \$33.68 \$34.37 \$33.68 \$33.68 \$33.68	\$600.00 \$192.00 \$90.00 \$80.00 \$90.00 \$58.80 \$90.00	\$255,607 \$1,405,458 \$293,414 \$879,980 \$173,213 \$1,061,659 \$72,147 \$1,601,997 \$4,061,702

/c_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
	D		Rate	Mode	
Multi-Systemic Therapy	EASTPOINTE	\$57.97	\$36.57	\$57.97	\$16,97
	SANDHILLS	\$773.00	\$43.88	\$773.00	\$48,55
Non-Hospital Medical Detox	ALLIANCE	\$325.58	\$325.58	\$325.58	\$9,324,53
	CARDINAL	\$374.42	\$325.58	\$325.58	\$1,011,71
	EASTPOINTE	\$480.00	\$325.58	\$480.00	\$1,795,33
	PARTNERS	\$325.58	\$300.47	\$325.58	\$427,36
	VAYA	\$800.00	\$325.58	\$800.00	\$3,467,69
	TRILLIUM	\$325.58	\$325.58	\$325.58	\$153,02
Opioid Treatment	ALLIANCE	\$116.20	\$16.60	\$116.20	\$32,557,5
	CARDINAL	\$131.56	\$16.60	\$22.41	\$9,044,93
	EASTPOINTE	\$254.93	\$14.00	\$254.93	\$20,165,94
	PARTNERS	\$254.93	\$16.49	\$254.93	\$17,586,20
	SANDHILLS	\$254.93	\$18.76	\$254.93	\$5,866,50
	VAYA	\$156.87	\$4.60	\$137.50	\$30,790,20
	TRILLIUM	\$254.93	\$0.01	\$254.93	\$27,582,6
Outpatient DBT (Group)	ALLIANCE	\$62.68	\$62.68	\$62.68	\$430,7
Outpatient DBT (Individual)	ALLIANCE	\$110.96	\$110.96	\$110.96	\$1,143,9
() ()	TRILLIUM	\$142.08	\$142.08	\$142.08	\$9,0
Peer support	CARDINAL	\$13.80	\$8.14	\$12.00	\$300,9
	EASTPOINTE	\$14.00	\$8.14	\$14.00	\$26,1
	PARTNERS	\$14.14	\$10.14	\$14.14	\$47,9
	SANDHILLS	\$8.14	\$8.14	\$8.14	\$26,1
	VAYA	\$12.00	\$8.14	\$12.00	\$121,4
Peer support group B3	CARDINAL	\$2.71	\$2.71	\$2.71	\$3,2
. cc. sapport 8. oap 25	SANDHILLS	\$2.71	\$2.71	\$2.71	\$4,4
	VAYA	\$2.71	\$2.71	\$2.71	\$8,6
Peer Support Hospital Discharge & Diversio		\$12.00	\$10.14	\$12.00	\$17,4
r cer support riospital bischarge & biversio	PARTNERS	\$10.14	\$10.14	\$10.14	\$165,4
	SANDHILLS	\$20.28	\$10.14	\$10.14	\$17,0
	VAYA	\$10.14	\$0.01	\$10.14	\$56,9
Personal Asst - Indiv	ALLIANCE	\$5.87	\$4.46	\$5.50	\$585,6
r crsonar/isse marv	CARDINAL	\$11.89	\$3.43	\$5.00	\$210,7
	EASTPOINTE	\$4.46	\$3.43	\$4.46	\$80,0
	PARTNERS	\$8.92	\$4.00	\$4.68	\$99,8
	SANDHILLS	\$53.52	\$4.46	\$4.46	\$35,8 \$167,5
	VAYA	\$33.32	\$4.46	\$4.46	\$376,3
	TRILLIUM	\$26.76	\$4.45	\$4.40	\$370,3 \$443,6
Psychological Testing	EASTPOINTE	\$72.05		\$72.05	
, , ,			\$72.05		\$1,5
Psychosocial Rehab Services	ALLIANCE	\$20.18	\$2.69	\$3.34	\$59,1
	CARDINAL	\$3.34	\$2.69	\$3.34	\$100,2
	EASTPOINTE	\$3.23	\$2.69	\$3.23	\$44,2
	PARTNERS	\$24.00	\$3.75	\$3.94	\$106,6
	SANDHILLS	\$2.91	\$2.69	\$2.91	\$21,1
	VAYA	\$8.07	\$2.69	\$8.07	\$52,5
	TRILLIUM	\$3.87	\$2.67	\$3.87	\$3,8

vc_Name	LME_MCO_ASBILLE D	Max Rate	Min Mode Rate	Max Rate Mode	Total Billed
Psychotherapy for Crisis (60 min.)	VAYA	\$120.28	\$88.96	\$120.28	\$56,34
Psychotherapy for Crisis (add-on)	VAYA	\$76.06	\$57.05	\$76.06	\$2,41
Public Psychiatry - Administrative Functions		\$25.00	\$25.00	\$25.00	\$55,05
Table 1 Sychiatry Administrative Functions	VAYA	\$25.00	\$25.00	\$25.00	\$24,72
	TRILLIUM	\$37.50	\$25.00	\$25.00	\$137,70
Public Psychiatry - Consultation and Service		\$37.30	\$35.00	\$35.00	\$74,27
rubiic rsycillatiy - Collsuitation and Service	VAYA	\$35.00	\$35.00	\$35.00	\$34,93
	TRILLIUM	\$37.50	\$35.00	\$35.00	\$136,76
Recovery Education Center (REC) - Group	VAYA	\$2.22	\$33.00	\$2.22	\$35,75
Recovery Education Center (REC) - Indiv	VAYA	\$6.00	\$6.00	\$6.00	\$17,47
Recovery support	VAYA	\$100.00	\$0.00	\$100.00	\$5,80
SA Comprehensive Outpatient Treatment P		\$46.28	\$43.35	\$46.28	\$269,36
3A Comprehensive Outpatient Treatment F	CARDINAL	\$90.70	\$44.60	\$90.70	\$389,27
	EASTPOINTE	\$56.05	\$25.50	\$56.05	\$1,615,46
	PARTNERS	\$47.62	\$11.34	\$47.62	\$1,504,02
	SANDHILLS	,	\$11.34 \$45.35	•	
		\$45.35	\$45.35 \$0.01	\$45.35	\$8,02° \$266,76°
	VAYA TRILLIUM	\$46.28	•	\$46.28	
CAllelforentlenee		\$54.42	\$45.35	\$54.42	\$644,264
SA Halfway House	ALLIANCE	\$103.06	\$61.20	\$103.06	\$3,494,63
	CARDINAL	\$86.80	\$74.90	\$86.80	\$2,177,67
	EASTPOINTE	\$74.90	\$74.90	\$74.90	\$240,93
	PARTNERS	\$55.29	\$55.29	\$55.29	\$11,22
	VAYA	\$86.80	\$2.78	\$86.80	\$1,451,09
SA Intensive Outpatient Program	ALLIANCE	\$131.56	\$131.56	\$131.56	\$10,575,81
	CARDINAL	\$198.03	\$118.40	\$198.03	\$9,664,75
	EASTPOINTE	\$162.61	\$131.56	\$162.61	\$4,397,65
	PARTNERS	\$263.12	\$0.01	\$148.52	\$7,586,67
	SANDHILLS	\$138.14	\$130.56	\$131.56	\$4,831,85
	VAYA	\$246.00	\$131.56	\$246.00	\$9,735,19
	TRILLIUM	\$263.12	\$131.56	\$250.00	\$22,791,43
Senior IDD-My Turn	CARDINAL	\$60.00	\$60.00	\$60.00	\$157,74
Subsequent Hospital Care per Day	ALLIANCE	\$61.81	\$34.30	\$61.81	\$35,682
	CARDINAL	\$88.53	\$88.53	\$88.53	\$27,88
	EASTPOINTE	\$91.19	\$54.12	\$91.19	\$70,44
	VAYA	\$88.53	\$54.96	\$80.87	\$9,28
Supervised Living - 1 Resident	ALLIANCE	\$380.00	\$114.84	\$380.00	\$380,79
	CARDINAL	\$305.00	\$116.15	\$305.00	\$1,405,00
	EASTPOINTE	\$139.71	\$139.71	\$139.71	\$47,78
	PARTNERS	\$274.92	\$150.00	\$274.92	\$578,29
	SANDHILLS	\$314.93	\$288.09	\$314.93	\$443,32
Supervised Living - 2 Resident	ALLIANCE	\$186.29	\$145.79	\$186.20	\$2,675,03
	CARDINAL	\$400.00	\$116.15	\$300.00	\$212,42
	PARTNERS	\$473.22	\$161.99	\$473.22	\$1,714,170
	SANDHILLS	\$161.99	\$110.69	\$161.99	\$7,117,17
	VAYA	\$161.99	\$161.99	\$161.99	\$160,850

vc_Name	LME_MCO_ASBILLE D	Max Rate	Min Mode Rate	Max Rate Mode	Total Billed
Supervised Living - 3 Resident	ALLIANCE	\$133.57	\$98.79	\$133.57	\$298,38
Supervised Living - 3 Resident	CARDINAL	\$400.00	\$116.15	\$133.37	\$238,38
	PARTNERS	\$116.15	\$116.15	\$116.15	\$347,869
	SANDHILLS	\$116.15	\$116.15	\$116.15	
		·	·		\$1,945,80
	VAYA	\$116.15	\$116.15	\$116.15	\$247,748
Cupanisad Living A Davidant	TRILLIUM	\$133.50	\$133.50	\$133.50	\$12,282 \$65,076
Supervised Living - 4 Resident	CARDINAL	\$400.00	\$93.17	\$93.17	\$05,076
	PARTNERS	\$279.51	\$93.17	\$279.51	
	SANDHILLS	\$93.17	\$93.17	\$93.17	\$770,446
Consensed Living - F Decident	VAYA	\$93.17	\$93.17	\$93.17	\$32,423
Supervised Living - 5 Resident	CARDINAL	\$77.67 \$68.83	\$77.67	\$77.67	\$10,796
Supervised Living - 6 Resident	VAYA	,	\$68.83	\$68.83	\$40,885
Supervised Living - Low	ALLIANCE	\$36.15	\$17.68	\$33.26	\$4,518,519
	CARDINAL	\$43.00	\$18.46	\$43.00	\$1,408,068
	EASTPOINTE	\$33.26	\$28.92	\$33.26	\$2,014,939
	PARTNERS	\$40.00	\$28.92	\$30.37	\$3,641,370
	SANDHILLS	\$28.92	\$28.92	\$28.92	\$5,316,954
	VAYA	\$65.00	\$23.00	\$65.00	\$2,058,039
	TRILLIUM	\$200.00	\$28.92	\$130.00	\$2,415,489
Supervised Living - Mod.	ALLIANCE	\$207.26	\$55.11	\$207.26	\$3,527,43
	CARDINAL	\$75.48	\$55.11	\$75.48	\$4,210,817
	PARTNERS	\$75.00	\$55.11	\$57.87	\$1,462,019
	VAYA	\$165.33	\$29.00	\$165.33	\$535,009
	TRILLIUM	\$140.00	\$37.36	\$140.00	\$1,747,558
Supported Emp - Group	CARDINAL	\$2.53	\$2.53	\$2.53	\$2,042
	TRILLIUM	\$4.74	\$2.53	\$4.74	\$13,74
Supported Employment Indiv IDD	ALLIANCE	\$11.21	\$11.21	\$11.21	\$6,154
	CARDINAL	\$15.00	\$10.09	\$15.00	\$13,63
	PARTNERS	\$11.21	\$11.21	\$11.21	\$89,821
	SANDHILLS	\$11.21	\$11.21	\$11.21	\$22,958
	VAYA	\$11.21	\$9.81	\$11.21	\$1,831
	TRILLIUM	\$11.21	\$11.21	\$11.21	\$4,809
TBI Long term Residential rehab	TRILLIUM	\$193.54	\$140.00	\$193.54	\$190,329
Telehealth originating site facility fee	ALLIANCE	\$21.25	\$21.25	\$21.25	\$2,763
	CARDINAL	\$25.00	\$21.25	\$25.00	\$1,127,822
	EASTPOINTE	\$21.25	\$21.25	\$21.25	\$59,862
	PARTNERS	\$22.31	\$20.83	\$22.31	\$348,953
	SANDHILLS	\$23.42	\$21.25	\$23.42	\$232,872
	VAYA	\$21.25	\$21.25	\$21.25	\$377,830
	TRILLIUM	\$28.06	\$15.88	\$28.06	\$630,770
Therapeutic, prophylactic, or diagnostic inje		\$143.47	\$16.59	\$143.47	\$90,385
Therapeutic, prophylactic, or diagnostic inje		\$143.47 \$155.00	\$16.59 \$14.48	\$143.47 \$155.00	
Therapeutic, prophylactic, or diagnostic inje	ALLIANCE				\$90,385 \$245,605 \$2,947
Therapeutic, prophylactic, or diagnostic inje	ALLIANCE CARDINAL	\$155.00	\$14.48	\$155.00	\$245,605

vc_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
	D		Rate	Mode	
Therapeutic, prophylactic, or diagnostic inje	VAYA	\$155.00	\$17.04	\$155.00	\$17,422
	TRILLIUM	\$32.80	\$14.19	\$22.49	\$25,995
Transition Management Services	ALLIANCE	\$25.91	\$20.00	\$20.00	\$937,041
	CARDINAL	\$20.71	\$13.92	\$17.26	\$1,217,693
	EASTPOINTE	\$111.36	\$13.92	\$13.92	\$433,643
	PARTNERS	\$20.88	\$13.40	\$17.26	\$620,747
	SANDHILLS	\$18.55	\$13.92	\$18.55	\$331,729
	VAYA	\$21.45	\$17.00	\$21.45	\$437,323
	TRILLIUM	\$26.00	\$13.40	\$26.00	\$1,138,436
Wellness Education Group	TRILLIUM	\$400.00	\$400.00	\$400.00	\$1,762,983
E&M-Expanded-New Patient - Telemedicine		\$75.95	\$63.29	\$75.95	\$9,613
Assertive Engagement - AP & Paraprofession		\$15.00	\$15.00	\$15.00	\$7,643
	PARTNERS	\$100.00	\$100.00	\$100.00	\$662,754
	SANDHILLS	\$72.00	\$6.00	\$6.00	\$93,648
Assertive Engagement - QP (Licensed & Unl	VAYA	\$100.00 \$100.00	\$0.01 \$100.00	\$100.00 \$100.00	\$586,391 \$181,000
Assertive Engagement - QP (Licensed & On	SANDHILLS	\$100.00	\$100.00	\$100.00	\$452,100
	VAYA	\$150.00	\$100.00	\$150.00	\$87,825
Residential Supports	ALLIANCE	\$96.25	\$96.25	\$96.25	\$1,809,500
Nesidential Supports	CARDINAL	\$126.53	\$75.09	\$110.69	\$8,887,030
	PARTNERS	\$120.00	\$96.25	\$110.69	\$376,448
	SANDHILLS	\$110.69	\$110.69	\$110.69	\$44,940
	VAYA	\$96.25	\$96.25	\$96.25	\$619,658
Safety Supervisor - Hourly	CARDINAL	\$15.00	\$1.88	\$15.00	\$135,690
, ,	VAYA	\$15.00	\$15.00	\$15.00	\$6,000
Ambulatory Detox	PARTNERS	\$21.25	\$21.25	\$21.25	\$829
	VAYA	\$21.25	\$21.25	\$21.25	\$1,213
Detox - Soc Set	ALLIANCE	\$118.42	\$118.42	\$118.42	\$737,520
	CARDINAL	\$185.00	\$118.42	\$118.42	\$2,978,751
	PARTNERS	\$118.42	\$118.42	\$118.42	\$91,539
	SANDHILLS	\$118.42	\$118.42	\$118.42	\$3,908
Respite Hourly - Indiv	ALLIANCE	\$5.00	\$5.00	\$5.00	\$13,363
	CARDINAL	\$5.00	\$2.00	\$5.00	\$1,789
	EASTPOINTE	\$5.00	\$5.00	\$5.00	\$300
	PARTNERS	\$5.00	\$5.00	\$5.00	\$2,040
	SANDHILLS	\$5.00	\$5.00	\$5.00	\$9,673
	VAYA	\$7.50	\$3.75	\$5.00	\$28,412
	TRILLIUM	\$188.00	\$5.00	\$188.00	\$3,339,050
Community Respite	ALLIANCE	\$160.79	\$160.79	\$160.79	\$34,891
Respite Hourly - Group	TRILLIUM	\$167.00	\$1.67	\$130.00	\$3,415,115
Peer Support Hospital Discharge & Diversio		\$3.38	\$3.38	\$3.38	\$41
Home Supports L5	ALLIANCE	\$525.00	\$0.01	\$525.00	\$5,652,132
	CARDINAL	\$400.00	\$400.00	\$400.00	\$96,400
	SANDHILLS	\$750.00	\$432.38	\$432.38	\$2,137,140
Jail Support	VAYA	\$22.04	\$22.04	\$22.04	\$86,567

Svc_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
	D		Rate	Mode	
Psychological testing evaluation services (e	EASTPOINTE	\$76.11	\$76.11	\$76.11	\$1,827
Psychological testing evaluation services- fi	EASTPOINTE	\$99.96	\$99.96	\$99.96	\$3,399
Facility Based Crisis Service-Child	CARDINAL	\$40.00	\$40.00	\$40.00	\$717
	VAYA	\$32.00	\$32.00	\$32.00	\$19,872
Critical Time Intervention Pilot	PARTNERS	\$20.64	\$20.64	\$20.64	\$1,837
Peer Support (B3) Group	CARDINAL	\$2.71	\$2.71	\$2.71	\$1,200
	PARTNERS	\$3.55	\$3.38	\$3.55	\$4,470
	SANDHILLS	\$2.71	\$2.71	\$2.71	\$1,076
	VAYA	\$2.88	\$2.71	\$2.88	\$24,069
D 6	TRILLIUM	\$13.26	\$3.40	\$13.26	\$2,028
Peer Support (B3) Individual	ALLIANCE	\$14.00	\$12.00	\$13.26	\$76,002
	CARDINAL	\$22.23	\$12.00	\$22.23	\$303,769
	EASTPOINTE	\$420.00	\$8.14	\$17.00	\$864,610
	PARTNERS	\$16.86	\$0.01	\$16.86	\$304,125
	SANDHILLS VAYA	\$12.00	\$8.14 \$0.01	\$12.00 \$150.00	\$99,176
	TRILLIUM	\$150.00 \$21.45	\$0.01	\$130.00	\$444,809 \$89,579
Assertive Community Treatment Program -	ALLIANCE	\$391.23	\$324.00	\$391.23	\$23,612
Assertive community freatment Program -	CARDINAL	\$323.98	\$324.00	\$323.98	\$37,582
	EASTPOINTE	\$375.00	\$0.01	\$375.00	\$62,626
	VAYA	\$304.18	\$304.18	\$373.00	\$101,292
Telephone assessment and management se		\$25.46	\$18.00	\$25.46	\$23,742
Toophions assessment and management of	CARDINAL	\$39.18	\$25.46	\$39.18	\$37,878
	EASTPOINTE	\$48.98	\$24.80	\$48.98	\$14,929
	PARTNERS	\$33.95	\$24.60	\$33.95	\$27,466
	SANDHILLS	\$25.46	\$25.46	\$25.46	\$12,628
	VAYA	\$33.95	\$25.46	\$25.46	\$12,348
	TRILLIUM	\$55.00	\$25.46	\$52.24	\$199,843
COVID-19 -Psychosocial Rehabilitation Serv	ALLIANCE	\$11.78	\$5.89	\$11.78	\$86,172
Telephone evaluation and management ser	ALLIANCE	\$23.16	\$23.16	\$23.16	\$8,523
	CARDINAL	\$38.53	\$28.48	\$33.50	\$39,861
	EASTPOINTE	\$57.62	\$23.16	\$48.98	\$35,383
	PARTNERS	\$43.41	\$26.93	\$43.41	\$26,143
	SANDHILLS	\$48.18	\$23.16	\$48.18	\$23,476
	VAYA	\$23.16	\$23.16	\$23.16	\$11,710
	TRILLIUM	\$40.20	\$23.16	\$34.18	\$43,951
SA Intensive Outpatient Program - Telemed	ALLIANCE	\$131.56	\$131.56	\$131.56	\$2,298,585
	CARDINAL	\$148.52	\$131.56	\$148.52	\$2,403,004
	EASTPOINTE	\$162.61	\$148.52	\$162.61	\$531,430
	PARTNERS	\$155.95	\$131.56	\$155.95 ·	\$1,197,378
	SANDHILLS	\$131.56	\$131.56	\$131.56	\$361,395
	VAYA	\$246.00	\$74.26	\$246.00	\$2,822,190
	TRILLIUM	\$157.87	\$131.56	\$157.87	\$5,021,002
Telephone evaluation and management ser		\$16.82	\$14.30	\$16.82	\$18,822
	PARTNERS	\$13.83	\$13.83	\$13.83	\$2,517

vc_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
	D		Rate	Mode	
Telephone evaluation and management ser	SANDHILLS	\$11.89	\$11.89	\$11.89	\$2,675
	VAYA	\$11.89	\$11.89	\$11.89	\$143
	TRILLIUM	\$17.16	\$17.16	\$17.16	\$506
Group Therapy (non-multiple family group)		\$143.47	\$19.01	\$143.47	\$266,371
	CARDINAL	\$155.00	\$36.00	\$155.00	\$3,980,025
	EASTPOINTE	\$36.00	\$19.18	\$36.00	\$44,976
	PARTNERS	\$80.01	\$36.00	\$80.01	\$1,135,677
	SANDHILLS	\$23.26	\$23.26	\$23.26	\$406,985
	VAYA	\$155.00	\$24.43	\$155.00	\$2,516,236
	TRILLIUM	\$40.10	\$19.18	\$40.10	\$221,496
Telephone evaluation and management ser		\$33.95	\$33.95	\$33.95	\$64,573
	CARDINAL	\$86.25	\$63.75	\$75.00	\$76,488
	EASTPOINTE	\$86.82	\$33.95	\$73.80	\$7,954
	PARTNERS	\$39.48	\$39.48	\$39.48	\$22,057
	SANDHILLS	\$83.81	\$33.95	\$71.24	\$55,714
	VAYA	\$65.41	\$33.95	\$65.41	\$41,067
	TRILLIUM	\$90.00	\$63.75	\$76.50	\$146,022
Telephone assessment and management se		\$8.92	\$8.92	\$8.92	\$14,147
	CARDINAL	\$15.02	\$8.92	\$13.06	\$21,419
	EASTPOINTE	\$14.73	\$8.92	\$14.73	\$6,820
	PARTNERS	\$11.89	\$11.89	\$11.89	\$1,486
	SANDHILLS	\$8.92	\$8.92	\$8.92	\$9,188
	VAYA	\$11.89	\$8.92	\$8.92	\$7,113
COVID 10 Casa Support	TRILLIUM	\$17.41 \$15.00	\$13.06 \$15.00	\$15.67 \$15.00	\$18,489
COVID-19 Case Support	ALLIANCE CARDINAL	\$13.00	\$15.00	\$15.00	\$21,22! \$2,448,42
	VAYA	\$19.66	\$15.00	\$19.66	\$2,446,424
Community Support Team – Peer	ALLIANCE	\$29.80	\$15.00	\$29.80	\$230,013
Community Support Team – Feel	CARDINAL	\$25.80	\$25.91	\$25.80	\$15,84
	EASTPOINTE	\$31.09	\$25.91	\$31.09	\$107,409
	PARTNERS	\$25.91	\$23.31	\$25.91	\$28,433
	SANDHILLS	\$25.91	\$25.91	\$25.91	\$7,77
	VAYA	\$25.91	\$25.91	\$25.91	\$13,629
	TRILLIUM	\$44.00	\$25.91	\$44.00	\$24,942
Intensive In-Home Services - Telemedicine	ALLIANCE	\$239.66	\$239.66	\$239.66	\$71,179
	CARDINAL	\$248.93	\$248.93	\$248.93	\$5,476
	EASTPOINTE	\$287.59	\$287.59	\$287.59	\$94,330
	PARTNERS	\$239.66	\$239.66	\$239.66	\$2,876
	SANDHILLS	\$258.20	\$258.20	\$258.20	\$2,840
	TRILLIUM	\$287.59	\$239.66	\$287.59	\$836,447
Telephone assessment and management se		\$17.37	\$17.37	\$17.37	\$25,048
	CARDINAL	\$26.12	\$17.37	\$26.12	\$34,995
	EASTPOINTE	\$29.33	\$17.37	\$28.39	\$19,981
	PARTNERS	\$26.12	\$22.16	\$22.16	\$1,098

vc_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
	D		Rate	Mode	
Telephone assessment and management se	VAYA	\$23.16	\$17.37	\$17.37	\$16,613
	TRILLIUM	\$41.78	\$26.12	\$31.34	\$74,574
Community Support Team – Para	EASTPOINTE	\$31.09	\$25.91	\$31.09	\$117,173
	PARTNERS	\$23.31	\$23.31	\$23.31	\$3,357
	VAYA	\$25.91	\$25.91	\$25.91	\$2,384
	TRILLIUM	\$31.09	\$25.91	\$31.09	\$17,362
Office Contult 60-Telemedicine	CARDINAL	\$152.99	\$152.99	\$152.99	\$1,966
	TRILLIUM	\$168.29	\$168.29	\$168.29	\$27,768
SA Comprehensive Outpatient Treatment P		\$45.35	\$45.35	\$45.35	\$6,803
	CARDINAL	\$90.70	\$45.35	\$90.70	\$211,481
	EASTPOINTE	\$56.05	\$45.35	\$56.05	\$163,668
	PARTNERS	\$45.35	\$45.35	\$45.35	\$17,550
	VAYA	\$45.36	\$45.35	\$45.35	\$10,884
	TRILLIUM	\$54.42	\$45.35	\$54.42	\$85,173
Mental Health - Partial Hospitalization - Tel		\$192.00	\$192.00	\$192.00	\$413,112
Office Based Opioid Treatment	PARTNERS	\$1,000.00	\$480.00	\$880.00	\$3,724,660
Diagnostic Assessment - Telemedicine	PARTNERS	\$231.30	\$231.30	\$231.30	\$49,036
	TRILLIUM	\$231.30	\$231.30	\$231.30	\$251,192
Peer Support (B3) Individual - Telemedicine		\$13.26	\$13.26	\$13.26	\$16,830
	EASTPOINTE	\$16.80	\$2.71	\$16.80	\$24,872
	SANDHILLS	\$12.00	\$12.00	\$12.00	\$3,288
	VAYA	\$13.26	\$12.00	\$13.26	\$13,369
	TRILLIUM	\$12.15	\$12.15	\$12.15	\$122
Long Term Voc Sup Ind	ALLIANCE	\$3,200.00	\$24.63	\$375.00	\$510,103
	PARTNERS	\$985.00	\$740.00	\$740.00	\$8,895
	VAYA	\$3,200.00	\$493.00	\$1,600.00	\$241,013
	TRILLIUM	\$3,791.00	\$500.00	\$2,000.00	\$151,061
Family Therapy with patient - Telemedicine	PARTNERS	\$67.28	\$67.28	\$67.28	\$77,170
Multi-Systemic Therapy - Telemedicine	ALLIANCE	\$36.57	\$36.57	\$36.57	\$4,791
	SANDHILLS	\$43.88	\$43.88	\$43.88	\$3,203
Mobile Crisis Management - Telemedicine	ALLIANCE	\$80.00	\$80.00	\$80.00	\$18,640
	CARDINAL	\$80.00	\$34.37	\$80.00	\$100,218
	TRILLIUM	\$104.65	\$104.65	\$104.65	\$2,826
Community Support Team – Telemedicine	TRILLIUM	\$25.91	\$25.91	\$25.91	\$1,010
Behavioral health day treatment, per hour	-TRILLIUM	\$31.41	\$31.41	\$31.41	\$1,633
Individual Therapy (20-30 min.)MD - Tele	ALLIANCE	\$34.91	\$25.04	\$29.67	\$13,133
	CARDINAL	\$34.91	\$29.67	\$34.91	\$46,508
	EASTPOINTE	\$35.96	\$30.56	\$30.56	\$7,192
	PARTNERS	\$33.86	\$29.67	\$29.67	\$6,031
	SANDHILLS	\$42.32	\$30.35	\$35.97	\$22,796
-0-1 10 1 10	VAYA	\$43.98	\$42.51	\$43.98	\$901,192
R&B Level 2 Age12					
R&B Level 2 Age12 R&B Level 3 4bed	VAYA	\$60.30	\$60.00	\$60.30	\$922,965
	VAYA	\$60.30 \$37.69	\$60.00 \$37.69	\$60.30 \$37.69	\$922,965 \$2,789
R&B Level 3 4bed	VAYA				

Svc_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
	D		Rate	Mode	
Peer Support (B3) Group - Telemedicine	VAYA	\$4.53	\$2.88	\$4.53	\$539
Psychosocial Rehab Services - Telemedicine		\$3.09	\$3.09	\$3.09	\$278
	CARDINAL	\$3.34	\$2.69	\$3.34	\$672
	PARTNERS	\$3.94	\$3.75	\$3.94	\$1,596
R&B Level 2 Age13+	VAYA	\$48.99	\$47.36	\$48.99	\$946,639
Case Support	ALLIANCE	\$15.00	\$15.00	\$15.00	\$5,115
Interactive Evaluation with Complexity - Te		\$3.96	\$3.37	\$3.37	\$34
	SANDHILLS	\$4.09	\$3.43	\$3.43	\$173
Supported Employment – Individual MH/SU		\$24.68	\$19.02	\$24.68	\$546,530
	CARDINAL	\$41.35	\$19.02	\$41.35	\$800,836
	EASTPOINTE	\$24.66	\$19.02 \$14.22	\$24.66	\$693,830
	PARTNERS	\$32.00	·	\$25.92	\$224,909
	SANDHILLS VAYA	\$26.40	\$16.08	\$26.40	\$586,373
	TRILLIUM	\$29.21 \$31.09	\$14.22 \$14.22	\$29.21 \$31.09	\$157,968 \$493,991
Room and Board - Level II (Age 5 or less)	VAYA	\$39.00	\$37.70	\$39.00	\$163,410
Day Supports - Group	ALLIANCE	\$15.28	\$5.96	\$15.28	\$2,228
buy supports Group	EASTPOINTE	\$2.74	\$2.74	\$2.74	\$82
	PARTNERS	\$5.47	\$2.74	\$5.47	\$26,228
	SANDHILLS	\$3.75	\$2.74	\$3.75	\$18,382
	VAYA	\$4.14	\$4.14	\$4.14	\$6,881
	TRILLIUM	\$5.35	\$2.74	\$5.35	\$61,997
SA Medically Monitored Community Reside		\$241.81	\$241.81	\$241.81	\$30,468
Room and Board - Level III (5+ Beds)	VAYA	\$60.30	\$60.30	\$60.30	\$449,267
Community Living and Support – Individ	ALLIANCE	\$6.75	\$5.00	\$6.38	\$60,761
	EASTPOINTE	\$8.23	\$6.40	\$8.23	\$40,873
	PARTNERS	\$24.69	\$6.17	\$24.69	\$30,833
	SANDHILLS	\$8.23	\$8.23	\$8.23	\$10,477
	VAYA	\$8.00	\$4.46	\$8.00	\$11,879
	TRILLIUM	\$8.23	\$5.56	\$8.23	\$362,600
Residential Supports - Level 1	ALLIANCE	\$193.54	\$94.74	\$193.54	\$559,455
	EASTPOINTE	\$193.54	\$193.53	\$193.54	\$370,296
	PARTNERS	\$193.54	\$193.54	\$193.54	\$422,498
	SANDHILLS	\$193.54	\$116.15	\$193.54	\$94,416
	VAYA	\$151.77	\$151.77	\$151.77	\$188,498
	TRILLIUM	\$313.00	\$193.54	\$193.54	\$1,866,373
Residential Supports - Level 2	ALLIANCE	\$135.86	\$135.86	\$135.86	\$233,272
	EASTPOINTE	\$220.08	\$220.08	\$220.08	\$1,506,668
	PARTNERS	\$220.08	\$176.04	\$220.08	\$670,641
	SANDHILLS	\$220.08	\$75.48	\$220.08	\$675,376
	VAYA	\$176.04	\$176.04	\$176.04	\$2,781,081
Recovery Peer Support	ALLIANCE	\$16.86	\$16.86	\$16.86	\$2,512
Residential Supports - Level 3	ALLIANCE	\$246.16	\$246.16	\$246.16	\$161,481
	EASTPOINTE	\$246.16	\$246.16	\$246.16	\$249,436
	PARTNERS	\$663.74	\$141.51	\$663.74	\$6,920,930

Summary Statistics for Rates MASTER FY24 Qrt1 and Qtr2 v.2024-05-31

Svc_Name	LME_MCO_ASBILLE	Max Rate	Min Mode	Max Rate	Total Billed
	D		Rate	Mode	
Residential Supports - Level 3	SANDHILLS	\$282.73	\$141.51	\$282.73	\$229,063
	VAYA	\$265.00	\$200.58	\$265.00	\$583,449
Supported Living Periodic Indiv. (IDD & TBI)	ALLIANCE	\$8.01	\$8.01	\$8.01	\$3,516
	PARTNERS	\$8.01	\$8.01	\$8.01	\$8,583
Community Living and Support – Group	EASTPOINTE	\$2.74	\$2.71	\$2.74	\$285
	VAYA	\$4.25	\$4.25	\$4.25	\$1,517
Enhanced Bi Residential Support	ALLIANCE	\$345.00	\$345.00	\$345.00	\$82,110
TBI Long term Residential Recovery (Level 2	VAYA	\$313.85	\$313.85	\$313.85	\$110,789

iana	Teal in a 1994 of House
ANTON OF AM	
ALMOHAN COLATY GROUP HOMES INC. VANS. ANN COLATY ADAP. VANS.	
BEAUTORY COUNTY DRIVELOPMENTAL CENT TRILLIAM CRUDWELL OPPORTUNITIES INC VANA	1
CHATHAM TRACES INC CARDINAL SANDHLIS	1
COMPALINTERPRING OF WIGHINGTON TRULING	14 14 15 18 18 18 18 18 18 18 18 18 18 18 18 18
CWGUNT	58
DURANTED OFF SHILVINGS EASTFORMS THESE MANUAL PROPERTY OF SHILVINGS DURANTED WAS CARREST OF SHILVINGS	
POSTNILLS INDUSTRIES OF MCDOWELL CO. PRATNERS.	
GASTON SIGLES INC PARTNERS GOODWILL INDUSTRIES OF NAME PARTNERS	18
HANNOODVOCATIONAL OPPORTUNITIES IN VANS. HOWELL SUPPORTURENCES LLC. BASIFORNIE	AT ST. ST. ST. ST. ST. ST. ST. ST. ST. ST
INDUSTRIAL OPPORTUNITIES INC WASA JOHNSTON COUNTY INDUSTRIES INC ALLIANCE	M2
MARTIN COUNTY RESIDENTIAL SERVICES EXCEPTIONTS	10
MICAURI VOCATIONIA TRANSING CONTRE SANCHELS	DA DA DA DA DA DA DA DA
ERSTPONTS PARTNESS	M
VANA TREESUM	IN I
DESTRUCTION OF THE PROPERTY OF	10 0 10 0 10 0 10 0 10 0 10 0 10 0 10
CARDNIL	1.7 2.8 2.8 2.8 2.8 2.8 2.8 2.8 2
POLICY VOCATIONAL SERVICES VANA VANA	
RANDOLPH LORENZUCES INC CARDINAL VANA VANA VANA VANA VANA VANA VANA V	10 to
RNA HEALTH SERVICES INC PARTNERS MANDRESS	
EXEMPONTS PARTNESS	
RUTHERFORD LIFE SERVICES INC. PARTNERS	
SOUR-POWERFUNCE COMMUNITY OUTS ALLANCE	IN SM THE BRE THE THE THE THE THE THE THE THE THE TH
THE MERCHAN PROPERTY OF CANDINAL RANGES	15 15 15 15 15 15 15 15 15 15
TRANSCUANIA VOCATIONAL MEXICES IN VANS	1
THE-COUNTY INDUSTRIES EAST-POINTS THEMINA TURNING POINT SERVICES PARTNERS	18
LINGON DIVERSIPIED INDUSTRIES INC. ALLIANCE CARDINAL	10
VOCATIONAL OPPIOP CHEROKEL VANS	the
WARE INTERPRESSING ALLIANCE LISTED CO.	1
MANNE OPPORTUNITY CONTRINCE SASTRONITS MILKES VOCATIONAL MINUCES INC VANA MANASSIRVICES INC CAMBRAL	18 10 10 10 10 10 10 10 10 10 10 10 10 10
VICTOR & ASSOCIATES INC. SANDHESS ROAMONS DEVELOPMENTAL CENTER INC. TRUSHM	AV RV
CARDINAL	No. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
SANCHELS VANS Community Workforce Solutions Inc. ALLIANCE	1 2 2 3 3 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5
CARDINAL EXITPOINTS	10 10 10 10 10 10 10 10 10 10 10 10 10 1
CONTRA RESIDENTIAL SERVICES INC. THESAM	57 St 58 St
DIAGRAT CAME INC. MANDRELLS BURNIST CAPPORTANTISS INC. VANA.	1
CLAMBRIAND RESONTSLANDSMPLOVM ASSAULT MACON CITIZENS FOR THE HANDICEPPED VANA.	
ANDUMO HEALTH LIC PARTHERS ENSTERSEALS USP NORTH CAROLINA &V CARONIAL	1
BRANDWICK COMMUNITY COLLEGE TRULIAN BRANDWICK CAMOUNA VOCATIONAL CENTER TRULIAN	15 25 15 15 15 15 15 15 15 15 15 15 15 15 15
PARTNERS MINOCONAL PROCESSING CARDINAL LINGUIST PRINTED MINICES INC. CARDINAL	
W ASSE ADDICTION RECOVERY CARE ASSOCIATION SANDHELLS OCTOBER ROAD INC. VANA.	No No No No No No No No
PROTEST SERVICIONAL HEALTH-MARKING PROTESTS PROSENCE COUNCIL ON ALCOHOLISM CHEM PROTESTS BURSE COUNCIL ON ALCOHOLISM CHEM PROTESTS	
ALCOHOL MADDRIAL MENCES OF GAMPO MADDRIAL ACCHOL MADDRIAL MENCES OF GAMPO MADDRIAL ANDREAS SERVICES OF CAMPO MADDRIAL ANDREAS SERVICES	18 18 18 18 18 18 18 18 18 18 18 18 18 1
DAYMAK RECOVER SERVICES INC. CARDINAL	58 to 18 to
PARTMENT OF THE PARTMENT OF T	ing his his his
PRODUCT COLUMNICATION PARTNERS FRANCISCO DE VANS TRACO DE PRODUCT TRACO DE PRODUC	## 15 15 15 15 15 15 15 15
CORREL HORIZONS CIRTERING TRAULIAN BURKE COUNCE ON ALCOHOLISM OHIM PARTNERS	18 18 18 18 18 18 18 18 18 18 18 18 18 1
ADDICTION RECOVERY MEDICAL SERVICE PARTNERS	58 58 58 58 58 58 58 58 58 58 58 58 58 5
ALCOHOLAND DRUG SERVICES OF GLUED SAMDHUS THE CARDURA DUTREACH LIC ALLANDS	\$1. \$1. \$1. \$1. \$1. \$1. \$1. \$1. \$1. \$1.
CARDINAL	No. 10.4 10.4 10.4 10.4 10.4 10.4 10.4 10.
CONTINUE SOUTHERSTRAN UNITED CARE BRETPOINTS	## 15 10 10 10 10 10 10 10 10 10 10 10 10 10
PARTNERS TRUMM DAYMAK RECOVERY SERVICES INC. CARDINAL	1
PARTMES SANDHLIS	5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
ENDER SHARLAND MICE VA. PARTNERS. ENVIRONS OF UPS LEC. SAMDHELS.	
PRESENTATION SERVICES OF NC. VANS. PELICHMAN PRACTIC RESCURCES INC. ALLANCE LUTHERAN PARKLY SERVICES IN THE CAR. ALLANCE	18 18 18 18 18 18 18 18
MERCHAN BENEVIOUS HANTH SERVICES VANS	
CARDINAL PARTNERS	1878 1878 1878 1878 1878 1878 1878 1878
NEW DANSINGS GROUP LLC BASTPOINTS	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
PARTNERS BEHAVIORAL HEALTH MAKES PARTNERS ENCOUNT AND ADDRESS OF THE PARTNERS AND ADD	183 183
RIA HALTH SERVICES INC PARTNERS VANA	10. 10. 10. 10. 10. 10. 10. 10. 10. 10.
SOUTHWEST HEALTHCARE ALLANCE TRESCARE MENTAL HEALTH SERVICES OF ALLANCE	50. 50. 50. 50. 50. 50. 50. 50. 50. 50.
THE MENTAL HEALTH FLANDING PARTNERS UNIVERSITY OF NORTH CAROLINA AT CHA. ALLIANCE CAROLINA CHARGE CAROLINA CHARGE CAROLINA CHARGE CHARG	1
NAME REPROVIDENT HENTEN DIC ITC CONDUST.	
PERSON CENTERED PRETITIONS INC. CARDINAL MICONERY INNOVATIONS INC. TRELLIAM	88 89 89 89 89 89 89 89 89 89 89 89 89 8
MANYSMEND PARKET GUNC PA. SAMPON'S A CANNOLATIONATIVE LLC PARTNERS PQL MELTICARE INC CARDINAT	1
PRICHOTHERAPIUTC SERVICES INC. CARDINAL	8 8 10 10 10 10 10 10 10 10 10 10 10 10 10
SOUTHERSTERN INTEGRATED CARE TREEDOM LIGACY HUMAN SERVICES INC. CARDINAL	
STRATEGIC INTERNETIONS LLC ALLANCE CARRIERS	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
VANA TRUSAM	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1
CARDINAL PARTIES	500 100 100 100 100 100 100 100 100 100
TRICOR LOVING CARE HOMES INC. VANA.	
	THE TABLE TONE TONE TONE TONE TONE TONE TONE TON
BINGAMA HOUSE CASE MANAGEMENT TRICLIAN	DES

Designation of the Control of the Co	
DAMMAK RECOVERS SERVICES INC. CARDINAL PARTIES.	ME DE
PERCHANNE HEALTH RESCURCES INC. ALLANCE MINECOLN REHALD REALTH SERVICES. VANS.	No.
MONANCH ALLANCE TRUMM	THE DIST INC DIST THE DIST DIST DIST DIST DIST DIST DIST DIST
PARTNER MINISTERN PROCESSOR PARTNERS	ts at
PRINCAN ALIANCE FOR MENTAL HEALT TRILLIAM FOR HALTY SERVICES INC. THE SERVICES INC. THE SERVICES INC. THE SERVICES INC.	
SOUTHURST HEALTHCARE AUGANCE THE ANC OF NORTH CARCURA INC TREMEM	
THE MINITAL HEALTH FLAND INC. PARTNERS. THE COUNTY INDUSTRIES. THE LIMITAL INC.	10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0
PREEDOM HOUSE RECOVERY CENTER INC. AUGUNUS CARDINAL	10.5 10.5 10.5 10.5 10.5 10.5 10.5 10.5 10.5
PERSONAL SETTINGS FOR ASSAULT SETINGS FOR ASSAULT SETTINGS FOR ASSAULT FOR ASSAUL	ting ting ting ting ting ting ting ting
A CARRO ALTROATIVE LLC PARTNERS	150 150 150 150 150 150 150 150 150 150
TURNING POINT PARKET CARE LLC ALLANCE	No. (No. (No. (No. (No. (No. (No. (No. (
ENSTRUCEALS UCP NORTH CAROLINA &V BRITPONTS	
BASTERST CARDUNA VOCATIONAL CENTRE TRUMBM DAMMAK RECOVER SERVICES INC. CARDINAL	11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
PRESCRIPTION TREATMENT MEDICON CARDINAL PRESCRIPTION CONTRACTOR CARDINAL	51. 51. 51. 51. 51. 51. 51. 51. 51. 51.
POST HEALTH SERVICES TREATMENT POST HEALTH SERVICES TREATMENT POST HEALTH SERVICES POST HEALT	
OCTORER MODEL SEC. VANA.	
PRO MACHINE CONTROL VANA	
CRUSHOUS TREATMENT CENTERS VANA CONSTANT HORIZONS CENTER INC. TREATMENT	than than pase take than than take take than than take take than than take take than take take than take than take take take than take take take take take take take take
PORT HEALTH SERVICES BASEPOINTS TRIBUSEM	150 150
ADDICTION RECOVERY MEDICAL SERVICE PARTNERS VANS	
CROSSOCIO DE STATE DE SE CONTRA DE SE	
ACCHOLANDONIA WANCESOF GUIDO MARCHUS WASSAGA OPPORTANTINIAY	15 10 10 10 10 10 10 10 10 10 10 10 10 10
M JOHANSON COUNTY INDUSTRIES INC SAMPHELS M AREPING HAND OF WEMPATION LIC TRELIEM	12 127 127 127 127 127 127 127 127 127 1
AND ADMINISTRATION AND RECORD AND ADMINISTRATION ADMINIS	
DAMMAK RECOVERS SERVICES INC ALLIANCE	IGAN (AND STATE ST
PARTMERS SANDHELS	MAR NA
DRIAMPROVIDER CARE MEXICIS TRUM	MICE, 1879, 1889,
PAMES PRESERVATION SERVICES OF NC PARTNERS VANS	161 Mar. 162
PELICHMAP MEALTH RESCURCES INC. ALLIANCE PROGNOSES COMMUNITY CENTER LEC. ALLIANCE	
INTEGRATED HAMEY SERVICES PLACE MERCHAN SERVICES LARGE TREATMENT COS. VANS.	15. 15. 15. 15. 15. 15. 15. 15. 15. 15.
MINICIAN REMOVEMENT HEIGHT CARRINGS MINICIANCE CARRINGS ENTPORTS PATTERS SAMMELS TRESSAM	
PARTMEN PARTMEN	
PRETARELED AND ALVEST PARTIES	
PHORNIX COUNTRIES PARTNERS NA HEACTH SERVICES INC. VANA	
SOUTHWEST HEALTHCARE ALLANCE	MR. NA. MR.
STEPHENS COPRESON CENTER INC. BARPOINTS SURPACH LIC. PARTNERS	
MACHINE MERTHAL DE CARDADE	\$11.00 \$11.00 \$11.00 \$11.00 \$11.00 \$11.00 \$11.00 \$11.00 \$11.00 \$11.00 \$11.00 \$11.00 \$11.00 \$11.00 \$11.00 \$11.00
THE COMMON PARTY C	
TRI COUNTY COMMANTY HEALTH COUNCY, BASTPONTS COMMAN HORIZONS CENTER INC. TRIBLEM	THE
NOR ACQUISITION LLC WASA	100.0 100.0
Greater Image Healthcare Corp ALLANCE FORT HEALTH SERVICES EAST-FORTE	104 (104 (105) (104) (104) (104) (105) (10
THE MOSES H COME MEMORIAL HOSPITAL MANDRILLS	TARE NAME AND ADDRESS OF THE STATE NAME AND ADDRESS OF THE STATE ADDRESS OF THE STATE ADDRESS OF THE STATE AND ADDRESS OF THE STATE ADDRESS OF THE STAT
MOJEOU CHATRE FOR WILLIAMS CARDING	
COUNTY OF JOHNSTON NORTH CAROLINA ALLANCE	15 15 15 15 15 15 15 15
A MELPING HAND OF WEARMSTON LEC. THE LEAST ASSESSMENT A	
BANKT COMMUNITY HINLTHCAME ALLANCE	16.5 16.5
CARGURA OUTRIACH LLC ALLANCE	
EMPONE CAPTURE CONTRACTOR OF THE CAPTURE	
CONSTRUCTOR NUCLES EXERPOINTS CONSTRUCTOR SECURIOR SECURIORIS	NA NA NA NA NA NA NA NA
COMMUNICATIONS OF STREET PARTIES	NA N
CHARGEMAN AND AND AND AND AND AND AND AND AND A	124 124
PARTIERS	
DRIAMPROVIDER CARE MEXICOS TRUMA	100 100
EDWARDS ASSESSMENTS AND COUNSELING CARDINAL BLESTING ASSESSMENTS AND COUNSELING CARDINAL	NS PS NS
PARKLY FROM SUPPORT CONTRACTOR SEASONS	1/10 1/10
PARKYPPENERVETION SERVICES OF NC PARKETS VANS	JERN LINEL L
PERSONAL COMMANDY CENTER LLC ALLIANCE HOPEMANUCE LLC ACCUSED TO THE PERSON OF T	NO. 10. NO. 10
INSERVINOS INC CARDINAL INSERVINOS INC CARDINAL	NS N
INTEGRATED REMOVEMAN PEACTHCARE SE ALLANCE	M
INTEGRATED PRIMER MENUCES PLAC TREATMENT LE CHIES COURSELING SERVICES INC. TREATMENT	A RAIL RAIL RAIL RAIL RAIL RAIL RAIL RAI
MEDIA BHANDALHEATHERDES VAVA	
CARDINAL	THE
PARTNERS SANDHUS	
NORTH CANDUNA RECOVERY SUPPORT SER ALLANCE	4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
OCTORER MOND INC. VANA.	1
PARTIES BOARDON CRATEC	
PHOTOLOGICAL MACHINERAL PARTIES PHOTOLOGICAL MACHINERAL PROTECTION PHOTOLOGICAL MACHINERAL PROTECTION PROMET REPAYCHES MACHINERAL PROTECTION PROTECTIO	10 10 10 10 10 10 10 10 10 10 10 10 10 1
PARTIERS BROWNSOLS FRANCISCO PARTIERS PROTECTION COMMUNICATION PARTIERS PROTECTION ALLANCE FOR SHEETS HARD PRINTER BROWNSOLS SHEETS OF BARFOONTS ROW HALT'S SERVICES INC. CAMDINAL BRITTONY	15 15 15 15 15 15 15 15
PARTNERS BENOVEDUL SEAT THE MODELS PARTNERS PERSONNE CORRESPONDE CREATERS PROSENCE CORRESPONDE CREATERS PROMOTE BENOVEDUL SERVICES BENOVED BEN	
PROTESTED STANDARD CONTEST AND	THE
PARTICISES ESSENDATIONS AND PARTICISES AND PARTICIS	12. 12. 13. 14. 15. 15. 15. 15. 15. 15. 15. 15. 15. 15
PARTICINA DISCUSSIONI ANNA PROPERTY AND ANNA PARTICINA DISCUSSIONI ANNA PARTICINA PARTICINA DISCUSSIONI ANNA PARTICINA	
AND THE AND TH	
### AND PROPERTY A	12. 12. 12. 12. 12. 12. 12. 12. 12. 12.
Temporal Content of	
THE STATE OF THE S	
200 200	
THE STATE OF THE S	
THE STATE OF THE S	
THE STATE OF THE S	
\$200,000 (1990)	
100 (100 (100 (100 (100 (100 (100 (100	
100 (100 (100 (100 (100 (100 (100 (100	
100 (100 (100 (100 (100 (100 (100 (100	
100 (100 (100 (100 (100 (100 (100 (100	
100 100	
100 100	
100 100	
100 (100 (100 (100 (100 (100 (100 (100	

THE MODES IN CORE MEMORINA HOSPITAL SOUTHERSTEIN INTEGRATED CARE INCREMINATION INTEGRATED CARE I	PARTNERS	3,7004 M3 M4 M3
JACKSON/JULI TREATMENT CENTER	L SANDHELS	
	TESUSM	
CAY WAS DO NOT THE AMERICAN THE	PARTNERS	
REFLECTIONS OF HOPELLP RESTORATION FAMILY SERVICES INC	NUMBER	
AMERIA MELIARISI SERVICIS INC	CAMDINAL	
NAME HAVE THE ATMENT CONTRIBUTE.	TRUSM	
HAZILISCOD HEALTHCASE FUZ. HAESANIAC	AUJANCE	
ALCOHOL MAD DRUG MENIORS OF GLEUDO METRO TREATMENT OF ROWN CARDUNAL	AL AMARKS	
MICHEOLOGISTUS FOR WILLIAMS Y	ALLANCE ALLANCE CARDINAL PARTNERS VANS NAMED EXITPONTE	NX N
	CARDINAL	NA NA NA NA NA NA NA NA
PROSIN NORTH CAROLINA LLC	VANA ALIANCE	\$63. \$65. \$65. \$65. \$65. \$65. \$65. \$65. \$65
	EXITPONTS TRUSM	PAR 1906 1906 1906 1906 1906 1906 1906 1906
COUNTY OF JOHNSTON NORTH CAROLINA.	A AUGANCE	
MINISTRACTOR NEW ANDUSTRIES IN	PARTNESS	
CAROLINA DUTREACH LLC	AUGASCE AUGASCE CARDINAL EASTPOINTS CARDINAL	
	EASTPOINTS	
CINTRIL COMMUNITY SIRVICES LLC	EXITPOINTS	15 15 15 15 15 15 15 15 15 15 15 15 15 1
CONSTANTION WITH CAME	VANA SKITPORTS	INST DATE OF THE PARTY OF THE P
DESIGNATION OF STREET STREET STREET	TREUEM	8
DRIAM PROVIDER CARE SERVICES	TRUUM	MY M
PAMILY PREMITWATION SERVICES OF NO	PARTNERS	8 1
LECHRIS ADULT DAY CARE OF ROCKY MOU	SASTRONTS	
MIREDAN BHANDRALHEATHIRECES	3 VA33	Size Size <th< td=""></th<>
MONANCA	CARDINAL	SAN (SAN SAN SAN SAN SAN SAN SAN SAN SAN SAN
	PARTMEN	
NORTH CAROLINA RECOVERS SUPPORT SEE OUTBACH MANAGEMENT SERVICES	PARTNERS	*** *** *** *** *** *** *** *** *** **
PRETNERS BEHAVIORAL HEALTH MISSING PHYSICIAN ALLIANCE FOR MINTAL HEALT	TENUEN	502 503. THE STATE OF THE STAT
RHA HEALTH SERVICES INC	CARDINAL	18. UN 10. UN 10
	PARTIES TRIUSM CARDINAL EXITPONTS PARTIES VANA TRIUSM	
NAME AND ADDRESS OF THE PARTY O	TRUULM	5
ATTEMENT OF PRINCIPAL INC.	ALLANCE EAST-CONTE ALLANCE CAMDINAL EAST-CONTE PARTNERS SANDHILLS VANS	
RHA BEHAVIORIL HEALTH NC LLC	CANDINAL	DAR
	PARTNERS	13 (1) (2) (3) (3) (4) (4) (4) (4) (4) (4) (4) (4) (4) (4
	VANA	\$45 \$\$45 \$\$45 \$\$45 \$\$45 \$\$45 \$\$45 \$\$45
PRESIDENT PRODUCE CONTRACTOR (NC	CAMPINAL	THE STATE SHAPE SH
PATHWAYS TO UPE INC WANTERSOND HAMES CLASS: PA	TRUULM EASTPOINTS	8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
A CARING ALTERNATIVE LLC	PARTNERS	No.
NOS ACQUISITION LLC	VANA AUGANCE	8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
POLINEATHCARE INC	CARDINIL PARTNERS	
COMMUNITY SUPPORT AGENCY LIC	EXEPPOINTS	No.
PROGRESSPRING MEXICOLOG	MARKELLA	No.
THE SPARC NETWORK U.C. ONE TO ONE WITH YOUTH INC.	EASTFORTS	10.1 10.1 10.1 10.1 10.1 10.1 10.1 10.1
SOUTHERSTERN INTEGRATED CARE VELVERTORS INVESTMENT SERVICES INC.	ALIANCE	THE
BASTER SERLS UCP NORTH CAROLINA & V	ALIANCE EASTERN	
PRIDE IN NORTH CARDUNALUC	AUJANCE	- R T R T R T R T R T R T R T R T R T R
	TRUUM	548 548 548 548 548 548 548 548 548 548
SOUTHERS THEN BEHAVIORIS HEALTHCARE	SE SEATPOINTS	20 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
PREADMANCE ACADEMY COMMUNITY PARTNERSHIPS INC.	AMANCE	58. 58. 58. 58. 58. 58. 58. 58. 58. 58.
PHOENIX COUNTY HOSPITAL SYSTEMS PHOENIX COUNTY HOSPITAL SYSTEMS	PARTNERS	10.8 10.8 10.8 10.8 10.8 10.8 10.8 10.8
RECOURT AND VATIONS INC.	PARTNERS	103 104 104 105 105 105 105 105 105 105 105 105 105
PHOENIX COURSELING CENTER A CARTING ACTERNATIVE LLC	PARTNERS PARTNERS	DOM (0144 DOM (0
EASTERNAL USP NORTH CAROLINA &V	PARTMEN	500 100 100 100 100 100 100 100 100 100
AUTISM SOCIETY OF NORTH CAROLINA	AUJANCE	8
BEAUTOST COUNTY DEVELOPMENTS, CENT	NI TRUUM	50 St
CWORLT OC	TRUUM	N
COMMENTAL	PARTMEN	8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8
DREAMCONSECTIONS INC	PARTMEN	A
GASTON MILLS DIC	PARTNERS	
HOLY ANGELS INC	PARTMEN	15 15 15 15 15 15 15 15
IQUOSICINIC COMPONENTICS	TELULAN	15 15 15 15 15 15 15 15 15 15 15 15 15 1
MENTAL HEALTH ASSOCIATES OF THE TRE	MARKELLA	1
MONANCH	PARTNERS	18 18 18 18 18 18 18 18
	TRUUSM	15 15 15 15 15 15 15 15
NEW HORIZONS ADULT DAY SERVICES INC	CANDINAL PARTMEN	15 15 15 15 15 15 15 15
PARTNERS BEHAVIORAL HEALTH MISSING RANGEW 46 STOREHOLDS INC	PARTMEN AUGANCE	
NAME AND RESTRICTED INC	SAMPONTS SAMPHUS	15 157 157 157 157 157 157 157 157 157 1
RAN HEALTH MENCHANGLIC	SANDHED.	Part
SANCTURE FOURIER	SAMEHELS TRUMP	स्त्र तम
SOUD-FOLKDATION FACULTIES INC.	TRUUSM	ting ting
THE INCLUSION NO.	PARTNERS	18 28 18 18 18 18 18 18 18 18 18 18 18 18 18
ONE ASSESSMENT CTR MIL REPLEMENT	PARTNERS	8 8 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9
THE MENTAL HEALTH FLAD INC.	PARTMEN	10 10 10 10 10 10 10 10 10 10 10 10 10 1
UNION SERVICES INC	CARDINAL	<u>na. no. no. no. no. no. no. no. no. no. no</u>
1		8. 18. 18. 18. 18. 18. 18. 18. 18. 18. 1
	MADELLA	
LINGUIT HIMILITATION MENCES INC THEMOPEUTIC ACTIONATIVES INC	SANDHUS SANDHUS SANDHUS	
LINGUIT HIBILITATION SERVICES INC. THERAPEUTIC ACTIONATIVES INC. LIPERANNING	PARTNERS SASDHELS CARDNEL SANDHELS ALLANCE CARDNEL	8 15 15 15 15 15 15 15 15 15 15 15 15 15
LINGUIT HIBIDITATION MENCESS INC. THERAPATURE, ACTIONATIVES INC. LIPESPAN INC.	PARTNERS SANDHUS CARDINIS SANDHUS CARDINIS CARDINIS FARTNERS SANDHUS SANDHUS	B
LINGUIT HIBBUTS TON METICES, INC. THERMFUNC ASTRONOMY INC. LIPETHAN INC. SIGLL CHEATIONS INC.	PARTIERS MENDRELL CARDINAL MANUFELL CARDINAL PARTIERS MEDICIA ALLIANCE CARDINAL CARDINAL	1
LINGUIT HABILITA THAN MERICES, REC. THEMOMETER: ALTERNATIVES INC. LIPERAN INC. SEEL CREATIONS INC.	PARTMEN ANADHLIS CARDINI MARCHLIS MACHILIS CARDINI CARDINI PARTMEN ALLANCE CARDINI EXITPONTE TRUSH	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
LINGUATE AND CONTROL TO SEPECIAL DIC DISSOLUTION, CATERNATIVOS DIC DISSOLUTIONS DIC SIGLI CONSTIDUIS DIC SIGLI CONSTIDUIS DIC CONCURSES HOME CAME ASSISTED FOR	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	13 13 13 13 13 13 13 13 13 13 13 13 13 1
LINGUICE ANGELOTE CODE APPLICATE INC. MACAPISING CETEROLITYON INC. LITERATURE CODE BELL CREATIONS INC. CANCILINE HOME CARE ASSIST INC. A SHALL MEASURE UC.	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	13 13 13 13 13 13 13 13 13 13 13 13 13 1
DADLET A SERVICE DE LA SERVICE	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	13 13 13 13 13 13 13 13 13 13 13 13 13 1
DEBLICATION DE LA CONTRACTION DE L'ARRANGEMENT DE L	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	18 18 18 18 18 18 18 18 18 18 18 18 18 1
JURIL CREATE STON MERCEL BY LEVER AND A STONE AND A ST	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	13 13 13 13 13 13 13 13 13 13 13 13 13 1
LIGHT CHRISTING THE RECORD BIG. LINEARLY STATE AND	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	18 18 18 18 18 18 18 18 18 18 18 18 18 1
JOINT CREATE THE THE THREET BY A CHARLEST BY	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	18 18 18 18 18 18 18 18 18 18 18 18 18 1
DESCRIPTION AND ADDRESS OF THE ADDRE	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	18 18 18 18 18 18 18 18 18 18 18 18 18 1
JAMES CONTROL ON MECCAN AND CONTROL ON MECCAN	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	18 18 18 18 18 18 18 18 18 18 18 18 18 1
JOHN CONTROL OF THE C	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	18 18 18 18 18 18 18 18 18 18 18 18 18 1
JAMES CONTROLLED MERCELAN SECULIA SECU	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	18 18 18 18 18 18 18 18 18 18 18 18 18 1
JOHNSON DE SERVICIONE DE SERVI	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	
Home control to the c	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	1
Design controlled to the contr	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	1
JOHN CONTROL OF THE C	CARDINAL PARTIERS SANDRELS ALLANCE CARDINAL EXEPTIONES EXEPTIONES EXECUTION	1
JOHN CONTROL METERS IN A SECONDARY OF THE SECONDARY OF TH	ALGORISMA MODELLA M	1
JOHN CONTROL OF THE C	ALGORISMA MODELLA M	Strict S
James Contraction on Section Con-	CARDINAL PARTIES AND STATE OF THE STATE OF T	Strict S
John Committee Service	CARDINAL PARTIES AND STATE OF THE STATE OF T	Strict S
JOHN CONTROL OF METERS AND	CARDINAL PARTIES AND STATE OF THE STATE OF T	Strict Plane Stri
John Committee Service	CARDINAL PARTIES AND STATE OF THE STATE OF T	Strict Plane Stri
JOHN CONTROL OF THE C	CARDINAL PARTIES AND STATE OF THE STATE OF T	Strict S
John Commission Williams (Inc.) White Commission on Commi	CARDINAL PARTIES AND STATE OF THE STATE OF T	
CONTRACTOR CONTRACTOR AND ADMINISTRATION OF A CONTRACTOR CONTRACTO	CARDINAL PARTIES AND STATE OF THE STATE OF T	Strict S

Day Supports WESCARE PF	ME PROPERIONAL MENTERS IN PARTIES	
A CAMPING HE CINE ON CIN	SCHEART CASE MINNISSMENT INC. TRULIAM CRIS CARE INC. FARTNER	52 St.
ACHERICAN ARCHARD HE	CASE MICROSOMENT SERVICES PARTMER D HERLTH LIC PARTMER	
ENVIROR C	PET COUNTY DEVELOPMENT IN COST TRULISME	18 25 25 25 25 25 25 25 25 25 25 25 25 25
ENA HEALTH	NUTY SERVICES NO U.C. SAMPHE	8 7 8 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9
THE OPERAT	MATCHE INC. ALLIANCE N INC. CARDINA	18. 18. 18. 18. 18. 18. 18. 18. 18. 18.
THANG	OF ROWIN COUNTY INCOMPORAT CARDINA	
PARAMUSTA AN	S AND COMMUNITES REING INC. CARDINA SEALS UCP NORTH CAROLINA & V. TRUULAN	5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
Developmental The court ACHILLETON ACHILLETON	FOR SPECIALITY INC. ALLIANCE FACE BEHAVIORAL HEALTHCARE INC. BASTFOR	No. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
AUTHMISOT	SOCIETY OF NORTH CARDUNA ALLANCE	No. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
MANAGEM PARTY AND ADDRESS OF THE PARTY AND ADD	IN HOUSE CASE MANAGEMENT TRULING	No. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
COMMUNIT	AITY INNOVATIONS INC. SASTPOR	Ma (44) (45) (44) (45) (45) (45) (45) (45)
CROSSROAD HORE COUR	DADS SUPPORT SERVICES INC. BASEPON DURITY ASSOCIATED SEVELOPMENTS. SANDHEL	80 M2 M3 M4 M5
HOMEOMES N	THE MANAGEMENT COMPONENTION DATE OF THE COMPONENT OF T	NO 164 164 165 165 165 165 165 165 165 165 165 165
TROME HE	HEALTH DISTRICT ORDINAL TRALISM HEALTH DISTRICT OF NEW BERN TRALISM	Part
MARKHER	HEALTHCAME SERVICES ALLIANCE TREATM	Ma Ma Ma Ma Ma Ma Ma Ma
ENG HEALTH	DE SANDELLE	N 10
MANUFACTURE CO.	NO SERVICIO AC BESTROS UN ORIGINAS CINTAS MADERA	Ni Na
SPECIALIZED	USD SERVICES AND PERSONNEL ALLIANCE SANDHEL	50 No. 20 Mar. 20 No. 2
TURNING	O POINT SERVICES ALLEANCE O POINT SERVICES ALLEANCE	8 2 4 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5
PRIMARY HE VICTOR B.Y	F HEALTH CHOICE RIC BESTFOR & ASSOCIATES RIC SERVING	No. 24. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.
ALPENNISE UNIVERSAL	SALMINTS HALTHSEFFICES I ALLANCE	
FRENCH	LE HOME CAME INC. TRILLIAN	No. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
Cat-section	BASTPON TRUSTM	No. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
CLEVELAND: ALPHA MAS	MO VOCATIONAL INQUITERS IN PARTNER MANAGEMENT REVICES INC. ALLIANCE	No.
HARRINGS INCOPENCE	RESCURES UNIMPEDIAL TRUSKS	88 88 88 88 88 88 88 88 88 88 88 88 88
A CARROSHI ABLITES II	THURS SHOW THE BEST OF THE SECOND THE SECOND	p. p
ONE ON ON ABOUND H	CONSTRUCT PARTNER MERLIN UC AUGANCE	5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	EASTFOR TRUMM	N
Developmental Therapy 1 ALLEGRAN	MATERIAL STATES OF THE STATES	15 15 15 15 15 15 15 15 15 15 15 15 15 1
OPIN HARE FATHWAY	BARTLART CINTER VANS.	10 10 10
THE ARE OF	COP NUMBER CANCELLING VANA VANA	\$18 \$19 \$19 \$19 \$19 \$19 \$19 \$19 \$19 \$19 \$19
NOS ACQUIP	OURSTON LLC VANS	
Developmental Therapy 1 ACI SUPPOR ENG. HSSLT	FOR SPECIALITY INC. ALIANCE SUTH SERVICES INC. MARCHILE	
Diagnostic Assessment NEW DMSS	US CHERRIS CENTER SANDHEE MENSION ORDER LEE EASTFOR	
PARTMENT VINERALLY	ELECTRICAL PROCESS PARTIES ELECTRICAL PROCESS PA	0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
76AD 7488	HEREPYMENTAL HEALTH CENTER PARTNER SANDHUL	
TENETY MANY FORT HEALT	BEHEVORAL HALTHCARE PC CARDINA DALTH SERVICES EASTPOR	50. 50. 50. 50. 50. 50. 50. 50. 50. 50.
ATS OF NOP	NORTH CAROLINA LLC BASTPON	
EEM Detailed DESERVE AVELPTION	NO HAND OF WISHINGTON LC TRUMS	NE SEE SEE SEE SEE SEE SEE SEE SEE SEE S
BANTON	CARDINA COMMUNITY HALTHCARE BLANCE	Min
CAMOUNAS	NA OUTBERCH LIC ALLIANCE NAS MEDICAL CENTER CARDINA	
CHARLES	LEGISTON SETTINGS OF CARDING	161 No. 160 No. 161
CHENTRE	WATER OF RELIEF CO.	N
CONSTALSO	L SOUTHEASTERN UNITED CARE SASTFORM TRESULAN	
DAVIMANKE	RK RECOVERY SERVICES INC ALLIANCE CARDINA	NOT
	PARTIE SANCHU	Name
DREAMPRO	PROVIDER CARE SERVICES TRUSHAM ACURA UNIVERSITY TRUSHAM	50 10 10 10 10 10 10 10 10 10 10 10 10 10
PANALY PRO	PRINT SUPPORT CENTER INC. BASEPOR PRINTERS ATTOM SERVICES OF NC. PARTNER	184 185 185 185 185 185 185 185 185 185 185
TRACEMENT	SHP HEALTH RESOURCES INC. ASSAULTS	160 PM
INTEGRATE	TED BEAUTOMAL HEATHCARE SE ALLIANCE	
INTEGRATED MINISTRAL	ATED PARKEY SERVICES PLAC TRUSHED MARKET SERVICES VANA	50 50 50 50 50 50 50 50 50 50 50 50 50 5
MONANCH	ALIANCE CARDINA	
	PARTIES SANDHU	C C C C C C C C C C
NEW EMBY	MENSION GROUP LLC SALTPON	502 503 103 103 103 103 103 103 103 103 103 1
OCTOBER SO GUTRAGE	R MANDENC VANA CH MANAGEMENT SERVICES FARTNER	Str.
PRODUCTOR PROGUESTS	X COLONIAL POR MENTAL HEALT THE LAW	No.
RNA HEALTH	NUTH SERVICES INC CARDINAL SANDHUL	
	VANA TRUMM	
2014694 2014694	SHT HEALTHCARE ALLANCE VEH HEALTH FLAD INC. FORTHER	
TRINTYBEN	BEHELICKUL HEALTHCARE PC CARDINAL VANSA	Ma Na
VICINIER	BEHENDRAL HEALTH SERVICES L CARDINAL WASA	NO. 201. 201. 201. 201. 201. 201. 201. 201
KAN BEHAVA	EXTROS Spanner	
	VANA	50 50 50 50 50 50 50 50 50 50 50 50 50 5
CROSSROAD		
-	MHOUSE RECOVERY CENTER INC. ALLIANCE	18. 18. 18. 18. 18. 18. 18. 18. 18. 18.
	DASS TREETMENT CENTERS VANS MHOUSE RECOVERY CENTER INC CARDINA VANS ANY COMMUNITY HEIGHT COUNCIL EPTROPHI	1
COMPALM.	GREAT TREATMENT CONTRINE VANAS M HOUSE RECOVERY CENTER INC. CARRIENS VANA ANY COMMANDAY HEISTEN COUNCE, ESTEPPON L HORICONS CENTER INC. MILLIANCE MY TOURISM CONTRINE MY TOURISM CONTRINE MY TOURISM M	8 1
COMPANION PROPERTY OF THE PROP	GRIDS TREATMENT CRINTERS VANS. MHOUSE RECOVERY CRINTER FOR CARRISON REY COMMENTER FOR HOUSE CRINTERS FOR FET TOURS CRINTERS FOR FET TOURS CRINTERS FOR FET TOURS CRINTERS FOR FET TOURS CRINTERS FOR HOUSE	
COMPALM, PRIVATE AND PRIVATE A	GREEN TERRORISTATION CONTROL NO. ANNOUNCE PROCOVERY CONTROL NO. CARDONAL ANNOUNCE PROCOVERY CONTROL NO. ANNOUNCE PROCOVERY CONTROL NO. ANNOUNCE PROCESSOR NO. ANNOUNCE NO. ANNOUN	88 88 98<
COMMANDA MARTINATA DE LA COMMANDA DEL COMMANDA DEL COMMANDA DE LA COMMANDA DEL COMMANDA DE LA COMMANDA DEL COMMANDA DE LA COMMANDA DEL	2003 TERRIBATI CROTERS VANA MANUSKER ROCK VERF CENTRE NO. ANNOLAR ROCK VERF CENTRE NO. ANNOLAR ROCK VERF CENTRE NO. ANNOLAR ROCK VERF CENTRE NO. TERRIBATION CONTROL ROCK VERF CENTRE NO. ANNOCES CENTRE NO. TERRIBATION CONTROL ROCK VERF CENTRE NO. TERRIBATION CONTROL ROCK V	8 1
DAMMER CONTRACT PRESSURY BECOMES VOICE AND CONTRACT AND CONTRACT CONTRACT SERVICE SERV	GIGHT TERRITORY TO CONTROL TO CON	88 88 98<
JAMASSA CORNELL STATE OF THE ST	GRIST TERRITORIS (CONTRES) VANDALISMONDO CONTRESS TO	8 1
COMMANDA FRIENDLY FRIENDLY UNIVERSITY UNIVERSITY UNIVERSITY FRIENDLY FRIEND	\$200 TEMPORAL CONTROL	- R
GOMESSA ARTHRIST BECORDY WONNELSE JOSEPH SERVICE JOSEPH S	100 THE STATE OF T	- R
COLUMNAL AND ADDRESS OF THE ADDRESS	GRIST TRANSPACE CONTRACT CARRIED CARR	8
COLUMNAL SECURITY OF THE SECUR	GERT TRANSPORT CONTERNAL C	
LOCAMADIA PERSONNEL ANGENISTA	100 THE STATE OF T	R
	100 100	R
	100 TESTERON (1995) 101 TESTE	R
	100 MINISTRA (1990) 100 MINIS	R
	100 TESTING AND THE STATE OF TH	R
1,000,000,000,000,000,000,000,000,000,0	100 STREET, 100 ST	- R
		Strict S
	100 TESTINGON CONTROL	Strict S
	100 STREAM STATE OF THE STATE O	R

The content of the
Column
Column
Part
Part
Part
A
A
State Stat
Fig. 1. The property of the pr
Set Properties
The content with the
The content with the
See
See
See
See
See
See
See
Fig. 1. Supplied to the content of t
Fig. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.
40 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
40 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
State Stat
State Stat
State Stat
Property of the content with the conte
Property of the content with the conte
Property of the content with the conte
Property of the content with the conte
Property of the content with the conte
Property of the content with the conte
Property of the content of the con
Property of the property of
Proper file
Property of the property of
Section Sect
Proper light Prop
State Stat
State Stat
Part
Part
March Marc
March Marc
Accordance Acc
ADDITION OF COLUMN
TOTAL CONTINUES AND 1/15
TOTAL CONTINUES AND 1/15
MANDEN MANDER STATE STAT
TWO DESCRIPTIONS AUGUSTON (WITHIN
1/2 1/2
1-980/1992/29 MT 1993/29 1-980/1992/29 MT 1993/29 1-980/1992/29 MT 1993/29 1-980/29 MT 1993/29 1-980/29 MT 1993/29 MT 1993
Control Cont
SEES
STEPHEN STEP

DREAMPROVIDER CARE SERVICES TRIBUTAN ENTERNATION AND THE PROVIDER FALC. TRIBUTAN	, Table Each Each
	15. 15. 15. 15. 15. 15. 15. 15. 15. 15.
MONANCH ALLANCE CARDINAL SAMEHELS	Delic Deli
THE MINTAL HEALTH FLAD INC. PARTNERS. FINA SEMANDERS HEALTH NC UC. TRUSSAM CONSTAL HORIZONS CONTENTS INC. TRUSSAM	18. 18. 18. 18. 18. 18. 18. 18. 18. 18.
NOS ACQUISTON LLC VANS THE HOPE CENTRE FOR ADVINCEMENT LLC ALLIANCE	Section Sect
AMMA WELLINES SERVICES TRALIANCE ATLOF NORTH CARGUNA UC SANDHELS	174 174
PRODUN NORTH CAROUNALUC TRUSAM MAIN A HELPING HAND OF WEAKINGTON LC TRUSAM	
BAART COMMUNITY HASTINGAM ASSAULT	State Stat
CARGURA BUNAYONA CARE ALLANCE CARGURA GUINEACH LLC ALLANCE CARGURA BUNAYONA CARE CARGURA BUNAYONA CARGURA BU	1/18 1/18
CANDUNAL MEDICAL CENTER CANDINAL	Ray
CARTER CLASS PA EASTPONTS CLENTHREY OF NCLLC EASTPONTS	5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
CONSTAL SOUTHERSTIRN UNITED CARE EXSTRONTS TREASEM	THE
DAYMAKE BECOVERY REPUTES INC. PARTIMES MINERALS VANS DRIAMPROVIDER CARE MENUES TRUSH	
ROLL SOCIAL COLUMNICATION IN TRANSPORT IN THE STATE OF TH	10.00 10.0
PERMANDEZ COMMANUTY CENTER LLC ALLIANCE PORTARY/CES LLC ALLIANCE PORTAR	5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
INTERNATED BEHAVIORAL HEALTHCARE SE ALLANCE INTERNATED FAMILY SERVICES PLAC. TRAVELEM	8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8
MERCHAN BEHEVORIE HEALTH SERVICES VANS MONANCH ALLENCE	
EXITFORTS PARTNESS	10 2 10 2 10 2 10 2 10 2 10 2 10 2 10 2
NEW DAMINION SPOUP LIC SECTIONS	R8 R
OCTOMER MONE (NEW CO. MANA CONTRACTOR OF PARTNERS CONTRACTOR OF PART	
PROTEST SENSO PORT HEALTH MARKET PARTNERS PROTEST COUNSELING CENTER PARTNERS	152 No. 25
PRIMER BEHAVIORAL SERVICES INC. BASTPOINTS ENAMALTH SERVICES INC. BASTPOINTS	56 - 186 286 286 286 506 506 506 506 506 506 506 506 506 50
SAMEHELS VANS TRUMAN	
SOUTHERN REGIONAL MEDICAL CENTE EXCEPOINTS SOUTHERN RESIDENCES ASSAUCE	10 10 10 10 10 10 10 10 10 10 10 10 10 1
THE MENTAL HEALTH FUND INC PARTNERS TRANS THEREFY LLC MANDRILLS	25 27 28 29 29 29 29 29 29 29 29 29 29 29 29 29
TRIAD THERAPY MINTAL HEALTH CONTIN. PARTNERS. TRINITY BEHILDICAG, HEALTH CARE PC. CARDINAL VAVS.	अरही करही करही करही करही करही करही करही क
VISION BEHEVIORIS HAS THE SERVICES CARDINIS	
PRIMARY HEALTH CHOICE INC SASTPONTS ENGINEENTS OF SASTPONTS EXCEPTION TO	548 548 558 558 558 558 558 558 558 558
SAADHUS TRUUM	
MORAL CLINIC OF TREATON ALLERS ALLERSON MORAL CLINIC OF TREATON ALLERSON ALLERSON	1.
VARCE RECOVERY PC CANDINAL AMARCE	15 15 15 15 15 15 15 15
CONTRAL HORIZONI CIRTUR INC. TRILLIAM	1
PREPARED PARTNERS PER CARDINAL	
WAYNESSON PARKET CLINIC PA. BESTPONTS	8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
VENNY MIDICAL GROUP LLC TRELIUM AMERICAN OF THE PROBENTIAL MADRILLA THE MEDICAL GROUP LLC THE MEDICAL GROUP LLC	[12] [13] [14] [15] [15] [15] [15] [15] [15] [15] [15
A CARING ALTERNATIVE LLC PARTNERS NOS ACQUISITON LLC VANS	18. 18. 18. 18. 18. 18. 18. 18. 18. 18.
THE HOPE CONTROL FOR ADVANCEMENT LLC ALLIANCE THE HOPE CONTROL FOR ADVANCEMENT LLC ALLIANCE THE HOPE CONTROL FOR ADVANCEMENT LLC ALLIANCE	200 201 201 201 201 201 201 201 201 201
COMMERCION TREATMENT CENTER LUC EXPRONTE GROUP TREATMENT CENTER LUC EXPRONTE CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONT	18
THEO MODICAL GROUP PA SANDWILLS PORT HEALTH SERVICES SAMPOINTS TROUGH ADDICTION RECOVERY MEDICAL SERVICE PARTNERS VANS.	
STEPPINGSTONE OF MORTH CARDUNA VANA INTEGRATED CARE OF GREATER HICKORY PARTNERS CREATERINGS TREATMENT CONTRE OF WEAT VANA	10 7 10 7 10 7 10 7 10 7 10 7 10 7 10 7
THE MODEL H COME MEMORIAL HOSPITAL SAMDHELS SOUTHERN FAMILY MEDICINE INC. PARTNERS	HO RA NO HO
CLEY WILLOW & ASSOCIATES PARTNERS BUT ROOF COMMUNITY MEALTH LIBERCE VANS	15 15 15 15 15 15 15 15
REPLECTIONS OF HOPELLP TRUMA	10 10 10 10 10 10 10 10
AMMAN WILLIAMSS SERVICES INC. ALLIANCE	MIC MAN MIC
AMMA WILLIAMS SERVICES INC. ALLANCE COMMISSION ZENTRI HOPE CENTER LEC. ALLANCE EXTREMO CONTRILLES C	
AMMAN WILLIAMS SERVICES INC. ALLANOEE CAMPINEL ZENTEH HOPE, CENTER LEC. AMMANDE PROPRIOCOCHINE RESERVES OF THE LEC. AMMANDE MANUAL COMPANIES HOPE COMPANIES HOPE COMPANIES AMMANDE AMMANDE HOPE COMPANIES AMMANDE AMMANDE HOPE COMPANIES AMMANDE	68 10 18 10
ANDMAN WILLIAMS SHEVCES INC ANDMAN SHEVEN SHEVEN INC ANDMAN SHEVEN SHEVEN SHEVEN INC AND SHEVEN SHEVEN SHEVEN SHEVEN INC AND SHEVEN SHEVEN SHEVEN SHEVEN INC AND SHEVEN SHEVEN SHEVEN SHEVEN SHEVEN SHEVEN AND SHEVEN	163 [163 [17] 17] 18] 18] 18] 18] 18] 18] 18] 18] 18] 18
AGRANGAMENTAL SERVICIO RECURSO DE ALLANCES DE ALGONOMIA. RESPONDE DE CONTROLLO DE ALGONOMIA. RESPONDE CONTROLLO DE ALGONOMIA. RESPONDE CONTROLLO DE ALGONOMIA. LANGONOMIA DE ALGONOMIA. LANGONOMIA DE ALGONOMIA. LANGONOMIA DE ALGONOMIA. LANGONOMIA DE ALGONOMIA. PER SER IN DOCTO CONTROLLO DE ALGONOMIA. LANGONOMIA. FEREN IN DOCTO CONTROLLO DE ALGONOMIA. LANGONOMIA. LANGONOMIA. LANGONOMIA. FEREN IN DOCTO CONTROLLO DE ALGONOMIA. LANGONOMIA. LANGONOMIA. LANGONOMIA. FEREN IN DOCTO CONTROLLO DE ALGONOMIA. LANGONOMIA. LANGONOM	4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
ARRAN GUINATISTANCICA RIC. ARRIVANCIA DEL COMPANIO DEL C	4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
AMERICAN SECURIS AND ADMINISTRATION OF ADMINISTR	
AMON UNIVERSITYATINE AMON UNIVERSITYATINE AMONESISTA DIRECTORI SELLAL AMONESISTA DIRECTORI SELLAL AMONESISTA DIRECTORI SELLAL AMONESISTA DIRECTORI DELINAL AMONESISTA A	
AMON UNIVERSITY OF THE CONTROL OF TH	
AMOUNT OF THE STATE OF THE STAT	Part
AMERICAN STATES AND ASSESSMENT AS	Part
AND SECTION OF THE PROPERTY	Part
Annual Content of Co	Part
AND TRANSPORT CONTROL CONTROL CONT	Part
AMA DESCRIPTION OF A STATE OF A S	
AND STATE OF THE PARTY OF THE	
AND CONTROL AND CONTROL	
AND THE PROPERTY OF THE PROPER	
AND STATE OF COLUMN 1	
AMERICAN CONTROLLER CO	
AMOUNT OF THE CONTROL	
AMERICAN CONTROL OF CO	1
AMERICAN CONTROL OF CO	
ADMINISTRATION OF THE PROPERTY	
AND CONTROL OF CONTR	
AND STATE OF THE PARTY OF THE	1
AMERICAN CONTROL OF CO	

Minde State Minde State Minde State Minde State			
1		_	3,1700
	SCENCIOUSTRONIUS THE HOPE CENTRE FOR ADVANCEMENT U.C.	C AMANCE	183 184 184 184 184 184 184 184 184 184 184
E	PORT HEALTH SERVICES	EASTFORTS	State Stat
E	ADDICTION RECOVERY MEDICAL SERVICE	YANA	97 NO 98 NO 99 NO
_	CLEY WILLOW & ASSOCIATES	PARTNESS	
	JACKSE CLINIC OF ROMNOSE REPORTED BLUE RECORD COMMANITY HEALTH MEXICO	CANDINAL	100.8
-	AMBAN WELMESS SERVICES INC	AUGANCE	18. 18. 18. 18. 18. 18. 18. 18. 18. 18.
7	EASTER SEALS UCP NORTH CAROLINA & V	ALIANCE	
- H	PRIDE IN NORTH CAROLINA LLC	ALIANCE	15 15 15 15 15 15 15 15
		EXSPRONTS	IND SAFE THE
Moderate-New Fats	ANUANA PROVINCION AND RECOVERY CENT CARDUNA OUTRIADHUE	AUANCE AUANCE	
H	CIAMINI AND COUNTY ACCIONAL VANDALI	SASTFORMS	1912 1912 1913 1913 1913 1913 1913 1913
7	DAVIMAK RECOVERS SERVICES INC	CANDINIL	THE
		XANDHILIS XAND	
H.	FELOWINF HEALTH RESOURCES INC	AUJANCE	13.7 (3.7 (3.8 (3.8 (3.8 (3.8 (3.8 (3.8 (3.8 (3.8
-	JERNANDEZ COMMANUTY CENTRE LIC	AUMANCE	100 1 100 1
-		CANDINIAL	DECT THE DEED THE DEE
		PARTNERS	
-	NORTH CAROLINA RECOVERS SUPPORT SEE	IN ASSAULT	1
ď	PRETNERS BEHAVIORAL HEALTH MISSAG	PARTMEN	101 102 103 103 104 105
F.	PRIMER REMANDES ARENCES INC	EAST-CONTS	
L	OR HEALTH SERVICES INC	SANDHELS	8 18 18 18 18 18 18 18 18 18 18 18 18 18
B	SOUTHWATTHEN REGIONAL MEDICAL CHATE	AMANCE	151. 152. 152. 152. 153. 154. 155. 155. 155. 155. 155. 155. 155
-	THE MENTAL HEALTH FLAND INC. VISION BEHAVIORAL HEALTH SERVICES L.	PARTMEN VANA	
,	AND REPOYDORS HEALTH ME LIC	CANDINAL BRITPONTS	50.0 [
		SANDHILIS	pand pand pand pand pand pand pand pand
-	PRESIDENTED AS SECURED CONTRACTOR	CARDINIL	tate
L.	PATHWAYS TO UPLING	AUANCE	507 507 507 507 507 507 507 507 507 507
E.	ACCUSEY BINGVATIONS INC.	MANUARCE SAMPONTS	188 187 188 187 187 187 187 187 187 187
-	MAKES SERVICE OF THE PRODUCED THIC TURNING POINT FAMILY CARE LLC	AMARHUS AMARCE	
F	APS TRACTIONS CONTR.	EXEMPORATE CONTRACTOR	
Ľ.	DATE OF THE PARTY	TRIBUDA	184 185 185 185 185 185 185 185 185 185 185
F	THE MOTES H COME SERVICE HOSPITAL	38329613	153 154 155 155 155 155 155 155 155 155 155
E	AND RELIGIOUS SERVICES INC.	ALIANCE .	
	MEGICO CINTERS FOR WILLIAMS	CWDWRT	
		VANS.	
AAAAAAAA Taraa Bar	CARCINIA CUTREACHUS	AUGANCE *2000UA	
7	SAMMAK RECOVERS SERVICES INC.	CVNDWIT	1 1 1 1 1 1 1 1 1 1
		SAMPHUS	DAN
ь	DREAMPROVIDER CARE SERVICES	TELUSM	15.2 15.2 15.2 15.2 15.2 15.3 15.4 15.5 15.5 15.7
-	SUPPLEMENT HEALTH RESOURCES INC.	AUJANCE	
	MONANCH	AUJANCE	187 187
		EXITPONTE	pang 1997 1997 1999 1999 1999 1999 1999 199
_		SANDHELS	
E E	PARTNERS BEHAVIORAL HEALTH MISSISS	PARTNERS	
-	PHOENIX COURSEUNG CENTER SOUTHLIGHT HEALTHCARE	PARTNERS AUANCE	18. 18. 18. 18. 18. 18. 18. 18. 18. 18.
H	DE MINTAL HEATH PLANT OF	PARTNERS CARDON	1862 1862
		SANDHILIS	1887 1887 1887 1887 1887 1887 1887 1887
- 5	CONSTAL HORIZONS CIRCUIT INC	TRUSM	105 16.8
H	PORT HEALTH SERVICES	SAMEHELS EASTPOINTS	188 514 515 515 515 515 515 515 515 515 515
-	THE MORES H COME SHEMORIAL HOSPITAL	TRILISM SANDHILIS	10/2 10/2 10/2 10/2 10/2 10/2 10/2 10/2
	PRIDE IN NORTH CARDUNALUC	TRILLIAM	(DIX
te Problem Focused to	ASSECT HAMAS SERVICES INC.	CARDINAL	160 160 160 160 160 160 160 160 160 160
F		TRIUSM	NA N
L.		MARHUM	
	MPS TREATMENT COSTER	LEITPONTE	S
7	ADDICTION RECOVERS MEDICAL SERVICE	PARTNERS	108 108 108 108 108 108 108 108 108 108
_	DATEGRATED CARE OF GREATER HICKORY	PARTMEN	
- 5	ATS OF NORTH CAROLINA LLC	VANA	
McProblem Passand-St.	DESCRIPT HAMAN SERVICES INC.	CARDINAL	
	MODICTION RECOVERY CARE ASSOCIATION PRESIDENT RECOVERY CENTER INC.	SANDHUS SANDHUS	
Silty Based Crisis ServisC	CAMBRIAND COUNTY HOSPITAL SYSTEM!	AMANCE	188
		CARDINAL PARTNERS	
		PARTNERS SANDHILLS	4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
-	MONADI	PARTNERS SANDHILLS VASS EXEPPOINTE	1
Ē	MENNADA FRETSEELEN VORAL HELLTH MENNAD THOUNEX COURSELING CENTER	CARDINAL PARTNERS SANDHILS VASS EXEPPOINTS PARTNERS PARTNERS	55.0 55.0 55.0 55.0 55.0 55.0 55.0 55.0
E	MONAMON PROTESTINATORIA PERLEM MONAMO PROTESTINATORIA PERCENTIA RESIDENTIAL TREATMENT MENCES	CARDINAL PARTNESS SANDHELS VASS EXEPPOINTS PARTNESS CARDINAL VASS	15.19 15.18 15.18 15.18 15.18 15.18 15.18 15.18 15.18 15.18 15.18 15.18 15.18 15.18 15.18 15.18 15.18 15.18 15.18
	MONARCH ADSTRUCTURAL PROCESSION PROCESSION CONSIGNATION REMODERATAL PROCESSION ON MEASURE SUPPLICATION ON MEASURE SUPPLICATION	CARDINAL PARTNERS NAVORELS VANS EXEPTONES PARTNERS CARDINAL VANS VANS VANS VANS	55.19 55.18
	MONANCH PROTECTION OF THE CONTROL OF T	CARDINAL PARTIERS SANDHILS VANS EXITORITE PARTIERS PARTIERS CARDINAL VANS TRUCK PARTIERS VANS VANS VANS VANS VANS	55.19 55.18
	INCOMESTICATION AND ADDRESS OF CAMER	VANA	
	INCOMESTICATION AND ADDRESS OF CAMER	VANA	
3	INCOMESTICATION AND ADDRESS OF CAMER	VANA	
	INCOMESTICATION AND ADDRESS OF CAMER	VANA AUJANCE VANA AUJANCE CARDINAL PARTMERS VANA AUJANCE	
1	INCOMESTICATION AND ADDRESS OF CAMER	VANA AUJANCE VANA AUJANCE CARDINAL PARTMERS VANA AUJANCE	
111111111111111111111111111111111111111	INCOMESTICATION AND ADDRESS OF CAMER	VANA AUJANCE VANA AUJANCE CARDINAL PARTMERS VANA AUJANCE	
	INCOMESTICATION AND ADDRESS OF CAMER	MANAGE MANAGE MANAGE CARGINAL PATTERS WANA MANAGE CARGINAL EXITYONTE WANA MANAGE MANAG	
To the state of th	LINDOSSETT DE SIG MESTETAS A E COMPE VISTA MESTATA PRESIDOMANDAS SECONOS CENTRE INC. PRECIDENTAS IN	MANAGE MANAGE MANAGE CARGINAL PATTERS WANA MANAGE CARGINAL EXITYONTE WANA MANAGE MANAG	
and y saving - Mod d	LINDOSSETT DE SIG MESTETAS A E COMPE VISTA MESTATA PRESIDOMANDAS SECONOS CENTRE INC. PRECIDENTAS IN	MANAGE MANAGE MANAGE CARGINAL PATTERS WANA MANAGE CARGINAL EXITYONTE WANA MANAGE MANAG	
Link Strong - Model Co.	LINDOSSETT DE SIG MESTETAS A E COMPE VISTA MESTATA PRESIDOMANDAS SECONOS CENTRE INC. PRECIDENTAS IN	MANAGE MANAGE MANAGE CARGINAL PATTERS WANA MANAGE CARGINAL EXITYONTE WANA MANAGE MANAG	
In the state of th	LINDOSSETT DE SIG MESTETAS A E COMPE VISTA MESTATA PRESIDOMANDAS SECONOS CENTRE INC. PRECIDENTAS IN	MANAGE MANAGE MANAGE CARGINAL PATTERS WANA MANAGE CARGINAL EXITYONTE WANA MANAGE MANAG	
a supplied to the state of the	LINDOSSETT DE SIG MESTETAS A E COMPE VISTA MESTATA PRESIDOMANDAS SECONOS CENTRE INC. PRECIDENTAS IN	MANAGE MANAGE MANAGE CARGINAL PATTERS WANA MANAGE CARGINAL EXITYONTE WANA MANAGE MANAG	
8 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 -	LINDOSSETT DE SIG MESTETAS A E COMPE VISTA MESTATA PRESIDOMANDAS SECONOS CENTRE INC. PRECIDENTAS IN	MANAGE MANAGE MANAGE CARGINAL PATTERS WANA MANAGE CARGINAL EXITYONTE WANA MANAGE MANAG	
a substitution of the subs	LINDOSSETT DE SIG MESTETAS A E COMPE VISTA MESTATA PRESIDOMANDAS SECONOS CENTRE INC. PRECIDENTAS IN	MANAGE MANAGE MANAGE CARGINAL PATTERS WANA MANAGE CARGINAL EXITYONTE WANA MANAGE MANAG	
a single storage. Model of the single storage of the single storag	LINDOSSETT DE SIG MESTETAS A E COMPE VISTA MESTATA PRESIDOMANDAS SECONOS CENTRE INC. PRECIDENTAS IN	MANAGE MANAGE MANAGE CARGINAL PATTERS WANA MANAGE CARGINAL EXITYONTE WANA MANAGE MANAG	
To plant of the state of the st	LINGUISTICO DEL CONTRO	MANUSCRIPTORY MANUSC	Part Care 1
	LINGUISTICO DEL CONTRO	MANUSCRIPTORY MANUSC	Part Cal p
	LINGUISTICO DEL CONTRO	VANDA AULANDORI AULA	F F F F F F F F F F F F F F F F F F F
y stong - Mul	LINGUISTICO DEL CONTRO	VANDA AULANDORI AULA	F F F F F F F F F F F F F F F F F F F
g kang-Masi	LINGUISTICO DEL CONTRO	VANDA AULANDORI AULA	F F F F F F F F F F F F F F F F F F F
The state of the s	LINGUISTICO DEL CONTRO	VANDA AULANDORI AULA	F F F F F F F F F F F F F F F F F F F
To young - Model	LINGUISTICO DEL CONTRO	VANDA AULANDORI AULA	Fig. 19 Fig.
To the state of th	LINGUISTICO DEL CONTRO	VANDA AULANDORI AULA	Fig. 19 Fig.
To storage - Model To storag	LINGUISTICO DEL CONTRO	VANDA AULANDORI AULA	
1	LINGUISTICO DEL CONTRO	VANDA AULANDORI AULA	
Land American Control of the Control	LINGUISTICO DEL CONTRO	VANDA AULANDORI AULA	
	LINGUISTICO DEL CONTRO	VANDA AULANDORI AULA	
	LINGUISTICO DEL CONTRO	VANDA AULANDORI AULA	
	LINGUISTICO DEL CONTRO	VANDA AULANDORI AULA	
	LINGUISTICO DEL CONTRO	ADDISON ADDISO	
- - - - - - - - - -	LINGUISTICO DEL CONTRO	ADDISON ADDISO	
	AND THE STATE OF T	JOSH A AGAINGT A AGA	
	AND THE STATE OF T	JOSH A AGAINGT A AGA	
	AND THE STATE OF T	JOSH A AGAINGT A AGA	
	AND THE RESIDENCE OF THE PARTY	2006.000 2006.000	
1	AND THE RESIDENCE OF THE PARTY	2006.000 2006.000	
The state of the	AND THE RESIDENCE OF THE PARTY	2006.000 2006.000	
	AND THE RESIDENCE OF THE PARTY	2006.000 2006.000	
	AND THE RESIDENCE OF THE PARTY	2006.000 2006.000	

Part
February 18 1
Fig.
Fig.
Proper land land land land land land land land
Proper land land land land land land land land
Part
Part
1
1
5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
tons than been been been been been been been be
tons than been been been been been been been be
500 100 100 100 100 100 100 100 100 100
18 18 18 18 18 18 18 18
16.1 16.1 16.1 16.1 16.1 16.1 16.1 16.1
HARE SEAR SEAR SEAR SEAR SEAR SEAR SEAR S
1 1 1 2 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
1
1
518 182 183 183 183 183 183 183 183 183 183 183
NO. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
NOW
160 160
MA NOT
bus bes but bes kes bus
HARD SOUND HOLD SOUND SO
163 May 162 163 163 163 163 163 163 163 163 163 163
1004 1005 1005 1005 1005 1005 1005 1005
583, 507, 592, 593, 593, 597, 597, 597, 597, 597, 597, 597, 597

15. [8] [8] [8] [8] [8] [8] [8] [8] [8] [8]
SHARED SHARED SHARED SHARED SHARED SHARED SHARED SHEETS SEEDIN SEEDIN SEEDIN SEEDIN
- 10 to 10 t
15 PA
15 Part 18
Part
=

EYREMS UNITY GROUP HOME LIC. BK	MATPONTS	RE 102 NS
MECOUNTY GROUP HOME INC. SM. MECHELL COUNTY GROUP HOME VA	MADRILLA MASA	NOW 10 10 10 10 10 10 10 10 10 10 10 10 10
MONANCH AG	MADRILIA MASS MILIANCE CARDINEL PARTNERS	[51.27] [51.27
56	MACHUA	12 13 13 13 13 13 13 13 13 13 13 13 13 13
MERCAN MINI CUALITY BOAD AU NEW DESTRUCTIONS INC. AU	NUANCE NUANCE	20
CA 90	CARDINAL	13 13 13 13 13 13 13 13
PARTNERS BEHAVIORAL HEALTH MAKING PA PRI COUNSELING MINVESS SAS	MATHERS MATHERS	
PROPERTY PRACTICAL DESCRIPTIONS OF	CARDINAL CO.	18.7 18.7 18.7 18.7 18.7 18.7 18.7 18.7
RHA HEALTH SERVICES NC LLC CA	CANDINAT	162 162 163 164 165
PA 18	PARTNERS	
98	ANA MELISAM	162 163 163 164 165
ROBESON HEALTH CARE CORPORATION BIG SA	LESTPONTS LANDHILLS	
THE MENTAL HEALTH FAND INC. PA	PARTNERS	
THE WORKSHOP OF DAVIDSON INC CA	MADELD.	
TRANSCOANS ASSOCIATION FOR DISSEL. VA TRANSCOANS VOCATIONAL MEXICES IN VA	6833 6833	18. 18. 18. 18. 18. 18. 18. 18. 18. 18.
VA	6838	10 10 10 10 10 10 10 10 10 10 10 10 10 1
WING SALDSON COUNTY HOUSING COMP VA	ANNA ANNA	1
PA.	MATSHIA MANDHILLS	10.27 10.27
UNBASSERVICES INC. PA	CASS PARTNERS	1.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2.0 2
AUTSMISSION INCORPORATED AU	MANUE MANUE	EAR IN AN IN
SKLL DRIATIONS INC CA	MATPONTE	100 100 100 100 100 100 100 100 100 100
CARCUNA MINDENTAL SERVICES INC. PA	PARTNERS NUMBER	10. 10. 10. 10. 10. 10. 10. 10. 10. 10.
CA PA	CARDINIAL	TA TA TA TA TA TA TA TA
5.6	CASA.	
ROUSE GROUP HOME I INC. CA HOPE VALLEY INC. PA	PARTNERS	182 N
Randonih Fellowship Homes Inc. SA. HOPE HEXPE INC. Au	NUMBER	5
CA PA	PARTNERS	18
55 95	CASA CASA	8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
CLAMBINAND RESIDENTIAL AND EMPLOYM AL	NUMBER	52 10 10 10 10 10 10 10 10 10 10 10 10 10
ABOUNDHERSTHUSC PA	FARTNERS GASA	18 18 18 18 18 18 18 18 18 18
LEGACY HUMBIN SERVICES INC. CA.	LARDINAL LASTPOINTS	R
AUTUMN HILLS OF LINANA LIC. VA	6838 6838	R
EASTERSEALS UCP NORTH CAROLINA &V CA	LARDINAL LIGITPOINTS	18 18 18 18 18 18 18 18 18 18 18 18 18 1
SA VA	ANDHELS AND	20 12 13 13 14 15 15 15 15 15 15 15 15 15 15 15 15 15
IMPRET OF THE PERDMONT INC. CA	CARDINIL CARDINIL	
ASSOCIATE HOME & COMMUNITY MEXICOLS CA	AND NA	10. 10. 10. 10. 10. 10. 10. 10. 10. 10.
ANIANA PROVINCION AND RECOVERY CENT ALL	NUMBER CARDON	
PA 34	PARTNERS LANDHILLS	1
AUTOM SERVICES OF MEDILENBURS COUN ALL	KANA NUMBER	TAME TAME TO BE TAME TAME TAME TAME TAME TAME TAME TAM
AVERY COUNTY GROUP HOME VA	ANA ANA	DAR
BENEATH COUNTY DEVELOPMENTS, CITY THE BENEATH HOUSE CASE MANAGEMENT THE	PERSON	98. 98. 98. 98. 98. 98. 98. 98. 98. 98.
CHRANIUS COUNTY GROUP HOMES INC. AU	NUANCE	NA N
PA PA	PARTNERS	10 10 10 10 10 10 10 10 10 10 10 10 10 1
CARCULAR RESPONDANCE AND THE SEC	6833	Total Dat
COMMUNITY AUTOMATIVES INCOMPORATE AU	ANDRAU ANDRAU	5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
COMMUNITY LAYING CONCEPTS OF NC PA COMMUNITY DAYING CONCEPTS OF NC PA	ARDNIL	
D D RESIDENTIAL SERVICES INC. CA	AND NAL	58 108 108 108 108 108 108 108 108 108 10
DEFENDED FOR THE SECOND PROPERTY OF T	CANA CANA	
55	IASPPONTS	188 189 189 189 189 189 189 189 189 189
DURHAM COUNTY COMMUNITY UNITED PRO AU ENDY SHIPS USE NO. 8 VS. P.S.	PARTNERS	18 18 18 18 18 18 18 18
EDMANDS COMMUNITY SUPPORT SYCS. AM BUTS CARE SERVICE INC. AM	MANAGE	NA THE REPORT OF THE PROPERTY
GASTON RESIDENTIAL SERVICES INC. PA GROUP HOMES OF FORESTH CA	FARTNERS CARDINAL	18 18 18 18 18 18 18 18
HIGHER HORIZONEAC AU	NAMES .	18 18 18 18 18 18 18 18 18 18 18 18 18 1
HOWELL SUPPORT SERVICES LLC EX	LEITPONTE	52
INNIACH AG	MANAGE	
IQUIDUDO NO TE	PARTNERS	NOT THE THE THE THE THE THE THE THE THE TH
ESSENS UNITYGROUP HOME UC AU	MANAGE MANAGE	100 NO
LUCIUS EINITIONIL INC. TE	HILLIAM	152. 152. 152. 152. 152. 152. 152. 152.
MATERIAN MARKY REPORTS IN THE CAR. ALL MATERIAL COLORY MINISTRACES THE	Market	No.
MONANCH AND AMERICANS INC. AM	NUANCE CARDINAL	
EK PA	LASPPONTS PARTNERS	1
5.6	MADHUS MASS	18 18 18 18 18 18 18 18
MOUNTAIN AREA RESIDENTIAL FACILITIE VA	PROJECT OF THE PROJEC	18.2 18.3
MERCHANISM CUALITY ROAD AU NEW DESTRUKTIONS INC. AU	MANUAL CARDINAL	15 15 15 15 15 15 15 15
CA EX	LASTPONTS	THE
NORTH CAROLINA RECOVERS SUPPORT SEE ALL PRETINES REMOVED AND THE PROPERTY AND THE	NUMBER PARTNERS	5 18 18 18 18 18 18 18 18 18 18 18 18 18
PERSON COUNTY ORDUP HOMES INC. ALL	MAINACE	18
PHORNIX COURSELING CONTEX PA	ANA FARTMEN	May 10 at 10
PITT COUNTY GROUP BOARD FOR MENTALL BAS	LISTPOINTS TRUMM	80. 80. 80. 80. 80. 80. 80. 80. 80. 80.
		198 19
RALPH SCOTT LIPESERVICES INC CA	6888	
RESPONDENCES INC CA MICOURING CONNECTIONS OF DEFENDE AND MICOURING CONNECTIONS OF DEFENDE AND MINISTRATION OF DEFENDE AND MINISTRATION OF DEFENDE AND MINISTRATION OF DEFENDER AND MINISTRATION OF DEFENDER AND MINISTRATION OF DEFENDER AND MINISTRATION OF DEFENDER AND MINISTRATION AND MINISTRATION	MANAGE MANAGE MANAGE	18
RAUPHISCOPT LIPERREVICES INC. CA. PRICOURTY CONSECUTION OF DEPENM. AU RESOURTY ASSESSMENT OF DEPENMENT OF D	MANA MANAGE MANA	
RESPUSSOR LIVERS OF CARACTERS O	CANA MILANCE MILANCE MILANCE MILANCE MILANCE MILANCE CANDINE	8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
RECEIVED CONNECTED INC RECURSIVE CONNECTED IN CONNECTED	CASS SULANCE SULANC	INS DIRE THE THE THE THE THE THE THE THE THE TH
MANDENTIAL SUPPORT SERVICES OF MAK. MENDENTIAL TREATMENT SERVICES CA PA SAM	CARDINAL NUMBER NUMBER CARDINAL PARTNERS INVENTERS	INS DIRE THE THE THE THE THE THE THE THE THE TH
MANDENTIAL SUPPORT SERVICES OF MAK. MENDENTIAL TREATMENT SERVICES CA PA SAM	CARDINAL NUMBER NUMBER CARDINAL PARTNERS INVENTERS	INS DIRE THE THE THE THE THE THE THE THE THE TH
PRINCESTON, SUPPORT SERVICES OF MAK. AM REMODELYTINA, THEATMENT MERIODES AM PA SAM	CANA GUANGER GUANGE	
MANDENTIAL SUPPORT SERVICES OF MAK. MENDENTIAL TREATMENT SERVICES CA PA SAM	CARDINAL NUMBER NUMBER CARDINAL PARTNERS INVENTERS	
MANDENTIAL SUPPORT SERVICES OF MAK. MENDENTIAL TREATMENT SERVICES CA PA SAM	CARDINAL NUMBER NUMBER CARDINAL PARTNERS INVENTERS	
MANDENTIAL SUPPORT SERVICES OF MAK. MENDENTIAL TREATMENT SERVICES CA PA SAM	CARDINAL NUMBER NUMBER CARDINAL PARTNERS INVENTERS	Part
RESIDENTIAL SUPPORT SERVICES OF MAK. RESIDENTIAL THEATMENT SERVICES CA PA SERVICES THE THE THEATMENT SERVICES THE THEATMENT SERVICES THE THE THEATMENT SERVICES THE TH	CARDINAL NUMBER NUMBER CARDINAL PARTNERS INVENTERS	Part
RESIDENTIAL SUPPORT SERVICES OF MAK. RESIDENTIAL THEATMENT SERVICES CA PA SERVICES THE THE THEATMENT SERVICES THE THEATMENT SERVICES THE THE THEATMENT SERVICES THE TH	CARDINAL NUMBER NUMBER CARDINAL PARTNERS INVENTERS	Part
MERCHANTAL SUPPORT MERCIES OF MAK. AU MERCHANTAL SHEATMAN MERCIES. CA PA SAR SAR	CARDINAL NUMBER NUMBER CARDINAL PARTNERS INVENTERS	Part
MERCHANTAL SUPPORT MERCIES OF MAK. AU MERCHANTAL SHEATMAN MERCIES. CA PA SAR SAR	CARDINAL NUMBER NUMBER CARDINAL PARTNERS INVENTERS	Part
MERCHANIA SPECIAL STATES AND ASSESSMENT OF THE SPECIAL	CHESTANE SEMANCE SEMAN	Part
### SECONDO A SE	CHESTANE SEMANCE SEMAN	
MERCHANIA SPECIAL STATES AND ASSESSMENT OF THE SPECIAL	CARDINAL NUMBER NUMBER CARDINAL PARTNERS INVENTERS	Part
SECOND A PRINCE CONTROL CONT	CHESTANE SEMANTE SEMAN	Part
MARKATA MARKAT	EMERICAN MILAMACE MIL	Part
MARKATA MARKAT	CHESTANE SEMANTE SEMAN	Part

AUTHORISENCES INCOMPOSITIO VANS. BARBARA MATTER BARBARA MATT			
ROMORE DEVELOPMENTAL CENTRE INC. TRILLIS, BRUSHY MOUNTAIN GROUP HOMELING. VANA. HEAVENLY PLACE LIC. ALLANGE.	ONT	154 154 154 154 154 154 154 154 154 154	
HEADENLY FLACE LIC ALLESS	M 98.23 59.21 59.23 59.23 501.00 501.00 501.00 501.00 51	185 185 185 185 185 185 185 185 185 185	
THE REPORT OF THE SAME SAME SAME SAME SAME SAME SAME SAM	HILL STAR STAR STAR STAR ST	1	15.0 15.0 15.0 17
THE COUNTY COMMUNITY HEALTH COUNCIL BRITPON LIPERANING ALLIAN	ONTI 571-08 571-08 571-08 571-08 57	1/4 1/4	
VANS.	\$25.00 \$42.00 \$42.00 \$42.00 \$4	160 160 160 160 160 160 160 160 160 160	
CHATHAM COUNTY GROUP HOMES INC AUGUST	NAT SEEDS SEEDS SEEDS SEEDS SE	JARD JARD JARD JARD JARD JARD JARD JARD	
VANA	HLLS	jua	55.00 55.00
SEL CRATCHS SOUTHERS CARDINI SELL CRATCHS INC. AUGUST	NA SCI	150,0 150,0	
NOS ACQUISITION LLC VANA CARGLISAS HOME CARE AGENCY INC BESTFO	90.00 10.00	10 10 10 10 10 10 10 10	
CANODICS INTERPRESES INC. ACCOUNT	NCS \$71.00 \$71.0	1531 1531 1531 1531 1531 1531 1531 1531	
CARDINA RESIDENTIAL MENCES INC. PARTIE	NII 17.00	pa ina ina ina ina ina ina ina ina ina in	
LIFE INC CARDINA VANA	NAL 571-08 571-08 571-08 57		
PATH OF HOPE INC CARDIN	M 918.23 598.21 518.25 598.21 51 NAL	NR NR NR NR NR NR NR NR	
POLHEALTHCAME INC PARTY	955	100 100 100 100 100 100 100 100 100 100	ing ing ing
ROUSES GROUP HOME IT INC CARDINA MAKEN	NAI 571-08 518-29 541-05 541-05 54 HULL 571-08 571-08 571-08 57	ida jina jina jina jina jina jina jina jin	
HOME CARESCULTIONS OF NO. LLC PARTNER MICHANIEL HOMES LLC ALLIAN	en ing ing ing ing in	18. 18. 18. 18. 18. 18. 18. 18. 18. 18.	
CARDINI VANA			
PRANCISM NC EXTRO	ONTE IN STAR IN STAR IN	108 AM 108 108 108 108 108 108 108 108 108 108	
MOPE VALLEY INC. VANS. AGRETHOME LIVING CARE LLC. SANDY		that that that that that that that that	
DITMAND ROUND ONE LLC MARCH	HULL 17-06 17-06 17-08 17-08 17-08	DAR	
Hause of Care Inc. AUGUST UNITED CONSER ENTERPRISES INC. VANS.	ing ing ing ing ing	1/10 1/2	ing ing ing i
THE ASSURE FORES INC. BASING	ONTE STURE STURE STURE STURE ST	Total Tota	586.80 \$86.80 \$86.80
WITH A PURPOSE HAME! CARES WOOD! BRETPO	ONTE \$75.08 \$75.08 \$75.08 \$75.08 \$1	No. 10.1 10.1 10.1 10.1 10.1 10.1 10.1 10	ina ina
PORT HEALTH SERVICES SANSON	HELS 503.00 \$19.00 \$19.00 \$19.00 \$1	105 May 104 104 105 105 105 105 105 105 105 105 105 105	
LAW SENSE HAVEN RESIDENTIAL HOME SEN VANS	M 50700 50700 50700 50700 50		\$28M \$2M00 \$2M00 \$
ONE ON ONE CAME INC PARTIES GUARDAN ANGEL HERUTHCARE LLC CAMER	MAL .	THE	
BAGLE HEALTHCARE SERVICES INC. ALLANY	KG C	Disk that the the the the the the the the the th	
BUILDING OPPORTANTISTING VANA DRUMS CARE HOMES LIC CARDIN	ing ing ing ing in	ina ina ina ina ina ina ina ina	
MAKES LLC OF ROWAN SANDHAY MAKEN CITATING FOR THE HANDICAPPED VANA.	161.00 161.00 161.00 161.00	שהון שהון שהון שהון שהון שהון שהון שהון	
CHARACTERISTIC CARDIN	NAL .	NR DR	
THE PARTY AND TH	483 8G	the the the the the the	
ARDIAN PRANTY CARE HOME INC. ALLIANS: ARDIAND HEALTH LIC. PARTIN	CI ITAN ITAN ITAN ITAN ITAN	108_108	
LEGACY HUMAN SERVICES INC CARDIN	NAL	jad ijad. Sado jade jade jade jade jade jade jade jade	
EMETPO' VANA	ONTE	HAM SINCE DATE THE SECOND THE SEC	
MOUNTS GROUP HOME INC MASSES AUTUMN HILLS OF UNMARKED VANA.	MALA SI	No. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10	
THE KIDS WORKSHOP CANDING PARTIES	NEL	ING	
MERODIA CHARLESTIC CANDING	NEL OM		
STACYVIE DAVENPORT-BAIRD BASEPOI BASTERSBALL UCP NORTH CAROLINA &V ALLIAN	ONTE STOR STOR STOR STOR ST		15.0 (5.0 (5.0
EASTPC	NAI 56105 56105 56105 56105 56 ONTE 571-08 571-08 571-08 57	1605 1506	
SANCH	ex	16.4 16.4 16.5	\$10.00 \$86.00 \$86.00 \$ \$70.00 \$70.00 \$70.00 \$
WANA TRILLIA	ing ing ing ing ing	15 48 15 4	554 554 554 5
MELBOD CENTERS FOR WELLBEING ALLIANS	903 903		\$161.51 \$161.51 \$161.50 \$
CARDIN	NAL \$130.00 \$130.00 \$120.00 \$120.00 \$12	THE PARK THE THE P	510.31 510.31 510.31 SI
IMPRET OF THE PROMONTING CARDING PARTY.	NAL STARK STARK SOLEN STARK ST	THAN IN AN I	
SHINELESHTING EASTPOY CARCUNA PRINT RESIDENTIAL LIC ALLIAN	ONTE	96.0 (86.0 (
THE ARE DAVIDSON COUNTY INC CARDING PARTIES	NAL SELON SELON SELON SELON SE	2	55.48 55.48
388040	MLIS	pa in a in	55.46 55.46
THE ARE OF HAVMOOD COUNTY INC. VAVA. A HELPING HAND OF WILMINGTON LIC. TRILLIU	\$69.00 \$69.00 \$69.00 \$69.00 \$6 104 \$29.38 \$28.38 \$28.38 \$0 105 \$60.00	1.00 1.00	
ANIANA PREVENTION AND RECOVER CENT ALLIANCE CARDIN	NO. SI	54.0 54.0	\$86.00
ARCHINAYCOUNSELING PARTNE	1983 (198.00 SNL00	Mg.	
RANAT COMMUNITY HEALTHCARE ALLIANC CARDS	NA 328.38	NA N	
CHARLES COMMENCES INC. SAMEN	MILES STREET STREET		444.4
CARDIN	COUNTY 5 100 100 100 100 100 100 100 100 100 1		
COMMUNITY BASED DEVELOPMENTAL SERVICION	M 120.28 120.28 120.28 120.28 12		
DAVIMANK RECOVERY SERVICES INC CARDINA PARTIAL			
SAADHP VANS	NAL 50846 50846 50846 50846 508 0875 53620 536.00 536.00 536.00 53	18 18 18 18 18 18 18 18 18 18 18 18 18 1	
	NAL 50846 50	18 18 18 18 18 18 18 18 18 18 18 18 18 1	\$21.26 \$21.26 \$21.26 \$60.00 \$36.00 \$36.00
EDWARDS ASSESSMENTS AND COUNSELING CARDING	NNL 50EA6 50	3	\$28.26 \$28.26 \$28.26 \$80.00 \$86.00 \$86.00 \$28.18
EDWARD AMERIMANTI AND COUNSELING CARDS ELECTION	NCS 529-28 529-28 529-28 52	4 5 6 6 7 6 7 6 7 6 7 6 7 6 7 6 7 6 7 6 7	\$23.26 \$33.26 \$21.29 ; \$60.00 \$56.00 \$56.00 ;
EDWARDS AMERICAN METALES TRUES EDWARDS AMERICANNS AND COUNSELING CARDS TRUES ENTERO AMERICA EMPLOYEE CARE SERVICE INC. AMANON AMERICAN AMER	NCS 529-28 529-28 529-28 52		\$28.26 \$33.26 \$23.26 \$60.00 \$86.00 \$86.00 \$28.28
EDWARD AMERIKANTI AND COUNTERNO CAMBINE DE SENTENCE DE			528.26 538.26 528.28 1 580.00 580.00 580.00 1 520.28
ENGANCIA GARAGAMI MERCES ENGANCIA GARAGAMI TA AND COUNSELING CAMON ENGANCIA GARAGAMI TA AND COUNSELING ENGANCIA GARAGAMI ENGAN GARAGAMI TA COUNTER CAMON ENGAN GARAGAMI TA COUNTER CAMON FANDAL TERRO ENGANCIA DA CAMON FANDAL TERRO ENGANCIA FANDAL TERRO F			\$28.26 \$38.26 \$21.26 \$ \$80.00 \$80.00 \$80.00 \$ \$20.38
DEPARTMENT AREA CONSTRUCTS THOSE STRANGES AREA CAMERA CAMERA STRANGES AREA CAMERA CAME			\$23.30 \$23.30 \$23.20 \$ \$60.00 \$30.00 \$0.00 \$ \$29.30 \$ \$50.00 \$50.00 \$
EMPLOYMENT AND CONCESS TO THE CONCES			\$23.36 \$32.26 \$52.28 \$1.50 \$1.
The state of the			\$13.00 \$31.00 \$57.30 \$60.00 \$18.00 \$18.00 \$78.00 \$18.00 \$78.00 \$18.00 \$78.00 \$18.00 \$80.00 \$18.00 \$18.00 \$18.00 \$18.00 \$18.00 \$18.00 \$18.00
THE STATE OF THE S			\$23.28 \$32.28 \$22.28 \$25.28 \$2
The Content			\$1.00 \$1.00
The content of the			10.3 10.2 10.3 1 10.3 10.
1			
ACT ACT ACT ACT	100 100	Fig.	\$1.00 \$1.00
Commence	100 100	Fig.	51.8 52.8
ACCOUNTS	100 100	Fig.	13.8 13.8 14.8
Commence of MICH No. No. Commence of MICH No. No	100 100	Fig.	10.00 10.0
ACTION A	100 100	Fig.	SLIP SLIP SLIP
The control of the	100 100	Fig.	\$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00
ACTION A	100 100	Fig.	10.00 10.0
The control of the	1	Parish region Parish regio	\$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00
April 1997 Apr	1	Parish region Parish regio	\$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00 \$00.00
Column	1	Parish region Parish regio	SECURE S
Comment			\$65.00 \$60.00 \$60.00 \$ \$60.00 \$60.00 \$60.00 \$ \$60.00 \$80.00 \$ \$60.00 \$80.00 \$80.00 \$ \$20.00 \$80.00 \$80.00 \$
The control of the			\$65.00 \$60.00 \$60.00 \$ \$60.00 \$60.00 \$60.00 \$ \$60.00 \$80.00 \$ \$60.00 \$80.00 \$80.00 \$ \$20.00 \$80.00 \$80.00 \$
Comment	1	Parish range ran	\$65.00 \$60.00 \$60.00 \$ \$60.00 \$60.00 \$60.00 \$ \$60.00 \$80.00 \$ \$60.00 \$80.00 \$80.00 \$ \$20.00 \$80.00 \$80.00 \$
The control of the	1	Parish range ran	564.06 562.05 562.05 563.05 5
Comment	1	Parish range ran	564.06 562.05 562.05 563.05 5
The control of the	1	**************************************	564.00 500.00 5
ACT ACT ACT ACT ACT	1	**************************************	564.00 500.00 5
The control of the	1	Parish region Parish regio	564.06 562.05 562.05 563.05 5
ACT	1	Parish region Parish regio	SAM
ACT	1	Paris and transfer Paris a	SAM
ACT ACT ACT ACT ACT	100 100	**************************************	SAM
Column C	100 100	Fig.	SEA
Comment Comm	100 100	Fig.	SEA
ACT ACT ACT ACT ACT	100 100	Fig.	SAM
ACT	100 100	Fig.	100.00 1
The control of the	1	Part also a part a pa	Sec.
ACT	1	State Stat	March Marc
ACT	1		March Marc
ACT	1	State Stat	March Marc

	as, years
TRUE MADE Grove Therapy Indi-mult MCGECO CENTERS FOR MEDIESING PARTNERS VANS COUNTY OF JOHNSTON SOUTH CARCURAL AUGUSTS	- 150 Me 100 Me
CONTROL OF STREET STREET, CARCING AMERICA STREET, CARC	52
PREMIUM SEASONOMI PEATH MORAGE PARTIES. THE MINTAL PREMIUM DISC. PARTIES.	12. 12. 12. 13. 14. 14. 14. 14. 14. 14. 14. 14. 14. 14
A CANNO ALTERNATIVE LIC PARTNERS CLAY WILSON & ASSOCIATES PARTNERS	1
ENAMENTALISMENT INFOCUSC MADELLA FOR MALTE INFOCUS INC U.C. MATERIAL SPICIALISMENT INFOCUS INC. MADELLA	18. 18. 18. 18. 18. 18. 18. 18. 18. 18.
VOCA COMPONATION OF NORTH CANCERN PARTNERS	S
COMMUNEY ACTION TO COMMUNEY ACTION OF COMMUNICATION	100 100 100 100 100 100 100 100 100 100
BANKT COMMUNITY HER LINCAME ALLIANCE CANODINE OF THE LINCAME ALLIANCE CHAPTERS OF THE CANODINE C	19
COMMAN SOUTHERSTERN LIMITED CARE BEATFORN'S TREATMENT	19.3 18.4 18.5
COLUMNY OF CATAVARA OFFICE OF ACCOUNT PARTNERS CLAMBERANC COUNTY HOWERS ACCOUNT PARTNERS DAMMARK RECOVERY HOW COLUMN ACCOUNTY AMAZONE RECOVERY HOW COLUMN ACCOUNTY	
CARDINAL PARTNERS	848 848 848 848 848 848 848 848 848 848
DRIAMPROVIDERCARE MENICES TREATMEN	13.1 13.1 13.1 13.1 13.1 13.1 13.1 13.1
PARKY PRESERVED SERVICES OF NC PARTNERS	50.2 50.2 50.2 50.2 50.2 50.2 50.2 50.2
PERSONAL PRESCRICTURES INC. ASSAULT INVESTMENT MERCHANIS INC. CARDINAL ASSAULT ASSAUL	
PARTMERS VALUE OF THE	1 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1
MEDIANCH ALLANCE	NA N
INTERPRETATION AND A SERVICE PAGE. MERCHAN EN PRESENTAL MERCHANDERS CERT. MANNAGE MANNAGE CARDINAL BEFFORT PARTMEN MORPHILE MORP	1
SANDHILIS TRIGGEM	151
OCTOBER ROAD INC. VANS. OCTOBER ROAD INC. VANS. OUTBACK HANDAGEMENT SERVICES PARTNERS	5 3 4 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5
PROTESTAL BEING CORNEL HEALTH MISSING PROTESTAL PROCESSOR ALLEGACE FOR MINISTER MINISTER PROCESSOR.	1
PROGRAMMODICATION OF THE PROGRAMMODIC CAMBRILL EXPENSES.	is han is
SANDHELS VASS	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
SECURIOS RESCURES FOR CONSUMERS IN AUGUSTES SOUTHWEST RESURFACE	15. The state of t
SUPPORT INCORPORATIO PARTNERS THE MESTAL PRINTED THE PARTNERS THE PARTNERS PARTNERS THE PARTNERS PARTN	1
TRANS SERRIFYMENTAL HEALTH CENTER PARTNERS TENTY REHELECKS, HALTHCASE F. CARDINAL	16 16 16 16 16 16 16 16 16 16 16 16 16 1
PRIMARY HEALTH CHOICE INC. BUSINESS BUSINESS	
RIVE SEHAVOREL HERITH NC LLC CARDINAL EXPRONTS	1 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1
SACHELIS TRUMPOLISTICS AND ADDRESS AND ADD	1 1 1 1 1 1 1 1 1 1
MORNE CLINIC OF PERSON NAMED VANA	8 10 10 10 10 10 10 10 10 10 10 10 10 10
MORRE CURIC OF NORTH RELEIGH ALLANCE CARDINAL VALUE BETTTORRE OF	
EMIFORNII VANA	100 M
PREEDOM/HOUSE RECOVERY CENTER INC. ALLIANCE CARDINAL VANA.	INS. INS. INS. INS. INS. INS. INS. INS.
SOUTHWAYER SERVICES DE CARDINAL CONTRA HORIZONS CONTRA DE TRAUSA	RAI KAI KAI KAI KAI
BIGGOON GC WASS	5 6 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8
PARKY SERVICE OF THE PERSONN TIME SANDHELS PRIMER THEATMENT SPECIALISTS SIC VANA.	FIG. 1012 1012 1013 1014 1014 1014 1014 1014 1014 1014
A CARROLALISMATINE LLC PARTIERS NG ACQUISITION LLC VAYS	N
ROCKY MOUNT HEATMENT CENTER LLC BESTFORTE	MN MP 167 167 167 167 167 167 167 167 167 167
GARDON FRANKY HIGH THIS TOUR BY THE THIS TOUR THE THIS T	W3 W3 W3 N3
CHIEFMANICOVERY LC CANONILL SANDHULS SANDHULS	
ADDICTION RECOVERY MEDICAL SERVICE CARDINAL	12 13 14 15 15 15 15 15 15 15
PARTIES VANA	102 103 103 103 103 103 103 103 103 103 103
CHOLANGAGA PRAEMENT CINTER OF GREE SANCHELS THE MODES IN CORE MEMORIAL HOSPITAL MANCHELS	
DECEMBER OF THE THEORY CONTROL THE CONTROL	18 18 18 18 18 18 18 18 18 18 18 18 18 1
HILLIANDROUGH RECOVERY SOUTH ON SEC. ACCURACE	
HILLING/REGULER/REGOVER/SIGUETICAS PC. AUGUMANE MORNE CURIO CP ROANDISE RAPIDS PC. CARRONEL TEXTURE	
HELINGERCURENISCOVERY INDUSTRIAN PC. ANALANCE CARRIENAL VANA. MICHIEL CURIC CHI PICANACIE RAPIES PC. CARRIENAL VANA. BILLIE RODG COMMANITY REALTH SERVICE. UNALTRE BURNER WOODERCE PREATMENT PRELIDEN BILLIER RODG COMMANITY REALTH SERVICE. ANALY BURNER SUNER WOODERCE PREATMENT PRELIDEN BILLIER RODG COMMANITY REALTH SERVICE. ANALY BURNER SUNER WOODERCE PREATMENT PRELIDEN BILLIER RODG COMMANITY REALTH SERVICE. ANALY BURNER SUNER SUNER SERVICE. ANALY BURNER SUNER SERVICE. ANALY BURNER SERVICE.	15.2 The 15.4 The 15.
HALLMORGUERH MICHARY SCHUTCHON EL ALLANDEZ ALLANDEZ CARROL CONTROLO REPORTO EL CARROLL MARRIE CARROL CONTROLO REPORTO EL CARROLL MARRIE SERVICI CARROLLO REPORTO EL CARROLLO MARRIE SERVICI CARROLLO EL CARROLLO MARRIE SERVICI CARROLLO CONTROLLO CONTROLLO MARRIE SERVICI CARROLLO CONTROLLO CONTROLLO MARRIE SERVICI CARROLLO CONTROLLO CONTROLLO MARRIE CARROLLO CONTROLLO CONTROLLO CONTROLLO MARRIE CARROLLO CONTROLLO CONTROLLO CONTROLLO CONTROLLO MARRIE CARROLLO CONTROLLO CONTROL	15.2 The 15.4 The 15.
HASILINGUIGH MEGANIT GUILLINGUIGH MEGANIT GUILLINGU	1
HARMONE CONTROL OF THE CONTROL OF TH	1
### MARKENSON MA	
MARINGAMON MICHAEL STANDAMON AND AND AND AND AND AND AND AND AND AN	
Marie Mari	
MARKAN AND CONTROL OF AND	
Margin American State Marg	
Marie Annie Anderson (1997) Marie Annie Anni	
Margin and Control of Section Margin and Control of Sectio	
March Marc	
MARINANA MICHAEL MARINAN	
March Marc	
Marie Annie Company (1994) Marie Annie Co	
March Marc	
March Marc	
Marie Mari	- 1
	- 1
	- 1
March Marc	
March Marc	
March Marc	
March Marc	
March Marc	
March Marc	
March Marc	
Marie Mari	
March Marc	
March Marc	
March Marc	

A HEAPING HEAD OF WISAMAGITON LLC. TREMEMA ADVANTAGE BEHENDOM, HEALTHCARE INC. AMILIAA SERVINOWIN SERV. BEVONDE FREE CARDINE DUTHER THANK CARDINE DUTHER THANK CARDINE DUTHER THANK AMANGE CARDINE DUTHER THANK AMANGE		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
BART COMMUNITY HERETY CARE ALLIANCE CARCINE CUTRENOLLE ALLIANCE		103 103 103 103 103 103 103 103 103 103
CAROUNA OUTREADHUC AUGANDS		
CLENTHEST OF NULLC BASEPOINTS	Second	NO TO SEC. THE SEC. SEC. SEC. SEC. SEC. SEC. SEC. SEC
COUNTY OF CASSAGE OFFICE OF ACCOUNT PARTNERS	90.00 (00	87 97
DEFINITION COUNTY HOSPITAL VISTAMI ALLIANCE CARDINAL		18. 18. 18. 18. 18. 18. 18. 18. 18. 18.
PARTIES SANDHUS	\$64.29 \$64.29 \$64.29 \$64.29 \$64.20 \$6	15 No. 15
DRIAMPROVIDERCARE SERVICES TRUMM	\$7.6 \$77.6 \$	7/28 17/28 17/28 17/28 17/29
BASE CARDUNA UNIVERSITY TRISUSM	\$71.00 \$7	SCR DER
CMONS		10.00 [10
PARTIES		
PARKLY WORKS PERCHOLOGICAL CENTER BASEPOINTS	\$77.6 \$77.4 \$77.4 \$77.6	75 176 176 176 176 176 176 176 176 176 176
PELICASHEP HEALTH RESOURCES INC. AUGUSTON INSIGHT HARMY SERVICES INC. CARDINAL	110 150	88 18 18 18 18 18 18 18
PARTNESS TO THE PARTNESS TO TH		
LECHEL COUNSELNG SERVICES INC. TRUSH		90.9
MONANCH ALLANCE	1/2A 1/2A 1/2A 1/2A 1/2A 1/2A 1/2A 1/2A	15 15 15 15 15 15 15 15 15 15 15 15 15 1
EMITPONTE	T 50.0000	145 NAS
SAMEHELS	\$42.9 \$42.9 \$42.9 \$42.0	16.7 16.7 16.7 16.7 16.7 16.7 16.7 16.7
NEW DIMENSION GROUP LLC BASEPOINTS	1 00.00 151.00 1	50 500 500 500 500 500 500 500 500 500
OCTOBERSOND INC VANA	10,008 10,009 1	N N N N N N N N N N N N N N N N N N N
PARTNERS SENSO CONT. PARTNERS PARTNERS	\$12.79 \$16.179 \$16.179 \$16.179 \$16.170	12 13 14 15 15 15 15 15 15 15
PHODING COUNSIDES CHATER PARTIES PHOSCION ALLIANCE FOR MINITAL HEALT TRELIEM		
FINA HEALTH SERVICES INC CARDINAL EXEMPOINTS	564.30 564.30 564.30 564.30 564.30 564.30 564.30 564.30 564.30 564.30 564.30 72 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
SANDHLIS VANA	\$99.80 \$98.90 \$98.90 \$98.90 \$97.40 \$9	78 (88) (88) (88) (88) (89) (89) (89) (89
SECURING RESOURCES FOR CONSUMERS IN ALLIANCE		SALE SOLE SOLE SOLE SOLE SOLE SOLE SOLE SO
MER CONCEPTS CENTER COUNTRIES PARTNERS	56129 56129	IA MA
SOUTHURST HEALTHCARE ALLANCE		NO REST REST. NO. REST. REST
SUPPORT INCORPORATED PARTNERS	91. 10. 10. 10. 10. 10. 10. 10. 10. 10. 1	12 15 15 15 15 15 15 15 15 15 15 15 15 15
TRINITY BEHEVIORAL HAND NO. CANDINAL		10. 00. 00. 00. 00. 00. 00. 00. 00. 00.
RHA BEHAVIORAL HERITH NC UZ CARDINAL	- 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	No. 1847 1847
SANDHUS	* \$1,000	NAME SALES S
MORNE CLINIC OF ZIELEON ALLANCE	fold state to be to the total state fold state to the total state fold state	
VANCE RECOVERY PC CARDINAL VANCE RECOVERY PC	50.5K 50.5K	AN DAN DAN DAN DAN DAN DAN DAN DAN DAN D
PREEDOM HOUSE RECOVERY CENTER INC. ALLIANCE	March Marc	Mar Mar Mar Mar Mar Ma
ADSTRUMENTARYCES DE CONDUST CONDUST		NE 18E 18E 18E 18E 18E 18E 18E 18E 18E 18
TRECOMMENTY COMMENTY HEALTH COUNCIL SAMPOINTS COMMENT HORIZONS CRAFTE INC. TE	50.78 50.78	N. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
PREMIUM TOURS INC. AUTHORS	\$6.00 \$6.00	86 (88 (88
PERSON CENTERED PARTNERSHIPS INC. CARDINAL RECOVERY INNOVATIONS INC. AUTHORS	SECTION SECTIO	MED MED MED 10.00
WATERIORD HAME CORP. AT	NOW 10.09 10.09 10.09 10.09 10.09 10.09 10.09 10.09 10.09 10.09 10.01 10	567 100 100 100 100 100 100 100 100 100 10
VENNT MEDICAL ORDER LEC. TRULEM	1 100 100 100 100 100 100 100 100 100 1	No. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
BHS XXXX LIC VANA		1.07 1.
NCS ACQUISITION SEC. VANS.	50.42 51.44 51.74 51.76 51.76 51.74	1.05 18.0 18.0 18.0 18.0 18.0 18.0 18.0 18.0
ALMANGA REGIONAL MACTY SERVICES TRUM		10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0
WIPS THEATMENT CONTRIC BEAUTPOINTS	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	\$14.89 \$0.00 \$14.00 \$0.00 \$0.00 \$1.00 \$0.0
TAX HELL HARRY MEN'CELMENTAL HEAL BASTPONTS	1 1008 1019 1018 1018 1018 1018 1018 101	
PORT HEALTH SERVICES EASTPOINTS TREULEM	\$ (50.28) (50.	
ADDICTION RECOVERY MEDICAL SERVICE PARTNERS VANA	\$68.29 \$68.29 \$62.20 \$62.29 \$62.20 \$6	NATA (NATA) (NAT
INTEGRATED CAME OF GREATER HOUGH. PARTNERS	\$61.27 \$66.27 \$66.27 \$66.27 \$66.27 \$66.27 \$66.27 \$66.27 \$66.27 \$66.27 \$66.27 \$66.27 \$66.27 \$66.27 \$66.27 \$66.27	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
CLEY WILLION & ASSOCIATES PARTNERS	561.29 561.29 561.29 561.29 561.29 561.29 561.29 561.29 561.29 561.29 561.29	15 15 15 15 15 15 15 15
ZENTH HOPE CONTROLLS ASSAULT ASSAULT		10. 10. 10. 10. 10. 10. 10. 10. 10. 10.
MAKE HEAD TREATMENT CONTINUES. TREATMENT		10.0F (0.0F
HEMING AUANCE	M.O. M.O. M.O. M.O. M.O. M.O. M.O. M.O.	2 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
PROJECT WESTERNA OF PURPOSE STATE OF STREET		\$16.77 \$16.75 \$16.80 \$1
PRIDE IN NORTH CREATURE TRUSH	SILEY	NO 10.00 10.
	10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0	
COUNTY OF JOHNSTON SCOTT CAROLINA ALLIANCE		100 8101 810 810 810 810 810 810 810 810
HIMPHORES ONLINENS MEDICAL HOMES TRILLIAN COMMITTOR SONNINS WIGHTH CARCELINA, MUNICIPAL A MELPHIS HAND OF WILLIAMOTON LC. TRILLIAN ANNAS PROVENCION AND RECOVER CAND. CARDINIL.	5028 5028 5028 5028 5028 5038 5038 5038 5038 5038 5038 5038 503	NA NA NA NA NA NA NA NA
HARTHORIC CHARREST MEDICAL HORBIT TRUMBA COLARTHORIC CHARLES AND RECOVER CHARLES A HELPHIN HARD OF HEAMMERTON ILC. TRUMBAN ANNOVA PREVISION AND RECOVER CHARLES CARROLLE COPERADO LIC. ANNAVEL DAMMER RECOVER SERVICEINE CARROLL	5028 5028 5028 5028 5028 5038 5038 5038 5038 5038 5038 5038 503	18 18 18 18 18 18 18 18 18 18 18 18 18 1
HEADTHORSE DEUTERS MINICAL FORM I TRUMM COLORYTO PLORISTINS NOTH LARKEN A MUNICAL A MELPINI HAND OF WILLAMSTON LCC. TRUMCH A MELPINI HAND OF WILLAMSTON LCC. BENDARD A PERINATION AND RECOVERY CIRC. CAROLINA COLORIDA COLOR DEUTERS OF THE PROPERTY CIRC. DAVIMANC RECOVERY SERVICES INC. CAROLINA MANDRESS MANDRESS MANDRESS	5028 5028 5028 5028 5028 5038 5038 5038 5038 5038 5038 5038 503	8 8 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9
HEADMANN CONTROL MEMORY MEMORY AND	5028 5028 5028 5028 5028 5038 5038 5038 5038 5038 5038 5038 503	8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8
- HEADTHORIS CHICAGENS AND ALL HERS IN THRUMAN CONTROL OF THE CONT	5028 5028 5028 5028 5028 5038 5038 5038 5038 5038 5038 5038 503	8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8
JAMESTERS CHIEFERS CHIEFERS ABBIECTA SERVICE S	5028 5028 5028 5028 5028 5038 5038 5038 5038 5038 5038 5038 503	1
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH	NOT	Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH	NOT	Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH	NOT	4
MARTHER STATE MARTHER STATE MARTHER STATE	NOT	
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH	NOT	. R
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH	NOT	
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH	NOT	
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH	NOT	
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH	NOT	48 10 10 10 10 10 10 10 10 10 10 10 10 10
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH	NOT	48 10 10 10 10 10 10 10 10 10 10 10 10 10
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH	NOT	
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH	NOT	4 6 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH	NOT	4 6 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH	NOT	4 6 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH		
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH		
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY AND THE COMMUNICATIVE OF THE CARE OF TH		
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR		
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR		
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR		
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR	The content of the	
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR	The content of the	
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR	The content of the	
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR	The content of the	
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR		
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR		Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR		
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTON PARKET PROVIDER STRUCKES OF THE OWNER PROVIDER TO PARKET STRUCKES OF THE OWNER TO PARKET STRUCKES		Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTON PARKET PROVIDER STRUCKES OF THE OWNER PROVIDER TO PARKET STRUCKES OF THE OWNER TO PARKET STRUCKES		Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTON PARKET PROVIDER STRUCKES OF THE OWNER PROVIDER TO PARKET STRUCKES OF THE OWNER TO PARKET STRUCKES		Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTON PARKET PROVIDER STRUCKES OF THE OWNER PROVIDER TO PARKET STRUCKES OF THE OWNER TO PARKET STRUCKES		Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTON PARKET PROVIDER STRUCKES OF THE OWNER PROVIDER TO PARKET STRUCKES OF THE OWNER TO PARKET STRUCKES		Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTON PARKET PROVIDER STRUCKES OF THE OWNER PROVIDER TO PARKET STRUCKES OF THE OWNER TO PARKET STRUCKES		Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTON PARKET PROVIDER STRUCKES OF THE OWNER PROVIDER TO PARKET STRUCKES OF THE OWNER TO PARKET STRUCKES		Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTON PARKET PROVIDER STRUCKES OF THE OWNER PROVIDER TO PARKET STRUCKES OF THE OWNER TO PARKET STRUCKES	The section of the	Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTON PARKET PROVIDER STRUCKES OF THE OWNER PROVIDER TO PARKET STRUCKES OF THE OWNER TO PARKET STRUCKES	The section of the	Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTON PARKET PROVIDER STRUCKES OF THE OWNER PROVIDER TO PARKET STRUCKES OF THE OWNER TO PARKET STRUCKES	The content of the	Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR	The content of the	Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR	The content of the	Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR	The content of the	Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR	The content of the	Part
DREAMPROVIDER CARE MENVICES OF THEOLOGY PROVIDER CARE MENVICES OF THEOLOGY PROVIDER COMMUNICATIVE WICES OF CARESTAL PARKET PROVIDER STRUCKES OF THE VARIA PROVIDER TO PARKET STRUCKES OF THE VARIANCE STR	The section of the	Part

Column
Column
Column
The state of the
Company
The state The
The state The
The state The
The content with the
The content with the
Part
State Stat
State Stat
State Stat
Fig. 1 Sept.
Fig. 1 Sept.
State Stat
Part
Feel Proper land with the prop
Part
Part
Part
Feel Property and the p
Feel Property and the p
Fig. 18 1
Fig. 18 1
Fig. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.
See
See Proper land with a proper la
See Proper land with a proper la
Part
State Stat
State Stat
State Stat
State Stat
Fig. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.
Feel Proper les of the proper
State Stat
State Stat
State Stat
State Stat
State Stat
State Stat
State Stat
State Stat
Part
Part
State Stat
State Stat
State Stat
Part
Part
Part
State Stat
State Stat
State Stat
State Stat
State Stat
State Stat
A REAL PROPER PR
2006 2
2006 2
STATE STAT
The control of the
NROPE APPENDENT NR. 1878 1878 1878 1878 1878 1878 1878 187
The control of the

TO-HIGHER SERVICE MERCHAN SERVICE SERV		
INDERSONAL GROUP LLC ROLL SELL THE REPORTS OF THE THORN THE SELL THE REPORTS OF THE THORN THE REPORT OF THE REPORTS FROM SHIP CONTROL THE REPORT OF THE PROBLEM HOUSE AND RECOVERY CENTER FOR COMMISSE HOUSE CONTROL FOR	OCB VANS	(5), 776M
TOWARD THE MENT AND A SEASTH CENTER FOR REMOVABLE HEALTH ACTUR. FREEDOM HOUSE SEATTH ON CONTRACTOR TO CONTRACTOR	SAITFORTS	
PRESIDENT HOUSE RECOVERY CENTER INC COMMAN HOUSE RECOVERY CENTER INC	CER SANDHELS	No.
	INC CAMBRIA	50
	TRILLIAM	100 100 100 100 100 100 100 100 100 100
MANAGEMENT COMPANY	TRILLIAN	
NOUTH-FOCUS INC	SANDHUS AUGUST	See
COMMUNITY SUPPORT AGENCY LIC	EASTFORTS	100 101 101 101 100 100 100 100 100 100
PRODUCES PARKET SERVICES OF NO. IIC.	E SANDHUS	ionen innan franc innan franc innan
GETTING READY INC	BASPONTS	The control of the
INTERNAL CONTROLLER V	BASPONTS	The control of the
PRIOR IN NORTH CAROUNALUC	AUANCE	THE
- Businesses CONSTAL SOUTHERSTERN UNITED CARE	RE TELLEM	SHE
DAVIMMENT COUNTY CONTROL WITH	CARDINAL	Thin Share Thi
	SANDHELS	16.6 16.6
BAST CAMOUSA UNIVERSITY	TELLIAM	
WINDOW BRIDGE HOLD THE THEREOF	ECES VANA	50 10 10 10 10 10 10 10 10 10 10 10 10 10
MONANCH	CARDINAL	DAIN PAT DAIN TO BAN TO THE DAIN TO THE DA
	PARTMIRS	
OCTOMER BOAD (NC	VANS	1884 [1884] 1875. [1875] 1875
PROTEST SEALONG CONTEST	PARTMEN	
PHYSICIAN ALLIANCE FOR MENCAL HEALT WHA HEALTH SERVICES INC	VANA VANA	1.5
TRINITY BEHAVIORAL HEALTHCARD PC UNIVERSITY OF SCREEN CARDUNIA AT CH	CHB ALLANCE	
WHOSE BEHAVIORAL HEALTH SERVICES L.	EXITFORMS	TERM
PRESDOM HOUSE RECOVERY CENTER INC	CAMBINAL CAMBINAL	
ALCOHOLANDONIA MENCEL OF GLESS	AUANCE MPC MARRIES	58 18 18 18 18 18 18 18 18 18 18 18 18 18
METRO TREATMENT OF NORTH CARDUNAL PROFESSION OF DAYMAKK RECOVERY SERVICES INC.	CARDINAL CARDINAL	
	SAMBHUS	15 15 15 15 15 15 15 15
EL PUTURO	AUGANCE	
MINIONA BEHAVORAL HEALTH SERVICE MONARCH	ALLANCE CAMDINAL PARTNERS	No. 16.1 No.
	PARTNERS	
PRETNERS BEHAVIORAL HEALTH MISSING	SANDHUS SAG PARTMES	
RIA HEALTH SERVICES INC	CANDINIAL	124 124
TRINITY BEHELVORS, HISLOYCASE FC. PRIEDOM HOUSE RECOVERY CENTER INC.	INC CAMBINIST	Total State
NOUTHWAVEN SERVICES INC. RECOVERY INNOVATIONS INC.	AUJANCE	201 EN
BLUE RIDGE COMMUNITY HEALTH SERVIC	TANA TANA	123 123 123 123 123 123 123 123 123 123
EXCONSISTANTIAND ASSOCIATIONS	TRIMINA DE AMARIE	20 Nr 10 Nr
COUNTY OF PERSON OFFICE OF COUNTY	NTYF CAMBRILL	11.2 12.2 13.2 13.2 13.2 13.2 13.2 13.2
DURANNESCHANGE CLUB INDUSTRIES P	VANS ES INC. AGUANCE	\$\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
IMPLOYMENT ICHRICATOR IRANI WORTHAM CENTER INC	VANA	No.
JOHNSTON COUNTY INDUSTRIES INC	AMANCE SECTION TO	10.2 10.1 10.2 10.2 10.2 10.3
MONARCH	SANDHUS	18.1 18.1
NESS INTERPRISE INC	SAMPHUS SAMPONTS	13. 18. 18. 18. 18. 18. 18. 18. 18. 18. 18
OR ENTERPRESES INC	CAMBINAL	
THE THE PERSON NAMED IN COLUMN	MANERIUS PARTNERS	
MADOSPHYOCATIONAL WORKSHOP NO	PINC MARRIES	
TRANSPORTATION A VOCATION ASSESSED.	ESIS VANS	18
	CARDINAL	
WATER THE STATE OF	SANDHUS	12 13 14 15 15 15 15 15 15 15
MATAURA OPPORTUNITIES INC.	VANA	10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0
LIPERPAN INC	PARTNERS SAMPARIA	No. 1
COMMUNITY PRATICIONAL INC.	ALIANCE	13
	CARDINAL	12.5 12.5
LIST COLONTY INDUSTRIES INC.	SANDHUS SANDHUS	18
BASTERSBALS UCP NORTH CAROLINE & V	AUANCE CARDON	
	SANDHILIS	10. 10. 10. 10. 10. 10. 10. 10. 10. 10.
BASTIANT CARDUNA VOCATORAL CINT	INTER TRUMM	10. 10. 10. 10. 10. 10. 10. 10. 10. 10.
Vacabonal Sue WATAUSA OFFORTUNITIES INC	VANA	GLI The life has
ADVIANTAGE BEHEVICENS, HEALTHCARE)	MUNICIPALITY ON THE	THE THE TOTAL THE WAY THE
DAMMAK RECOVERY SERVICES INC	VAVA	THE LIFE HER THE L
INTEGRATED PARKET SERVICES PLAC	TRANSM	
NEW DAMINGON GROUP LIC	SAITFORTS	EG.
MANAGEMENT COME PA	MATPONTS.	the fire fire fire fire fire fire fire fir
	TRANSM	No. 160 No. 16
GETTING READY INC.	SALTFORMS SALTFORMS	
ARTHUR PROPERTY AND ARTHUR	PARTNESS NO. PARTNESS	18 18 18 18 18 18 18 18
PHOSINX COURSEUNG CENTER EXTERNAL COURSEUNG CENTER	PARTNERS CARDINAL	NO. 1042 1042 1043 1043 1043 1043 1043 1043 1043 1043
HOLLY MELHOPITALISC	AUGANCE	No. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
Databas microsom manora,	CARDINAL	NT N
	PARTNERS	No.
INTERNATIONAL SERVICE CO.	VANA	No.
MONANCY	TREUEM	No. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
PROTECTION OF STREET PROTECTS	NAC PARTNERS	
FOR HEALTH SERVICES INC	PARTERS VANA	
Tal 1810	TRILLIAM	Na
VANA HEALTH	VANA	
PRESIDENT HOUSE RECOVERY CENTER INC	INC AUDANCE	12 13 14 15 15 15 15 15 15 15
NAME AND ADDRESS OF THE PARTY O	VANA	
NOSACQUIRMANITY	SANDHUS VANS	1
BASTIS SEAS UCP NORTH CAROLINA BY	AUANTY	10 10 10 10 10 10 10 10 10 10 10 10 10 1
TRANSPORT OF THE PARTY OF THE P	SANDHUS	100 100 100 100 100 100 100 100 100 100
YOUTHVILLAGES INC	AUJANCE SANDARYA	101 May 101 Ma
HARRIST BANKS LIC	ALIANCE SAV ALIANCE	No. 10. 20. 20. 20. 20. 20. 20. 20. 20. 20. 2
MINISTER OF STREET	SHIPPONTS ALLEGE	No. No. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
Medical Del ADDICTION RECOVERY CARE ASSOCIATIO	NTION CARDINAL PARTNERS	
CUMBRUMDCOUNTY HOWING WATER	VANA VANA	
MONANCH	EASTPOINTS CAMPINAL	10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0
RESIDENTIAL TRANSPORT SERVICES	VANA APE AUGANITE	0. 1
MINISTRAL PRACTICAL MINISTRAL MINISTRAL LINUS STATEMENT MINISTRAL LINUS	CANDINAL	
MANDESTAL TRACTIONS MERCEL MAN MANUS MERCELING UNIVERSITY OF NC HOSPITALS AT OMPE MEGGETT MANDA MEGALING	AUIANCE	INST NOT NOT NOT NOT NOT NOT NOT NOT NOT NO
PRODUCTION TRANSPORT SEPONDS BRO MEDICE SEPONDS LEVERSTY ON HOSPIT MALKET CHAPE PRODUCTION TO MODERNIA AT CHAPE PRODUCTION TO MODERNIA AT CHAPE PRODUCTION TO MODERNIA COLOR BRANT COMMUNITY HEALTH CARE BRANT COMMUNITY HEALTH CARE	VANA	
RESIDENTIAL TRAINING MERICES REAL-RESIDENTIAL REPORTED INC. UNIVERTITY OF RECORDING. DESCRIPTION OF REPORTED AT COMPETENCIAL OF COMPETENCIAL		No.
AND STATE OF THE PARTY OF THE P	PARTNERS VANA	
AND STREET, AND	PARTNERS VANA VANA	
ASSOCIATION THROUGH AND ASSOCIATION AND ASSO	PARTMENS VANA VANA PARTMENS AND PARTMENS COMPANY	No. No. 10. No
RESIDENCE MERCHAN TRECKS. Residence Residence and Control Residen	PARTIESS VANS VANS VANS VANS AGAINACE CARDINAL BASIFONIS	May
MISSION STATEMENT MISSION MISS	PARTIES VANS VANS VANS PARTIES AUGUST CARDING CARDING UANS VANS VANS VANS	100 100 100 100 100 100 100 100 100 100
MINISTRUMENTS, MARKARIST, MINISTRUMENTS, MARKARIST, MAR	PATTIETS VASS VASS VASS AUGMENT AUGMENT AUGMENT AUGMENT VASS AUGMET AUGM	No. 1/2
MINISTRUM, MARINER MERCEL AND	PATTHERS VASS VASS VASS VASS AGAINANCE CARRINGE VASS VASS AGAINANCE CARRINGE VASS AGAINANCE CARRINGE C	No. 1/2
MISSINGLE MANIMATINE MERCEL MAN AND PROPERTY MANIMATINE MERCEL MISSINGLE MANIMATINE MANIMATINE MANIMATINE MISSINGLE MANIMATINE MANIMATINE MISSINGLE MANIMATINE MANIMATINE MISSINGLE MANIMATINE MANIMATINE MISSINGLE MISSINGLE MANIMATINE M	PARTNERS VASS VASS VASS VASS AGRANCE CARRINGE VASS VASS VASS ALLANCE CARRINGE VASS ALLANCE CARRINGE CARRINGE VASS ALLANCE CARRINGE CARRIN	100 100 100 100 100 100 100 100 100 100

Opined Treatment	VANCERICOVERY PC COMMA HORIZONS CENTER INC.	VANS. TRILLIAM	10, 10,
	PREMIUS TREATMENT SPECIALISTS LIC	VASA PARTNIKS	
	BHG XXXVII LIC ROCKY MOUNT TRIATMENT CENTER LLC	VANA EASTPOINTS	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	LUMBERTON TREATMENT CENTER LIC	TRUM	
	MPS TREATMENT CENTER CHATHAMASCOVERY MC	EXEMPOINTS CANDINAL	18. 18. 18. 18. 18. 18. 18. 18. 18. 18.
	Macine	VANA TRUMM	13. 13. 13. 13. 13. 13. 13. 13. 13. 13.
	PORTHELETHISENICES	BASTPONTS TRUUM	
	ALUCTION NECOTION ORDERS SERVER	PARTNERS VANA	No. 100 100 100 100 100 100 100 100 100 10
	STEPPING STONE OF NORTH CARDUNA CROSSROADS TREATMENT CENTER OF ME CROSSROADS TREATMENT CENTER OF ME	WAYA VANA	160 100 100 100 100 100 100 100 100 100
		AWAY AWAYATTA AWAYATTA	155 155 155 155 155 155 155 155 155 155
	INCREMENTAL TRANSPORT CONTR.	TRUUM TRUUM	
	HELSBOROUGH RECOVERY SOLUTIONS PO	PC ALLANCE CARDINEL VANS	
	MORSE CLINIC OF ROANGKE RAPIDS PC	CARDINAL	50 W W W W W W W W W W W W W W W W W W W
	MACHINE COMES WOODS DE TREATMENT	SASTMUS ST EXITFORMS TRILLIAM	MA 10A 10A 10A 10A 10A 10A 10A 10A 10A 10
	REPLECTIONS OF HOPELLP ZENITH HOPE CENTER LLC	TRUM TRUM ALLANCE CARDINAL TRUM ANDRELL TRUM AMARKELL	106 106 106 106 106 106 106 106 106 106
	NAME HAD THEATMENT CONTRICUC SAMPOND THEATMENT CONTRICUC	SANDHUS	HE RE IN 18 18 18 18 18 18 18 18 18 18 18 18 18
	THEATMENT CENTERS LLC ATE OF NORTH CAROLINA LLC	TRUUM	1
	THE STATE OF THE ATTENTION OF THE STATE SIZE AND THE STATEMENT CHARTE SIZE AND THE STATEMENT CHARTE SIZE AND THE STATEMENT CHARTE SIZE ATT OF NOTHIN CHARTES SIZE ATT OF NOTHIN CHARTES SIZE ATT OF NOTHIN CHARTES SIZE ATT OF STATEMENT CHARTES SIZE ADDITION OF STATEMENT CHARTES SIZE AND THE STATEMENT CHARTES SI	PARTNERS SAMPHEES	
	HEMING	AUANCE AUANCE	No. No.
	ALCOHOL AND DRUG MEN COS OF GLOCO WILLIAM WALL TREATMENT CONTINUE	EXTRONT O MADHUS C AMARCS	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	MOJECO CENTERS FOR WELLBEING	C ASSESSED ASSESSED ASSESSED PARTNERS	1
			HE THE THE THE THE THE THE THE THE THE T
Outset ent DET forweit	MORNE CURNIC OF DURNAMPS: GREENVILLE TREATMENT CENTER LLC. CARDUNA OUTREACH LLC.	TESUSM	184 184 185 185 185 185 185 185 185 185 185 185
	PELOWINE HEALTH RESOURCES INC. MICHAELIN	AUANCE	NAME NAME NAME NAME NAME NAME NAME NAME
Outsatient DET Enderduit	TURNING POINT FAMILY CARE LLC CAROLINA CUTREROH LLC	PARTNERS VANA ALLANCE TEMPORE ALLANCE ALLANCE ALLANCE ALLANCE ALLANCE ALLANCE ALLANCE	
	MONANCH SOUTHWART MANUFICANS	AUGANCE AUGANCE	1004 1005 1005 1005 1005 1005 1005 1005
Per sugar-	TURNING POINT FAMOUR CARE LIC PORT HEALTH MENICES CARTER CLANCE FA	TRUSM EXTRONOM	Str.
	CONTRA COMMANY MINUSELLE CONTRA SOUTHERITEN MITTE CARE	EASTFORTS	
	DAMMAK RECOVERY SERVICES INC	PARTNERS VANS	150 150
	PARKET PRESENTATION SERVICES OF NO.	CANDINAL	501 S01 S01 S01 S02 S03
		PARTNERS SAMPHUS	50 50 50 50 50 50 50 50 50 50 50 50 50 5
	NEW DIMENSION GROUP LLC DURBACH-MANAGEMENT MEXICES PRETABLE SERVICEAL HEALTH MINISTER	PARTNERS O PARTNERS	50 50 50 50 50 50 50 50 50 50 50 50 50 5
	PHOENIX COLAMBIANS CENTER RHA HEALTH SERVICES INC	CARDINAL	No. 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10
	STEPHENS OUTBLACK CENTER INC.		
	ENVERNMENT HERTAND IN	CARDINAL SANDHUS	108 108 108 108 108 108 108 108 108 108
	PRESIDENTAL RECOVER CENTER INC. MATRIMORD PARKET CLINIC PA	EMITPONTS EMITPONTS	102 103 103 103 103 103 103 103 103 103 103
	POJA HEALTHCARE INC DIVIDEN THISSE HEALTHCARE COID	PARTNERS BASPONTS	No No No No No No No No
	CLEY MEACH & MADCIANTS CHANNERS COMMUNITY INC		
Peer support group \$3	DAYMAK RECOVERY SERVICES INC.	NAME OF THE PARTY	187
Peer support group RE	DAYMAK RECOVERY SERVICES INC FAMILY PREMITE TOOK SERVICES OF NO. RIVA HEALTH SERVICES INC	CANDINAL NASA CANDINAL NASA	187 87 87 87 87 87 87 87 87 87 87 87 87 8
Peer support group 83	DAMMAN RECOVERS SERVICES INC. PARKLY PERSON RICH SERVICES OF INC. RIVA BEHAVIORAL HEALTH INC. LC.	CAMBUNIT PANDHITE CAMBUNIT PANDHITE CAMBUNIT CAMBUNIT CAMBUNIT	
Peer Eappoit group IS.	DAYMAKK RECOVERS SERVICES INC	PARTNERS	57. 57. TM SM
Peer support group 83	DAYMAKK RECOVERS SERVICES INC	PARTNERS	57. 57. TM SM
Ресс каррып докор ВЗ	DAYMAKK RECOVERS SERVICES INC	PARTNERS	57. 57. TM SM
Peer support group \$3	DAYMAKK RECOVERS SERVICES INC	PARTNERS	57. 57. TM SM
Peer support group AS	DAYMAKK RECOVERS SERVICES INC	PARTNERS	57. 57. TM SM
Peer rapped group MI	CREAMENT FOR CHARACTER STATES AND COMMAND REQUESTS AND COMMAND REQUESTS AND COMMAND REPORTS OF NO. MERCHAN REPORT OFFICE AND COMMAND REPORT OF NO. MERCHAN REPORT OFFICE AND COMMAND REPORT OF NO. MERCHAN REPORT OFFI AND COMMAND REPORT OF NO. MERCHAN	CARDINEL PARTIES VANS VANS VANS VANS VANS VANS VANS VAN	
Per rugged group 83	CREAMENT FOR CHARACTER STATES AND COMMAND REQUESTS AND COMMAND REQUESTS AND COMMAND REPORTS OF NO. MERCHAN REPORT OFFICE AND COMMAND REPORT OF NO. MERCHAN REPORT OFFICE AND COMMAND REPORT OF NO. MERCHAN REPORT OFFI AND COMMAND REPORT OF NO. MERCHAN	CARDINEL PARTIES VANS VANS VANS VANS VANS VANS VANS VAN	
Per Laggird group RS	CREAMENT FOR CHARACTER STATES AND COMMAND REQUESTS AND COMMAND REQUESTS AND COMMAND REPORTS OF NO. MERCHAN REPORT OFFICE AND COMMAND REPORT OF NO. MERCHAN REPORT OFFICE AND COMMAND REPORT OF NO. MERCHAN REPORT OFFI AND COMMAND REPORT OF NO. MERCHAN	CARDINEL PARTIES VANS VANS VANS VANS VANS VANS VANS VAN	
Per taggird group 83	CHARACTER COMMANDE TO COMMAND TO	CASINNAL PASTARES VANS PASTARES PAST	
Per rapped group 83	CHARACTER COMMANDE TO COMMAND TO	CASINNAL PASTARES VANS PASTARES PAST	
Per cognit group to	CHARACTER COMMANDE TO COMMAND TO	CASINNAL PASTARES VANS PASTARES PAST	
Per a copping group to	CHARACTER COMMANDE TO COMMAND TO	CASINNAL PASTARES VANS PASTARES PAST	
Free copied group to	CHARACTER COMMANDE TO COMMAND TO	CASINNAL PASTARES VANS PASTARES PAST	
The copying group to	CHARACTER COMMANDE TO COMMAND TO	CASINNAL PASTARES VANS PASTARES PAST	
The coupling through the coupling of the coupl	CHARACTER COMMANDE TO COMMAND TO	CASINNAL PASTARES VANS PASTARES PAST	
Personal Association	CHARACTER COMMANDE TO COMMAND TO	CASINNAL PASTARES VANS PASTARES PAST	
Free coupled group to	CHARACTER COMMANDE TO COMMAND TO	CASINNAL PASTARES VANS PASTARES PAST	
Personal date on the	CHARACTER COMMANDE TO COMMAND TO	CASINNAL PASTARES VANS PASTARES PAST	
Para Laguer grape 9	CHARACTER COMMANDE TO COMMAND TO	CASINNAL PASTARES VANS PASTARES PAST	
Face Control of the C	AMERICAN STATE OF THE STATE OF	CAMPAINE	
Feet coupled group \$1.	AMERICAN STATE OF THE STATE OF	CAMPAINE	
For copied pay \$1.	ADMINISTRATION OF THE PROPERTY	CAMPONING CAMP	
Face Copied Strain Stra	ADMINISTRATION OF THE PROPERTY	CAMPONING CAMP	S
Financia and make	ADMINISTRATION OF THE PROPERTY	CAMPONING CAMP	- 1
Personal date with	JOHNS SOURCE STATE OF THE STATE	Joseph	
The support group of the suppo	JOHNS SOURCE STATE OF THE STATE	Joseph	
Personal and make	JOHNS SOURCE STATE OF THE STATE	CAMPONING CAMP	
Face copied gain, all in	JOHNS SOURCE STATE OF THE STATE	Joseph	
The color of party at 1	JOHNS SOURCE STATE OF THE STATE	Joseph	
Fernand and make	JOHNS SOURCE STATE OF THE STATE	Joseph	
Personal data make	JOHNS SOURCE STATE OF THE STATE	Joseph	
The support play at 1	JOHNS SOURCE STATE OF THE STATE	Joseph	
Personal data of the control of the	JOHNS SOURCE STATE OF THE STATE	Joseph	

Ride Made	DO, VIRON
ATRIAN CINTER MARCHAN	
THE ARC OF NORTH CARCURA INC. ALLIANCE	148 148 148 148 148 148 148 148 148 148
TRANSM	Max
THE ENRICHMENT CTR AN APPLICAPT CANDINAL TRANSPORMER VOCATIONAL MEDICES IN VANA.	14
TRIAD ADULT DAY CARE CENTRE INC. MANDHUM. TRIAD COORDINATED MINY CENTRE. MANDHUM.	No.
TURNING POINT MENIORS ALLIANCE PROTINGS	NA NA SAN SAN SAN SAN NA N
VANA	Hen No. 16m
VANA MAAZH WANA	
VIDENCE COMPANIES AND PROPERTY AND PARTYEES	No.
PRIMARY HEALTH CHOICE INC. EMITPOINTS	Re No 160 No No No No No No No N
UNIA SERVICES INC. CARDINAL	No.
VICTOR & MADICIATES INC. SANDHUS	
AUTOMORPHICA SCHOOLS AND AUTOMO	56 56 56 56 56 56 56 56 56 56 56 56 56 5
CARDINIL	is in its is is
PARTMES	NA MA NA MA NA MA NA MA
VANS. TRUSSM	Sec
PRODUCE HOME CARE INC. TRUMM UPERANNING VANA.	An An An An An An An An
SELL CREATIONS INC PARTNERS VANS	No. 164 164 164 165 165 165 165 165 165 165 165 165 165
NO ACQUISITION LIC VANA	No his
CRANGELIA ENTERPRISES INC. AGAINGE	State Stat
CNC-ACCESS INC ALLANCE	No.
EXEMPORTS	No.
VANA	IND SAD IND IND IND IND IND IND IND IND IND IN
A Small Missile Six PARTHERS	No. No. 168 168 168 168 168 168 168 168 168 168
Comprehensive Community Care Inc. ASSANCE PRIMARIES FOR PROPER INC. CARDINAL	M8 148 548 548 548 548 548 548 548 548 548 5
MESCAME PROPESSIONAL SERVICES LLC CANDINAL	jia jia
BUTE CARESERVICES INC. CARDINAL	No.
HAMIN RECORDS UNLIMITED INC. TRUSTM	18 May 18
PARKETS FORT OF NC ICC VANS.	
A CARING HEART CASE MANAGEMENT INC. EASTPOINTS	
PRACTICAL TRUSTAL	BB 168
DIFFERENCE DC VANS	
ABLITES INC BESTPONTE	5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
CONTROL CAMPAGE AND	18 18 18 18 18 18 18 18 18 18 18 18 18 1
PRINCIPLE NO. NAMERICA	18
ACHIEST CASE MINAMENT SERVICES PARTIESS CHARGE AND RESPONDED AND ARMY COM-	18
AROUND HEALTH LIC ALLIANCE EXEMPOINTS	8
PARTIES	148 148
TRUSH	10 10 10 10 10 10 10 10 10 10 10 10 10 1
CHINESE USA CINTER TRUMM	18 18 18 18 18 18 18 18 18 18 18 18 18 1
EDUCASE COMMENTY DAVID COSP SCHOOL EXPRONTE	No No No No No No No No
BASTIRSBALLUP NORTH CAROLINA & V ALLANCE	
CAMDINAL	the time time time time time time time tim
SANDHUS	182 RD 183 RD 18
TRUSH	No.
ABSCARS CORPORATION SANDHUS	NR N
THE ARC OF HEYWOOD COUNTY INC. VANA PSYCHOLOGIC DESIGN WATERSON PARKET CLINIC PA. BESTFORM	18 18 18 18 18 18 18 18 18 18 18 18 18 1
Poulousculitatus terre ADULT LIPE PROBRAMS INC PARTIES ADVANTAGE BEHINDONS, MALTHCARE INC EXCEPTION TO	18 18 18 18 18 18 18 18 18 18 18 18 18 1
CARGUNAL CONTRACOS COLONIALING AND PARTNERS	18 18 18 18 18 18 18 18 18 18 18 18 18 1
VANA.	15 15 15 15 15 15 15 15 15 15 15 15 15 1
CLIN NOVA COMMUNITY INC. ALIANCE	The Part
DWHMAK RECOVERY SEWCESING CARDINAL	8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
DRIAM CONNECTION INC PARTNERS	100 100 100 100 100 100 100 100 100 100
PARTIERS VANS	157 per 158 pe
PRINCIPAL PRINCIPAL REPORTS INC. PARTNERS VANS. PRINCIPAL PRINCIPAL REPORTS INC. AUGMANCE.	5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
PARACYPHERMITETON SERVICES OF NC WAS PERCONOR PARACHER RECURSOR INC ANALYSIS DIMENSION INC ACCOUNTS INC AGAINST COMMENTS.	18 18 18 18 18 18 18 18 18 18 18 18 18 1
PARKEY PRESENT AND SEPCRED OF THE CHARTMEN VANA. PERIODOGY PERIOD RECORDS OF CHARTMEN OF THE	8
PARAMYPHERIEN STOCK SERVICE OF NO. PARTMENT PRESCRIPTOR STOCK SERVICE OF NO. PARTMENT PRESCRIPTOR STOCK SERVICE OF NO. PARTMENT PARTMENT OF NO. PARTMENT OF NO	The Be De
MAINT PRIMERS FOR STROKES OF W. PRETMANS THE STROKES OF THE STROKE	10 10 10 10 10 10 10 10
PARTICIPATION FOR THE PARTICIPATION OF P	The Be De
MAILTON MICHAEL STORM MICHAEL STORM MICHAE	10 10 10 10 10 10 10 10
Marie President (Marie California Californ	10 10 10 10 10 10 10 10
TABLE TABL	*** *** *** *** *** *** *** *** *** **
Table Tabl	*** *** *** *** *** *** *** *** *** **
TAMES TAME	**************************************
Table Tabl	**************************************
March 1999 March 1997 Mar	**************************************
Table Tabl	**************************************
Marie Professor (1997) Control	**************************************
AND TRANSPORTED BY A CONTROL OF THE PROPERTY	**************************************
Marie Professor (1997) Control	**************************************
Marie Profession (Control of Control of Co	- Register and the control of the co
Marie Profession (Control Control Co	- Register and the control of the co
Marie Professor (Marie Carlo	- Register and the control of the co
Table Tabl	- Register and the control of the co
Marie Professor (1997) Marie Professor (19	**************************************
Marie Professor (1970) Marie Professor (19	**************************************
March Professor (April 2000) Control of	**************************************
Marie Professor (1970 Co.) Co.	**************************************
Teach Profession Service Control of Contro	**************************************
Marie Professor (1997)	**************************************
Marie Professor (Marie Control of Control	**************************************
Teach Profession State Control of Control	Part Care Care Care Care Care Care Care Care
Telescope Tele	
Teach Content Conten	
Teach Profession Control of Con	
Teach Process Teach Proces	
Teach Profession Service Control of Contro	
The Committee of	
March Marc	
Telescope Tele	
The content of the	
Teach Production Control of Con	
Telescope Tele	
Text	
AMERICAN CONTROL OF	
March Professor (March 2007)	
AND CONTROL OF CONTR	
Auto-	
Manual Content	
Telescope Tele	
The content of the	
The Company of the	
March Marc	
March Marc	
AND CONTROL OF CONTR	
AND CONTROL OF CONTR	

NAC SANGER CO.	
	Special Control Cont
NEW MICHAELINGS CURLITY HOME CARE	TRIGHT (8.8) (8
PREEDOM HOUSE RECOVERY CENTER INC	1.0005 10.00
THE COURT OF THE REST AND THE COURT OF	18 18 18 18 18 18 18 18
CONTINUED BEHAVIORS CRITERING MANUFACE BEHAVIORS CRITERING	THE NAME OF THE PARTY OF THE PA
VISIONS COUNSELING STUDIO PLLC PORT HEALTH SERVICES	1.00 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
INTEGRATED CAME OF GREATER HOXORY	5 1
CAPTANATION & ANNOCATES	14 15 15 15 15 15 15 15
SAN YOUTH AND ADULT SERVICES IN	THE DESCRIPTION OF THE PROPERTY OF THE PROPERT
	Mar 1.05 1.06 1.07 1.07 1.07 1.07 1.07 1.07 1.07 1.07
	AB RE IA IA IA IA IA IA IA IA IA IA IA IA IA IA IA
AND TOWN U.C. AND TOWN U.C. IN THE MANNING CONTROLLS SPRING UP BOTH STORM CARE U.C.	1977-2075 MR. Real Med Bark. Stand S
SOUTHWATTERN BEHAVIORAL HEALTHCAME.	MA.
3A Halfway House BECOVERY CONNECTIONS OF DURANT BECOVERY CONNECTIONS OF DURANT	14 15 15 15 15 15 15 15
PREEDOM HOUSE RECOVERY CENTER INC	58. St. 10 at 1.5 at 1.
	\$\text{DELEMPS} \text{TEMPS} \t
	\$84.00 (88.00 (8
LEGACY HANNE SERVICES INC	2000.00 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
3A SERVICE CAMPBERS HAVE OF SEASON OF U.S.	NO. 10.8 10.9 10.9 10.9 10.9 10.9 10.9 10.9 10.9
	See Land See
CANDULA DUPATRIACH LLC	1985 1985 1985 1985 1985 1985 1985 1985
CARTINET COUNSELING SERVICES INC.	UNIFORM SING BIAS BIAS BIAS BIAS BIAS BIAS BIAS BIAS
CONTRACTOR ACTION CONTRACTOR	
DAMMAN MICRORE SERVICES OF	
	18
DRIAMPROVIDE CARE MEXICO	988 1840 1840 1840 1840 1840 1840 1840 18
EDWARDS ASSESSMENTS AND COUNSELING	9694. The state of
PARKET PRINT COMMUNITY SERVICES LLC. PARKET PRINT SUPPORT CONTRACTOR AND STREET SUPPORT CON	15. 15. 15. 15. 15. 15. 15. 15. 15. 15.
PROMOP HEAD RECORDS OF	18. 18. 18. 18. 18. 18. 18. 18. 18. 18.
GENERATIONS HEALTH SERVICES INC. INSIGHT HEADON SERVICES INC.	18 18 18 18 18 18 18 18 18 18 18 18 18 1
	APPENDED. THE STATE OF THE STA
MICKURNIUMSCOUNTY	The state of the
MERCIAN BENEVICKS, HASTH SERVICES	999. 18 10 10 10 10 10 10 10 10 10 10 10 10 10
NORTH CARROLINA RECOVERY SUPPORT SIX.	
DUTRIACHMANAGEMENT SERVICES PROTESTA SERVICES AND A SERVICES	958. The state of
PRODUCT COMMUNICATION ROLLHALTH SERVICES INC	
	18. 18. 18. 18. 18. 18. 18. 18. 18. 18.
SERVICES MALTER CORPORATION SERVICES CONCERNICAL COURSELINGS	18
STARTING POINTS INC	987-9997 101-8 101-0 101
STEPHENS GUTREACH CENTER INC.	107971 108
TRANS THEORY MARKET ALL HEALTH CENTER	25700. 103. 2503. 2504. 2504. 2505.
TRINITY BEHAVIORIS, HISSOFICAND PC. LINUS BOTH OF ROBITH CAROLINA AT CHA.	THEN THEN THEN THEN THEN THEN THEN THEN
VWW HEALTH VISION BEHALIDRIS, HEALTH SERVICES.	CARDAN DARD
WANTED THE THE	145-0761 Text 1 Dan 1 Dan 2 Dan 2 Dan 3 Dan 3 Dan 2 Dan 3 Dan
RHARBHANCHAL HEALTH NC LLC	16500. The Star Star Star Star Star Star Star Star
	580 1840 1840 1840 1841 1842 1841 1844 1844 1844 1844 1844
	100 20 20 20 20 20 20 20 20 20 20 20 20 2
	1
THE COUNTY COMPANY HE STATE COUNCE.	1875
CONSTAL HORIZONS CENTER INC. PRESCRI CENTERED PRETAMENHES INC.	
CORATAL HORIZONS CERTER INC PERSON CONTENED PROTVERESHEPSING MINISTRUMENTO PRANTS CURNIC PA BROS DOCKY LIE.	1
CORATAL ACROSSOS CARATRES DOC PERSONA CARATRESSOS CARATRES DOC SANDYNAMISMOS PARMET CARACT PAR JAMES SONOG LIKE. MICE ACCIDISTOSMIC CARACTERS AND CARACTERS AND CONSIST COMMUNICADE AND	
COMANA HORIZONI CENTRI NEC PRESCI, CENTRIGUE PARTICISARY I AC MINISTRATION PARTICISARY I AC MINISTRATION PARTICISARY I AC NEL ACQUIRING MALE LOMBING ACQUIRING MALE COMBINISTRATION PARTICISARY DISTRICTURE SOCIO SIGNAL GROWN PARTICISARY DISTRICTURE SOCIA SIGNAL SIG	
COMMAN CHRONOS CRAFFIE OF PROCESSOR CONTROL OT PROCESSOR CONTROL OF PROCESSOR CONTROL OF PROCESSOR CONTROL OT PROCESSOR CONTROL OF PROCESSOR CONTROL OT PROC	
CORNEL SENGINGEN CONTROL DE L'AUTORITATION DE L'	## Sum of the property of the
CORNEL MENDANCE CORNEL NEC. PROSEC CORNEL NEC. BRITISHER CORNEL AND ARTHRESH TO ARE THE STREET AND ARE THE S	## Sum of the property of the
COMPA SERVICE CONTROL (CONTROL CONTROL	
CONTROL - SECURITOR CONTROL CO	
CONTRACTOR CONTRACTOR PRODUCTION CONTRACTOR CONTRACTOR AND CONTRACTOR CONTRACTOR AND CONTRACTOR CONTRACTOR CONTRACTOR AND CONTRACTOR	
CONTRACTOR	
CONTRACTOR	
CONTRACTOR	
CONTROL CONTRO	
CONTRACTOR	
CONTRACTOR	
CONTRACTOR	
CONTRACTOR	
CONTROL CONTRO	
CONTRACTOR	
GOING GORNALD STATE OF THE STAT	
GOODS	
GOING GORNAL GOR	
GOUNT GOOD TO STATE OF THE PARTY OF THE PART	
CONTROL CONTRO	
CONTROL CONTRO	
CONTRACTOR	
GOOD CONTROL C	
GOODS	
GOODS GOODS GOODS AND	
I CONTROL CONT	
GOING GOOD CONTROL OF THE CONTROL OF	
CONTROL CONTRO	
CONTROL CONTRO	
CONTROL CONTRO	
CONTROL CONTRO	
CONTROL CONTRO	
CONTROL CONTRO	
GOODS	
CONTROL CONTRO	

ABBICAN CONFINENCE - Elling ANNAS CARE INC	MANDHELL	18700A
2-18-G ANNASCANE INC	SANDHUS	Mar.
COMMUNITY LIVENIS CONCEPTS OF NO.	CARDINAL	18 1
EDILIPPORT MENIOS	SAMDHELS VANS	[53 153 153 154
MATERIAL SERVICES INC.	SANDHUS G PARTNES	[32] [33] [33] [33] [33] [33] [33] [33]
CHARLES AND STREET STREET, STR	3ANDHU3	1
READ HOLD SERVICES INC.	YANA WANA	[52] [53] [53] [53] [53] [53] [53] [53] [53
DOLARICH SEVICES IN U.S.	PARTNERS VANS	20 20 30 30 30 30 30 30 30 30 30 30 30 30 30
VIOLATORPORATION OF NORTH CAROLING	SANDHUS LINA PARTNES	31
MEDICAL MONESCOLA SANCESCE	SANDHUS	[25] [25] [25] [25] [25] [25] [25] [25]
CHEERLA COMPANY ENGINEER SAC	VASS PARTNERS	10 10 10 10 10 10 10 10 10 10 10 10 10 1
COMMUNITY LIVING CONCEPTS OF NC DIVING CONCEPTS INC	SANDHELS	_RVRVNVNVNVNVNVNVNVNV_
MERCYHOME SERVICES INC	SANDHUS SANDHUS	
PARTNERS BEHAVIORAL HEALTH MISSING BHAMBACTH SERVICES INC	PARTNERS VANS	
ONE ON ONE CAME INC	PARTNES.	N. S.
CHANGING LIVES GROUP HOME IN	PARTNERS CARDINAL	18 18 18 18 18 18 18 18
STAGE EDILIPPORT MENIOS NOW BEAUTORY COUNTY DEVELOPMENTS. CIN	VANS SNT TRILLIAN	5
CAMPAGEMYCELING	SANDHUS	[32] [33] [34] [35] [35] [35] [35] [35] [35] [35] [35
CONSTAL SOUTHERSTERN UNITED CARE ENDEY THUS YOU THE BY	TRUUM	10 10 10 10 10 10 10 10 10 10 10 10 10 1
GASTON RESIDENTIAL MENCESING	PARTNERS	15. 15. 15. 15. 15. 15. 15. 15. 15. 15.
INTERNATIO BENEVIORAL HEALTHCASE SE	CANDRAL ALIANCE	18 18 18 18 18 18 18 18
	CARDINAL EXITPOINTS	18 18 18 18 18 18 18 18
	SANDHELS	
MOUNTAIN AND RESIDENTIAL MICELTE.	E VANS	1.00 14 15 15 15 15 15 15 15 15 15 15 15 15 15
	PARTNES.	10
PERSON COUNTY ORCUP HOMES INC. RAIPH SCOTT UPWARENCES INC.	CANDONIA CANDONIA	
RESIDENTIAL SERVICES INC	CARDINAL	St.
RESIDENTIAL SUPPORT SERVICES OF WAR RISA HEALTH SERVICES INC.	M. AUANCE TRUMM	
THE MINTAL HEALTH PLAN OF ANY INC. THE MINTAL HEALTH PLAN ONC. THEANING NAME ASSOCIATION FOR THE ANY	PARTNERS ML VANS	1
TURNING POINT MERICES MINIMISCO INC	PARTNERS	
DESCRIPTION ACTIONS OF	SANDHUS TRUUM	M
AMOUND HEALTH-LIC ASHEVILLE BLINCOMES COMMANUTY CHRIS	VANA VANA	
EASTERSEALS UCP NORTH CAROLINA & V	V CARDINAL EXITPONTS	18. 18. 18. 18. 18. 18. 18. 18. 18. 18.
	SANDHUS VANS	8
IMPACT OF THE PERSONNY INC.	CARDINAL	500 500 500 500 500 500 500 500 500 500
CHAMBRE COMMUNITY INC	CARDINAL	10 10 10 10 10 10 10 10 10 10 10 10 10 1
MAL GRATON RESIDENTIAL SERVICES INC. HOMEONE MANAGEMENT COMPONITION	PARTMES CIN PARTMES	18 18 18 18 18 18 18 18 18 18 18 18 18 1
EDILIPPORT MENCES	VANA	81 81 81 81 81 81 81 81 81 81 81 81 81 8
MENUNCH	PARTNERS	
PARTNERS BEAUVIORAL HEALTH MARKES RESPHISCOTT SPERINGUES INC.	G PARTNERS CANDINAL	83 84 84 84 84 85 84 84 85 85 85 85 85 85 85 85 85 85 85 85 85
RHADINGS FOR HIMAS DIVILOPMENT IS RHA HEALTH SERVICES AC LLC	TRI ASSAULT	152 153
PRESIDENT PRODUCES CONTRACTOR SIGNATURES INC.	C CAMDINAL PARTNERS	INC. NO. TO LAND THE CONTROL OF THE
CRANDIUS ENTERPRISES INC PORT HEALTH SERVICES	TRUSM	Fig. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.
IMPACT OF THE RECOGNITING	CARDINAS VANA	
DESIGN SOCIETY OF MORTH CARDUNA COMMAND INTERPRESS OF WILMINGTON	TRUMM TRUMM	**************************************
EASTER SEAL UP NORTH CAROLINA & V	V TRUMM	
HOMECARE MANAGEMENT CORPORATION, JOHNSTON COUNTY INDUSTRIES INC.	ON PARTNESS SANDHUS	32 No. 101 No. 102 No. 102 No. 103 No.
MONANCH	SANDHELS	15 15 15 15 15 16 16 16
PARTNERS BEHAVIORAL HEALTH MISSING BHA HEALTH SERVICES AC LLC	G PARTNERS AGAINGE	
SUMMET SUPPORT SERVICES OF ASSET INC. TURNING POINT SERVICES	FARTNERS	No. 10.1 10.2 10.1 10.2 10.2 10.3 1
VOCA CORPORATION OF NORTH CARCLEY UNIVERSAL MENTAL HEALTH SERVICES I	PARTNES	88 104 105 105 105 105 105 105 105 105 105 105
CMADELLI INTERMINI INC	VANA AGRANCE	
A Small Mitacle cit. Community Workforce Solutions Inc.	CANDINAL	
ACHERICASE MANAGEMENT SERVICES		
ABDUND HEALTH LIC	PARTNERS PARTNERS	
AND INC. THE STATE OF	POSTNESS POSTNESS V CARDINIL TRUSM	8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
ARCURO MENTH LIC. ENSTRESSAS UPP NORTH CARCUNA & V MANUEL MENT LIPE ESTINOSO (NC MENUL LIPE E		1
AND SPECIAL SECTION OF CARDINAL & V AND SPECIAL SECTION OF CARDINAL & V AND UP SC DIM OF COMMAN SOCIENTATION UNTIL CARS COMMAN RECOVERS SECURE INC		18 18 18 18 18 18 18 18 18 18 18 18 18 1
ARGORE PRESENT LINE ANTITUTE AND CONTROL OF A CONTROL ANTITUTE BOOK LIPE EXTENSION ON THE BOOK LIPE INC THE BOOK LIPE INC THE BOOK AND	PARTIMES PARTIMES PARTIMES V CAMERIAL TRIGUEM TRIGUEM TRIGUEM ANAPOSITI AUGUST CARDINIL PARTIMES SAMONILS	
ARGUNG MERITEME ENTERNAL DE NORMA CANCILINA E V REVILLE SENSILIPE RETINGUES DE CONTRA DES LES LES LES LES LES LES LES LES LES L		
ARRIGINE MAINTENE AND TENERAL MECHANINA BY AND TENERAL MECHANICA BY AND TENERAL MECHANINA BY AND TENERAL BY AND TENERAL MECHANINA BY AND TENERAL MECHANINA BY AND TENERAL MECHANINA BY AND TENERAL MECHANINA BY AND TENERAL BY AND TENERAL MECHANINA BY AND TENERAL BY AND		
ARRIGINE MATURE ARRITATION AND CONTRICTANCIAN & V AND THE MATURE STREET, CONTRICTANCIAN A V ARRIVATOR AND		
JOSEPH SHAPE		
JAROSE SARTINE		
JASSOS BARTONES LINES BARTONE		
JACKSER JACKSER JOHN JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSER JACKSE		
JAMOSE STORES AND THE		
PARKET PRIMERS ET AN INFOCES OF THE ATTEMPT OF THE	THEREDAY ANALYSIS ANALYS AN	
TABLEY PRIMER ETCH SERVICES OF NO. INTERNATIONAL PROPERTY AND A SERVICES OF NO. INTERNATIONAL PROPERTY AND A SERVICES OF NO. JOSEPH ST. SER	THEREDAY ANALYSIS ANALYS AN	
PARRICY PRESENTATION, SIRPCIDE OF NE. ANNINORATION CONTROL SIRPCID OF NE.	TREATMENT	
PRINCIPATION STOCK SETTING OF THE PRINCIPATION SETTING OF	TREATMENT	
PRINCIPATION STOCK SETTING OF THE PRINCIPATION SETTING OF	TREATMENT	
PRINCIPATION TO THE PART OF TH	THEREDAY ANALYSIS ANALYS AN	
PRINCIPATION TO THE PART OF TH	TREATMENT	
THEORY PRODUCTION INVOICE OF NE JOSEPH STATE OF THE PRODUCTION OF	TREATMENT	
TABLE PRODUCT THE SERVICE OF THE CONTROL SERV	TREATMENT	
THEORY PRODUCTION INVOICE OF NE JOSEPH STATE OF THE PRODUCTION OF	TREATMENT	
THREE PRODUCTION AND AN OWNER OF THE PRODUCTION AND AND AND AND AND AND AND AND AND AN	TREATMENT	
TABLE PRODUCT THE SERVICE OF THE CONTROL SERV	TREATMENT	
TABLE PRODUCT THE SERVICE OF THE CONTROL SERV	This color The	
TABLE PRODUCT THE SERVICE OF THE CONTROL SERV	This color The	
PRINCIPATION TO THE PART OF TH	This color The	
FARRIC PRESENTATION STREAMS OF THE AMERICAN STREAMS OF	This color The	

Too Measurement 3 315PHESS CUTREACH			
	ACH CINTER INC. 18	NUM	THE
RHA BEHAVIORAL HEI	HEALTH NE UIC AL	ARINAL	10 10 10 10 10 10 10 10
	20	ARDINAL HITPONTS VATSURS ANDHELS	
	99	AND HELS	1.
A CANING ALTERNAT	SATURAL PA	VATABA	145 105 105 105 105 105 105 105 105 105 10
THE SPARC NETWORK	DRELLC AL	ALLANCE CATAGORIA	110 110 110 110 110 110 110 110 110 110
	100	WATNERS	स्त्र क्षेत्र क्ष्मे क्ष्मा क्षात क्षेत्र क्षेत्र क्ष्म क्ष्मा क्षात क्ष्म क्षात क्ष्म क्षात क्ष्म क्ष्म क्षात क्ष्म क्षात क्ष्म क्षात क्ष्म क्षात क्ष्म
BASTIR SBALS GOP N	P NORTH CAROLINA & V AL	ALIANCE .	
	15	WINDS WINDS	THE
Display Draw MCCHRY BNCVAT	ATOM NO. 18	TUSM	MADE MADE MADE MADE MADE MADE MADE MADE
MOREHEAD CITY TRE	TREATMENT CENTER TO	KUUM	32 M3
DAYMARK RECOVERS	SET SERVICES INC. PA	WESTERS	M sout and that and
PARKLYPHESINGERY	ATION SERVICES OF NC PA	WATNERS	# 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
MERCAN REMOVE	OBSUMBATIONS OF VI	1000	HA 100 100 100 100 100 100 100 100 100 10
OCTOBER BOAD INC	NC V	AVA	
PARTNERS BEHAVIOR	COSAL HEALTH MISSING PA	MATMEN .	
BRANCH WAY	COLUMN VI	933 947347	102 103 103 103 103 103 103 103 103 103 103
PREDOMHOUSER	MICOVERY CENTER INC. AL	MASA GLIANCE	160.0
DERMILECALIE	THREE PASS INC. AS	MANA MANAGE	1000 1000 1000 1000 1000 1000 1000 100
NO KOUNTON	NUE W	ANDHELS SASS	H
CAYWLSON & REST	USCOLATES PA	WATERS	100 110 110 110 110 110 110 110 110 110
e traverser - C DAMMER RECOVER	TENTRACING W	333	MAX 1000 1000 1000 1000 1000 1000 1000 10
PARTIES BIANCO	COMMERCIAL PROPERTY OF THE PRO	0.00	100 F
ENLHSALTH SERVICE	COS.NC V	333	H 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
THE MENTAL HEALTH	THEORETAYS INC. SA	AMERICA	THE
NOS ACQUISITION U	NUE V	333	100 100
CATALOGUE ARTOR TOTAL	40	UANA UANA	16.5 16.5 16.5 16.5 16.5 16.5 16.5 16.5
	CA PA	ANDRUIL WATMERS	
CHRARKS COUNTY S INWACH	TY GROUP HOMES INC. P.	MATRIES SUANCE	No. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
LUPHERAN PARKLYY	YSERVICES IN THE CAR. CA	MONE	
MONANCH	AL CA	AND SHE	सा है।
		455	Na Na Na Na Na Na Na Na
PRETORIES SENSO COUNTY OF	GROUP HOMES INC. CA	ARDINIL ARDINIL	96.7 No.7 No.7 No.7 No.7 No.7 No.7 No.7 No
KNUPH SCOTT UPSSE	ISBNVCIS INC CA	WINNE	RA R
RESIDENTIAL SERVIC	vicis inc Cr	WEIGHT .	NA N
BANKKTKSBVICE	POST NE UZ	WITHIRS	RA NA
THERMPLETCHERY	NACES GROUP CA	WIGHT 7977	NA NA NA NA NA NA NA NA
RAIS PLAYER ADULT?	AT DEFCENTER AS	SUAVCE	No. 10.2
DEVELOPMENTAL OF	DISABUTES RESOURCE CA	WOUNT	No. 10. 10. 10. 10. 10. 10. 10. 10. 10. 10
A head Manufactic	C C	ARDAN	
MEDICARE PROPERTY	SOUND MENERALIC IN	ANDHILLS	NO 10 10 10 10 10 10 10 10 10 10 10 10 10
ARTHUR MARTINES	W	WOUNT WOUNT	NA 18.5 BA 18.
	ci ci	MONIL	에 기계
EASTERSEALS UCP NO	P NORTH CAROLINA & V AL	MANCE	No.
IMPACT OF THE PIECE	MEMONTING CA	WEDNET.	Na N
			182 183 183 184 185 185 185 185 185 185 185 185 185 185
Supervisor - House & C. GREEN VALUE HOME & C.	& COMMUNITY SURVICES CA	ARDINAL	
SMERVICO - NOUN ASSOCIATE HOME & C GREEN VALLEY HOME MORANCH	& COMMUNITY SERVICES CA CANONI LIC. CA CANONI LIC. CA CANONI LIC. CANONI LIC.	WOUNT WOUNT	B2 B2 B3 B3 B4 B4 B5
SURPRISON - POLICE AMERICAN BOX DESIR VALLEY SOLD MACRILL DE MACRILL DE MACRILL DE MACRILL DE DESIR FLACE CHARLES FLACE	ACOMMUNITERNOS CA NORMAN CA CA CA CA CA CA CA CA CA CA	ARDNIL ARDNIL ARDNIL ARDNIL ARDNIL	18
MARKANIAN - NOME & CORREST VOLUME MONE & CORREST VOLUME MONE & CORREST VOLUME MONE & CORREST VOLUME MONE & CORREST VOLUME & C	A COMMUNITY SERVICES CA SATE CINTER CA CITES CAMBLISE WA RESERVICES INC. CA	WOWN AND WAT A	No
SARROWAY - NEWS ASSOCIATI NORM EL- GERRY VALLEY SANT MACERN INC MACERN	& COMMUNITY SERVICES CO. COMMUNIC CO. CO. CO. CO. CO. CO. CO. CO.	ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI	No.
SWIENNOOF - PROOFS ARRECTED HOME & GREEN VANAGE HOME AND GREEN VANAGE HOME AND GREEN VANAGE HOME AND GREEN	A COMMANDITY MINISTERS CO. CO. CO. CO. CO. CO. CO. CO.	ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI ARDANI	150
SUMMANDO PROUND ARRECTIFE HOUSE & SERVICE VARIATIONS AS SERVICE AS	A COMMAND THE MINISTERS OF COMMAND THE COM	ARCINIL	150
SAMPHONO - PARION, ARRICULTE HORM & J. JOSENS MARKEL SPK. MARKEL SPK. NOW YAME ESSANS CHARLES SPK. JOSENS MARKEL SPK. JO	A COMMAND TANDESCES CONTINUES CONTIN	APONIL	1
MARKETT SOM E. MARKETT SOM E.	S. COMMANDET MONIOCIS COMMAND	ARDINAL ARDINA	1
AMERICAN PROF. AMERICAN PROF.	A COMMANDY MANUACY COMMAND COMMA	ANDRONAL AND	No
AMERICAN FORM AMERICAN FOR	A COMMANDY FARMONDS CANONISS	5-00-00-1 5-00-0	
AMERICAN MAN AMERICAN MAN	A COMMANDATIVE MANUSCRIPT STATE OF SECURITY STATE OF SECURITY STATE OF SECURITY STATE OF SECURITY SECU	GOODSIA GOODSI	Mart
\$1,000,000,000,000,000,000,000,000,000,0	A COMMAND TERMINATE SEC. CONTROL CO. CO. CO. CO. CO. CO. CO. CO.	GOODSIA GOODSI	No No No No No No No No
MARCHEST MARCH MARCHEST MARCHEST MARCHEST MARCHEST MARCHEST MA	ACCOMMENTATION OF SECURITY STATE OF SECURITY STATE OF SECURITY STATE OF SECURITY SEC	GOODSIA GOODSI	
### AMERICAN STATES AND ASSOCIATION OF THE PROPERTY OF THE PRO	THE STREET STREE	ARCINEL ARCINE	
AMERICAN SERVICE AND AMERICAN	THE STREET STREE	ARCINEL ARCINE	
### AMADUS AMADU	THAN SUPPRISE CO.	AMERIKA AMERIK	
AMERICAN STATE AND	THAN SUPPRISE CO.	ARCINEL ARCINE	
AMERICAN STATES AND ASSESSMENT OF A STATE AND ASSESSME	THAN SUPPRISE CO.	AMERIKA AMERIK	S
AMERICAN STATE OF STA	THAN SUPPRISE CO.	AMERIKA AMERIK	S
AMERICAN STATES AND ASSESSMENT OF A STATE ASSESSMENT OF A STAT	THAN SUPPRISE CO.	AMERIKA AMERIK	S
1	THAN SUPPRISE CO.	AMERIKA AMERIK	
March 1984 Mar	THAN SUPPRISE CO.	AMERIKA AMERIK	
1997 - 19	THAN SUPPRISE CO.	AMERIKA AMERIK	
March Marc	THAN SUPPRISE CO.	AMERIKA AMERIK	
March 1997 Mar	THAN SUPPRISE CO.	AMERIKA AMERIK	S
March Marc	THAN SUPPRISE CO.	AMERIKA AMERIK	
March 1997 Mar	THAN SUPPRISE CO.	AMERIKA AMERIK	
March Marc	THAN SUPPRISE CO.	AMERIKA AMERIK	
March 1997 Mar	THAN SUPPRISE CO.	AMERIKA AMERIK	S
200 To 100 CO 10	THAN SUPPRISE CO.	AMERIKA AMERIK	S
200 To 100 To 10	THAN SUPPRISE CO.	AMERIKA AMERIK	S
March Marc	THAN SUPPRISE CO.	AMERIKA AMERIK	S
1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	THAN SUPPRISE CO.	AMERIKA AMERIK	
March Marc	THAN SUPPRISE CO.	AMERIKA AMERIK	
Company	THAN SUPPRISE CO.	AMERIKA AMERIK	
March Marc	THAN SUPPRISE CO.	AMERIKA AMERIK	
March Marc	THAN SUPPRISE CO.	AMERIKA AMERIK	
The color of the	THAN SUPPRISE CO.	AMERIKA AMERIK	
March Marc	THAN SUPPRISE CO.	AMERIKA AMERIK	
The color of the	THAN SUPPRISE CO.	AMERIKA AMERIK	
The content of the	THAN SUPPRISE CO.	AMERIKA AMERIK	A
The color of the	THAN SUPPRISE CO.	AMERIKA AMERIK	
March Marc	THAN SUPPRISE CO.	AMERIKA AMERIK	
The color of the	THAN SUPPRISE CO.	AMERIKA AMERIK	
March 1995 Mar	THAN SUPPRISE CO.	AMERIKA AMERIK	A
March Marc	THAN SUPPRISE CO.	AMERIKA AMERIK	
WILLIAM STATE OF THE PARTY OF T	THAN SUPPRISE CO.	AMERIKA AMERIK	A
March Marc	THAN SUPPRISE CO.	AMERIKA AMERIK	
March 1997 Mar	THAN SUPPRISE CO.	AMERIKA AMERIK	A

Rate Made Peer Sussel (RE Individe CENTRAL COMMUNITY SERVICES LLC	CARDINIL	(3,1795) (100) (101) (102) (103)
CLENTHEN OF BULLC	MATEUR II	100 UN UN 100 UN
CERTEMENT OF PACIAL COMMAN SOUTHERSTRON LIGHTS CAME DEFINANCE SECONDET SERVICES INC. JAMES PROSE SERVICES SECONDET SERVICES OF PACIAL AMONG PRESENTATION SERVICES OF PACIAL AMONG PROSECULAR SERVICES	TRUSA	1
FAMILY FIRST SUPPORT CENTER INC.	VAVA BESTPONTS	\$1.00 (100 100 100 100 100 100 100 100 100
- CONTROL CONT	SASSHUS SASSHUS	103 103 103 103 103 103 103 103 103 103
MERCHAN REPORT CAN'T CARE OF ROCKY MOST	OU BESTFORM OS VANA	HA 194 168 168 168 168 168 168 168 168 168 168
The state of the s	CARDINAL	ELI ALI ALI ALI ALI ALI ALI ALI ALI ALI A
	PARTNERS MADELLA	12
NEW SMIRINION GROUP LLC OCTOBER ROAD INC DUTBRACH MANAGEMENT MEDICES	VANA	No.
PARTNER BRANCOSKI, MELITE MARKE	PARTMEN SERVICES	
PROBLEM CONTRACTOR TO THE PROBLEM CONTRACTOR	VANA VANA	501 503 501 502 503 503 503 503 503 503 503 503 503 503
MIRHING CUPRISCH CENTRE INC	MATPONTE	10 20 20 20 20 20 20 20 20 20 20 20 20 20
THE MENTAL HEALTH FLAG DISC. THEALT THEREAPY MENTAL HEALTH CENTER.	PARTMEN PARTMEN	11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
VISION BEHAVIORAL HEALTH SERVICES.	EXITPOINTS	1
PRIMARY HEALTH CHOICE INC.	EASTFORTS	Mr. Det 100 100 100 100 100 100 100 100 100 10
	CARDINAL	THE
	PARTMERS SANDHELS	NA NA NA 1000 1000 1000 1000 1000 1000 1
	TRUSM	1 AND
PREEDOM HOUSE RECOVERY CENTER INC	CANDINAT C ATTIVACE	
	VASA	10 and 20 at 20 at 30 at
PERSON CENTERED PARTNERSHIPS INC.	CARDINAL	10 10 10 10 10 10 10 10 10 10 10 10 10 1
MATERIAL PARTY CONC. PA.	BASTONTS	INV. INV. NO. INV. NO
POLINELTHCAME INC	VANA	1 1 1 1 1 1 1 1 1 1
Grader treats hearthcan from	PARTNERS SAUPONTE	State Stat
PORT HEALTH SERVICES	EXITFORM TRUSM	NO. 10.1 NO.
ONE TO ONE WITH YOUTH INC. SOUTHERN HAME! MEDICINE INC.	EASTPONTS PARTNERS	THE
CAY WINDS & MICCATE	IC MALANCE CAMENAL SERVICES CAMENAL SERV	103 U.U. U.U. U.U. U.U. U.U. U.U. U.U. U.
COMMUNITY CARESEN/CE LIC	NAME AND ADDRESS OF THE PERSON	
	EASTPOINTS VANA	tre ind but ine
WAY THE R LOWER MONORING TO THE PARTY OF THE	TRUSAN TRUSAN	
AMMA WILLIAMS MODDING TRATMING AMMA WILLIAMS SERVICES INC. 18 H TOUTH AND ADD TO THE OWNER.	AGAINGS PARTNERS	10.0 UE 10.0 U
With a second control of the second control	VANA PARENIES	2 1 2 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
EASTER SEALS USP NORTH CARCULAL & V HOPE HEALTH MARKY PRACTICE	EAST-ONT	[14] The state of
	TELLISM	
CHANGES COMMUNITY INC	CARDINAL	THE REAL PROPERTY AND
According Commission Time CARDUNA CUTREACH LIC	AMANCE	100 100 100 100 100 100 100 100 100 100
DAMMAR RECOVER SERVICES INC.	CAMBINIT	900 100 100 100 100 100 100 100 100 100
MINISTRAL SERVICES AND A THE THE SERVICES AND A SERVICES AND A SERVICE AND A SERVICES	CARDINIL DB VANS	R00
BASTERSEALS UCP NORTH CAROLINA & V	AUANCE	Mile
TENDERUDVING CARE HONES INC	VANA	102 103 104 105
CARDINA CUTRADA DE LA CARDINA	AMANCE	NA - MA -
CRESS LC	AMANCE	, and the first term of the fi
DAYMANK RECOVERY SERVICES INC	CVADIANT	18 19 19 19 19 19 19 19 19 19 19 19 19 19
	SAMBHELS VANS	DA DA
EAST CARCURA UNIVERSITY EL RUTURO	AUANCE	1937 Star 1948 1949 1949 1949 1949 1949 1949 1949
PARKLY PROT COMMUNITY MENGERS LIC.	CARDINAL CARDINAL	No. 1974 1974 1975 1974 1975 1975 1975 1975 1975 1975 1975 1975
PARKEY FIRST SUPPORT CENTER INC. PARKEY SOURTONS PLAC	SANDHUS	548 548 548 548 548 548 548 548 548 548
PERMANDEL COMMANUTY CENTER LIC	AMANCE	100 Mg
		90 90 40 50 50 50 50 50 50 50 50 50 50 50 50 50
HOPE MENUCES LLC	CARDINAL	
HOPE SENCIOS LIC. INNER PERSONA SERVICIA POC. INNER PERSONA SERVICIA POC. INTERNATIO BRANCORAL PRAZVICANI PAL. INTERNATIONA DE PARAM. INNER SENCIOS PAL.	CARDINAL CARDINAL TRULANCE	100 Mar
NOTE SERVICES LC INSTITUTE PROBLEM SERVICES POL INSTITUTE PROBLEM SERVICES POL INSTITUTE PROBLEM SERVICES POL INSTITUTE PROBLEM SERVICES SERVICES IN CORRECCIONAL POL MONANCE MO	CARDINAL CARDINAL THE ASSAUCE THESE ASSAUCE THESE ASSAUCE	100
HOPE MONCHAILE JOSEPH SHOULD BE CONTROLLED BY CONTROLLED	CARDINAL ENE NAME TRILLIAM TRILLIAM ALLIANCE CARDINAL ERSPONTE	10. 10. 10. 10. 10. 10. 10. 10. 10. 10.
HOPE WONCESTALE JOHNSTEINEN, ST. JOHNSTEINEN, ST. JOHNSTEINEN, ST. HYDRICKT BERKELLENGER HYDRICKT BERKELLENGER JOHNSTEINEN, ST. LECTER CORRECT BERKELLENGER META-MOCK	CARDINAL CARDINAL ESE AULANCE TREATAM AULANCE CARDINAL EAST-OINTE FACTARES SAMDHELLS	Second
HEW WINGSTALE IMMERICIONAL PROCESSARIA IMMERICIONAL PROCESSARIA IMMERICIONAL PROCESSARIA IMMERICIONAL REPORTANTA IMM	CARDINAL CARDINAL CARDINAL TRIGUEM AGRANCE AGRANCE CARDINAL EAST-POINT FARTHERS SAMMHUS SAMMHUS AGRANCE AGRANC	10 10 10 10 10 10 10 10 10 10 10 10 10 1
HEFF WERCHTLIC INSTERENCE AND MERCHAN INSTERENCE AND	CARDINAL CARDINAL TELULAM TELULAM AULANCE CARDINAL ELEPTONTE PARTIERS LAMBRILLS LAMBRILLS LAMBRILLS LAMBRILLS LAMBRILLS LAMBRILLS LAMBRILLS VAYS	Second
HAVE TRANSPORTED. INSTITUTE OF THE PROPERTY O	CORROBAL CORROBAL SIS ALANCE TRAUMA TRAUMA TRAUMA ALANCE COMPOSIT PATTERS SAMPHILS SIST ALANCE VANS PATTERS VANS ALANCE VANS ALANCE ALA	Second
Medical Conference	CORDINAL CORDINAL SIS NUMBER TRADISM T	Second
	CORDINAL CORDINAL SIST NUMBER TRAUSER TRAUSER TRAUSER ANAMORE CARDINAL REFFORM PATTERS ANAMORE CARDINAL REFFORM PATTERS ANAMORE CORDINAL CARDINAL	
	CORDINAL CORDINAL SIN ALLANCES TERLIAN	
- 100 M 100	CARRINAL CARRINAL TERRIDAR TERRID	Part
	CARSINAL SI CARSIN	
- AND PROPOSED AND	CARGONIA CANCERNA CANCERNA THERM THERM ARRAPH AR	
1.00 Per 1.00 Per 1.00 Per	CARRIANA CARRIANA THORMAN THORMAN THORMAN AGAINATE	
	CARGONAL	
Land William Control C	CAMMAN	
Lead water control of the control of	Johnson John	
The second secon	Johnson	
- AND METHOD STATE OF THE PROPERTY OF THE PROP	SAMESHAN	
- AND PROPOSATION AND ADMINISTRATION ADMINISTRATION ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION ADMINISTRATION ADMINISTRATION ADMINISTRAT	SAGMAN	
- AND PROPOSED AND	FARSING	## OF PART OF
	FARSONS	## OF PART OF
	ASSOCIATION	## OF PART OF
- AND ADMINISTRATION OF THE PROPERTY OF THE PR	AND	## OF PART OF
- AND ADMINISTRATION OF THE PROPERTY OF THE PR	ASSESSED	State Stat
	AND	
Here the second	Additional	
- MAN STREET, AND	AND	
GOOD BY Fundament 1 (1997) A THE STATE OF TH	SS. MURANCE SS. MURANCE MURANC	Part
GOOD BY Fundament 1 (1997) A THE STATE OF TH	SS. MURANCE SS. MURANCE MURANC	Part
GOOD BY Fundament 1 (1997) A THE STATE OF TH	SS. MURANCE SS. MURANCE MURANC	
GOOD BY Fundament 1 (1997) A THE STATE OF TH	SS. MURANCE SS. MURANCE MURANC	
1000 8 Production 1 Production	Million Mill	
1000 8 Production 1 Production	Million Mill	
USB B FALSENS AND ADMINISTRATION OF THE ADMI	Million Mill	
COST OF PROJECTION AND ADMINISTRATION ADMINISTRATION AND ADMINISTRATION ADMINISTRA	Million Mill	Part
AND THE PROPERTY OF THE PROPER	SS. MURANCE SS. MURANCE MURANC	
CODY OF PROJECUTE OF THE PROPERTY OF THE PROPE	No.	
CODY OF PROJECUTE OF THE PROPERTY OF THE PROPE	No.	Part
COLO DE PALAMENTO DE COMPANDO	No.	
1.00	No.	
1.00	No.	
1.00	No.	
100 Processor 100 Processo	No.	

de HIGHE OURSIGNET MANOYPRINCOMMUNTY MEDICINA MANOYPRINCH DONALD SERVICES OF NO PRINCHAPPER HIGHER SERVICES SER MEGANISME BOOK SERVICES SER MEGANISME BOOK SERVICES SERV						
PELLOWINE PRACTIC RESOURCES INC GROSSWATCH HALL PERSONS LIC MERCANISMS CONT. HALL PERSON MERCAN ELINE CONT. HALL PERSON	COL YMMAN	BILM DIES DIES DEN DEN DEN DEN DEN DEN DEN DEN				
PELICONNEP HELL TH RESCURCES INC GREENATIONS HEALTH SERVICES LIC MECHANISMS COUNTY MERCHAN REPORT CHILD HEALTH SERVICE	\$\tau_{\text{NNMS}}\$	180 BM 18				
MECHANISMS COUNTY MERCHAN BEHAVIORUS HEALTH SERVICE	AULANCIA MATERIAN	INTERN SEAS BILLES BILL				
	MARINA 12 MARINA					
OUTSIACH MANAGEMENT SERVICES						
DOTRING CHANGE AND PROTECTION OF THE PROTECTION	PARTING	1				
RACHBUCH SERVICES INC	VATA	HARD HARD HARD HARD BAND BAND HARD HARD HARD HARD HARD HARD HARD HAR				
SOUTHURST HEALTHCARE	5. PATRIMS	AND THE BEN THE				
SUSPACHUE.	967306 CARDINAL CARDI	STATE BEING				
	SEPONE MATERIA	SOURCE SOURCE STATUTE				
	MODERAL STATE OF THE STATE OF T	plane garme form them form them form them form them form them form				
	YANA TRICUIDA	DIES DES DES DES DES DES DES DES DES DES D				
PREEDOM HOUSE RECOVER CENTER IN THE COUNTY COMMUNITY HEALTH COU CONSTAL HORIZONS CENTER INC	NC AUGMENT CAMENDAL C	18.5 18.5				
THE COUNTY COMMUNITY HEALTH COU	AMPORTS LAMPORTS LAMPORTS					
CONSTAL HORIZONS CONTOR INC	AMPOINT TRANSMIT	18				
NOS ACQUISITION LLC	IVMN	IN A THE BOAT THE THE THE THE THE THE THE THE THE TH				
PORT HEALTH SERVICES	MAPPONTI I	Data Pata Pata (market)				
CLEF WILSON & ASSOCIATES	TROOM AND TO THE TROOM AND THE	HERM MILITS MEMBER DELINE MENNE MENN				
MINISTER FOR THE SECOND SEC	AUMORIE CAMPAGE	THE METERS AND A THE STAND HERE HERE HERE HERE HERE HERE HERE HER				
ALCOHOL AND DRUG SERVICES OF GUIL	INSTRUMENT OF MACHINE	101.9 101.9				
COMMISSION SINGNAME PORT FIRST SINGNAME CLEY WASSES & RESIGNAME ARRESTMENT SINGNAME AR	CREDIAL CONTROL CONTRO					
DAYMANK RECOVERY SERVICES INC	CARDINAL MARPHALS	- 1				
NAME OF THE OWNER OWNER OF THE OWNER OWNE	VANS.	SILM SUM				
	PATTINIS ADMINIST	11/8 11/8 11/8				
OUTSTACK MASSAGEMENT SERVICES	PATAMA					
OUTBACK-MANAGEMENT SERVICES PROTEINS SERVICES AND THE PROTEINS SERVICES PROTEINS SERVICES AND THE PROTEINS SERVICES PROTEINS CONTRIBUTE PARTICIPATION AND THE PROTEIN SERVICES SERVICES AND THE PROTEIN SERVICES SERVICES AND THE PROTEIN SERVICES AND	AGE PANTES TENTES TO THE TENTE	NO. 10.3 NO. 10.6 NO.				
PERSON CONTERED PARTNERS FOR NO.	C COMPANI.					
Therapy India-mult A HELPING HAND OF WILAMNITON LIC ANUANA PREVIATION AND RECOVERY	Z. NILIOM.	Mart				
	9990	NOTE THAT THAT THAT THAT THAT THAT THAT TH				
CHOOLEGO	MAINTEN MAINTE	10 10 10 10 10 10 10 10				
DOMESTIC STREET	MALIONIA CARDINAL	100.00 [100.00				
A STATE OF THE PARTY OF THE PAR	PROFESSIONS STATEMENT STAT	2011 0316 031 031 031 031 031 031 031 031 031 031				
DRIAMPROVIDER CARE MINUCES	9885					
EL RUTURO FAMILY PROT COMMUNITY SERVICES U	ANAPORT CONTROL OF CON					
PARACY PRESERVATION SERVICES OF N	90 PARTHERS VALUE AND VALU	SECTION SECT				
PELOWSHIP HEALTH RESCURES INC.	AUNCE	13 13 13 13 13 13 13 13 13 13 13 13 13 1				
PARTICIPATION OF THE PROPERTY	SAFFORT	10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0				
MONANCH MARTINERY	ALE TOTAL TO	1/2 1/2				
	CARDINAL PARTIESS .	SALE SALE - SALE SALE SALE SALE SALE SALE SALE SALE				
OCEONIA NOVO INC.	JAMPSHA VAN VAN VAN VAN VAN VAN VAN VAN VAN VA	DEAR SOLES S				
PARTNERS BEAUTIONAL HEALTH MINES	18. PATRIES. PATRIES.					
RIGHT SERVICES INC	701 MARI					
RHARMANDRAL MEALTH NC U.C.	PARTIESS CARDINAL CAR	HEAT 16.00 1				
	ASSPONTS AGENCY	19.00 20.00 10.00				
	SASTMELS VALUE OF THE PROPERTY	\$1.00 \$1.00				
	TOOLS .	jerna (rena jerna (rena				
PREEDOM HOUSE RECOVERY CENTER IN	NC AUGMENT CAMENDAL C	par bar har bar bar bar har har har bar bar bar bar bar bar bar bar bar b				
THE COLUMN COMMUNITY HE RETRICTOR	VANA.	10.47				
CORAMA HORIZONS CRATER INC. NOS ACQUESTRON LLC.	TRUE	\$142 \$142 \$142 \$142 \$142 \$142 \$142 \$142				
		jun				
CLEY WALLEY SERVICES CLEY WALLOW & AMOCUNES RESPONDED HOMELY SERVICES INC. HERMING.	1600F	104 MW MV 104 MW 105 MW				
HEATING	MANUFACTION AND ADMINISTRATION ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION ADMINISTRATION AND ADMIN					
DAYMAKK RECOVERS SERVICES INC	Sail No.	56.17. 56.77 \$61				
	PATHERS MARSHULLS	SAGE SINCE SINCE SINCE SINCE SEEN SEEN SEEN SEEN SEEN SEEN SEEN SEE				
EAST CARDUNA UNIVERSITY	988					
ELFUTURO PARRILY PRESERVATION SERVICES OF N	AUGUST VARIABLE VARIA	No No No No No No No No				
INTEGRATIO BEHAVIORAL HEAZHGAN	MANA.	SEED SEED SEED SEED SEED SEED SEED SEED				
INTEGRATED FAMILY SERVICES PLACE	TRUE MADE	15/2				
MONARCH	SLINGS					
	ORGANIANA BARTPORTIT	86.17 (86.17 (86.17 (16				
	PACTURES SAMMARY					
		ture ture ture				
NEW DAMENSION GROUP LLC	TREATM.	SIGN SIGN SIGN SIGN SIGN SIGN SIGN SIGN				
NEW COMMISSION OR CUP LIST. OUTSTANCE MANAGEMENT SERVICES PROTECTED SERVICES OF SERVICES	solutions (where the state of t	1				
NEW COMMINSION ORDER LAC CHEMICAL MANAGEMENT SERVICES PRETENTE SERVICES AND ARTHURS OF PRO-MANAGEMENT AND ARTHUR SERVICES AND SOUTHWART MANAGEMENT	780M	1694 1695 1695 1695 1695 1695 1695 1695 1695				
RING MALEN SERVICES INC. SOUTHLISHT HEILTHCARE	55 (1975) 55 (19	107 107 107 107 107 107 107 107 107 107				
RING MALEN SERVICES INC. SOUTHLISHT HEILTHCARE	55 (1975) 55 (19	107 107 107 107 107 107 107 107 107 107				
RING MALEN SERVICES INC. SOUTHLISHT HEILTHCARE	55 (1975) 55 (19	18 18 18 18 18 18 18 18 18 18 18 18 18 1				
RING MALEN SERVICES INC. SOUTHLISHT HEILTHCARE	55 (1975) 55 (19	18 18 18 18 18 18 18 18 18 18 18 18 18 1				
RING MALEN SERVICES INC. SOUTHLISHT HEILTHCARE	55 (1975) 55 (19	18 18 18 18 18 18 18 18 18 18 18 18 18 1				
RING MALEN SERVICES INC. SOUTHLISHT HEILTHCARE	55 (1975) 55 (19	18 18 18 18 18 18 18 18 18 18 18 18 18 1				
RING MALEN SERVICES INC. SOUTHLISHT HEILTHCARE	55 (1975) 55 (19	Fig. 1.5				
RING MALEN SERVICES INC. SOUTHLISHT HEILTHCARE	55 (1975) 55 (19	Fig. 1				
RING MALEN SERVICES INC. SOUTHLISHT HEILTHCARE	55 (1975) 55 (19	Fig. 18				
RING MALEN SERVICES INC. SOUTHLISHT HEILTHCARE	55 (1975) 55 (19	Fig. 18				
RING MALEN SERVICES INC. SOUTHLISHT HEILTHCARE	55 (1975) 55 (19	Part				
RING MALEN SERVICES INC. SOUTHLISHT HEILTHCARE	55 (1975) 55 (19					
RING MALEN SERVICES INC. SOUTHLISHT HEILTHCARE	55 (1975) 55 (19					
Junior Management (1997) Junior Management						
Junior Management (1997) Junior Management						
Junior Management (1997) Junior Management						
Junior Management (1997) Junior Management						
Junior Management (1997) Junior Management						
Junior Management (1997) Junior Management						
Junior Management (1997) Junior Management						
Junior Management (1997) Junior Management						
Junior Management (1997) Junior Management						
Junior Management (1997) Junior Management						
Junior Management (1997) Junior Management						
James Anna Bernard Marie Control of the Control of						
James Anna Bernard Marie Control of the Control of						
James Anna Bernard Marie Control of the Control of		Part				
James Anna Bernard Marie Control of the Control of		Part				
James Anna Bernard Marie Control of the Control of		Part				
James Anna Bernard Marie Control of the Control of		Part				
James Anna Bernard Marie Control of the Control of						
James Anna Bernard Marie Control of the Control of		Part				
James Anna Bernard Marie Control of the Control of		Part				
James Anna Bernard Marie Control of the Control of		Parish land land land land land land land land				
James Anna Bernard Marie Control of the Control of		Parish land land land land land land land land				
James Anna Bernard Marie Control of the Control of		Part				
James Anna Bernard Marie Control of the Control of		Part				
James Anna Bernard Marie Control of the Control of		Part				
The control of the co		Part				
See And Application of the Control o		Part				
THE CONTRACT OF THE CONTRACT ON THE CONTRACT OF THE CONTRACT OF THE CONTRACT OF THE CONTRACT O		Part				
James Control of the		Part				

Made menusity luccost tran	TANK W		
		PARTNERS	
	TRANSCHIONE TRANSCHIONALISMONT SERVICIA TRANSCHIONALISMONT SERVICIA TRANSCHIONALISMONT TR	PARTNERS TRIUSAN	50.0 50.0 50.0 50.0 50.0 50.0 50.0 50.0
	A HEALTH SERVICES INC	VANA	Mile
-	A BEHAVIORAL HEALTH NC LLC	CARDINAL	
		SANDHUS VASA	15 15 15 15 15 15 15 15
	CARRIED ALTERNATIVE LLC	PARTMERS	Section Sect
h	s.acquismon.uc	VANA	SAN
Þ	A HEALTHCARE INC	PARTNERS	DIE SAN SAN UNE SAN
E	IS TO ONE WITH YOUTH INC	EASTPONTE	1 1 1 1 1 1 1 1 1 1
P.	UTHERATERN INTEGRATED CARE	EASTPONTS	AND RAIS RAIS RAIS RAIS RAIS RAIS RAIS RAIS
L.	III III III II II II II II II II II II	PARTMEN	100 100 100 100 100 100 100 100 100 100
H	ROUNA SOUTHOUND INC	EXEPPOINTS	16.5 16.5 16.5 16.5 16.5 16.5 16.5 16.5
	UTHEASTERN BEHEINDRAL HEASTHCARE	M SALTPONTS	
	MOUNA OUTWARD LLC	MATPONTA MATPONTA MATPONTA MATPONTA TRUSM TRUSM TRUSM TRUSM TRUSM MATPONTA EAST-ONTA TRUSM AUGUST TRUSM MATPONTA TRUSM	10.6 10.6 10.6 10.6 10.6 10.6 10.6 10.6
H	SAMPROVORK CARE MINUCES	TRILISM	
	TREACHMANAGEMENT SERVICES	PARTNERS	MALE AND
H	A REMANDED AND THE	TRILLIAN	
T-	HATAL HORIZONS CENTER INC	EASTPONTS	521 523 523 523 523 523 523 523 523 523 523
h	THINKES TO UPE INC	AUANCE	DER 1888 DER 1983 DER
	DMPION CHED AND FAMILY FOCUS	CANDINAL	THE COLUMN COL
	IDE IN NORTH CARDUNALUC	AUJANCE	
others were married to	CALL BROKENSKE BEN BUTTERBY FROM	CARDINAL	Part
H	MOUNT OUTSEACH LIC	CAMDINAL	NU NU NU NU
		PARTNERS	923 923 202 923
L		yaxa.	NE DE
H	MUYPRING SUPPORT CINTER INC.	VANA	
	DAMO	EASPOINTS	ins ins
F	AMMATHUR COLOR	VA38	DER
H	INVALLED CHOCKS INC	BASPONTE	And then then then then then the then then
H	A REHAVIORAL HEALTH NO LLC	ERITPONTE	EUP .
L.		CARDINAL	
R	DESIGNATION OF NORTH RELEIGH	CAMBINAL	NOT. NOT
F	HATAL HORIZONS CIRTUR INC	TRUSM	
E	MAY SERVICE OF THE PERSMONT INC.	SAMPHIS SAMPHIS	NA ME
F	IMER TRATMENT SPECIALISTS LIC. RT HEALTH SERVICES	MANA EASTPOINTS	NOT THE THE THE
F	CTHEATTEN INTEGRATIO CARE	EASTPOINTS	M7 M8 M8 M8 M8 M8 M8 M8
H	THE ADMINISTRATION OF	AUJANCE	
Ι.		BASIPONTS SANDHILL	there there there there is the first there is the the there is the the the there is
L		VASA	MAN PAR MAN PAR MAN PAR MAN
H	COHOL AND ORUS SERVICES OF GUILFO CACO CENTERS FOR WELLEENS	CWGWT	10 10 10 10 10 10 10 10 10 10 10 10 10 1
Ι.		PARTNERS	The first plant pl
munity tuppert Team	MATAL SOUTHERSPERN UNITED CARE	TRILLIAM	10 10 10 10 10 10 10 10 10 10 10 10 10 1
F	SAMPROVORS CARE SERVICES	PARTNER	
E	YUCAN ALLANCE FOR MENTAL HEALT	TRUUM	518 501 502 503 503 503 503 503 503 503 503 503 503
H	PHING OUTSIAGE CONTRAINE	EAST-POINTS.	
F	B ACQUISTON LLC	VANA	004 005 005 005 005 005 005 005 005 005
F	MALINEY SUPPORT AGRICYLLS	TRUSM	OR OR OR OR OR OR OR OR
H	NEW THE PARTY OF T	EASTPOINTS.	
E	ROUGH SOLUTION INC	EASTFORTS	
	E ALAMANCE ACADEMY	VANA	161 163 163 163 163 163 163 163 163 163
e Contait 60 Televine 1	ST CARDUNA UNIVERSITY e Charlotte Mecklersburg rocustal	CANDINAL	
	Max Regional Medical Center Inc.	TRIUSM	March Marc
	MALENTY ACTURATIVES INCORPORATE	TE ALLIANCE	Mile Mile Mile Mile Mile Mile Mile Mile
H-	DOWN MANAGEMENT OF	CARDINAL	100 100 100 100 100 100 100 100 100 100
F	NPATH LLC	PARTNERS	[63, 163, 163, 163, 163, 163, 163, 163, 1
H	IN BEHAVIORAL HEALTH NO. LLC	CARDINAL	10.02 10.03
		EASTPOINTS	(an pan pan pan pan pan pan pan pan pan p
		TRIUSM	SAN
'	BEDOM HOUSE RECOVERY CENTER INC	CANDINAL	\$42 \$44.0 \$42 \$42 \$42 \$42 \$42 \$42 \$42 \$42 \$42 \$42
P.	HATAL HORIZONS CENTRE INC.	TRUUSM	NAME NAME NAME NAME NAME NAME NAME NAME
L.		TRILISM	NO.
H	E TOLICHILIC	BASPONTS	163 163
eccal resulth - Partial Hs	PRIACH MANAGEMENT SERVICES PETERS BEHAVIORAL HEALTH MANAGE	PARTNERS	DOES DOES DOES DOES DOES DOES DOES DOES
		PARTNERS	\$1000 \$100.0 \$10
has supplement to yet	PERSONAL PROPERTY AND PROPERTY AND		
fice Based Owned Treat	RESIDENCE OF GRAZIN HOUSE.	PARTNERS PARTNERS	NAME AND ADDRESS A
nor Based Oxford Treat	PTORT BENNY DEAL PRACTIC MINERS TROST TO CAME OF SHEATH HICKORY UTHER YAME? MEDICINE INC NY WALKIN & RESOURCE	PARTNERS PARTNERS PARTNERS	10 10 10 10 10 10 10 10 10 10 10 10 10 1
or Based Calcold Trivial	STREET SEAN COME SEATTH MISSING SEGNATED CARE OF SEATTH HOCKEY UTHER VALUE VEINCOME INC VALUE SEAVELLO CANCULANT OTHERS CONSULTING AMOUNTS FIL.	PORTNERS PORTNERS PORTNERS PORTNERS PORTNERS	Sec. Mod.
as Based Couloid Trivial	ETISES BENNYONAL PEACTH MONTHS FEMALIS CARE OF SEATH MONTHS FEMALIS CARE OF SEATH MONTHS FEMALIS CARE OF SEATH MONTHS FEMALIS SENOTES OF CARECURA OTHERS CARECURAD OTHERS CARECU	PARTIES PARTIES PARTIES PARTIES PARTIES PARTIES PARTIES PARTIES PARTIES	16. Mar. 16.
on Based Oxford Tyrus	ETHER BROWNESS PRACTIMINE DE FEMALED AND OF SHEATH HOUSE UNIVERS A MADE TO MICH THE NOW HAVE A BENCH THE SCHOOL BENCH OF CANCERDA. OF HALL COMMAND A MADE AND THE DE BOOK COMMAND A MADE AND THE DESCRIPTION OF THE SHEATH HEREIGE THAN CHANGE MINNEY MINNEY THE DESCRIPTION OF THE SHEATH HEREIGE THAN CHANGE MINNEY MINNEY THE DESCRIPTION OF THE SHEATH HEREIGE THAN CHANGE MINNEY MINNEY THE SHEATH HEREIGE THAN CHANGE MINNEY THE SHEATH HEREIGE THE SHEATH HEREIGH TH	PARTIES	State Stat
e Based Outoid Treat	LEASAND BERGING COMP. TO AND AND RESIDENCE AND	PARTIES	16. 16. 16. 16. 16. 16. 16. 16. 16. 16.
or Based Outoid Treat	STORES BEDOODS A PEATTH MORALS SEGMENT LONG OF GRANTING HECKEY THESE YARMAN SHOULDEN HICK SYMMENT AND SHOULD HE HAS SYMMENT A SHOULD HE HAS SYMMENT AND SHOULD HE SHOULD HAVE SHOULD HAVE SHOULD HAVE THE HAS SHOULD HE SHOULD HAVE SHOULD HAVE SHOULD HAVE HAVE SHOULD HAVE SHOULD HAVE SHOULD HAVE MORAL HAVE SHOULD HAVE SHOULD HAVE THE HAS SHOULD HAVE SHOULD HAVE SHOULD HAVE MORAL HAVE SHOULD HAVE SHO	PARTMEN PARTME	100 00 00 00 00 00 00 00 00 00 00 00 00
or Based Outsid Treat	RT HEALTH MEN'CES MATAL SOUTHEASTERN LINETED CARE MALYPESSEN/LTDN MEN'CES OF NO ROOM BEHAVIORAL HEALTH MEN'CES	TRILLIAN TRILLIAN VANS L VANS	100 00 00 00 00 00 00 00 00 00 00 00 00
OR BASENI CHICAGO TOPAL	RT HEALTH MEN'CES MATAL SOUTHEASTERN LINETED CARE MALYPESSEN/LTDN MEN'CES OF NO ROOM BEHAVIORAL HEALTH MEN'CES	TRILLIAN TRILLIAN VANS L VANS	100 00 00 00 00 00 00 00 00 00 00 00 00
No Based Oxfold Type:	RT HEALTH MEN'CES MATAL SOUTHEASTERN LINETED CARE MALYPESSEN/LTDN MEN'CES OF NO ROOM BEHAVIORAL HEALTH MEN'CES	TRILLIAN TRILLIAN VANS L VANS	100 ENG 100 200 100 100 100 100 100 100 100 100
No Bare Could Trait	RT HEALTH MEN'CES MATAL SOUTHEASTERN LINETED CARE MALYPESSEN/LTDN MEN'CES OF NO ROOM BEHAVIORAL HEALTH MEN'CES	TRILLIAN TRILLIAN VANS L VANS	100 ENG 100 200 100 100 100 100 100 100 100 100
NO EXAMPLE CONTROL TO AN ADMINISTRATION OF THE STATE OF T	RT HEALTH MEN'CES MATAL SOUTHEASTERN LINETED CARE MALYPESSEN/LTDN MEN'CES OF NO ROOM BEHAVIORAL HEALTH MEN'CES	TRILLIAN TRILLIAN VANS L VANS	100 ENG 100 200 100 100 100 100 100 100 100 100
OF BRANCH CHARLES TO ALL PROPERTY OF THE STREET, AND THE STREE	RT HEALTH MENICES MATAL SOUTHEASTERN LINETED CARE MALYPERSON/LINES SERVICES OF NO REGION BEHAVIORAL HEALTH SERVICES	TRILLIAN TRILLIAN VANS L VANS	
or Based Outside Treat	RT HEALTH MENICES MATAL SOUTHEASTERN LINETED CARE MALYPERSON/LINES SERVICES OF NO REGION BEHAVIORAL HEALTH SERVICES	TRILLIAN TRILLIAN VANS L VANS	State Stat
Support (RE) Indiana	HE PREADS METERICAL MACH PROPRIES AND THE CAPE MACH PROPRIES AND MACH PROPRIES MACH PROPRI	THEIRM THEIRM VANS VANS VANS VANS VANS VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT EMPPORT VANS EMPPORT EMPPORT EMPPORT VANS EMPPORT EMPPORT	
Name of FEE Indiana	HE PREADS METERICAL MACH PROPRIES AND THE CAPE MACH PROPRIES AND MACH PROPRIES MACH PROPRI	THEIRM THEIRM VANS VANS VANS VANS VANS VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT EMPPORT VANS EMPPORT EMPPORT EMPPORT VANS EMPPORT EMPPORT	
Support (RE) Indiana	HE PREADS METERICAL MACH PROPRIES AND THE CAPE MACH PROPRIES AND MACH PROPRIES MACH PROPRI	THEIRM THEIRM VANS VANS VANS VANS VANS VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT EMPPORT VANS EMPPORT EMPPORT EMPPORT VANS EMPPORT EMPPORT	Proper P
Cheecet (RE) Indiced	HE PREADS METERICAL MACH PROPRIES AND THE CAPE MACH PROPRIES AND MACH PROPRIES MACH PROPRI	THEIRM THEIRM VANS VANS VANS VANS VANS VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT EMPPORT VANS EMPPORT EMPPORT EMPPORT VANS EMPPORT EMPPORT	
Support (RE) Indiana	HE PREADS METERICAL MACH PROPRIES AND THE CAPE MACH PROPRIES AND MACH PROPRIES MACH PROPRI	THEIRM THEIRM VANS VANS VANS VANS VANS VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT EMPPORT VANS EMPPORT EMPPORT EMPPORT VANS EMPPORT EMPPORT	
Name of FEE Indiana	HE PREADS METERICAL MACH PROPRIES AND THE CAPE MACH PROPRIES AND MACH PROPRIES MACH PROPRI	THEIRM THEIRM VANS VANS VANS VANS VANS VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT EMPPORT VANS EMPPORT EMPPORT EMPPORT VANS EMPPORT EMPPORT	
Execut (ES technic	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
week (IIII Individ	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Execut (ES technic	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Name of FEE Indiana	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Support (RE) Indiana	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Cheecet (RE) Indiced	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
or Suspent (REE Individual)	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
or Suspent (REE Individual)	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Cheecet (RE) Indiced	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Name of FEE Indiana	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Execut (ES technic	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Name of FEE Indiana	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
week (IIII Individ	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
week (IIII Individ	REPARATION SERVICES WE SHARE SERVICES	THEIRM THEIRM VANS VANS VANS VANS VANS VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL VANS EMPPORT SANCHEL EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT VANS EMPPORT EMPPORT VANS EMPPORT EMPPORT EMPPORT VANS EMPPORT EMPPORT	
Execut (ES technic	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
ecot (ES Individ	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Execut (ES technic	REPARATION SERVICES WE SHARE THE SERVICES SERVI	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
AMOUNT (BIRT Individual)	REPARATION SERVICES WE SHARE THE SERVICES SERVI	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Execut (ES technic	REPARATION SERVICES WE SHARE THE SERVICES SERVI	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
week (IIII Individ	REPARATION SERVICES WE SHARE THE SERVICES SERVI	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
week (IIII Individ	REPARATION SERVICES WE SHARE THE SERVICES SERVI	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Name of FEE Indiana	REPARATION SERVICES WE SHARE THE SERVICES SERVI	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Name of FEE Indiana	REPARATION SERVICES WE SHARE THE SERVICES SERVI	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Execut (ES technic	REPARATION SERVICES WE SHARE THE SERVICES SERVI	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
week (IIII Individ	REPARATION SERVICES WE SHARE THE SERVICES SERVI	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Execut (ES technic	REPARATION SERVICES WE SHARE THE SERVICES SERVI	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
AMOUNT (BIRT Individual)	REPARATION SERVICES WE SHARE THE SERVICES SERVI	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Name of FEE Indiana	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
AMOUNT (BIRT Individual)	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	
Support (RE) Indiana	REPARATION SERVICES WE SHARE SERVICES	TRILLIAN TRILLIAN TRILLIAN TRILLIAN TANNA	Part
Secretary Secret	Control Contro	Septime	
and the first of the control of the	Control Contro	Septime	
A THE RESIDENCE OF THE PROPERTY OF THE PROPERT	AND ADMINISTRATION OF THE PROPERTY OF THE PROP	Section	Part
Secretary Secret	AND ADMINISTRATION OF THE PROPERTY OF THE PROP	Septime	
A THE RESIDENCE OF THE PROPERTY OF THE PROPERT	AND ADMINISTRATION OF THE PROPERTY OF THE PROP	Section	

Summary Statistics for Ratios MASTER PVDL QLL and Q1/2+2004-03-03

Ride Made Ride Level 2 Age 25- Pathologist For the Future Pathologist For the Futur	Property	
POCUS BENEVICIAL MESTIVATIVAS I POCUS BENEVICIAL MESTIVATIVAS I	1	
BRANCE NUMBER ENROPMENT OF CARGUINA THERMPILITE SERVICES INC.	Martin M	
EXPLACION DE PRANT D	10	
THE MANAGER GROUP INC	10 10 10 10 10 10 10 10	
CLEAN SKY MEMOURALLUC TURNING POINT HOMBS LLC	90000000000000000000000000000000000000	
Case Support COMMUNITY PRETMERSHOPS INC Interactive Busination wit MONANCH	1000	2 (1.2

DATEM MALL SEP MORTH CARCUMA	Comparison St.	
PARKEY PRESENCE TO SERVICES OF NO	Temportum Temp	1 500 55 55 55 55 55 55 55 55 55 55 55 55
INNERSON NC	95 ON 192 NO 192	B 5238
ADMINISTRAÇÃO POR TRANSPORTAÇÃO	Conference Con	\$2500 \$2500
MERCHAN BEHEVIORAL HEALTH SERVICES MONARCH	Fig. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.	ii (preii (preii
	NOTION 1802 1802 1802 1803	20 Dámi 1548 SANS 1558 1550 1548 SANS 5048 SAN
	MATCHAN 1932 1933	H DOMN (DEMN SDAM DOMN SDAM SDAM DOMN DOMN DOMN DOMN DOMN DOMN DOMN DOM
NEW DARRINGS (BOLD LLC PRETINES BENEVICES HEALTH MISSING PROJECTOR ALLENCE FOR MISSING HEALT	10. 10. 10. 10. 10. 10. 10. 10. 10. 10.	O D DOIN DANG DANG DANG DANG DANG DANG DANG DOON DOON DANK DANK DANK DANK DANG DANG DANG DANG DANG DANG DOON
RIA HIACH SERVICES INC	1870XXXX VSA. 151 151 151 151 151 151 151 151 151 15	
SANCESARY HOUSE INC		I DONE 152.06 \$25.04 DONE 152.00 \$25.01 DONE DONE \$55.00 \$25.01 DONE \$55.00 \$25.00 \$25.00 \$55.00 \$25
UNIVERSITY OF NORTH CAROLINA AT CHA		(A12)
DAY BROWN DAY RELIANCE OF		a para para () () () () () () () () () (
	100.5 100.50	\$14.22 \$25.00 \$25.00 \$26.22 \$4
A CAMPAGA AND AND AND AND AND AND AND AND AND AN	C 9900 102 102 102 102 102 102 102 102 102 1	
PQLHEATINGARE INC		N DEEN SOON STEEN SOON DEEN SOON SOON SOON SOON SOON SOON SOON S
BASTERSEALS UCP NORTH CARCLINE & V		127.04 127.06
		N 525M (525M
Assets and Billion - Level 8 ACCESS MARKY SERVICES INC. BEREUM SPECIAL HOME FOR CHILDREN DAY DISCH HOMES INC.	MINISTRATE MIN	
PANNLYPHISING KYON COMMUNITY IS CANDUSA THEMAPILITE SHRVICES INC.	March Marc	
PERMANEN HARM MERCES OF ROTTINGS Day Supports - Group Adult Disc and Reside Care Center ADULT LIFE PROGRAMS INC.	S S S S S S S S S S S S S S S S S S S	07 08 87 07 108 00 07 108 00 07 108 00 108 00 108 108 108 108 108 108 1
APTHE SATISMY INC. AUTHM SOCIETY OF MORTH CARDUNA	17 17 17 17 17 17 17 17 17 17 17 17 17 1	NU N
BEALFORT COUNTY DEVELOPMENT IS CENT CARDISLANC CONSTAL INTERPRESS OF MELANDATION	**************************************	n per per per per 12.N An in
COMMENTAL DIVERSITIES OPPORTUNITIESSE	1988	8
DELINA CONNECTION LINC PODDWILL ROUTERS OF MICROWILL CO.	MICHAEL MICH	02 02 02 02 02 02 02 02 02 02 02 02 02 0
HOMEOMER MANAGEMENT CONFORMATION 100/00/CONF		
MONANCH MINISTRALISMOCIS	C 100 11 11 11 11 11 11 11 11 11 11 11 11	
NEW HORIZONI ADILAT DAY SERVICES INC. PARTNESS BENNOONA HAAT HARRAS	NO. 00. 00. 00. 00. 00. 00. 00. 00. 00. 0	3
READON & STOREHOLDS WC	MARIAN MA	53.95 52.76 52.77 52.77 52.78 52.78 52.78 52.78 52.78 52.78 52.78 52.78 52.78 52.78 52.78 52.78 52.78 52.78 52.78
SOUD FOUNDATION FACILITIES INC. THE SECULA SHOUP INC.	100 EN 10	00 00 00 00 00 00 00 00 00 00 00 00 00
THE ENRICHMENT CHEAN APPLICATE RANGE MANUEL ABOUT DRY CHATHE	MICHAER 6780	52.78 52.78 52.78 52.28 52.78
IMPROVIDE ACTIONS INC.	A MINION MARKET	
WESCAME PROPESSIONAL MERVICES LIC CHEVELAND VOCATIONAL NODATHES IN	Total Tota	אינו אינו אינו אינו אינו אינו אינו אינו
A CHRIST CHILD MANAGEMENT INC. ONE ON ONE CARE COMMANDE MEDICAL BENCH COMMANDE CO	CONTRACTOR TOUR CONTRACTOR CONTRACTO	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
GUARDAN ANGEL MENTHEARE LIC	MANAGEMENT	UN UN UN UN DE BU DE DE DE DE DE DE BU DE
ABOURD HEATHAILE	Mail	
ANTHORESE AND ADDRESS OF THE PARTY OF T	0月35日前25日 1973日	517 518 518 518 518 518 518 518 518 518 518
34 Medially Mandard C PRODUCTOR COUNTY INC. 34 Medially Mandard C PRODUCTOR COUNTRY PRODUCTOR SHAPPING COUNTRY	1000 1000	09 UN
CERNA DAY MENDA LIC	Section Sect	
Community-civing and Sal ACISUPPORT SPECIALITIS INC	Marcine Marc	\$4.00 \$4.00
ACTUAL DATE OF THE CONTROL OF THE CASE OF	1890/2009-180/2000-180/2000-180/2000-180/2000-180/2000-180/2000-180/2000-180/2000-180/2000-180/2000-180/2000-180/2000-18	\$100 \$100 \$100 \$100 \$100 \$121 \$121 \$121
ARE OF THE TERMINE INC. ARE OF THE TERMINE INC. ARE OF THE TERMINE INC.	MINING INC. 400 AUG.	\$1.00 \$1.00
	Marie Mari	Mart
ENGINAN HOUSE CASE MANAGEMENT CASSICIAND LAND LIPTUMINIUM DIN	200 CO 19 Mills 19 Mi	\$6.77 \$6.77
DAYSDON HOMES BY: DUBHAM COUNTY COMMENTY UNING PRO	08MM: 988 1980	\$50. \$6.00 \$
GASTON MISCONTIAL SIMPLESTANCE HOMECARE MANAGEMENT CORPORATION 10000100C RIC	MICRO (MICRO) MI	\$\text{\text{50.000}}\$ \$\text{\$1.000}\$ \$\text{\$0.000}\$ \$\text{\$0.000}\$ \$\text{\$1.000}\$ \$\text{\$0.000}\$ \$\text{\$0.0000}\$ \$\text{\$0.0000}\$ \$\text{\$0.0000}\$ \$\text{\$0.0000}\$ \$\t
JOHANNON COUNTY INDUSTRIES INC. LICHIES ADULT DAY CARE OF ROCKYMOU	2007 ROBINET SERVICE S	\$4.21 \$4.21
LICHEL HEALTH WITHIN OF GREEN	CONTROL OF THE CONTRO	Mar
MARIAN-RILTHCARE SERVICES	Transport Tran	10
PARTNERS BEHAVIORAL HEALTH MINISTER IN	AND CONTRACTOR OF THE PROPERTY	94.0 94.0 94.0 94.0 94.0 94.0 94.0 94.0
PERSON COUNTY OFFICE HOMES FOR MARKON 46 STORESPOND INC	SERIOSON 18.0 M	\$16.00 \$1.00
RESIDENTIAL SUPPORT SERVICES OF WAS	NAME OF THE PROPERTY OF THE PR	927 NCH 927 NC
SECURAL RESOURCES FOR CONSUMERS IN SPECIMEND SERVICES AND PERSONNEL. THE ARE OF NORTH CARP WAS THE		\$613 \$610 \$610 \$610 \$610 \$610 \$610 \$610 \$610
AUTOMORPHICAN OF PROPERTY AND AND	Marcon M	\$24.00 \$2
UNIVERSAL MENTAL HEALTH/SERVICES (Managarian language and the state of the sta	\$6.33 \$6.33
PRODUCES HOME CARRESING		(623) (623)
CNC-ACCINI INC	NE MANUFACTURE MAN	\$6.00 \$6.00
Consentencer Community Care Inc.	SIGNAL SI	971 973 973 973 973 973 973 973 973 973 973
ALPHA MANAGEMENT SERVICES INC. HAMAN RESCUECES UNLAMTED INC. FAMILIES PRINT OF INC. IV.	Mark	\$1.000 \$1
HOPE OF SAMPSON COUNTY LLC A CARRIS HEART CASE MANAGEMENT INC	MORE AND	
AMUTES INC. ONE ON ONE CAME INC.	TSU	927 927 927 927 927 927 927 927 927 927
COMMUNITY CARE MEXICOLUC		\$6.00 \$4.00 \$6.00 \$6.01 \$6.01 \$6.21
	MATERIAN MAT	96.20 96.21 96.21 96.20 96.21
		96.27 (96
CHARLES WA CONTER	ONTH TOUR TOUR TOUR TOUR TOUR TOUR TOUR TOUR	
CHARLES USA CENTER EASTER SEELS UCP NORTH CANCLINA & V	2072	56.31 56.31 56.31 56.31 56.31 56.31 56.31 56.31 56.31 56.31 56.31 56.31 56.31
CAMBLE UAC CONTRE BASTER MALE DUY MORTHY CANCLING & V THE ARC DAVISION COURTY FEC BASE THE BASE TO EXCLUSIONS	2002	543 543 543 543 543 543 543 543 543 543
CAMAIS SIA CINTRE BASTRE SIBALE LUC MODIFICACIONA EV MISTANCIA COMUNICIO COUNTYINE AMMERICANIE SIGNATORIO MISTANIE SIGNATORIO MIST	2003	NA N
COMMISSION CONTROL TO THE MANAGEMENT OF THE MANA		10 10 10 10 10 10 10 10
COMMENT AND CHIMME BASTER MARKAL CHI-CHORNE BASTER MARKAL CHI-CHORNE THE ARE AND CHICAGO CONTINUES MARKAL CHILD CONTINUES	150 150	No.
COMMER SEA CONTROL SERVICE MESSAGE SEA COMMERCIAL		Mai Maj
COMMENT AND DESTRUCTION AND ADMINISTRATION ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION ADMINISTRATION AND ADMINISTRATION ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION AND ADMINISTRATION ADMINISTRATION AND ADMINISTRATION ADMINISTRATION AND ADMINISTRATION A	1987 1988	Second Process Seco
COMMAN AS INSTITUTE AND ASSESSMENT AS INSTITUTE AND ASSESSMENT AS INSTITUTE AS INST	1505 1505	
- COMPANY DE L'ANNE DE L'A	Main	Second Process Seco

Mode side-mail business: Les TRANSPANNIE ASSOCIATION FOR DIS AUTEMATIRE CONTROL INCOMPOSATIO		
	man lyays	DOLUMBA SELECTION OF THE PROPERTY SELECTION
	AUGUST MODE	\$83,7 \$80,7 \$83,7
SKILL CHILATIONS INC.	SASTPONTS	
MENULUPE DC	TRILLIAM	MARTE ARREST ARR
CAROLINA RELIGIOTAL LERVICES INC.	C PARTNERS	
MCDANELHORBS LLC	VASA	\$17. \$18.7 \$
THE ASSESSMENT FOR THE	DESTRUCT	EARLY MANUE AND
AROUND MALTH LIC	AUANCE	MINI MANU AND
LIGACY HAMAN SERVICES INC	TRUUM	
EASTER SEALS UCF NORTH CAROLINA &	&V EXITFORMS	AND
	PARTNERS	DHIM DHIM
	SANDHILIS	
	TRILLIAM	DRIM SERIN SHEN SHEN SHEN SHEN SHEN SHEN SHEN SHE
WATE 1005	EASTFORTS	SHAN SHAN SHAN SHAN SHAN SHAN SHAN SHAN
DAY BROWN TO LEY APOSES HOME TWO	FARTNESS	113.0 113.0
CHANNUS COUNTY GROUP HOMES BY	NC PARTNERS VANS	INCHES SERVICES CONTRACTOR CONTRA
DRIAMCONNECTIONS INC	PARTNERS	DRAH DENG DANG DANG DANG DANG DANG DANG DANG DA
DRAW COMMICTORS INC.	VANS.	STREAM STREAM STREAM STREAM
GASTON RESIDENTIAL MEN'CESING		2001 END 6001 END 600
HOMESHORZONIAC	SANDHILIS	in a transfer of the second se
INMACH	AUGANCE	
EDILIPPORT MENUES	PARTMEN	The state of the
MISS DAISYS AND ASSOCIATES INC	EASPPOINTS	form form form form form form form form
MONANCH		ing
PRINCIPLE COUNTY OF CUP HOMES INC.	MARHUA	10.00 10.00
PROPESSIONAL PARKLY CARE SERVICES	ESI SASPHUS	10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0
		The state of the s
MINU LPS EXTENDED INC	AGUANCE	ton the time time time time time time
		10.8 10.8 10.8 10.8 10.8 10.8 10.8 10.8
RESIDENTIAL SUPPORT SERVICES OF MI	MAK AUGANCE	ting ting ting ting ting ting ting ting
RHA HEALTH SERVICES NC LLC	PARTNIRS	
	SANDHILIS	10 10 10 10 10 10 10 10 10 10 10 10 10 1
THE WORKSHOP OF DAVIDSON INC.	VANA	AND RANGE HAVE HAVE HAVE HAVE HAVE HAVE HAVE HAV
VOCE CORPORATION OF NORTH CARD		101 101 101 101 101 101 101 101 101 101
VOCA COMPONATION OF NORTH CARP	SANDHELS	122.0 122.0
MATAUGA OPPORTUNITIES INC.	VANA	DEFEND RATE RATE RATE MAIN MAIN MAIN MAIN MAIN MAIN MAIN MAIN
CHIETHIM COUNTY GROUP HOMES NO	OC SAMPHELS	10.8 10.8
	VANA	THE MEN MEN MEN MEN MEN MEN MEN MEN MEN ME
LIMEING	VANA	
MCDANEL HOMES LLC	VASA	
AGREFICHDME UNING CARELLIC	EXITEDNE	UMM UMM
LAVERNES HAVEN RESIDENTIAL HOME		\$1,000 (000) (0000 (000) (0000 (000) (0000 (000)
PANCO CARE-NO	MARDHILL	1
Material association and		HARD AND AND AND AND AND AND AND AND AND AN
ABOUND HEALTH LIC	PARTNERS	\$Start \$1.00 \$ \$
LEGACY HUMBY SERVICES INC.	EASTFORTS	\$1,000 \$1
	VANA	THE MEN MEN MEN MEN MEN MEN MEN MEN MEN ME
EASTERSEALS UCF NORTH CAROLINA &		
	PARTMERS	jones
THE ARC DAVIDSON COUNTY INC	PARTMENS SANDHILIS	CALLINE (ADDRESS)
THE ARC DAVIDSON COUNTY INC.	PARTNERS SANDHILIS VANS	\$15.00 \$1
THE ARC DAVIDSON COUNTY INC.	PARTMERS SANDHILIS WASS ALLIANCE	100 100 100 100 100 100 100 100 100 100
THE ARK DANIOSON COUNTY INC.	PARTNERS SANCHELS VANS ALLANCE NC PARTNERS	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
THE ARC DAVISION COUNTY FIC. HOTY PENT Support. AND SAME COUNTY ORCOPY FOR SERVICE COMMUNICATION OF SERVICE CONTROL OF SERVICE CONTROL OF SERVICE CONTROL OF SERVICE COUNTY OR SERVICE CONTROL OF SERVICE CONTROL OF SERVICE CONTROL OF SERVICE CONTROL OF SERVICE COUNTY OR SERVICE CONTROL OF SERVICE CONTRO	PARTMERS SANCHELS VASS ALLIANCE PARTMERS VASS ALLIANCE	100 100
THE ARC DAVIDSON COUNTY INC. MODULACIÓN COMMUNICATION COMMUNICA	PARTNERS SANCHILS VASS ALLANCE PARTNERS VASS ALLANCE PARTNERS PARTNERS	\$100_{100_{100_{100_{100_{100_{100_{100
THE ARC DAVISON COUNTY INC WATER TO SHARE THE SHARE TO SHARE TO SHARE THE	PARTMEN MACHELIS MACH	The state of the
THE ARC DAVISION COUNTY INC INVESTMENT INVESTMENT INC INVESTMENT INVESTMENT INC COMMUNITY INVESTMENT INVESTMENT AND	PARTMENS MANCHELS VANS ALLANCE NC PARTMENS VANS ALLANCE PARTMENS PARTMENS PARTMENS PARTMENS PARTMENS PARTMENS	The control of the
THE ARC DAVISON COUNTY INC WATER TO SHARE THE SHARE TO SHARE TO SHARE THE	PARTMENS MANUFALLS MANUFALLS ALLANCE NC PARTMENS VANS ALLANCE PARTMENS PARTMENS PARTMENS ALLANCE PARTMENS AL	\$\frac{1}{100}\$ \frac{1}{100}\$ \frac
THE ARC DAVISION COUNTY INC INVESTMENT INVESTMENT INC INVESTMENT INVESTMENT INC COMMUNITY INVESTMENT INVESTMENT AND	PARTMENS MANCHELS VANS ALLANCE NC PARTMENS VANS ALLANCE PARTMENS PARTMENS PARTMENS PARTMENS PARTMENS PARTMENS	The state of the
THE ARC DAVISION COUNTY NO. WHY PART TAPPES MICHARICH CAMMENT COUNTY ORIGIN PROMIS TO COMMENT THE TAPPES AND THE TAPPES AN	PARTMENS MACHELIS MACHELIS MALMANCE PARTMENS MACHELIS MACHELIS PARTMENS PARTMENS PARTMENS PARTMENS AMPRIME MACHELIS MACH	The state of the
THE ARC GAVIDRON COUNTY FISC HAY PREVENIES TO CRAMMERS COUNTY ORCOLF HOMES TO CAMMERS COUNTY ORCOLF HOMES TO CAMMERS COUNTY ORCOLF HOMES TO CAMMERS TO COUNTY ORCOLF HOMES TO COMMERS TO COUNTY ORCOLF HOMES COMMERS TO COUNTY ORCOLF HOMES COMMENS TO	PARTMENS MACHELIS MACHELIS MALMANCE PARTMENS MACHELIS MACHELIS PARTMENS PARTMENS PARTMENS PARTMENS AMPRIME MACHELIS MACH	The column The
THE ARC DEVISION COUNTY INC. INVESTMENT TO ARCHITECTURE	PARTMENS MALMANCE ANAMA ANAM	The content of the
THE ARC GRAVIDORS COURTY INC. HAY PRE-TROPPED. COMMONITY CONTROL COURTY INC. COMMONITY COURT COURTY COURT INC. COMMONITY COURT COURT COURT COURT COURT INC. COURT C	PATTMEN MANUFELS VANA ALLANCE VANA ALLANCE PARTMEN VANA ALLANCE PARTMEN ALLANCE PARTMEN ALLANCE PARTMEN ALLANCE PARTMEN ALLANCE ALLANC	The state of the
THE ARC SERVICES FOUND FOR COUNTY FAC. THE ARC SERVICES FOUND FOU	PATTERS MEDICAL MANAGE MANAGE PATTERS MANAGE PATTERS MANAGE PATTERS MANAGE PATTERS MANAGE MATTERS MANAGE	The column The
THE ARE GROVEDOR COUNTY FOR MINISTRATION OF THE PROPERTY OF T	PATTERS SECULDS SECULD	The state of the
THE AMERICAN COUNTY FOR THE PARTY TH	PORTRINS SOCIO ADDRESS SOCIO ADDRESS SOCIO ADDRESS ADD	Property of the content of the con
THE ARC GAVEDON COUNTY RC BETTER THE	PATTERS SECULDS SECULD	Property State
THE ARE BASED AND THE AREA BASED AND	POSTRINOS SANCHELIS VANOS AULANCE VANOS AULANCE VANOS AULANCE POSTRINOS AULANCE POSTRINOS AULANCE POSTRINOS AULANCE AUSTRINOS AULANCE AUSTRINOS AULANCE AUSTRINOS AULANCE AUSTRINOS AULANCE AU	The state of the
THE ARE SHARINGS CONTROL FOR CONTROL OF THE CONTROL	PATTERS JANDERSLI VANDA ANALOGE ANALOGE VANDA ANALOGE VANDA ANALOGE PATTERS PATTERS PATTERS PATTERS ANALOGE AN	The state of the
See A Controlled Court Page See A Controlled Court Page Controlled	PATTERS SOCIETA SOCIET	Part
THE RESIDENCE OF THE RE	PATTERS SOCIETA SOCIET	
THE ARE THE STATE OF THE AREA OF THE STATE O	PATTERS LONG-PRICE VORS ANALOGE VORS ANALOGE ANALOGE ANALOGE PARTERS ANALOGE A	The content of the
THE RESIDENCE OF THE RE	PATTERS LINCOPPLE VORS VORS AGAINST AG	Part
THE RESIDENCE OF THE PROPERTY	PATTERS LONG-PRICE VORS ANALOGE VORS ANALOGE ANALOGE ANALOGE PARTERS ANALOGE A	The table The
15 No. 10 April 10 Ap	PATTERS BARDERIS BARDERIS BARDERIS PARTERS PARTERS ANDROSCE ANDROSCE BARDERIS BARDE	
18 Mar 2004 CONTROL CO	PATRIMEN	Property of the content of the con
THE MET AND A CONTROL OF THE PARTY OF THE PA	PATRIMEN MADERIAL	Property of the content of the con
18 M. S. MARTINE CONTROL CONTR	PATRIMEN	The state of the
THE SECOND CONTROL OF	PATRIMEN	Property of the content of the con
The state of the s	PATENTIAN	Part
15 Act September 15 Act	PATENTIAN	The content of the
18 Mar 1900 (1900)	### AND PROFESS OF THE PROFESS OF TH	
18 Marie 1997 (1997) (1	### ####	Property of the content of the con
18 A 20 A 2	### ###	Part
15 A. M. A.	## # ## ## ## ## ## ## ## ## ## ## ##	The state of the
18. A SE CONTROLLE CONTROL	## ## ## ## ## ## ## ## ## ## ## ## ##	
18 A March 2007 C Control 19 A March 2007 C Control 19 A March 2007 C Control 19 A March 20 A March	### APPLIEST ### AP	
15 A 10 A	PARTINES	Property of the content of the con
15. No. 10. May 15. Ma	## ## ## ## ## ## ## ## ## ## ## ## ##	Property of the content of the con
March Marc	POSTARD	Property of the content of the con
March Marc	POSTAGE	Property of the property of

Minimum, Maximum and Mode Rates Statewide

From Jan. 2017 Dates of Service

DOS_YYYYMM	(Multiple Items)		
LME_MCO_ASBILLED	(All)		

Services with less than 10 paid events are excluded.

Svc_Name	PROC_ADJ DC_CD	Max Rate	Min. Rate Mode (for Svc/LME)	Max. Rate Mode (for Svc/LME)	Total Billed
ADVP	YP620	\$43.96	\$1.13	\$4.80	\$1,986,543
Afterschool Summer enrichment Pgm	YA392	\$58.00	\$58.00	\$58.00	\$170,578
Alcohol and/or Drug Assessment - non-licensed provider	YP830	\$22.00	\$13.78	\$22.00	\$31,495
Alcohol and/or Drug Group Counseling - non-licensed provider	YP835	\$20.48	\$4.87	\$8.52	\$51,158
Assertive Community Treatment Program	H0040	\$1,720.00	\$0.01	\$1,300.00	\$62,298,374
Assertive engagement	YA323	\$15.00	\$12.00	\$15.00	\$96,788
	YA341	\$18.12	\$0.01	\$18.12	\$162,840
	YA365	\$18.00	\$15.00	\$18.00	\$774
	YA368	\$15.00	\$15.00	\$15.00	\$13,710
Behavioral Health Counseling - Group Therapy - non-licensed pro	YP832	\$8.11	\$7.25	\$8.11	\$3,256
Behavioral Health Counseling - non-licensed provider	YP831	\$23.60	\$19.56	\$23.60	\$627,215
CAET Group	YA394	\$3.75	\$3.75	\$3.75	\$23,781
CAET school to work transition (group)	YA382	\$2.27	\$2.27	\$2.27	\$1,489
Clinical Evaluation/Intake - Telemedicine	90791	\$357.00	\$67.80	\$357.00	\$5,170,002
Clinical Evaluation/Intake	90791	\$413.00	\$85.04	\$413.00	\$18,903,149
Community Rehabilitation Program (Sheltered Workshop)	YP650	\$3.71	\$3.71	\$3.71	\$6,106
Community Support Team	H2015	\$50.00	\$14.50	\$44.00	\$3,294,970
Comprehensive Screening and Community Connection	YA377	\$19.45	\$19.45	\$19.45	\$88,245
Crisis Evaluation & Observation	YA324	\$13.06	\$13.06	\$13.06	\$137,920
	YA369	\$11.31	\$11.31	\$11.31	\$11,450
Critical Time Intervention	YP400	\$61.92	\$20.64	\$20.64	\$54,601
Day Activity	YP660	\$120.00	\$1.46	\$68.25	\$1,905,525
Day Supports	YM580	\$144.24	\$3.84	\$128.00	\$2,324,243
Developmental Day	YP610	\$94.80	\$2.50	\$4.74	\$287,738
Developmental Therapy Service Paraprofessional	H2014	\$24.04	\$4.60	\$13.00	\$1,385,283
Developmental Therapy Service Paraprofessional - Group	H2014	\$2.01	\$2.01	\$2.01	\$9,806
Developmental Therapy Service Professional	H2014	\$13.00	\$8.23	\$13.00	\$82,629
Diagnostic Assessment	T1023	\$261.13	\$231.30	\$261.13	\$3,613,046
E&M-Detailed-Established Patient	99213	\$232.00	\$47.55	\$197.20	\$14,448,307
E&M-Detailed-Established Patient - Telemedicine	99213	\$232.00	\$47.55	\$232.00	\$4,942,844
E&M-Detailed-New Patient	99203	\$183.40	\$70.86	\$183.40	\$232,113

Diff. Max	Max as %
& Min	Inc over
Mode	Min Mode
\$3.67	325%
\$0.00	0%
\$8.22	60%
\$3.65	75%
\$1,299.99	12999900%
\$3.00	25%
\$18.11	181050%
\$3.00	20%
\$0.00	0%
\$0.86	12%
\$4.04	21%
\$0.00	0%
\$0.00	0%
\$289.20	427%
\$327.96	386%
\$0.00	0%
\$29.50	203%
\$0.00	0%
\$0.00	0%
\$0.00	0%
\$0.00	0%
\$66.79	4575%
\$124.16	3233%
\$2.24	90%
\$8.40	183%
\$0.00	0%
\$4.77	58%
\$29.83	13%
\$149.65	315%
\$184.45	388%
\$112.54	159%

Max as % Inc over Min Mode 119% 763% 633% 36% 126% 172% 95% 126% 325% 303% 324% 255% 121% 0% 2300% 1049% 1883% 615% 791% 60% 0% 912% 824% 768% 708% 9% 182400% 583% 1549900% 353% 18% 260% 371% 260% 123%

Svc_Name	PROC_ADJ DC_CD	Max Rate	Min. Rate Mode (for Svc/LME)	Max. Rate Mode (for Svc/LME)	Total Billed	Diff. Max & Min Mode	
E&M-Detailed-New Patient - Telemedicine	99203	\$155.00	\$70.86	\$155.00	\$39,424	\$84.1	4
E&M-Expanded-Established Patient	99212	\$178.25	\$17.97	\$155.00	\$1,094,888	\$137.0	_
E&M-Expanded-Established Patient - Telemedicine	99212	\$178.25	\$21.14	\$155.00	\$722,285	\$137.8	_
E&M-Expanded-New Patient	99202	\$66.45	\$48.91	\$66.45	\$21,319	\$17.5	_
E&M-High-Established Patient	99215	\$263.34	\$96.90	\$219.45	\$1,542,266	\$122.5	
E&M-High-Established Patient - Telemedicine	99215	\$263.34	\$96.90	\$263.34	\$618,406	\$166.4	_
E&M-High-New Patient	99205	\$314.56	\$116.00	\$226.49	\$1,382,581	\$110.4	-
E&M-High-New Patient - Telemedicine	99205	\$377.47	\$138.89	\$314.56	\$413,531	\$175.6	_
E&M-Moderate-Established Patient	99214	\$340.00	\$68.07	\$289.00	\$19,267,765	\$220.9	_
E&M-Moderate-Established Patient - Telemedicine	99214	\$289.00	\$71.65	\$289.00	\$12,841,524	\$217.3	
E&M-Moderate-New Patient	99204	\$465.80	\$109.88	\$465.80	\$2,235,450	\$355.9	_
E&M-Moderate-New Patient - Telemedicine	99204	\$298.62	\$63.75	\$226.22	\$1,315,612	\$162.4	_
E&M-Problem Focused-Established Patient	99211	\$30.04	\$11.32	\$25.00	\$160,514	\$13.6	_
E&M-Problem Focused-Established Patient - Telemedicine	99211	\$16.82	\$16.82	\$16.82	\$471	\$0.0	_
Facility Based Crisis Program-Non-Medicaid	YP485	\$313.32	\$13.06	\$313.32	\$2,699,923	\$300.2	_
Facility Based Crisis Service	S9484	\$800.00	\$5.11	\$58.69	\$10,860,789	\$53.5	8
Familiy Living - Mod	YP750	\$610.00	\$30.76	\$610.00	\$2,547,190	\$579.2	4
Family Living - High	YM755	\$715.00	\$100.00	\$715.00	\$3,254,133	\$615.0	0
Family Living - Low	YP740	\$346.00	\$21.73	\$193.54	\$2,891,082	\$171.8	1
Family Therapy with patient	90847	\$107.88	\$67.28	\$107.88	\$133,087	\$40.6	0
Family Therapy without patient	90846	\$88.34	\$88.34	\$88.34	\$883	\$0.0	0
Group Living - Hi	YP780	\$668.03	\$66.00	\$668.03	\$77,762,794	\$602.0	3
Group Living - Low	YP760	\$231.09	\$25.00	\$231.09	\$45,813,414	\$206.0	9
Group Living - Mod	YP770	\$7,548.00	\$36.29	\$315.00	\$104,737,066	\$278.7	1
Group Therapy (non-multiple family group)	90853	\$178.25	\$19.18	\$155.00	\$13,128,481	\$135.8	2
Hospital Discharge Day 30 min or less	99238	\$61.11	\$54.28	\$59.28	\$16,216	\$5.0	0
Hospital Discharge Transition Service	YA346	\$18.25	\$0.01	\$18.25	\$736,513	\$18.2	4
Independent Living-MR/MI	YM700	\$114.00	\$16.68	\$114.00	\$960,637	\$97.3	2
Individual Therapy (20-30 min.)	90832	\$178.25	\$0.01	\$155.00	\$9,331,811	\$154.9	9
Individual Therapy (20-30 min.) - Telemedicine	90832	\$178.25	\$34.18	\$155.00	\$2,325,137	\$120.8	2
Individual Therapy (20-30 min.)MD	90833	\$34.91	\$28.60	\$33.86	\$6,742	\$5.2	6
Individual Therapy (45-50 min.)	90834	\$178.25	\$43.10	\$155.00	\$8,723,127	\$111.9	0
Individual Therapy (45-50 min.) - Telemedicine	90834	\$178.25	\$32.89	\$155.00	\$3,805,869	\$122.1	1
Individual Therapy (60 min.)	90837	\$240.00	\$43.10	\$155.00	\$22,771,465	\$111.9	0
Individual Therapy (60 min.) - Telemedicine	90837	\$178.97	\$69.57	\$155.00	\$7,553,288	\$85.4	3

Svc_Name	PROC_ADJ DC_CD	Max Rate	Min. Rate Mode (for Svc/LME)	Max. Rate Mode (for Svc/LME)	Total Billed
Initial Hospital Care High Severity	99223	\$166.89	\$166.89	\$166.89	\$11,288
Initial Hospital Care Mod Severity	99222	\$116.74	\$99.23	\$116.74	\$93,455
Initial Inpatient Consultation 40	99252	\$63.25	\$63.25	\$63.25	\$7,970
Intensive In-Home Services	H2022	\$311.56	\$239.44	\$311.56	\$4,639,268
Interactive Evaluation	90792	\$191.15	\$75.00	\$166.22	\$2,024,525
Interactive Evaluation- Telemedicine	90792	\$178.25	\$70.00	\$166.22	\$758,105
Interactive Evaluation with Complexity	90785	\$2.97	\$2.97	\$2.97	\$143
Long Term Vocation Support Indiv IDD	YA389	\$67.26	\$11.21	\$15.00	\$565,078
Long Term Vocational Support Group	YA383	\$3.00	\$3.00	\$3.00	\$660
Mental Health - Day Treatment - Child	H2012	\$188.46	\$18.20	\$188.46	\$264,592
Mental Health - Partial Hospitalization	H0035	\$600.00	\$132.32	\$600.00	\$2,050,165
Mobile Crisis Management	H2011	\$117.00	\$33.46	\$117.00	\$8,144,113
Multi-Systemic Therapy	H2033	\$773.00	\$36.57	\$773.00	\$376,206
Non-Hospital Medical Detox	H0010	\$800.00	\$300.47	\$800.00	\$16,179,670
Opioid Treatment	H0020	\$254.93	\$0.01	\$254.93	\$143,594,126
Outpatient DBT (Group)	YA386	\$62.68	\$62.68	\$62.68	\$430,737
Outpatient DBT (Individual)	YA387	\$142.08	\$110.96	\$142.08	\$1,153,004
Peer support	YA308	\$14.14	\$8.14	\$14.14	\$522,665
Peer support group B3	YA309	\$2.71	\$2.71	\$2.71	\$16,274
Peer Support Hospital Discharge & Diversion - Ind	YA343	\$20.28	\$0.01	\$12.00	\$256,929
Personal Asst - Indiv	YP020	\$53.52	\$3.17	\$6.61	\$1,963,911
Psychological Testing	96101	\$72.05	\$72.05	\$72.05	\$1,513
Psychosocial Rehab Services	H2017	\$24.00	\$2.67	\$8.07	\$387,836
Psychotherapy for Crisis (60 min.)	90839	\$120.28	\$88.96	\$120.28	\$56,347
Psychotherapy for Crisis (add-on)	90840	\$76.06	\$57.05	\$76.06	\$2,415
Public Psychiatry - Administrative Functions	YP851	\$37.50	\$25.00	\$25.00	\$217,489
Public Psychiatry - Consultation and Service Functions	YP852	\$37.50	\$35.00	\$35.00	\$245,963
Recovery Education Center (REC) - Group	YA367	\$2.22	\$2.22	\$2.22	\$35,755
Recovery Education Center (REC) - Indiv	YA366	\$6.00	\$6.00	\$6.00	\$17,472
Recovery support	YA325	\$100.00	\$0.01	\$100.00	\$5,800
SA Comprehensive Outpatient Treatment Program	H2035	\$90.70	\$0.01	\$90.70	\$4,697,176
SA Halfway House	H2034	\$103.06	\$2.78	\$103.06	\$7,375,566
SA Intensive Outpatient Program	H0015	\$263.12	\$0.01	\$250.00	\$69,583,378
Senior IDD-My Turn	YA391	\$60.00	\$60.00	\$60.00	\$157,740
Subsequent Hospital Care per Day	99231	\$34.30	\$34.30	\$34.30	\$2,984

Diff. Max	Max as %
& Min	Inc over
Mode	Min Mode
\$0.00	0%
\$17.51	18%
\$0.00	0%
\$72.12	30%
\$91.22	122%
\$96.22	137%
\$0.00	0%
\$3.79	34%
\$0.00	0%
\$170.26	935%
\$467.68	353%
\$83.54	250%
\$736.43	2014%
\$499.53	166%
\$254.92	2549200%
\$0.00	0%
\$31.12	28%
\$6.00	74%
\$0.00	0%
\$11.99	119900%
\$3.44	109%
\$0.00	0%
\$5.40	202%
\$31.32	35%
\$19.01	33%
\$0.00	0%
\$0.00	0%
\$0.00	0%
\$0.00	0%
\$99.99	999900%
\$90.69	906900%
\$100.28	3609%
\$249.99	2499900%
\$0.00	0%
\$0.00	0%

Svc_Name	PROC_ADJ DC_CD	Max Rate	Min. Rate Mode (for Svc/LME)	Max. Rate Mode (for Svc/LME)	Total Billed
Subsequent Hospital Care per Day	99232	\$61.81	\$54.12	\$61.81	\$38,284
	99233	\$91.19	\$77.51	\$91.19	\$102,031
Supervised Living - 1 Resident	YM811	\$380.00	\$114.84	\$380.00	\$2,855,196
Supervised Living - 2 Resident	YM812	\$473.22	\$110.69	\$473.22	\$11,879,651
Supervised Living - 3 Resident	YM813	\$400.00	\$98.79	\$133.57	\$3,070,927
Supervised Living - 4 Resident	YM814	\$400.00	\$93.17	\$279.51	\$1,186,235
Supervised Living - 5 Resident	YM815	\$77.67	\$77.67	\$77.67	\$10,796
Supervised Living - 6 Resident	YM816	\$68.83	\$68.83	\$68.83	\$40,885
Supervised Living - Low	YP710	\$200.00	\$17.68	\$130.00	\$21,373,379
Supervised Living - Mod.	YP720	\$207.26	\$29.00	\$207.26	\$11,482,840
Supported Emp - Group	YP640	\$4.74	\$2.53	\$4.74	\$15,786
Supported Employment Indiv IDD	YA390	\$15.00	\$9.81	\$15.00	\$139,205
TBI Long term Residential rehab	YA328	\$193.54	\$140.00	\$193.54	\$190,329
Telehealth originating site facility fee	Q3014	\$28.06	\$15.88	\$28.06	\$2,780,870
Therapeutic, prophylactic, or diagnostic injection	96372	\$155.00	\$14.19	\$155.00	\$506,449
Transition Management Services	YM120	\$111.36	\$13.40	\$26.00	\$5,116,612
Wellness Education Group	YA340	\$400.00	\$400.00	\$400.00	\$1,762,983
E&M-Expanded-New Patient - Telemedicine	99202	\$75.95	\$63.29	\$75.95	\$9,613
Assertive Engagement - AP & Paraprofessional	YA353	\$100.00	\$0.01	\$100.00	\$1,350,436
Assertive Engagement - QP (Licensed & Unlicensed)	YA352	\$180.00	\$15.00	\$150.00	\$720,925
Residential Supports	YM850	\$126.53	\$75.09	\$110.69	\$11,737,575
Safety Supervisor - Hourly	YA385	\$15.00	\$1.88	\$15.00	\$141,690
Ambulatory Detox	H0014	\$21.25	\$21.25	\$21.25	\$2,040
Detox - Soc Set	YP790	\$185.00	\$118.42	\$118.42	\$3,811,717
Respite Hourly - Indiv	YP010	\$188.00	\$2.00	\$188.00	\$3,394,626
Community Respite	YP730	\$160.79	\$160.79	\$160.79	\$34,891
Respite Hourly - Group	YP011	\$167.00	\$1.67	\$130.00	\$3,415,115
Peer Support Hospital Discharge & Diversion - Group	YA375	\$3.38	\$3.38	\$3.38	\$41
Home Supports L5	T2016	\$750.00	\$0.01	\$525.00	\$7,885,671
Jail Support	YA349	\$22.04	\$22.04	\$22.04	\$86,567
Psychological testing evaluation services (each additional hour)	96131	\$76.11	\$76.11	\$76.11	\$1,827
Psychological testing evaluation services- first hour	96130	\$99.96	\$99.96	\$99.96	\$3,399
Facility Based Crisis Service-Child	S9484	\$40.00	\$32.00	\$40.00	\$20,589
Critical Time Intervention Pilot	YP401	\$20.64	\$20.64	\$20.64	\$1,837
Peer Support (B3) Group	H0038	\$13.26	\$2.71	\$13.26	\$32,842

Diff. Max	Max as %
& Min	Inc over
Mode	Min Mode
\$7.69	14%
\$13.68	18%
\$265.16	231%
\$362.53	328%
\$34.78	35%
\$186.34	200%
\$0.00	0%
\$0.00	0%
\$112.32	635%
\$178.26	615%
\$2.21	87%
\$5.19	53%
\$53.54	38%
\$12.18	77%
\$140.81	992%
\$12.60	94%
\$0.00	0%
\$12.66	20%
\$99.99	999900%
\$135.00	900%
\$35.60	47%
\$13.13	700%
\$0.00	0%
\$0.00	0%
\$186.00	9300%
\$0.00	0%
\$128.33	7684%
\$0.00	0%
\$524.99	5249900%
\$0.00	0%
\$0.00	0%
\$0.00	0%
\$8.00	25%
\$0.00	0%
\$10.55	389%

Svc_Name	PROC_ADJ DC_CD	Max Rate	Min. Rate Mode (for Svc/LME)	Max. Rate Mode (for Svc/LME)	Total Billed	Di 8
Peer Support (B3) Individual	H0038	\$420.00	\$0.01	\$150.00	\$2,182,069	
Assertive Community Treatment Program - Telemedicine	H0040	\$391.23	\$0.01	\$391.23	\$225,112	
Telephone assessment and management service, 21-30 min	98968	\$55.00	\$18.00	\$52.24	\$328,834	
COVID-19 -Psychosocial Rehabilitation Services	YA401	\$11.78	\$5.89	\$11.78	\$86,172	
Telephone evaluation and management service, 11-20 minutes	99442	\$57.62	\$23.16	\$48.98	\$189,046	
SA Intensive Outpatient Program - Telemedicine	H0015	\$246.00	\$74.26	\$246.00	\$14,634,985	
Telephone evaluation and management service, 5-10 minutes	99441	\$17.16	\$11.89	\$17.16	\$24,663	
Group Therapy (non-multiple family group) - Telemedicine	90853	\$155.00	\$19.01	\$155.00	\$8,571,765	
Telephone evaluation and management service, 21-30 minutes	99443	\$90.00	\$33.95	\$76.50	\$413,876	
Telephone assessment and management service, 5-10 min	98966	\$17.41	\$8.92	\$15.67	\$78,662	
COVID-19 Case Support	YA402	\$22.66	\$15.00	\$22.66	\$2,725,665	
Community Support Team – Peer	H2015	\$44.00	\$23.31	\$44.00	\$225,249	
Intensive In-Home Services - Telemedicine	H2022	\$287.59	\$239.66	\$287.59	\$1,013,148	
Telephone assessment and management service, 11-20 min	98967	\$41.78	\$17.37	\$31.34	\$178,562	
Community Support Team – Para	H2015	\$31.09	\$23.31	\$31.09	\$140,276	
Office Contult 60-Telemedicine	99244	\$168.29	\$152.99	\$168.29	\$29,734	
SA Comprehensive Outpatient Treatment Program - Telemedicine	H2035	\$90.70	\$45.35	\$90.70	\$495,559	
Mental Health - Partial Hospitalization - Telemedicine	H0035	\$192.00	\$192.00	\$192.00	\$413,112	
Office Based Opioid Treatment	YA396	\$1,000.00	\$480.00	\$880.00	\$3,724,660	
Diagnostic Assessment - Telemedicine	T1023	\$231.30	\$231.30	\$231.30	\$300,227	
Peer Support (B3) Individual - Telemedicine	H0038	\$16.80	\$2.71	\$16.80	\$58,480	
Long Term Voc Sup Ind	H2023	\$3,791.00	\$24.63	\$2,000.00	\$911,071	\$1
Family Therapy with patient - Telemedicine	90847	\$67.28	\$67.28	\$67.28	\$77,170	
Multi-Systemic Therapy - Telemedicine	H2033	\$43.88	\$36.57	\$43.88	\$7,994	
Mobile Crisis Management - Telemedicine	H2011	\$104.65	\$34.37	\$104.65	\$121,684	
Community Support Team – Telemedicine	H2015	\$25.91	\$25.91	\$25.91	\$1,010	
Behavioral health day treatment, per hour - Telemedicine	H2012	\$31.41	\$31.41	\$31.41	\$1,633	
Individual Therapy (20-30 min.)MD - Telemedicine	90833	\$42.32	\$25.04	\$35.97	\$95,661	
R&B Level 2 Age12	YA235	\$43.98	\$42.51	\$43.98	\$901,192	
R&B Level 3 4bed	YA232	\$60.30	\$60.00	\$60.30	\$922,965	
Mental Health - Day Treatment - Child - Telemedicine	H2012	\$37.69	\$37.69	\$37.69	\$2,789	
Peer Support (B3) Group - Telemedicine	H0038	\$4.53	\$2.71	\$4.53	\$3,401	
Psychosocial Rehab Services - Telemedicine	H2017	\$3.94	\$2.69	\$3.94	\$2,546	
R&B Level 2 Age13+	YA236	\$48.99	\$47.36	\$48.99	\$946,639	
Case Support	YA405	\$15.00	\$15.00	\$15.00	\$5,115	

Diff. Max	Max as %
& Min	Inc over
Mode	Min Mode
\$149.99	1499900%
\$391.22	3912200%
\$34.24	190%
\$5.89	100%
\$25.82	111%
\$171.74	231%
\$5.27	44%
\$135.99	715%
\$42.55	125%
\$6.75	76%
\$7.66	51%
\$20.69	89%
\$47.93	20%
\$13.97	80%
\$7.78	33%
\$15.30	10%
\$45.35	100%
\$0.00	0%
\$400.00	83%
\$0.00	0%
\$14.09	520%
\$1,975.37	8020%
\$0.00	0%
\$7.31	20%
\$70.28	204%
\$0.00	0%
\$0.00	0%
\$10.93	44%
\$1.47	3%
\$0.30	0%
\$0.00	0%
\$1.82	67%
\$1.25	46%
\$1.63	3%
\$0.00	0%

Svc_Name	PROC_ADJ	Max Rate	Min. Rate	Max. Rate	Total Billed
	DC_CD		Mode (for Svc/LME)	Mode (for Svc/LME)	
Interactive Evaluation with Complexity - Telemedicine	90785	\$4.09	\$3.37	\$3.43	\$207
Supported Employment – Individual MH/SUD	YP630	\$41.35	\$14.22	\$41.35	\$3,504,437
Room and Board - Level II (Age 5 or less)	YA234	\$39.00	\$37.70	\$39.00	\$163,410
Day Supports - Group	YM590	\$15.28	\$2.74	\$15.28	\$115,797
SA Medically Monitored Community Residential Treatment	H0013	\$241.81	\$241.81	\$241.81	\$30,468
Room and Board - Level III (5+ Beds)	YA233	\$60.30	\$60.30	\$60.30	\$449,267
Community Living and Support – Individ	YM851	\$24.69	\$4.46	\$24.69	\$517,424
Residential Supports - Level 1	YM846	\$313.00	\$94.74	\$193.54	\$3,501,536
Residential Supports - Level 2	YM847	\$220.08	\$75.48	\$220.08	\$5,867,038
Recovery Peer Support	YA344	\$16.86	\$16.86	\$16.86	\$2,512
Residential Supports - Level 3	YM848	\$663.74	\$141.51	\$663.74	\$8,144,359
Supported Living Periodic Indiv. (IDD & TBI)	YM854	\$8.01	\$8.01	\$8.01	\$12,099
Community Living and Support – Group	YM852	\$4.25	\$2.71	\$4.25	\$1,802
Enhanced Bi Residential Support	YA407	\$345.00	\$345.00	\$345.00	\$82,110
TBI Long term Residential Recovery (Level 2)	YM853	\$313.85	\$313.85	\$313.85	\$110,789

Diff. Max	Max as %
& Min	Inc over
Mode	Min Mode
\$0.06	2%
\$27.13	191%
\$1.30	3%
\$12.54	458%
\$0.00	0%
\$0.00	0%
\$20.23	454%
\$98.80	104%
\$144.60	192%
\$0.00	0%
\$522.23	369%
\$0.00	0%
\$1.54	57%
\$0.00	0%
\$0.00	0%
\$0.00	#DIV/0!